F. No. 10-2/2022-IS.16 Government of India Ministry of Education Department of School Education and Literacy

Shastri Bhawan, New Delhi Dated the 14th June, 2022

Subject:

Samagra Shiksha - Meeting of the Project Approval Board (PAB) held on 11th May, 2022 to consider the Annual Work Plan & Budget (AWP&B) 2022-23 for the State of Manipur.

The Meeting of the Project Approval Board (PAB) was held on 11.05.2022 under the Chairpersonship of Secretary (SE&L), through video conference to consider the Annual Work Plan & Budget (AWP&B) for 2022-23 of Samagra Shiksha for the State of Manipur.

2. The undersigned is directed to forward herewith the approved PAB minutes in respect of Samagra Shiksha, State of Manipur for 2022-23 for further necessary action.

Encl. As above

(Tei Pat Singh) Under Secretary to the Govt.India Tel No. 011-23073397

Email: tejpal.singh69@nic.in

To

- 1. Secretary, Ministry of W&CD
- 2. Secretary, Ministry of Labour & Employment.
- 3. Secretary, Ministry of Social Justice & Empowerment
- 4. Secretary, Ministry of Tribal Affairs.
- 5. Secretary, Ministry of Jal Shakti, 4" Floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi 110003.
- 6. Secretary, Ministry of Minority Affairs, 11"' Floor, Patyavaran Bhawan, GO Complex, Lodhi Road, New Delhi 110003.
- 7. Secretary, Department of Empowerment of Persons with Disability, Ministry of Social Justice & Empowerment, CGO Complex, Lodhi Road, New Delhi —110003.
- 8. Dy. Advisor (School Education), NITI Aayog, New Delhi.
- 9. Dr. Dinesh Prasad Saklani, Director, NCERT, New Delhi.
- 10. Prof. N.V. Varghese, Vice Chancellor, NIEPA, New Delhi.
- 11. Chairperson, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi 110 002.
- 12. Member Secretary, NCPCR
- 13. Joint Secretary (Inst.) MoE, New Delhi
- 14. Shri Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi.
- 15. Shri R. C. Meena, JS (MDM).
- 16. Ms. Darshana M. Dabral, JS & FA, MoE.
- 17. Economic Adviser, MoE
- 18. Shri V. Hegde, DDG (Statistics), MoE.
- 19. Shri H. Gyan Prakash, IAS, Secretary (Education), Government of Manipur. Email: gyanhuirem@gmail.com
- 20. Sh. L. Nandakumar Singh, Director of Education (S) & State Project Director, Samagra
- 21. Sh. T. Phulen Meitei, Addl. State Project Director (Elementary), Samagra Shiksha Manipur.

- 22. Sh. A Chinglenkhomba Meitei, Addl. State Project Director (Secondary), Samagra Shiksha Manipur.
- 23. Sh. Jim G. Thingujam, Joint Director, SCERT, Manipur.

Copy to:

- 1. All Divisional Heads of SS-I and SS-II Bureau
- 2. All Under Secretaries of SS-I and SS-II Bureau
- 3. All TSG Consultants
- 4. NIC with a request to upload minutes on portal

Copy for information to:

- 1. PPS to Secy. (SE&L)
- 2. PPS to AS (SS-I)

(Tej Pal Singh)

Under Secretary to the Govt.India Tel No. 011-23073397

Email: tejpal.singh69@nic.in



Government of India Ministry of Education Department of School Education and Literacy

SAMAGRA SHIKSHA

(An Integrated Scheme for School Education)

Minutes of the meeting of the Project Approval Board held on 11th May, 2022 through Video Conference to consider the Annual Work Plan & Budget (AWP&B) 2022-23 of Samagra Shiksha for the State of Manipur.

Jun

INDEX

Sl. No.	Content				
1	Introduc	ction	4		
Ī	Section	I: State specific initiatives, Review of Performance & Issues			
2	Initiativ	res of the State	4		
3	Review during 2	of Commitments and Expected Outcomes & Action Taken 2021-22	7		
4	Review	of performance during 2021-22	10		
5	Apprais	al issues/ Commitments for 2022-23	11		
П	Section	II: New Approaches and learning recovery plan for 2022-23			
6	New Ap	oproaches 2022-23	13		
6.12	Learnin	g Recovery Plan for 2022-23	18		
Ш	Section	III: Financial Estimation			
7	Total Es	stimated Budget (2022-23)	22		
8	Actual	Actual Releases by GOI during 2022-23			
9	Release	of Funds	23		
IV	Section	Section IV: Component-wise Recommendations			
10	Activity	wise details and estimates approved	25		
Annexu	res				
Annexu	re I	List of Participants	64		
Annexu	re II	Annual Calendar of Activities	65		
Annexu	re III Check list to be ensured by Bureau before submitting file to IFD for concurrence		95		
Annexu	ure IV Check list to be submitted by the States/UTs along with proposal for release of instalment in 2022-23		99		
Annexure V		List of 170 Schools for Support at Pre-Primary	107		
Annexure VI		re VI List of New/upgraded school			
Annexure VII		List of Netaji SubhashChandra Bose AvasiyaVidyalaya for Residential School Building (Elementary)			
Annexu	re VIII	VIII (A): Infrastructure (List of Additional Classrooms, Toilets, Drinking water etc at Elementary level)	116		
		VIII (B):Infrastructure (List of schools for ACR, Library Room, Arts/Crafts Room and Computer Room etc at			

	Secondary level)	
	VIII (C) Infrastructure (List of schools for ACR, Library Room, Arts/Crafts Room and Computer Room etc at Higher Secondary level)	145
Annexure IX	List of 35 Block Resource Centers& Urban Resource Centers for ICT Facility	149
Annexure X	List of Schools for Teacher Resource Package- Primary Level	150
Annexure XI	List of Approval under KGBV	225
Annexure XII	XII(A) List of school for Sanitary pad Vending & incinerator machines at Elementary Level	227
Amicaute An	XII(B) List of school for Sanitary pad Vending & incinerator machines at Secondary Level	233
Annexure XIII	Strengthening Components under Inclusive Education- Secondary	237
Annexure XIV	Strengthening Components under Teacher Education	238
Annexure XV	List of new school approved under vocational Education	245
Annexure XVI	XVI (A) List of school approved for ICT and Smart Class Room-Elementary	249
	XVI (B) List of school approved for ICT and Smart Class Room-Secondary	252
Annexure XVII	5-year Perspective Plan for SamagraShiksha including year- wise outcome target	255
Annexure XVIII	Spill Over 2021-22	258
Annexure XIX	Costing Sheet 2022-23	276

1. Introduction:

The meeting of the Project Approval Board for considering the Annual Work Plan and Budget (AWP&B) 2022-23 for Samagra Shiksha for the State of Manipur was held on 11.05.2022 through Video Conference. The list of participants who attended the meeting is at *Annexure-I*.

Section: I - State specific initiatives, Review of Performance & Issues

2. Initiatives of the State:

Ms. Anita Karwal, Secretary (SE&L) invited Manipur to give a presentation on School Education in the State. Shri L. Nandakumar Singh, SPD, Samagra Shiksha, School Education (Manipur) gave a presentation which included the following major points:

- a) Initiatives taken up by Samagra Shiksha Manipur to achieve the aims of NEP, 2020 are:
 - (i) Interaction Programme: Towards the implementation of NEP 2020 in the State, Hon'ble Chief Minister held several rounds of meeting with NEP Task Force, stakeholders, educational policy makers and administrators and teachers stressing of the significance of the new educational policy.
 - (ii) Sumang Leela on NEP, 2020: Samagra Shiksha Manipur adopted the popular theatre form called Sumang Leela to highlight the importance of NEP 2020 to sustain and transform the existing education system of the country into global knowledge centres. A Sumang Leela called "Ereipakkidamak" was produced and released it on 31st October 2021.
 - (iii) Unique Selling Proposition (USP): School centric skill developments that empower students with livelihood skills are proving to be extremely popular with students. To amplify its popularity, products of these activities were showcased in a state level exhibition where three of the best schools were awarded. These skilling activities underline the importance of organic link to economic culture in education integrating skill development, literacy and creativity among students and teachers to help create marketable produces.
 - (iv) School Fagathansi Mission: School Fagathansi Mission is a visionary initiative commenced in 2018-19, targeting holistic improvement of Government schools. In the first phase, 61 schools -one High or Higher Secondary School in each Assembly Constituency are selected. The Mission succeeded in enhancing enrolments from 26,000 to 34,000 in the coming academic session.
- b) Recovery of Learning Loss: Learning losses are one of the biggest global threats to medium and long-term recovery for COVID-19. To cope up with the above, the State has deployed numerous measures by organizing door to door campaign at school and district level. Following e-learning initiatives are still being continued:
 - (i) Supplementary Books: Comic textbooks are planned to be beyond comic scripts and targeted to be achieve better and higher objectives of learning for students of the State and beyond irrespective of the schools and regions where they belong to. There will be not be a

Thee

replacement of the existing school textbooks at the moment but no one deny the impact of Comic strip in classrooms in the days to come. Though Comic text books may not be real substitutes for the conventional school text books we cannot deny the fact that books in such form allow children to have fun in reading in the absence of teachers. The importance of such books in the ongoing days of the recent pandemic (Corona Virus) is a case in point. The initiative which was started in 2019-20, has so far completed the development of stories for Class 1-5 EVS, Mathematics and English textbooks.

- (ii) Activity books for numeracy and literacy: Imparting basic Numeracy and Literacy skills to all the students by Class III is essential to lay a sound foundation of education. To improve the basic literacy and numeracy at the foundation level this year Activity Books for Language and Mathematics for all the children reading in Class I & II Government Schools (2+2 books / child) has been developed.
- (iii) Jio TV Channel: Manipur's first ever dedicated educational TV Channel called "Lairik" was launched under the platform of Jio TV to provide benefit to both the Teachers and Students. Through the channel, students can watch the contents easily on a mobile phone instead of depending on a TV unit. (Smart phones or even Jio Phone is capable of showcasing Jio TV). Lairik channel will be visible across India.

Jio TV channel is managed by Department of Education, Manipur. Lairik, which means book, can show programmes in local language as well as English. Live programmes like classroom sessions can also be integrated with in it. The channel can be watched anywhere in the country. Jio TV is providing the platform to Manipur government for running the educational channel free of cost.

- (iv) Radio Class: Samagra Shiksha, Manipur in collaboration with All India Radio has initiated the production of the drama based on Educational Programme called RADIO CLASS in (All India Radio, Imphal).
 - The main objective of the programme is to provide distance learning to the students of class VI to XII through radio broadcasting, to enable the learners receive low cost teaching and attempt to reach out to the needy students who do not have access to internet. Further, at the end of every episode students are allowed to join question and answer round. And the winner is awarded with a cash prize of Rs. 200 Rs. 500 respectively. This competition indeed motivated our young students to participate in RADIO CLASS. The Department in coordination with AIR conducts classes in the form of play.
- (v) E-learning: In view of the unpredicted crises, the world over due to the spread of Novel Corona Virus/ COVID-19 and the Nationwide Lockdown, our school students have lost a lot of instructional days due to closure of schools. To mitigate this losses and to keep the students abreast with their syllabi in such trying times and considering the urgent need to adopt Digital/ e-learning platforms, as one of the alternative means of learning, Samagra Shiksha, Manipur in Collaboration with the Department of Education (Schools), Manipur has initiated the preparation class specific e-context for such e-learning platforms. The contents are

In

available in YouTube (@Department of Education Schools Manipur) and in Facebook (@Department of Education Schools Manipur).

(vi) Lairik App/ Lairik website: Adaptation of e-platforms in the sector of education by the Government department has rather been late. The possibilities and opportunities that can be explore in using e-platform for education has been strongly felt and a small step towards a giant shift has now been taken in the School Education sector in Manipur. All training and workshop are now being documented in either booklet or digital form for future reference and training purposes. A Mobile app called "LAIRIK" is available in Play store for all the students. All digital e-contents are available in it. This is an initiative taken by Samagra Shiksha Manipur to provide access to knowledge and education to the students of classes 1 to 12.

Manipur Education Department has also launched the e-learning website for students studying in classes 1 to 12. The e-learning website is only for students studying in schools affiliated to Manipur Board and Council of Higher Education. The website has 85 bi-lingual audiovisual classes namely lairik.net and laireek.net. Both the domains have been occupied by the government so to avoid piracy, said the Education Minister. He made a remark that, "The launch of the website and Mobile app marks the new chapter in the history of education in Manipur as students can go through the lessons for easier self-learning." The website will have audio-visual e-content for all the 200+ subjects (from Class 1-12) with compulsory subjects first. The project on completion will produce 2000 hours of digital audio-visual e-content.

- (vii) YouTube Channel: More than 1000 videos of e-content are available in Department of Education School YouTube Channel and Facebook page. This channel has been subscribed by more than 30,000 subscribers & 1, 37,700 viewers.
 In order to facilitate Language and Mathematics learning and providing scope to children for practice. This Activity Book will help in addressing the grey areas of learning and to build a love for reading and mathematics among students.
- c) A soft copy of the State's presentation is available at 'https://samagra.education.gov.in'.

3. Review of Commitments and Expected Outcomes & Action Taken during 2022-23

The progress made in implementing the commitments and expected outcomes given by the State in 2021-22 was reviewed and the status in respect of pending items is as under:

Sl. No.	Commitments		Action Taken	Comments of the PAB 2022-23
1.	Strategy for offline learning during the pandemic: A plan of action for students without access to digital devices		Teachers prepared assignment topics based on the learning outcomes and the hard copies of these worksheets and assignments	both offline and online mode(s).

m

Sl. No.	Commitments	Action Taken	Comments of the PAB 2022-23
2100	needs to be formulated by the State, across all levels of schooling from pre-primary to higher secondary, in order to ensure access to learning for all	were made available in the nearby schools from where the parents could collect it during relaxation times by adhering to the SOPs.	further strategies in line with recommendations of NEP, 2020 and during preparation of SCF.
	and prevention of drop-out during the COVID-19 pandemic.	b) Teachers also prepared worksheets and were distributed in soft copies to the students via whats Apps and other online modes.	
		c) Comic text books may not be real substitutes for the conventional school text books we cannot deny the fact that books in such form allow children to have fun in reading in the absence of teachers. The importance of such books in the ongoing days of the recent pandemic (Corona Virus) is a case in point.	
		d) Preparation of Textual notes and mathematical solutions for Pre-primary to XII Primarily because of the fact that the reach of the educational videos is limited particularly to student groups residing in the remotest parts of the State mainly due to their being from the most financially deprived families and access	
		to technology for them is still a distant dream. There is also the issue of poor net connectivity in most of the rural and hilly areas.	
2.	Pending Civil Works: The year-wise details of pending non-recurring interventions under different components are as detailed in the table below. State was asked to take up these pending works on priority and ensure that all works pending prior to 2020-21 are completed in this financial year.	 a) State could not complete all pending works prior to 2020-21 during the FY-2021-22. b) However, all works have been in good progress and targeted for completion within this FY subject to the timely release of funds. c) Again, the Covid Pandemic has delayed most of the construction works as most of the 	State was asked to complete all pending works sanctioned prior to F.Y. 2021-22 on priority.

Sl.	Commitments	Action Taken	Comments of the PAB
No.		construction workers are unable to continue the works due to the restriction on the covid pandemic. These restrictions were also the reasons for non availability of materials on time. d) Most of the construction works are at the Hills and Remote areas. Due to bad /deplorable road conditions transportation of building materials becomes major problems. e) Due to less working season (from November to March).	2022-23
3.	Gross Enrolment Ratio (GER): GER is less than 60 percent in Six (6) districts at secondary level. It is less than 40 percent in Eight (8) districts at higher secondary level. State would need to identify the reasons behind low GER and develop an action plan for improvement.	a) State has proposed to conduct enrollment drive in all the 16 districts. b) State is planning for upgradation of Upper Primary to Secondary/Hr. Secondary in the next academic session i.e. 2023-24. c) These exercises would enable to increase the GER rate.	State needs to focus on further improving the GER at secondary levels and develop a plan of action regarding drop outs due to the pandemic.
4.	Net Enrolment Ratio (NER): NER at Secondary and Higher Secondary level is 52.46 % and 38.17 % respectively in 2019-20.	Same comment as para (3)	State needs to focus on further improving the NER at secondary levels with a targeted plan of action.
	State would need to focus on improving the GER and NER levels by bringing back children to the age appropriate classes.		
5.	High Dropout Rate: Dropout rate at the Elementary level has increased. It is 7.3% in the year	a) State has initiated the scheme called 'School Fagathansi Mission' where in, 61 schools have been selected	State should emphasize on reducing the high drop-out rate especially at the Secondary and Senior

Sl. No.	Commitments	Action Taken	Comments of the PAB 2022-23
	2019-20. State needs to take adequate measures to reduce the dropout rate and improve the retention rate.	as model schools in the 1 st phase. b) This mission could enhance the enrollment from 26000 to 34000 students.	Secondary level with special plan of action.
6.	Surplus Teachers at Elementary level: There are 5,475 Surplus Teachers at Elementary Level, while the number of single teacher schools is 232 at the Primary level. The number of schools with adverse PTR is also quite high at 13.28 % at the Primary level. State needs to undertake rationalization of teachers, to ensure availability of required number of teachers in all schools.	Rationalization of teachers is under process.	State needs to come up with a concrete action plan for rationalization of teachers at the elementary level.
7.	Subject PTR at Secondary level: Only 48 % Secondary schools are having teachers for all core subjects. Subject PTR at the Secondary level is 68 for Mathematics, 26 for Science and 28 for Social Studies. The State should ensure required number of Mathematics and Science teachers at the Secondary level.	a) All the vacant/sanctioned post of teachers at the secondary level shall be filled during the current academic session. b) Recruitment process for the same has been completed. Result announcement is awaited.	State to expedite due recruitment process and deploy the required number of teachers within the current year.
8.	Out of School CwSN: Mainstreaming of out of school children is very low. The State also has to provide information about children of migrant labourers affected due to Lock down. The State has not identified Out of school children in the age group of 16- 19 years as suggested by the Ministry.	a) Gap identification survey of CwSN OoSc will be conducted at block level during the FY-2022-23 as a strategy for mainstreaming of CWSN. b) State does not have any children of migrant labourers prior to lock down and post lock down. c) State has committed to start & complete the exercise for identification of Out of school children in the age group of 16-19 years during the FY – 2022-23.	State to seek convergence with line Ministries/Departments when undertaking identification surveys and share the outcomes with the Department.

4. Review of performance during 2021-22:

PGI State for 2021-22 is now open for data entry since January, 2022 and though State has initiated the process only few entries have been made. State had secured a score of 767 in Performance Grading Index (PGI) and was placed in Grade II. The Domain-wise Gaps in 2019-20 as compared to 2018-19 and 2017-18 are shown below:

Year		Categ	Category 2	Total		
	Domain 1 (180)	Domain 2 (80)	Domain 3 (150)	Domain 4 (230)	Domain 1 (360)	All Domains (1000)
2017-18	138	60	68	193	149	608
GAP	42	20	82	37	211	392
2018-19	138	60	89	183	172	642
GAP	42	20	61	47	188	358
2019-20	142	62	109	206	248	767
GAP	38	18	41	24	112	233

State was requested to examine its score in each domain and take measures to improve its overall PGI score.

- a) Learning Outcomes and Quality (C-1, D-1): State still needs to work on providing interventions to improve the learning outcomes of the students.
- b) Access Outcomes (C-1, D-2): State has shown slight decline under this and needs to focus on the Adjusted Net Enrolment Rate (ANER) at Secondary level and take steps for identifying Out-of-school-children and their mainstreaming.
- c) Infrastructure & Facilities (C-1, D-3): State has shown maximum improvement under this and was encouraged to further take measures to reach the top grade, with specific focus on areas where the performance is low.
- d) Equity Outcomes (C-1, D-4): State has shown substantial improvement under this with increase in the gross enrolment ratio of CwSN and % of entitled CwSN receiving aids and appliances. However, percentage of schools having functional CwSN friendly toilets is an area of concern.
- e) Governance Processes (C-2, D-1): State needs to focus on average daily attendance of students captured digitally (States and UTs may set digital mechanism similar to AMS of MDM), % Upper Primary schools meeting norms of subject-teacher as per RTE, Number of teachers transferred through a transparent online system as a % of total number of teachers transferred, Number of head-teachers/principals recruited through a merit-based selection system as a % of total number of head-teachers/principals recruited (in the given year) and funds arranged through PPP, CSR as a percentage of State budget on schools education.

5. Appraisal issues/ Commitments for 2022-23

O Pending Works in Non-recurring/Spill Over: The details of pending non-recurring interventions under different components are as detailed in the table below. State was asked to ensure that the in-progress works are completed on priority in this financial year.

Status of physical progress of pending Civil works (As on 31.03.2022)						
Item of Construction Sanctioned In-progress Completed Not started						

Jun

Item of Construction	Sanctioned	In-progress	Completed	Not started
	Elementary	Level		
Upper Primary School Buildings	335	86	242	7
Additional Classrooms	3918	325	3593	0
Drinking Water	838	95	743	0
Ramp	1500	93	1407	0
Primary school	1042	215	811	16
Boys Toilet	1599	147	1359	93
Girls Toilet	4419	210	4209	0
CwSN Toilet	67	66	, 0	1
	Secondary	Level		
New School Buildings	190	23	167	0
Science Lab	198	26	172	0
Additional Classrooms	290	79	211	0
Drinking Water	257	37	219	1
Art/Craft Room	226	15	211	0
Library Room	170	61	109	0
Computer Room	195	32	163	0
Boys Toilet	351	100	251	0
Girls Toilet	378	115	263	0
CwSN Toilet	118	118	0	0
和中发生的自己	Higher Seco	ondary		
New School	- 11	0	4	7
Science Lab	10	2	8	0
Additional Classrooms	64	7	57	0
Computer Room	3	0	3	0
Library Room	13	3	10	0
Physics Lab.	32	6	26	0
Biology Lab.	18	8	10	0
Chemistry Lab.	19	3	16	0

Source: PRABANDH portal

- O High Dropout Rate: Though, the dropout rate for girls has improved from 7.1 in 2019-20 to 6.7 in 2020-21, the dropout rate at the secondary level has increased from 9.2 (boys and girls) in 2019-20 to 9.3 and 9.4 for boys and girls respectively in 2020-21. State needs to continue taking adequate measures to reduce the dropout rate and improve the retention rate.
- O Decline in Transition Rate: As per UDISE+, transition from Elementary to Secondary level has declined from 90.3 (Boys) and 89.8 (Girls) in 2019-20 to 88.4 (Boys) and 89.1 (Girls) in 2020-21. State needs to take steps to improve the transition rate from the elementary to secondary level.
- O Surplus Teachers at Elementary level: There are still 5,211 Surplus Teachers at Elementary level, while the number of single teacher schools has reduced at both the primary and upper primary level. The number of schools with adverse PTR is has reduced at primary level from

Ju

13.28% in 2019-20 to 4.47% in 2020-21, however, it has increased from 11.45% in 2019-20 to 12.52% in 2020-21 at upper primary level. State needs to go for a rationalization of teachers, to ensure availability of required number of teachers in all schools.

- O Subject PTR at Secondary level: Only 49.2% secondary schools are having teachers for all core subjects. Subject PTR at the secondary level is 39 for Mathematics, 16 for Science, 20 for Social Studies and 14 for language. State need to ensure required number of Mathematics, Science and Social Studies teachers in all schools at the secondary level.
- Out of School Children: There is a decline in the number of out of school children reported by the State from 5,582 in 2021-22 to around 2,468 in 2022-23. Moreover, the State has not identified dropouts at secondary and senior secondary level (16-19 years). State is requested to verify these numbers so as to ensure that no child is left behind.
- O Male staff posted in KGBVs: There are 54 male staff working in functional KGBVs i.e. 23-full time teachers, 14-part time teachers, 09 accountants, 03 head cooks and 04 assistant cooks. It was observed that this is a serious issue and State needs to take corrective measures in this regard on priority.
- O Inclusive Education: Out of a total number of 7,14,126 students, the number of Children with Disability (CwD) is 4,451 i.e., 1%. Further, out of a total number of 4,653 schools, the total number of schools with CwD is 1,168 i.e., 25% and of these the number of schools with >10 CwD is 72 (2%) while the number of schools with <10 CwD is 1,096 (24%). State is requested to take concerted efforts to ensure timely identification for wider coverage and requisite interventions and support.
- O Integrated Education Management System and Digital Learning Platform: State to share with the Ministry, the progress (recurring & non-recurring) and outcomes achieved of the project.
- O Vacancy of Academic positions in TEIs:
- (i) Vacancy of academic positions in 09 Functional DIETs is 60% with only 91 faculties in position as against a total sanctioned post of 225. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12
- (ii) Vacancy of academic positions in SCERT is 60% with only 18 faculties in position (at present) against the 45 sanctioned academic posts. These vacant posts need to be filled up on priority as it is also directly impacting PGI indicators # 2.1.12.

Section: II- New Approaches and Learning Recovery Plan for 2022-23

6. New Approaches 2022-23:

During the year 2022-23, the thrust of the appraisal exercise is based on the areas detailed below:

6.1 Preparation of 5-year Perspective Plan (including current year):

In order to achieve the desirable objectives and outcomes of the scheme, it has been decided to prepare a comprehensive action plan covering all interventions of Samagra Shiksha upto 2025-26 with long term vision and sustainability. While preparing the perspective plan, States/UTs may also identify outcomes to be achieved. A 5-year perspective plan module comprising of major indicators/interventions and outcomes to be achieved has been developed on PRABANDH portal, which has been filled by the States and UTs. This perspective plan will be linked to the Annual work plan of the state and while appraising the same, targets given in perspective plan will also be taken

fri

into consideration. This requires suitable and adequate planning at every stage to avoid any future ambiguity. The perspective plan for Manipur is enclosed at **Annexure-XII**.

6.2 Annual Calendar of Activities:

In order to achieve the objectives of the scheme, the States/UTs should formulate an action plan laying down timelines for implementation of various activities. Overall results can only be improved through a quantifiable time bound implementation. The indicative implementation calendar for Manipur in 2022-23 is at **Annexure-II**.

6.3 National Initiative for Proficiency in Reading with Understanding and Numeracy (NIPUN Bharat):

- Perspective Plan for NIPUN Bharat: NIPUN Bharat Mission is expected achieve its target of universal acquisition of foundational skills by all children at the end of grade III. Therefore, it is of utmost importance to make a plan for next five years which can be broken into annual plans and targets. In this regard, a planning template has already been shared with the states and UTs and the same has further been revised based on feedback from the states/UTs and digitized. The NIPUN Bharat Portal which will be launched soon will have all the details of the documents and information on NIPUN Bharat Mission at one place.
- Teaching Learning Materials & Teacher Resource Materials: States and UTs should focus on various interventions related to Child centric Teaching Learning Materials, indigenous toys and games, play based activities and supplementary graded material, Teacher Manuals, Activity Handbooks, resource materials for teachers to align their innovative pedagogies with learning outcomes and grade level competencies at foundational level. The teaching learning material may be prepared in home/local/regional languages.
- Display of Lakshya/Targets: States and UTs should ensure that Lakshya/Targets for Foundational Literacy and Numeracy are displayed on the walls of schools/classrooms in local languages so that students, teachers and parents are aware of the same. SMC members and Parents may be made aware of the Lakshyas of the mission so that they can participate in the process and make this mission a success. The template for the same has been shared by MoE on 22nd February, 2022.
- Printing and Distribution of Codified Learning Outcomes: Learning Outcomes for the Foundational Stage have been developed and codified and are available in the NIPUN Bharat guidelines document.

(https://www.education.gov.in/sites/upload_files/mhrd/files/nipun_bharat_eng1.pdf). In order to ensure that the learning outcomes reach all teachers, all parents and all schools, States/UTs may prepare the following:

- (i) Print these learning outcomes and translate them into regional languages
- (ii) Develop posters on these Learning Outcomes for schools,
- (iii) Develop Leaflets/Brochures for Parents

Funds available under MMMER component of Samagra Shiksha may be utilized for this purpose.

- IEC materials for creating awareness: IEC Materials may be developed to create awareness drives about the importance of Foundational Literacy and Numeracy.
- Display of NIPUN Bharat LOGO: State and UTs must ensure that NIPUN Bharat logo is painted in all Primary sections/school walls. The design of the logo has been shared by MoE and funds for this can be availed under Composite School Grant.

Jus

6.4 Implementation of Vidya Pravesh in all Schools:

A three month play based school preparation module for grade I have been launched by NCERT and uploaded on the NIPUN Bharat link on DIKSHA (https://diksha.gov.in/fin.html). The module is designed as an exemplar and the States/Union Territories/schools are requested to ensure timely adoption/adaptation of the same and training of teachers so that the Module could be implemented in all schools of the country in the next academic session i.e., 2022-23. (Ref letter No. D.O. No. 01-17/2021-1S.14 dated: 18th November, 2021). The module may also be introduced at the Balvatika level. Module and revised version of the Vidya Pravesh are as given below:

- i. https://ncert.nic.in/pdf/vidyapravesh.pdf
- ii. https://ncert.nic.in/pdf/VidyaPravesh Guidelines GradeI.pdf

6.5 Targeted and saturation approach for expansion of Secondary and Senior Secondary Education:

To achieve 100% GER at all levels as envisaged in NEP 2020, it is of utmost importance that adequate facilities in terms of infrastructure and quality education are available at the secondary level. Therefore, Samagra Shiksha will focus on saturation of certain key aspects in next 4 years. This kind of targeted approach will lead to universal access and affordable quality education for all at secondary stage (for the age group of 14-18 years) in the next 4 years, starting with the aspirational districts.

- a) Opening of new Secondary/Senior Secondary Schools: To ensure 100% Gross Access Ratio (GAR), this Department has conducted a GIS mapping exercise to find out the requirement of Secondary/Sr. Secondary schools in a scientific and realistic manner. While calculating GAR and preparing the proposal for opening of the new secondary/sr. secondary school based on GIS mapping, state must consider availability of govt. aided and private unaided schools also in the vicinity as per the distance norms. The States and UTs are requested to send the proposals for opening of new secondary and senior secondary schools based on GIS Mapping done by MOE.
- b) Infrastructure: Priority for saturation in secondary and sr. secondary schools will be given to the aspirational districts which will later be expanded to other districts.
- c) Integrated Science Lab: All secondary schools including KGBVs should be provided with integrated science lab.
- d) ICT and Smart classrooms: All secondary/senior secondary schools including KGBVs should be provided ICT/Smart classroom with internet facility, states and UTs may ensure electricity in schools for this purpose.
- e) Vocational Education: 50% of the composite secondary/sr. secondary schools as envisaged in NEP 2020 will introduce vocational education in the next 4 years.
- f) School Readiness Module for students at Secondary Level: The dropout rate at Secondary level has been consistently higher and one of the reasons for the same is student's inability to cope-up with the curriculum and high stakes associated with these classes. Hence, a 2-3 months readiness module should be prepared for children entering in grade IX so that they are prepared for the secondary stage. NCERT will be developing this module which can be adopted/adapted by the states and UTs.

6.6 Strengthening of BRCs and CRCs:

BRCs and CRCs have a significant role in ensuring the implementation of National Education Policy, 2020. Essentially, these institutions are the most critical units for ensuring and evaluating the quality of education at school level on a constant basis and providing timely remedial interventions. With this

perspective, the Department is coming up with a comprehensive framework on the roles and responsibilities of these functionaries, linkages with other state/district level structures, identifying existing challenges and accordingly coming up with suggestive measures to improve their overall functioning. States and UTs are requested to adopt the framework to help develop the BRCs and CRCs as vibrant academic resource centres for training and onsite support to schools and teachers. Further, all vacant posts at BRCs/CRCs should be filled up on priority.

6.7 Re-envisioning the role of DIETs as per NEP 2020:

DIETs were originally envisioned to strengthen elementary education and support the decentralization of education to the district level. Samagra Shiksha envisages the DIETs as a strong district institution that would prepare and support teachers at the school level. Now, with the implementation of the NEP 2020, it has become all the more important to make DIETs the focal point for driving pedagogic initiatives, providing necessary leadership for Foundational Literacy and Numeracy (FLN), use of technology in education and orienting teachers on assessment tools for competency based evaluation. Thus, the Department is coming up with a vision document for DIETs and States and UTs are accordingly encouraged to do a reappraisal of the roles, responsibilities and functioning of DIETs.

6.8 Social Audit:

Checking, monitoring and verification of the implementation of the interventions of Samagra Shiksha would be facilitated by Social Audit. This audit is to be carried out by the community and the entire Gram Sabha with the help of stakeholders like the Local Authority, SMC members, SHGs, Youth Clubs, etc. The norms of Samagra Shiksha also emphasize careful monitoring of provisions of Gender and Inclusion. Hence, Social Audit to cover 20% of schools per year is mandatory so that all schools are covered at least once by 2025-26. This audit will help in ensuring transparency and accountability at all levels. In this regard, detailed guidelines were shared with the states and UTs on 8th February, 2022 and the following are the major action points:

- a) Appoint a Nodal Officer for Social Audit by 28th February, 2022. The Nodal Officer will coordinate with the Ministry of Education, State Education Department, SIS and Social Audit Unit (SAU) to facilitate the Social Audit Process.
- b) A one-day workshop/orientation programme on Social Audit will be held at the National level with the Nodal Officers of the States/UTs designated for Social Audit in the month of March/April, 2022.
- c) State/UT will sign a MoU/agreement with the SAU established in the respective State/UT, as a Society under the Societies Registration Act, by March/April, 2022. The SAU of a neighbouring State may be selected, if the State/UT does not have a SAU.
- d) The State/UT Government will organize a briefing and planning meeting by April, 2022, with the State Government officials including the designated officer for Social Audit, officials from SAU, etc. Representatives from the Ministry of Education may also be invited to participate in the meeting.
- e) The SAU will share the district wise list of master trainers and cluster wise social auditors with the Nodal Officer by March/April, 2022. The district wise master trainers will be mapped with the cluster/s of the respective districts.
- f) Training will be provided to master trainers at the State/UT level in coordination with NIRD/SIRD/SAU and School Education Department in April-May, 2022. The Master Trainers will then be deployed at the district level to provide training to all the identified Cluster Social Auditors (CSA) for Samagra Shiksha by end of June 2022.

m

- g) The District/Block authorities will identify the Social Audit Facilitation Team (SAFT) by June 2022 for each cluster. The team will visit the schools in the cluster and facilitate the Social Audit for the scheme. The tenure of SAFT will be 3 years from its constitution.
- h) The Master Trainers and CSAS will also provide training to SAFT members in conjunction with DIET by July 2022.
- i) The Cluster Social Auditor (CSA) deployed by the SAU at each cluster will intimate Gram Panchayat about the schedule of conducting Social Audit in the schools under their jurisdiction. The BEO shall also notify the schedule to Gram Panchayat in writing and ensure that it is advertised publicly in order to maximise community participation in public hearings at Village/Cluster and Block level i.e., at Gram Sabha and at Block Panchayat Samiti respectively.

6.9 Inclusive Education:

A comprehensive action plan (Calendar of activities) is to be prepared for the identification of children with special needs (CwSN), training of teachers, availability of special educators, making infrastructure and ICT inclusive and awareness programmes. States and UTs may explore avenues for convergence with Ministry of Health and Ministry of Social Justice for effective coverage and implementation. Regular updation of child wise data relating to stipend for girls and other students oriented component-wise details under Inclusive Education must be uploaded on PRABANDH.

6.10 Vidyanjali 2.0:

Vidyanjali, a school volunteer programme aims to facilitate the community and volunteers to directly connect with the government and government-aided schools to contribute their services and/or assets/materials/equipment through a dedicated portal. The Department has issued guidelines to the States and UTs and requested them to participate in the program by on boarding their schools on the portal. In addition, the States and UTs are required to also identify the local volunteers/civil society organisations working in the field and encourage them to contribute to the schools through the portal so that the demand raised by schools could be met, leading to overall improvement in the quality of school education.

6.11 Ek Bharat Shrestha Bharat:

Ek Bharat Shrestha Bharat programme was launched by Hon'ble Prime Minister on Ekta Diwas (31st October, 2015) to foster national integration by a coordinated mutual engagement process between States and other institutions. All the States and UTs have been paired. The Department has issued revised guidelines on 20th November 2020 for the implementation of the programme to the States/UTs. An illustrative list of suggested activities to be taken up in schools in accordance with NEP 2020 has been drawn up and shared with States, UTs and concerned organizations. Based on these guidelines, the participating States/UTs will prepare an annual action plan of the activities that they would carry out through the year in coordination with paired States/UTs. The State and UT is required to submit monthly and annual report of the activities to the Department.

6.12 Learning Recovery Plan for 2022-23:

Covid-19 pandemic has presented unprecedented challenges for the education sector as the schools could not open for most part of this academic year and large migrations took place all over the country. The extended school closures have interrupted the learning process of children at every stage. Consequently, the Department has taken several initiatives to ensure that the school going students do not lag behind in their studies during the pandemic.

h

1) Mitigating learning loss:

After a prolonged closure, many States/UTs have now started reopening schools in a phased manner by following SOPs of COVID guidelines. Towards this effort to mitigate learning loss, the following interventions are suggested to be taken up in a planned manner:

- (i) NCERT has developed a **bridge course for Out of School Children (OoSC)** from Preschool to Class VIII that aims to bridge the learning gaps and help OOSC to be mainstreamed in the regular school. States and UTs may adopt this course for proper mainstreaming of OOSC.
- (ii) Alternative Academic Calendar: The new Alternative Academic Calendar contains week-wise plan consisting of interesting and challenging activities, with reference to learning outcome/theme/chapter taken from syllabus or textbook. It maps activities for both children with devices and children with no access to devices. States and UTs may adopt this for giving weekly guidance to schools, parents, teachers and students to ensure continuity of education.
- (iii) Post NAS intervention: NAS was recently held on 12th November 2021 and will reflect the learning gaps of pandemic period. The National/State and district reports will soon be out, however, States and UTs are requested to plan for the post-NAS interventions based on the findings and ensure appropriate interventions.
- (iv) Expansion of DIKSHA (Digital Infrastructure for Knowledge Sharing): DIKSHA can be accessed by learners and teachers across the country and currently supports 30+ languages and the various curricula of NCERT, CBSE and SCERTs across India. In the context of COVID-19 related disruption of schooling, DIKSHA made it possible for all states/UTs to enable learning/education at home through innovative state programs. Hence, States and UTs may ensure further increasing the usage of DIKSHA, including development and uploading of quality e-resources and disseminating the same to the school and student level.
- (v) 100 Days Reading Campaign: The Department has launched a 100 days reading campaign for children studying in Balvatika to Class VIII on 1st January 2022. In this regard a detailed guideline with weekly calendar of activities was shared on 9th December 2021. States and UTs are requested to participate by involving all Stakeholders for making this Campaign a huge success and also take it further.
- (vi) Ensuring age appropriate books in the Libraries and intensive use of Libraries: National Education Policy, 2020 has emphasised the importance of libraries and books including development of enjoyable and inspirational books in Indian languages, availability and accessibility of books in school/public libraries, strengthening of libraries and building a culture of reading across the country. Keeping this in view, the library guidelines was further revised and with States and UTs on 28th October, (https://dsel.education.gov.in/sites/default/files/update/revised guidelines for promotion Librar y Reading%20.pdf). States and UTs may follow the revised guidelines and ensure that age appropriate books are available in the libraries, and borrowing of books for reading by students is 100%.
- (vii) Capacity Building of Teachers: In the year for 2021-22, NISHTHA 2.0 has been extended to Secondary/senior teachers and NISHTHA 3.0 for Foundational Literacy and Numeracy has been launched for covering all pre-primary and primary grade teachers in Government and Government Aided schools. State and UTs need to share the results of the pre-training assessment for the appraisal and post training assessment with DoSE&L, Ministry of Education (MoE) after the implementation. SCERTs may be entrusted with this task of carrying out the impact evaluation study. Consequently, in 2022-23, NISHTHA training will also be extended to:
 - Senior secondary level teachers with a focus on improvement in quality of teachers and learning outcomes of students;
 - Master trainers for Anganwadi Workers in collaboration with the Department of Women and Child Development;
 - Educational Administrators; and

Ju

- Skill Development in collaboration with Ministry of Skill Development.
- (viii) Training Need Analysis: As NEP 2020 mandates 50 hrs of CPD every year for teachers based on their requirement, SCERTs may conduct a training need analysis for teachers at all levels to prepare customized training programmes accordingly. The training can be conducted online or in blended mode as per the prevalent situation.

2) Learning Recovery Package 2022-23:

A comprehensive COVID action plan had been shared with the States and UTs on 4th May 2021, outlining the role of local bodies, formation of nodal group at village/town level, conducting door-to-door/helpdesk-based/app based survey to identify out of school children, their mainstreaming and resource sharing. As a part of the learning recovery package for 2022-23, in addition to the existing interventions, some additional components have been identified for funding as a onetime measure. The additional components identified are:

- i. Learning Enhancement Package (LEP) for all students: The primary objective of the Learning Enhancement Package (LEP) is to help children to continue learning as the first step towards the restoration of normal learning following this emergency situation. This package will consist of various educational resources worksheets/workbooks, 15-20 age appropriate storybooks, supplementary materials for continuing the learning process for all children including children with special needs (CwSN). Since availability of devices and internet is still a major issue, workbooks, worksheets, activity material and additional books for higher classes becomes all the more important for continuity of learning. States and UTs may prepare grade wise material and ensure their delivery to the students. All children must be provided this package in the beginning of the academic session of 2022-23. Financial support @ Rs. 500 will be provided for children at upper primary and secondary level, as grades 1-5 are already covered under NIPUN Bharat.
- ii. Teacher Resource Package (TRP) under Innovation: To continue with the hybrid mode of learning, the usage of tablets will enable teachers to use the resources and content available on various digital portals and show them to the students. It will assist them to undertake NISHTHA and other on-line trainings. It will also help them to upload and monitor the various data/records, track the progress of each child and provide academic help to students during this pandemic. Financial support @ Rs. 10000 for tablets will be provided for the 25 lakh teachers at the primary level.
- Fluency is the ability to read age-appropriate known as well as unknown text at a certain minimum pace, accurately, and with comprehension. It is one of several critical components required for achievement of foundational literacy skills. It is proposed to have an assessment in Oral Reading Fluency for establishing minimum reading benchmarks in different Indian languages for children at Grade 3 level, along with foundational earning study and assessing performance against the same, so as to take remedial steps. Financial support @ Rs. 20.00 lakh per State/UT will be provided covering all States and UTs for conducting periodic baseline assessment including Post Foundational Learning Study interventions.
- iv. ICT facility to each BRC under Innovation: The initiative of ICT in School Education has tremendous potential for enhancing outreach and improving quality of education. ICT at BRC level will enable them to take up a substantial load of teacher capacity building with the help of face-to-face as well as online teaching-learning techniques, tools, content and resources aimed at improving the quality and efficiency of the teaching learning process. These ICT labs available in these blocks will also be utilised as nodal resource centres for identification

of CWSN so that parents will be able to reach the schools to get the benefits. Financial support of @ Rs. 6.4 lakh non-recurring and Rs. 2.4 lakh recurring including for tablets will be provided for availing ICT facility in each BRC.

w. Strengthening of CRCs - Mobility support to CRCs: The Cluster Resource Centres are the most critical units for training and on-site support to schools and teachers. The CRCs need to undertake regular visits and organise monthly meetings to discuss academic issues and design strategies for better school/student performance. During this pandemic, CRCs need to conduct periodic visits and supervision of schools/localities to observe the learning facilities. In this context, each Cluster Resource Coordinator should visit the schools (locality of learning centres in case the schools are closed) and provide onsite academic support. Financial support of @ Rs. 1000 per school will be provided as mobility support for visit by CRCs to provide support during the COVID pandemic.

3) Annual Calendar of Activities:

Sl.	Plan of Action/Roadmap 2022-23					
No.	Action plan	Time Line Responsibility				
1.	Foundational Learning Study and other Rapid surveys – these study/surveys could be offline, telephonic or online depending on the pandemic situation.	March- April	NCERT			
2.	Identify out of school children and drop outs from each grade and locate them in states.	March- April	States/UTs			
3.	Ensure implementation of Vidya Pravesh, Bridge Courses and School Readiness Module for Secondary Classes	April	States/UTs			
4.	Ensure all concerned teachers have completed NISHTHA 2.0 on secondary and NISHTHA 3.0 on FLN	April	States/UTs			
5.	Use District Report card of NAS 2021 as benchmark for the district to build remediation programme around it.	April	States/UTs			
6.	Twinning/clustering of schools with private/KVS/JNV for learning from each other	April-May	States/UTs			
7.	Create district wise strategy for post NAS interventions based on NAS results	May-June	States/UTs			
8.	Meeting of twinned schools/cluster schools every month to discuss innovative pedagogy, teaching of disabled children, joint sports/quiz/public speaking activities, etc.	From June onwards	States/UTs			
9.	Ensure 100% delivery of Textbooks and Uniforms.	July	States/UTs			
10.	Distribute additional/supplementary FLN TLM to all students	July	States/UTs			
12.	Conduct training need analysis of teachers	July	SCERTs			
13.	Initiate NISHTHA Training of BRC, CRC by state	July-August	NCERT			
14.	Enrol BRCs and CRCs in NISHTHA training	July-August	States/UTs			
15.	Begin mainstreaming of OoSC	July-August	States/UTs			
16.	Tracking each child – prepare child registry at school level and available till district level	July-August	States/UTs			
17.	Preparation and roll out of customized training programmes for teachers	August- October	States/UTs			
18.	CRC visit per school to be initiated at least twice per month	Throughout the year	States/UTs			

Sl.	Plan of Action/Roadmap 2022-23						
No.	Action plan	Time Line	Responsibility				
19.	BRC visit per cluster/few schools to be initiated at least once a month	Throughout the year	States/UTs				
20.	Monitor PM POSHAN	Throughout the year	States/UTs				
21.	Prepare weekly timetable of Learning Outcome to be achieved	Throughout the academic session	States/UTs				
22.	Begin Parent teachers meeting – once every month – take help of parents to achieve learning outcomes	Throughout the year	States/UTs				
23.	Meeting of local self-government to participate and contribute – infrastructure, monitoring student/teacher attendance, etc.	Throughout the year	States/UTs				
24.	School Management Committee meetings	Throughout the year	States/UTs				
25.	Use FLN tools on DIKSHA and benchmark each child	Throughout the year	States/UTs				

Section: III- Financial Estimation

7. Total Estimated Budget (2022-23)

The estimates for the AWP&B for 2022-23 under Elementary, Teacher Education and Secondary are as under:

(Rs. in lakh)

					(reb. m ranni)
Head	Spill over	Non- Recurring (Fresh)	Recurring * (Fresh)	Total Fresh (3+4)	Grand Total (Including Spill-Over) (2+5)
1	2	3	4	5	5
Elementary	10473.439	12335.16	20622.45	32957.61	43431.05
Secondary	9072.08	6537.31	9274.33	15811.64	24883.72
Teacher Education	1246.05	894.00	1352.40	2246.40	3492.45
Total	20791.57	19766.47	31249.18	51015.65	71807.22

^{*}Includes Programme Management (MMMER)

8. Actual Releases by GOI during 2022-23

Against the above estimates, Central Government shall provide to the State Government, Rs. 45099.27 lakh as its share (Rs. 26188.35 lakh for elementary, Rs. 16078.80 lakh for secondary & senior secondary and Rs. 2832.13 lakh for Teacher Education). The State would contribute Rs. 5011.03 lakh as its State share matching the above Central share as per the existing fund sharing pattern of Samagra Shiksha. States and UTs will also be able to utilise their unspent balances as on 31st March, 2022 for the activities approved in 2021-22 including spill over.

Based on the demand of funds projected for 2022-23, the tentative share of recurring and non-recurring grants as per the state is given below:

In

Component	Elementary Education	Secondary Education	Teacher Education	Total
Recurring	18560.21	6346.90	1217.16	26124.26
Non-recurring	7628.14	9731.90	1614.97	18975.01
Total	26188.35	16078.80	2832.13	45099.27

The Balance of the outlay (i.e. Rs. 20791.57 lakh) approved under Non-recurring components in previous years which is not spent fully, is the outlay saved/spill over for the subsequent year (i.e. 2022-23). Against the above Spill over, the committed liability of Department of SE&L is Rs. 15203.88 lakh (Rs. 6826.85 lakh for Elementary, Rs. 7229.67 lakh for Secondary and Rs. 1147.36 lakh under Teacher Education after surrender), keeping in view the total approvals and grants already released.

Non-recurring grant will be released against the committed liabilities and the fresh approvals subject to the production of required documents by State/UTs and physical and financial progress of these interventions under the non-recurring head.

The following activities may be prioritised while incurring the expenditure:

- i) RTE entitlements
- ii) Foundational Literacy and Numeracy
- iii) Quality initiatives including ICT, VE and TE
- iv) School Grants including library and sports grants
- v) Gender, Equity and inclusive education
- vi) Completion of pending civil works/spill over.

There are likely to be savings under the scheme. Therefore, supplementary PAB meetings may be considered separately sometime in the month of October-November, 2022, to consider the additional requirements of States and UTs, based on funds utilisation by the State/UT.

As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfil the estimate for the implementation of the Act. It is recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 15th Finance Commission.

The interventions under the Samagra Shiksha comprise of activities pertaining to Elementary, Secondary and Teacher Education respectively and there is a single Budget for Samagra Shiksha in the Demand for Grants (BE) 2022-23.

The release of funds would be from a single Budget Head only. However, for purposes of ascertaining the quantum of funds going to each component, the Sub-Heads for Elementary (including Teacher Education) and Secondary Education has been classified separately.

The State should invariably provide Single Budget Head during 2022-23 and the nomenclature should be Samagra Shiksha. Since Samagra Shiksha would be catering to various activities relating to RTE entitlements and all other Elementary interventions as well as Teacher Training and activities for BRCs and CRCs which forms the portion of Teacher Education activities as

well as for Secondary Education, the States shall also provide a suitable Nomenclature with Sub-Heads to identify the disbursement of funds separately under all components of Samagra Shiksha. Fund flow to SCERTs, DIETs etc. will be through State Nodal Account of State Implementing Society only.

9. Release of Funds:

The release of funds under the scheme will be further guided by the instructions contained in Department of Expenditure OM No. 1(13) PFMS/FCD/2020 dated 23.03.2022 circulated vide MoE D.O. No. 4-4/2020-IS.2 dated 06.04.2022, requesting to ensure fulfilment of the following necessary conditions to facilitate release of funds under Centrally Sponsored Schemes (CSS) for the FY 2022-23:

- a) The entire amount of central share of CSS released to the State till 31st March, 2022 is transferred to the Single Nodal Account of the SNA concerned.
- b) Corresponding State share in full is credited to by the State Government to the Single Nodal Account of the SNA.
- c) Interest accrued in the SNA account is deposited in the Consolidated Fund of India as per the instructions contained in DoE's OM No. 1(13)/PFMS/FCD/2020 dated 30.06.2021.
- d) All the bank accounts except the Single Nodal Account of the SNA and all the bank accounts of implementing agencies except zero balance account opened under DoE's instruction dated 23rd March, 2021 have been closed and the amount available in these accounts has been deposited in the Single Nodal Account of the SNA concerned. State GIFMIS is enabled to capture scheme component-wise expenditure along with PFMS scheme codes and Unique Code of the agencies incurring the expenditure.
- e) Funds available in the bank account of SNA should not be more than 25% of the amount likely to be released under a CSS to a State in 2022-23.
- f) Separate budget lines for Central and State share under the CSS in their detailed demand for grants of the State has been opened.
- g) In case of UTs without Legislature, Letter of Authorization would be issued and they shall work directly in PFMS without transferring fund to the Single Nodal Account.
- h) All other provisions of the DoE's instructions dated 23.03.2021 regarding release of funds for CSS are strictly complied with.

The utilisation of funds shall be monitored through the PFMS to ensure that the release of funds is in accordance with Rule 232 (V) of GFR-2017, as per details given in **Annexure III.**

As regards the balance of funds to be released towards 1st instalment and 2nd instalment, the above said conditions and the details to be fulfilled is at *Annexure IV*.

These minutes have been designed as a working document to be implemented and monitored throughout the year. They include the focus areas and new approaches of MOE which have been deliberated in detail in the PAB meetings. The objective is to have emphasis on quality of education and real time monitoring of activities under Samagra Shiksha through UDISE+, PGI, Mobile Apps, and Field Inspections. Many activities are shown separately for elementary and secondary due to different budget sub-heads. State specific projects are shown separately for clarity and monitoring purposes. State will provide details of the Districts, Blocks and Schools, along with UDISE code where the activities have been conducted. The minutes also include expected outcomes for each activity which will help States and UTs in assessing their performance.

In

In order to ensure effective implementation, States and UTs will prepare yearly reports on the progress of following themes/subjects:

- Progress on Foundational Literacy and Numeracy
- Progress on Early Childhood Care and Education (ECCE)
- Report on E-Governance and Digital Education
- Convergence initiatives with various line ministries
- Progress on Vocational Education.
- Progress on Teacher Education.
- State Innovations and Quality initiatives

These reports will be submitted in the month of June every year for the previous year.

Section: IV- Component-wise Approvals

10. Activity wise details and estimates approved:

1) Support at Pre-Primary Level (Elementary): At pre-school level, support is provided for TLM to children, designing of State specific curriculum and revision of Pre-Primary Textbooks in alignment with NCERT curriculum and training of pre-primary teachers. An amount of Rs.2377.88 lakh (Rs. 170.0 lakh under non-recurring and Rs.2207.88 lakh under the recurring component) was estimated for supporting existing pre-primary classes in primary schools in the State. The list of 170 schools for non-recurring grant is at Annexure-V.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Early Childhood Care and Education (ECCE)			
Support at Pre-Primary Level (Non-Recurring			
Child Friendly Furniture	170	0.60000	102
BALA Features	170	0.10000	17
Out Door Play Materials	170	0.30000	51
Total of Pre- Primary (Non- Recurring)			170
Support at Pre-Primary Level (Recurring)			
TLM for Children	8376	0.00500	41.88
Support to Pre-Primary (New)	468	1.90000	889.2
Support to Pre-Primary (Existing)	672	1.90000	1276.8
Ţ	otal of Pre- Prima	ry (Recurring)	2207.88
Grand Total of Support at Pre-Primary Level			

Outcome: This would enable to improve the transition rate by emphasising that every child acquires all cognitive/transversal/affective/psychomotor skills required for being school ready/grade-1 ready.

2) Foundational Literacy and Numeracy (NIPUN Bharat): All children in the age group of 6-9 years should have access to foundational schooling and achieve foundational skills by grade 3.An

outlay of Rs. 847.90 lakh was estimated for various interventions under NIPUN Bharat Mission as per detail given below:

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Foundational Literacy and Numeracy (FLN)			
Teaching Learning Materials for implementation of Innovative pedagogies	110115	0.00500	550.575
Teacher Resource Material/Activity Handbook	11409	0.00150	17.1135
Capacity building of Teachers of Grades I to V (New)	6521	0.01000	65.21
Independent, periodic and holistic assessment of Students	1	20.00000	20
Total		59	652.9
Formation of PMU (Elementary)		*	
State Level	-1	35.00000	35
District Level	16	10.00000	160
Total of Formation of PMU (Elementary)			195
Total of NIPUN Bharat Mission			847.9

Outcome: This would enable all children in the age group of 6-9 to achieve foundational skills by grade 3 and create a joyful learning environment and is covered under PGI Indicators 1.1.2, 1.1.3, 1.1.4, 1.1.6 and 1.2.3.

3) Opening of New/Upgraded Schools: An amount of Rs. 3748.60 lakh was estimated for upgradation of Composite Schools (Elementary) Up-gradation/ Addition of Subjects in existing Higher Secondary Schools and recurring support for existing Schools at primary, upper primary and Higher Secondary level. List of New Schools is at Annexure-VI.

Activity Master	Physical	Unit Cost	Financial
Opening of New Schools - NR (Elementary)			
Composite School for Elementary	6	84.60000	507.6
Upgradation of PS to UPS (VI -VIII)	10	71.60000	716
Total Opening of New/Upgraded schools NR (Elementa	ry)		1223.6
Opening of New Schools - Recurring (Elementary)			
Recurring Cost - New Primary (Samagra)	6	2.50000	15
Recurring Cost - Previous (Samagra)			
Recurring Cost - New Upper Primary (Samagra)	10	5.00000	50
Recurring Cost - Previous Upper Primary (Samagra)			
Total of Opening of New Schools - Recurring (Elementa	ry)		65
Opening of New / Upgraded Schools - NR (Secondary)			
2 Section School (Class IX - X)	4	230.00000	920
			920
Opening of New / Upgraded Schools - NR (Hr. Seconda	ry)		
Higher Secondary School - Science & Arts Subject (XI - XII)	2	385.00000	770
Higher Secondary School - Science & Commerce Subject	2	385.00000	770



(XI - XII)		
Total		1540
	Total of Opening of New / Upgraded Schools - NR (Hr. Secondary)	3748.6

4) Netaji Subhash Chandra Bose Awasiya Vidyalaya:

(i) Netaji Subhash Chandra Bose Awasiya Vidyalaya (Elementary): An outlay of Rs. 1135.33 lakh was estimated (Rs. 799.12 lakh under non-recurring component and Rs. 336.21 lakh under the recurring component), for 8 operational residential schools of 100 capacity and 2 new residential hostel of 100 capacity. The list for construction of 2 new building is at *Annexure VII*.

Activity Master	Physical	Unit Cost	Financial
Netaji Subhash Chandra Bose Avasiya Vidyalaya (H	ostels) - NR (New) (Capacity	100)
(Elementary)			
Furniture/ Equipment (including kitchen)	200	0.03000	6
TLM and equipment including library books	200	0.03000	6
Bedding (new)	200	0.01500	3
Construction of building (new)	2	387.56000	775.12
Total (Non-Recurring)			790.12
Netaji Subhash Chandra Bose Avasiya Vidyalaya (H	ostel) - (Rec)	(New) (Capacity	y 100)
(Elementary)			
Food/Lodging per child per month	200	0.18000	36
Stipend per child per month	200	0.00600	1.2
Supplementary TLM, Stationery and other educational material	200	0.00500	1
1 Warden	2	1.47600	2.952
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	4	0.85200	3.408
1 Head Cook	2	0.70080	1.4016
2 Assistant Cook	4	0.69000	2.76
Specific Skill training	200	0.00500	1
Electricity / water charges	200	0.00500	1
Medical care/contingencies	200	0.00750	1.5
Maintenance	2	0.10000	0.2
Miscellaneous	2	0.05000	0.1
Provision of Rent	2	1.50000	3
Capacity Building	2	0.05000	0.1
Physical / Self Defence Training	2	0.05000	0.1
Total (Recurring)			55.72
Netaji Subhash Chandra Bose Avasiya Vidyalaya (Elementary)	(Hostel) -	NR (Existing)	Capacity 10
Replacement of bedding (once in 3 years)	600	0.01500	9
Total Hostel Recurring			9
Netaji Subhash Chandra Bose Avasiya Vidyalaya (H (Elementary)	lostel) -(Rec)	(Existing) (Capa	city 100)



Activity Master	Physical	Unit Cost	Financial	
Food/Lodging per child per month	800	0.18000	144	
Stipend per child per month	800	0.01200	9.6	
Supplementary TLM, Stationery and other educational material	800	0.01000	8	
1 Warden	8	1.47600	11.808	
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	16	0.85200	13.632	
1 Head Cook	8	0.70080	5.6064	
2 Assistant Cook	16	0.69000	11.04	
Specific Skill training	800	0.02000	16	
Electricity / water charges	800	0.01000	12	
Medical care/contingencies	800	0.01250	12	
Maintenance	8	0.20000	1.6	
Miscellaneous	800	0.01200	9.6	
Provision of Rent	8	3.00000	24	
Capacity Building	8	0.10000	0.8	
Physical / Self Defence Training	8	0.10000	0.8	
Total Hostel Recurring				
Total of Netaji Subhash Chandra Bose Awasiya Vidyalaya (Elementary)				

(ii) Netaji Subhash Chandra Bose Awasiya Vidyalaya (Secondary): upgradation till X An outlay of Rs. 852.53 lakh was estimated (Rs.120.0 lakh under non-recurring component and Rs. 732.53 lakh under the recurring component), for 9 existing schools upgraded till secondary level.

Activity Master	Physical	Unit Cost	Financial
Netaji Subhash Chandra Bose Avasiya Vidyalaya - I (Upgradation till X)	Non Recurring	g (Previous Year	r)
Furniture / Equipment (including kitchen equipment)	1600	0.03000	48
TLM and equipment including library books (New)	1600	0.03000	48
Replacement of bedding (once in 3 years)	1600	0.01500	24
Total of Non recurring			120
Netaji Subhash Chandra Bose Avasiya Vidyalaya - l X)			
Stipend per child per month	1800	0.01200	21.6
Supplementary TLM, Stationery and other educational Materials	1800	0.01000	18
1 Warden	9	3.00000	27
4 Full-time Teachers	72	1.80000	129.6
1 Head Teacher in case the enrollment exceeds 100	9	3.00000	27
3 Part Time Teachers	27	1.47600	39.852
1 Full Time Accountant	9	1.20000	10.8
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	18	0.85200	15.336



Activity Master	Physical	Unit Cost	Financial
1 Head Cook	9	0.70080	6.3072
2 Assistant Cook	18	0.69000	12.42
Specific Skill training	1800	0.01000	18
Electricity / water charges	1800	0.01000	18
Medical care/contingencies	1800	0.01000	18
Maintenance	9	0.50000	4.5
Miscellaneous	1800	0.01000	18
Capacity Building	9	0.10000	0.9
Physical / Self Defence Training	9 .	0.10000	0.9
Food/Lodging per child per month	1800	0.18000	324
Assistant Warden	9	1.47996	13.31964
Examination Fee	450	0.02000	9
	Tot	tal (Recurring)	732.53
Total of Netaji Subhash Chandra Bose Awasiya Vidyalaya (Secondary)			852.53

Outcome: This would enable to provide access and increase in the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

5) Infrastructure and Civil Works

(i) Strengthening of existing schools at Elementary: An outlay of Rs. 6357.16 lakh was estimated for various civil works activities for elementary level. List of schools is at *Annexure-VIII* (A).

Activity Master	Physical	Unit Cost	Financial
Strengthening of Existing Schools (up to Highest Class VIII)	- NR		
Additional Classrooms (Upto Class VIII)	31	18.68000	579.08
Boys Toilets	89	3.76000	334.64
Girls Toilets (Upto Class VIII)	127	3.76000	477.52
Drinking Water (Upto Class VIII)	27	3.20000	86.4
CWSN Toilets (Upto Class VIII)	34	3.76000	127.84
Major Repair	54	5.50000	297
Ramps and Handrails	196	0.53000	103.88
Building Less Schools (Primary)	14	84.60000	1184.4
Dilapidated Building (Primary)	18	84.60000	1522.8
Dilapidated Building (Upper Primary)	16	71.60000	1145.6
		Total	5859.16
Electrification in Schools (Elementary) - NR			
Solar Panel	166	3.00000	498
Total			498.0
Grand Total			6357.16



Outcome: This would enable to maintain the enrolment and retention at Primary and Elementary level and is covered under PGI Indicators 1.2.1, 1.2.3, 1.2.4 and 1.2.6.

(ii) Strengthening of existing schools (Secondary): An outlay of Rs. 1965.75 lakh was estimated for various civil works activities for secondary level. List of schools attached at *Annexure-VIII (B)*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Strengthening of Existing Schools (IX - X) - NR			
Computer Room	11	19.22000	211.42
Boys Toilet	17	5.14000	87.38
Library Room	19	24.95000	474.05
Lab Equipment (Sci Lab)	13	1.00000	13
Science Lab	13	19.22000	249.86
Art/Craft Room	12	19.22000	230.64
Toilets for CWSN	27	3.96000	106.92
Drinking Water	14	3.20000	44.8
Additional Classroom	17	19.22000	326.74
Removal of Architectural Barriers	23	0.53000	12.19
Girls Toilet	25	5.15000	128.75
Total			1885.75
Electrification in Schools (Secondary and Sr. Secondary) - I	NR		
Solar Panel For School	16	5.00000	80
	L	Total	80
		Grand Total	1965.75

Outcome: This would enable to maintain the enrolment and retention at Secondary level and is covered under PGI Indicators 1.2.5, 1.2.7, 1.3.2, 1.3.3 and 1.3.4.

(iii) Strengthening of Existing Schools (XI - XII) - NR): An outlay of Rs. 1377.22 lakh was estimated for various civil work activities for schools at higher secondary level. List of schools attached at *Annexure-VIII (C)*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Strengthening of Existing Schools (XI - XII) - NR			
Library Room	2	24.95000	49.9
Lab Equipment (Science Lab)	1	1.00000	1
Science Lab	1	19.22000	19.22
Drinking Water	19	3.20000	60.8
Additional Classroom	14	19.22000	269.08
Chemistry Lab	1	24.95000	24.95
Biology Lab	3	24.95000	74.85
Art / Craft Room	2	19.22000	38.44
Boys Toilet	4	5.14000	20.56
Girls Toilet	4	5.14000	20.56

Activity Master	Physical	Unit Cost	Financial
Removal of Architectural Barriers	2	0.53000	1.06
Lab Equipment (Chemistry)	1	1.00000	1
Lab Equipment (Biology)	3	1.00000	3
Total			584.42
Teacher Quarter- NR (up to Highest X-XII)			
Residential Quarter	28	26.60	744.80
Repairing and Renovations (up to Highest Class X or XII)	- NR		
Major Repair	12	4.00000	48
Total			48
Grand Total			1377.22

6) RTE Entitlements (Elementary)

a) Free Uniforms: An outlay of Rs. 855.41 lakh was estimated for providing free uniforms to 1,42,569 children at elementary level @ Rs. 600 each, thereby covering all eligible children, as per norms of Samagra Shiksha. The details are as under:

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Free Uniform			
All Girls	73274	0.00600	439.644
ST Boys	40893	0.00600	245.358
SC Boys	2351	0.00600	14.106
BPL Boys	26051	0.00600	156.306
Total	142569		855.41

Outcome: 100% coverage of all eligible children within 3 months of start of academic year. This is covered under PGI Indicator 1.3.10.

b) Free Textbooks: An outlay of Rs. 474.43 lakh was estimated as per the unit costs mentioned below for free textbooks including Braille and large print books at elementary level as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Free Text Books			
Text Books (Class I - II)	65711	0.00250	164.2775
Braille Books (Class I - II)	26	0.00250	0.065
Large Print Books (Class I - II)	93	0.00250	0.2325
Text Books (Class III - V)	61148	0.00250	152.87
Braille Books (Class III - V)	21	0.00250	0.0525
Large Print Books (Class III - V)	189	0.00250	0.4725
Text Books (Class VI - VIII)	38982	0.00400	155.928
Braille Books (Class VI - VIII)	18	0.00400	0.072
Large Print Books (Class VI - VIII)	115	0.00400	0.46

m

Activity Master	Physical (Children)	Unit Cost	Financial
Free Text Books	"" "人"。		
Total	166303		474.43

Outcome: 100% coverage of all eligible children within 1 month of start of academic year. This is covered under the PGI Indicator 1.3.11.

c) Special Training for age appropriate admission of Out of School Children (OoSC): An outlay of Rs. 498.38 lakh was estimated for age appropriate admission of 3,964 OoSC, as per norms of the scheme. Initially, only 70% of the total funds may be released and balance 30% of the funds may be released based on mainstreaming of the children after completion of their special training.

A New module for Tracking of Out of School Children (OoSC) has been launched on PRABANDH portal. State should upload the OOsC data with the Special Training Center assigned to each individual child, so that the Unique ID may be provided to each Child and Special Training Center to track them until they are main-streamed to the regular school. State/UTs may also upload the progress of the child on PRABANDH till they are mainstreamed to the regular school on Monthly basis.

(Rs. in lakh)

Activity Master	Physical (Children)	Unit Cost	Financial
Special Training for OoSC - Non-Residential (Fresh)			
12 Month (Non-Residential - Fresh)	1302	0.06000	78.12
		Total	78.12
Special Training for OoSC - Residential (Fresh)	**************************************		
12 Month (Residential - Fresh)	1166	0.20000	233.2
		Total	233.2
Special Training for OoSC - Non-Residential (Previous)			
12 Month (Non-Residential - Previous Year)	801	0.06000	48.06
		Total	48.06
Special Training for OoSC - Residential (Previous)			
12 Month (Residential - Previous Year)	695	0.20000	139
Total			139
Total of Special Training of Out of	of School Child	dren (OoSC)	498.38

Outcome: Mainstreaming of Out of School Children and improving enrolment rate at elementary level. This is covered under PGI Indicator 1.2.1 and 1.2.8.

7) Community Mobilization (Elementary)

An outlay of Rs. 36.06 lakh was estimated for Community Mobilization activities @ Rs. 1500 per school for 2,404 elementary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Elementary)			
Media & Community Mobilization	2404	0.01500	36.06

m

8) Training and meetings of SMC (Elementary)

An outlay of Rs. 63.63 lakh @ Rs 3000 per school was estimated under SMC training. This includes provision for conducting/convening of SMC meetings on a single notified date by the State once in every quarter and incentivising nominated parents for attending the SMC meeting regularly.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Training for SMC (Elementary)	A Charles		
Training of SMC	2121	0.03000	63.63

Outcome: The SMCs will hold quarterly meetings. This will also help to generate awareness about the scheme, and making the members aware about the precautions to be taken by schools for safety and security of children in schools for prevention of spread of any infection. The guidelines and training modules for safety have been prepared and uploaded on DIKSHA.

9) Support to SCPCR (Elementary)

A total outlay of Rs.1.701 lakh @ Rs. 50/ per school was estimated under providing support to the SCPCR for grievance redressal and protecting the rights of the child under the RTE Act.

(Rs. in lakh)

Activity Master	Physical(Schools)	Unit Cost	Financial
Support to SCPCR (Elementary			
Support to SCPCR (Upto Highest Class VIII)	3402	0.00050	1.701

Outcome: This would help in protecting the rights of children by examining and reviewing the safeguards for the rights provided by or under Section 31(1) of the RTE Act, 2009 and recommend measures for their effective implementation.

10) Community Mobilisation (Secondary):

An outlay of Rs. 6.405 lakh was estimated for Community Mobilization activities @ Rs. 1500 per school for 427 secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Media & Community Mobilization (Seconda	iry)		
Media & Community Mobilization	427	0.01500	6.405

11) Training and Meetings of SMDCs (Secondary)

A total outlay of Rs. 12.81 lakh @ Rs. 3000 per school was estimated under SMDC training. This includes provisions for conducting/convening of SMDC meetings on a single notified date by the State once in every quarter, incentivising nominated parents for attending the SMDC meeting regularly.

(Rs. in lakh)

Activity Master	Physical (Schools) Unit Co	st Financial
-----------------	----------------------------	--------------

Media & Community Mobilization (Secondary)			
SMDC Training	427	0.03000	12.81

Outcome: The SMCs will hold quarterly meetings which will also help to generate awareness about the scheme.

12) Quality and Innovation Interventions:

a) Composite School Grant (Elementary): An outlay of Rs. 441.70 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 2,404 schools including at least 10% for Swachhta Action Plan. These funds should be utilized as per the guidelines laid down for utilization of school grant.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class VIII)			
School Grant - (Enrol > 30 and <=100)	998	0.25000	249.5
School Grant - (Enrol > 100 and <= 250)	116	0.50000	58
School Grant - (Enrol > 250 and <= 1000)	8	0.75000	6
School Grant (Enrol >= 1 and <= 30)	1282	0.10000	128.2
Total	2404		441.7

b) Composite School Grant (Secondary): An outlay of Rs. 189.90 lakh as per unit costs given below for Composite School Grant, as per enrolment, was estimated for 427 schools including at least 10% for Swachhta Action Plan. These funds should be utilized as per the guidelines laid down for utilization of school grant.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Annual Grant (up to Highest Class X or XII)			
School Grant - (Enrol > 30 and <=100)	146	0.25000	36.5
School Grant - (Enrol > 100 and <= 250)	159	0.50000	79.5
School Grant - (Enrol > 250 and <= 1000)	88	0.75000	66
School Grant - (Enrol > 1000)	5	1.00000	5
School Grant (Enrol >= 1 and <= 30)	29	0.10000	2.9
Total	427		189.9

Outcome: This would facilitate in improving school environment and adopt the Swachhta Action Plan effectively and is covered under PGI indicators 1.3.9, 1.4.15 and 1.4.16.

c) Library Grant (Elementary): An outlay of Rs. 161.08 lakh as per unit cost given below was estimated for library grants in 2,404 schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class VIII)			
Upper Primary Schools	511	0.13000	66.43

Activity Master	Physical (Schools)	Unit Cost	Financial
Primary Schools	1893	0.05000	94.65
Total	2404		161.08

d) Library Grant (Secondary): An outlay of Rs. 66.90 lakh as per unit cost given below was estimated for library grants in 427 Secondary/Higher Secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Library (upto Highest Class XII)			
Secondary Schools (Upto Class X)	370	0.15000	55.5
Senior Secondary School (Upto Class XII)	57	0.20000	11.4
Total	427		66.9

The funds for both (c) and (d) should be utilized in accordance with the detailed guidelines issued by MOE dated 03.10.2018, 21.01.2020 as amended by letter dated 28.10.2021. Best stories and best initiatives developed by States and UTs will be recognized and rewarded.

Outcome: The above intervention is meant for improving the reading habits of children as emphasized in Padhe Bharat Badhe Bharat and is covered under PGI indicators 1.3.4 and 1.3.6, 1.1.2 to 1.1.9).

e) Sports and Physical Education (Elementary): An outlay of Rs. 145.75 lakh as per unit cost given below was estimated for 1,893 primary and 511 upper primary schools for Sports Grants.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Class VIII)			
Sports & Physical Education (Primary Schools)	1893	0.05000	94.65
Sports & Physical Education (Upper Primary Schools)	511	0.10000	51.1
Total	2404		145.75

f) Sports and Physical Education (Secondary): An outlay of Rs. 106.75 lakh as per unit cost given below was estimated for sports & physical education at 370 Secondary and 57 Sr. Secondary level schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Sports & Physical Education (upto Highest Class XII)		A A Mickel	
Sports & Physical Education (Secondary)	370	0.25000	92.5
Sports & Physical Education (Sr. Secondary)	57	0.25000	14.25
Total	427		106.75

The utilization of the funds for sports and physical education at paras (e) and (f) above needs to be in accordance with the detailed guidelines issued by MoE in 24.12.2018. The following points need to be kept in mind:

fu

- Age appropriate sports equipment for government schools may be procured as per the guidelines
 issued by this Department to the States & UTs. The States & UTs may if they so desire, procure
 items from beyond this list subject to its actual requirement being certified by the head of school.
- Age appropriate sports activities may be organized in the Government schools of States & UTs as per the guidelines to be issued by this Department.
- Schools may include traditional/regional games of the respective State/Region. For maintaining
 workable stock position of sports equipments, periodic record may be maintained including
 workable equipment, repairable equipment, write-off equipment and new items to be purchased
 to maintain the required stock position.
- One responsible person/PET/Teacher-in-charge may be given the responsibility to take care of the equipment and maintaining the stock position of sports equipment in the school.

Outcome: The above intervention is meant for improving the PGI indicators and contributes to overall improvement in mental and physical development of the student.

g) Rashtriya Avishkar Abhiyan (Elementary): An outlay of Rs.301.845 lakh as per detail given below was estimated for Rashtriya Aavishkar Abhiyan (RAA) for conducting various activities, such as, Science exhibition, Book Fair, etc. The State may also refer to detailed guidelines issued by MoE for Rashtriya Avishkar Abhiyan.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Elementary)			
Science Exhibition / Book Fair	16	0.50000	8
Quiz Competition	16	0.50000	8
Exposure visit outside State	1600	0.02000	32
Science Kit	514	0.09752	50.12528
Excursion Trip for Students within State	32446	0.00200	64.892
Maths Kit	514	0.01776	9.12864
School Mentoring by Higher Education Institutes	514	0.05000	25.7
Participation in Science and Maths Olympiads	16	0.50000	8
Formation of Science / Maths Clubs	160	0.10000	16
Science Park	16	5.00000	80
Total			301.84592

Outcome: This will help in improving overall performance in terms of PGI indicators 1.1.7 and 1.1.8.

h) Rashtriya Avishkar Abhiyan (Secondary): An amount of Rs. 1719.69 lakh as per detail given below was estimated for Rashtriya Avishkar Abhiyan (RAA) for conducting various activities, such as Exposure visit, mentoring by Higher Education Institutions, etc. The state may also refer to detailed guidelines issued by MoE for RAA.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Rashtriya Avishkar Abhiyan (Secondary)			
Science Exhibition / Book Fair	16	0.50000	8
Quiz Competition	16	0.30000	4.8
Study Trip for Students to Higher Institutions (Within	8000	0.00200	16

me

Activity Master	Physical (Schools)	Unit Cost	Financial
States)			
Exposure visit outside State	800	0.02000	16
Maths Kit	427	0.02040	8.7108
Science Kit	427	0.12042	51.41934
Tinkering Lab	146	10.00000	1460
Formation of Science / Maths Clubs	160	0.30000	48
Participation in Children's Science Congress	16	0.50000	8
Participation in Science and Maths Olympiads	80	0.10000	8
School Mentoring by Higher Education Institutes	427	0.05000	21.35
Excursion Trip for Students within State	34707	0.00200	69.414
T	otal		1719.69

Outcome: This would strengthen student's ability to handle competitions and develop scientific temper. This is covered under PGI indicator No.1.2.5, 1.2.7, 1.3.2.

i) Learning Resource Package 2022-23:

(a) Learning Enhancement Package (Upper Primary): An outlay of Rs.162.27 lakh as given below was estimated for the learning enhancement package at the upper primary level. The primary objective is to help to continue learning as the first step towards the restoration of normal learning following the COVID pandemic. This package will consist of various educational resources worksheets/workbooks, 15-20 age appropriate storybooks, supplementary materials for continuing the learning process for all children including children with special needs (CwSN).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
LEP (Class VI – VIII)			
Learning Enhancement/Enrichment Programme (Remedial Teaching)	32454	0.00500	162.27

(b) Learning Enhancement Package (Secondary): An outlay of Rs. 173.535 lakh as given below was estimated for the learning enhancement package for classes IX to XII. This package will consist of various educational resources worksheets/workbooks, 15-20 age appropriate storybooks, supplementary materials for continuing the learning process for all children including children with special needs (CwSN).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
LEP (Class IX – XII)			
Learning Enhancement/Enrichment Programme (Remedial Teaching)	34707	0.00500	173.535

Outcome: The interventions at (a) and (b) above will help in improving the learning outcomes of children and are covered under PGI Indicators 1.1.2 to 1.1.9, 1.3.4 and 1.3.6

(c) ICT facility for BRCs (Non-recurring):

An outlay of Rs. 224.0 lakh @ Rs. 6.4 lakh per BRC was estimated for setting up ICT facilities in all the 268 functional BRCs in the state. This will enable them to take up a substantial load of teacher capacity building with the help of face-to-face as well as online teaching-learning

h

techniques, tools, content and resources aimed at improving the quality and efficiency of the teaching learning process. The list of 35 BRCs for ICT facilities is at *Annexure IX*.

(Rs. in lakh)

Activity Master	Physical (BRCs)	Unit Cost	Financia
Innovation Projects - (NR) (Elementary)	and the least of		
ICT Facility to BRCs	35	6.40000	224
		Total	224.0

(d) ICT facility for BRCs (Recurring):

An outlay of Rs. 21.0 lakh @ Rs. 0.60 lakh per BRC was estimated for ICT facilities in all the 35 functional BRCs in the state.

Activity Master	Physical (BRCs)	Unit Cost	Financial
Innovation Projects - (R) (Elementary)			
ICT Lab to BRCs (Recurring)	35	0.60000	21
ie i Lab to Brees (recomming)			

(e) Teacher Resource Package: An outlay of Rs. 1087.60 lakh @ Rs. 10,000/- per teacher was estimated for 10,876 teachers at the primary level. To continue with the hybrid mode of learning, the usage of tablets will enable teachers to use the resources and content on various digital portals and show them to the students. It will also assist them to undertake NISHTHA and other on-line trainings. The list of Schools in which teacher resource package is provided for teachers at the primary level is at *Annexure X*.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Learning Resource Package (Elementary) (NR)			
Teacher Resource Package (Primary)	10876	0.10000	1087.6

13) Innovative Activities: (Elementary & Secondary)- National Initiatives:

(i) Teacher exchange programme: State has initiated the teacher exchange programme, wherein selected teachers will be sent to good performing States to learn about their best practices and programmes. An outlay of Rs. 54.40 lakh was estimated covering 32 teachers (covering 16teachers from each district across all 16 districts).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Innovation Projects - Recurring (Secondary	& Sr. Secondary)		
Teacher exchange programme	16	3.40000	54.4

Outcome: This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.

(ii) Exposure to Vocational Education: An outlay of Rs. 64.80 lakh was estimated covering 432 schools for exposure of upper primary students to Vocational Education through visits to nearby industry/unit; Interactive sessions/lectures and workshops by local artisans, craftsmen on local skills/local crafts, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities			
Exposure to Vocational Education (Upper Primary)	432 (schools)	0.15000	64.8

(iii) Teacher ID card: An outlay of Rs. 7.03 lakh was estimated for providing teacher ID cards to 17,128 teachers at elementary and secondary level.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities			
Teacher Id Cards (Elementary)	13727	0.00050	6.8635
Teacher Id Cards (Secondary)	3401	0.00005	0.17005
Total	17128		7.03355

(iv) (a)School Safety Programme (Elementary): An outlay of Rs. 48.08 lakh @ Rs. 2000/- per school was estimated for safety and security measures for children in every school in this regard. Further, an outlay of Rs.63.63 lakh @ Rs. 500 per teacher was estimated for school safety and security activities in order to encourage teachers to function as the first level counsellors for dissemination of basic information about Covid-19 and enabling them to provide Digital/Online/Mobile based education.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Quality Components			
Fund for Safety and Security at School Level	2404	0.02000	48.08
Orientation Programme for Teachers on Safety and Security	13727	0.00500	68.635
		Total	116.715

(b) School Safety Programme (Secondary): An outlay of Rs. 8.54 lakh @ Rs. 2000/- per school was estimated for safety and security measures for children in every school in this regard. Further, an outlay of Rs. 22.31 lakh @Rs.500 per teacher was estimated for school safety and security activities in order to encourage teachers to function as the first level counsellors for dissemination of basic information about Covid-19 and enabling them to provide Digital/Online/Mobile based education.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Quality Components			
Funds for Safety and Security	427	0.02000	8.54
Orientation Programme for Teachers on safety and Security	4462	0.00500	22.31

Total	30.85
IULAI	30.03

(v) Shaala Siddhi (Elementary and Secondary): National Program on School Standards and Evaluation known as Shaala Siddhi for enabling Schools to evaluate their performance in a focussed and strategic manner and facilitate them to make professional judgement for improvement. An outlay of Rs. 14.155 lakh @ Rs. 500 per school for 2831 schools (2404 Elementary and 427 Secondary Schools) was estimated for implementing Shaala Siddhi.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Shaala Siddhi		The State of the S	
Shaala Siddhi (Elementary)	2404	0.00500	12.02
Shaala Siddhi (Secondary)	427	0.00500	2.135
Total	2831		14.155

Outcome: Improve Governance Processes of schools at Elementary and secondary level. This is covered under PGI indicator No. 2.1.19.

(vi) Youth & Eco Club: An outlay of Rs. 278.05 lakh was estimated for conducting various activities under Youth Club at from primary to senior secondary level.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities (Recurring)			
Youth & Eco Club (Elementary)	511	0.15000	76.65
Youth & Eco Club (stand alone primary only schools)	1893	0.05000	94.65
Youth & Eco Club (Secondary)	427	0.25000	106.75
Total			278.05

Outcome: This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to1.1.9.

(vii) Holistic Report Card for Students (Elementary): An outlay of Rs. 3.78 lakh was estimated for holistic report card for 75625 students (class 1 to 3).

(Rs. in lakh)

Physical	Unit Cost	Financial
75628	0.00005	3.7814

(viii) Talent Hunt: An outlay of Rs 16.0 lakh was estimated to conduct talent search covering all districts.

(Rs. in lakh)

	and the section of th	(IXS. III Iakii)
Physical	Unit Cost	Financial
fic) (Elementary)		
16	1.00000	16
1	fic) (Elementary)	fic) (Elementary)

Outcome: It would improve the learning outcomes of students and are covered in PGI 1.1.2to 1.1.9

(ix) Talent Search at school level: An outlay of Rs. 8.00 lakh was estimated to conduct talent search at school level in all 16 Districts.

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities (Secondary &	& Sr. Secondary)		
Talent Search at school level	16	0.50000	8

Outcome: Improve quality of education at Elementary level. This is covered under PGI indicator No. 1.1.2 to 1.1.9.

(x) Aptitude Test: An outlay of Rs. 17.60 lakh was estimated to conduct Aptitude test at school level in all the Districts for 34,707 students (IX to XII).

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities (Secondary &	Sr. Secondary)		
Aptitude Test at School Level	16	1.10000	17.6

Outcome: Improve quality of education at Elementary level. This is covered under PGI indicator No. 1.1.2 to 1.1.9.

- 14) Innovative Activities (Elementary and Secondary): State Specific Interventions:
- (i) School Meet: An outlay of Rs. 17.00 lakh was estimated for conducting literary cum sports week to give exposure to the students across all 17 zones.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project Innovation - (Rec) - (State Specific)	(Elementary)		
School Meet	17	1.00000	17

(ii) Joyful Saturday: An outlay of Rs. 350.0 lakh was estimated for provision of 500 pigeon holes to keep text books and copies of students covering all districts and zones as part of joyful Saturday.

(Rs. in lakh)

			(IXS. III lakii
Activity Master	Physical	Unit Cost	Financial
Project Innovation - (Rec) - (State Specifi	c) (Elementary)		
Joyful Saturday	500	0.70000	350

(iii) Joyful Learning: An outlay of Rs. 298.90 lakh was estimated for provision of 427 pigeon holes to keep text books and copies of students covering all districts and zones as part of joyful Saturday.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project Innovation - (Rec) - (State Specific)	(Secondary & Sr. Se	condary)	
Joyful Learning	427	0.70000	298.9

(iv) Twinning of schools: An outlay of Rs. 8.0 lakh is estimated for conducting various activities in virtual mode under twinning of 5 secondary schools per district. Twinning will help the teachers and students to broaden their views, become more outward looking and will provide opportunities to identify ideas, techniques which can be shared.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities - (Recurring)	(State Specific) (Secon	ndary & Sr. Secon	idary)
Twining of schools	80	0.10000	8
	~		

39 | Page

(v) Maheishangdagi Mahei: An outlay of Rs.213.50 lakh was estimated for Maheishangdagi Mahei in which subject content will be illustrated on the walls of the school building in 427 schools.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities - (Recurring)	(State Specific) (Second	ndary & Sr. Secon	idary)
Maheishangdagi Mahei	427	0.50000	213.5

Outcome: This would enable improving the learning outcomes and quality of learning. This is covered under PGI indicator No.1.1.2to 1.1.9.

(vi) All India Radio Education Programme: An outlay of Rs. 127.60 lakh was estimated for All India Radio Education Programme at elementary and Secondary level for broadcasting (530 Elementary and 746 Secondary) units as lessons. The Radio broadcast will be curriculum oriented and will be based on syllabus recommended by the board of Education

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project - Innovative Activities - (Recurring) (S	State Specific)		
All India Radio Education Programme	530	0.10000	53
(Elementary) All India Radio Education Programme	746	0.10000	74.6
(Secondary)			107.6
Total			127.6

Outcomes: It would improve the overall quality of education covered under PGI 1.1.2-1.1.9

(vii) Teacher Appraisal Format (PINDICS): An outlay of Rs. 13.727 lakh was estimated for Teacher Self evaluation. The performance indicators of PINDICS would help in identifying the strengths and weaknesses of teachers.

(Rs. in lakh)

	AND THE RESIDENCE OF THE PROPERTY OF THE PROPE	
Physical	Unit Cost	Financial
(Elementary)		
13727 (teachers)	0.00100	13.727
	(Elementary)	(Elementary)

Outcome: It would help in improving the quality of education covered under PGI 1.1.2 to 1.1.9

(viii) Display of LOGO: An outlay of 11.99 lakh was estimated for display of logo in 2399 schools.

(Rs. in lakh)

Physical	Unit Cost	Financial
(Elementary)		
2399	0.00500	11.995
	(Elementary)	(Elementary)

Outcomes: This would improve the number of students enrolled in schools and help check drop out. This covered under PGI

(ix) Documentation of Best Practice on Shagun Portal: An outlay of Rs. 25.0 lakh was estimated for uploading best practices in the form of videos, case studies, testimonials on the Shagun repository portal.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project Innovation - (Rec) - (State Specific)	(Elementary)		。
Documentation of Best Practice on Shagun	1	25.00000	25
Portal			

Outcomes: This is covered under PGI

(x) Unique Selling Proposition(USP): An outlay of Rs. 60.0 lakh was estimated for USP in 100 schools for conducting Clay Pottery, Clay Craft; Kauna Bag, Florist, Paper Craft, Bamboo and Cane Craft, Silkworm Rearing and Reeling, Tailoring-Dress, Doll Making, Weaving, Embroidery etc. if schools reopened.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project Innovation - (Rec) - (State Specific)	(Elementary)		
Unique Selling Proposition(USP)	100	0.60000	60

Outcomes: It will give exposure to students to vocational skills and is covered under PGI.

(xi) Science Park / Center: An outlay of Rs. 80.0 lakh was estimated for establishing TLM parks in 16 schools covering all 16 districts for direct practical knowledge which will develop creativity and thinking power of the students.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
(Recurring) (State Specific) (Secondary & Sr.	Secondary)		
Science Park / Center	16	5.00000	80

(xii) Nurturing of Gifted Child: An outlay of Rs 712.84 lakh was estimated for conducting various activities including online workshops and training for the benefit of gifted children

(Rs. in lakh)

Physical	Unit Cost	Financial
(Elementary)		
142569	0.00500	712.845
	(Elementary)	(Elementary)

Outcomes: This activity is aligned to NEP recommendations.

(xiii) School Readiness Module: An outlay of Rs 114.09 lakh was estimated for for conducting hands on training and implementation of Vidya Pravesh.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Project Innovation - (Rec) - (State Specific)	(Elementary)		
School Readiness Module	11409	0.01000	114.09

Outcomes: It would improve the learning outcomes of students and are covered in PGI1.1.2to 1.1.9.

15) Training for in-service Teachers and Head Teachers (Secondary):

An outlay of Rs. 23.07 lakh was estimated for online NISHTHA Phase II training @ Rs. 1000 per teacher for procuring pen-drives, printing of modules and high speed data-pack for Government/Government aided teachers at secondary level on reimbursement basis and subject to successful completion of the training.

(Rs. in lakh)

Activity Master	Physical (Teachers)	Unit Cost	Financial
In-Service Training (Elementary)			
Training for Educational Administrators (Elementary)	210	0.01000	2.1
Total of In	-Service Training	(Elementary)	2.1
In-Service Training (IX - XII)			
Teachers Class XI to XII (Government Schools)	1516	0.01000	15.16
Teachers Class XI to XII (Government Aided Schools)	81	0.01000	0.81

Mr

Activity Master	Physical (Teachers)	Unit Cost	Financial
Training for Educational Administrators	210	0.01000	2.1
(Secondary)	YES TO		
Training for Educational Administrators (Sr.	210	0.01000	2.1
Secondary)			
Total	of In-Service Train	ing (IX - XII)	20.17
Training of Resource Persons & Master Traine	ers (Secondary)		
KRPs Training Under NISHTHA State level (80	0.01000	0.8
Class XI to XII)			
Total of Training of Resource Persons	& Master Trainers	(Secondary)	0.8
Total o	f Training for In-se	ervice Teacher	23.07

Outcome: This activity would help in overall improvement in Teacher Performance and consequent improvement in Quality including Learning Outcomes and covered under PG1 2.1.18 and 2.1.

16) Academic support through BRC/URC & CRC (Elementary): BRCs and CRCs are the most critical units for ensuring and evaluating the quality of education at school level on a constant basis and providing timely remedial interventions. Accordingly, the Department is coming up with a comprehensive framework on the roles and responsibilities of these functionaries' linkages with other state/district level structures, identifying existing challenges and accordingly coming up with suggestive measures to improve their overall functioning. States and UTs are requested to adopt the framework to help develop the BRCs and CRCs as vibrant academic resource centres for training and onsite support to schools and teachers

An outlay of Rs. 1401.56 lakh was estimated for Academic support through BRC/URC as per norms of the scheme.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Provision for BRCs/URCs			
Financial Support for 1 Accountant-cum-support staff	65	2.60000	169
Financial Support for 1 Data Entry Operator in position	23	2.45000	56.35
Financial Support for 1 MIS Coordinator in position	28	4.53600	127.008
Financial Support for 2 Resource Persons for CWSN	66	4.39000	289.74
Financial Support for 6 Resource Persons at BRC	173	4.39000	759.47
Total of I	Provision for l	BRCs/URCs	1401.568
Total of Academic support	through BRC	C/URC/CRC	1401.568

Outcome: The strengthening of BRCs and CRCs would enable them to play a pivotal role in monitoring and improving the quality of education. This is covered under PGI indicator 2.1.15.

17) Band Competition (Secondary): An outlay of Rs. 5.00 lakh was estimated for Band Competition and participation in national level competition.

(Rs. in lakh)

Activity Master	Physical(State)	Unit Cost	Financial
Band Competition	1	5.00000	5

18) Kala Utsav (Secondary): An outlay of Rs. 12.00 lakh was estimated for Kala Utsav at State level and participation in national level competition.

(Rs. in lakh)

Activity Master	Physical(State)	Unit Cost	Financial
Kala Utsav (Secondary)	1	12.00000	12

19) Rangotsav (Elementary): An outlay of Rs. 5.00 lakh was estimated for Rangotsav Utsav activates in all schools.

(Rs. in lakh)

Unit Cost	Financial
5.00000	5
	5.00000

20) Financial Support for Salary of Teachers

An outlay of Rs. 5728.614 lakh (Elementary) was estimated for financial support for salary of teachers as a lump sum grant and not on the basis of number of teachers. The support for salary of teacher is calculated as per following formulation which is (i) 2021-22: 100 % of central share of expenditure in 2019-20 (ii) 2022-23: 95% of central share of expenditure incurred in 2019-20 (iii) 2023-24: 90% of central share of expenditure in 2019-20 (iv) 2024-25: 85% of central share of expenditure in 2019-20 and (v) 2025-26: 75% of central share of expenditure in 2019-20. This is further subject to the state maintaining the requisite level of filled up posts.

Elementary:

Sa	nctioned P	ost		Working Vacancies		Vacancies		
By State	Under SS	Total	By State	Under SS	Total	By State	Under SS	Total
11678	3235	14913	11678	2889	14567	0	346	346

An outlay Rs. 2679.627 lakh was estimated as support for teacher salary at elementary level as per norms of the Scheme. State was advised to relook at the requirement of teacher/headmaster posts and rationalize deployment of teachers as all teachers are the responsibility of the State. There is no dual cadre of teachers — only financial support for additional teacher salary would be provided under the Samagra Shiksha. Any additionally as per terms and conditions for recruitment of teachers in the State is to be borne by the State.

Outcome: Teacher's role is central and their deployment & rationalization would help in maintaining appropriate teacher—pupil ratio and is covered under PGI 2.1.7, 2.1.8, 2.1.9, 2.1.11a, 2.1.21, 2.1.22 and 2.1.23.

Status of Teachers in Secondary Schools-2021-22

		Sanction	ed	Working		Vacancy			
Category	State	SS	Total	State	SS	Total	State	SS	Total
Secondary Teachers	4998	1226	6224	3128	1199	4327	1870	27	1897

21) Appointment of Language Teachers

An amount Rs. 1083.60 lakh was estimated as financial support for salary of 450 Hindi language teachers at elementary level and 152 Hindi language teachers at secondary level as per norms of the Scheme.

Physical (Students)	Unit Cost	Financial
450	1.80000	810
Sr. Secondary)		
152	1.80000	273.6
		1083.60
	(Students) 450 Sr. Secondary)	(Students) Unit Cost 450 1.80000 Sr. Secondary)

22) Gender & Equity:

a) Kasturba Gandhi Balika Vidyalaya (KGBV)- Type-II (Class VI to X): KGBVs provide access and quality education to girls belonging to disadvantaged groups from upper primary to secondary level to ensure their smooth transition from elementary to secondary/sr. secondary level. An outlay of Rs. 298.33 lakh (Rs. 229.00 lakh under Non-recurring component and Rs. 69.33 lakh under Recurring component) as per detail given below was estimated, under Elementary component for 203 Type-II KGBVs.

(Rs. in lakh)

			(Rs. in la
Activity Master	Physical	Unit Cost	Financial
KGBV - Type - II (NR) (New) (Classes VI -X)			
Construction of building (new)	1	223.50000	223.5
Furniture/ Equipment (including kitchen)	50	0.03000	1.5
TLM and equipment including library books	50	0.03500	1.75
Bedding	50	0.01500	0.75
Total KGBV- Type I (New)			227.5
KGBV - Type - II (Recurring) (New) (Classes VI	(-X)		
Food/Lodging per child per month	150	0.18000	27
Stipend per child per month	150	0.01200	1.8
Supplementary TLM, Stationery and other educational material	150	0.01000	1.5
1 Warden	1	2.95992	2.95992
4 - 5 Fulltime teachers	7	1.80000	12.6
3 Part time teachers	3	1.47600	4.428
1 Full time Accountant	1	0.91200	0.912
2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	2	0.85200	1.704

Activity Master	Physical	Unit Cost	Financial
1 Head Cook	1	0.70080	0.7008
2 Assistant Cook	2	0.69000	1.38
1 Head Teacher	1	1.98000	1.98
Specific Skill training	150	0.02500	3.75
Electricity / Water Charges	1	2.00000	2
Medical care / Contingencies	150	0.01500	2.25
Maintenance	1	2.00000	2
Miscellaneous	1	2.00000	2
Preparatory Camps	1	0.07000	0.07
P.T.A.	1	0.10000	0.1
Capacity Building	1	0.10000	0.1
Physical / Self Defence	1	0.10000	0.1
Total of KGBV - Type - II (Recurring) (New) (Classes VI -X)	69.33
KGBV - Type - II (NR) (Previous Year) (Class	ses VI -X)		
Replacement of bedding (once in 3 years)	100	0.01500	1.5
Total of KGBV - Type - II (NR) (Previous Year) (Classes VI -X)	1.5

Outcome: This activity would help in addressing issues of drop out of girls and improve transition rate and retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

b) Kasturba Gandhi Balika Vidyalaya (KGBV)- Type-III (Classes VI - XII): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible. An outlay of Rs. 2453.87 lakh (Rs. 1575.0 under Non-recurring component and Rs. 878.87 lakh under recurring component) as per unit costs given below is estimated, under Elementary component for Type-III KGBVs. List of KGBVs is at Annexure-XI.

Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - III (NR) (New) (Classes VI -X	II)		
Furniture/ Equipment (including kitchen)	400	0.03000	12
TLM and equipment including library books	400	0.03500	14
Bedding	200	0.01500	3
		Total	29
KGBV - Type - III (Recurring) (New) (Classes	VI -XII)		
Food/Lodging per child per month	1200	0.18000	216
Stipend per girl per month	1200	0.01200	14.4

Activity Master	Physical	Unit Cost	Financial
Supplementary TLM, Stationery and other	1200	0.01000	12
educational material			,
1 Warden	6	2.95992	17.75952
3 Part time teachers	18	1.47600	26.568
1 Full time Accountant	6	0.91200	5.472
2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	12	0.85200	10.224
1 Head Cook	6	0.70050	4.203
1 Head Teacher/Principal	6	1.98000	11.88
4 Full Time Teachers/Lecturer	48	1.80000	86.4
2 Assistant Cook	12	0.69000	8.28
Specific skill training per girl	1200	0.02500	30
Electricity / Water Charges	6	2.50000	15
Medical care / Contingencies	1200	0.01500	18
Maintenance	6	2.50000	15
Miscellaneous	6	2.50000	15
Preparatory Camps	6	0.07000	0.42
P.T.A.	6	0.10000	0.6
Capacity Building	6	0.10000	0.6
Physical / Self Defence	6	0.10000	0.6
Examination Fee	300	0.02000	6
Assistant Warden	6	1.47996	8.87976
Total of KGBV - Type - III (Recurring) (New) (Classes VI -XII)	523.29
KGBV - Type - III (NR) (Previous Year) (Classe			
Construction of building (new) / Upgradation	4	385.00000	1540
Replacement of bedding (once in 3 years)	400	0.01500	6
Total of KGBV - Type - III (NR) (Previous Year) (Classes VI -	XII)	1546
KGBV - Type III (Recurring) (Previous Year) (Classes VI -XII)	
Food/Lodging per child per month	800	0.18000	144
Stipend per girl per month	800	0.01200	9.6
Supplementary TLM, Stationery and other	800	0.01000	8
educational material			
1 Warden	4	2.95992	11.83968
3 Part time teachers	12	1.47600	17.712
1 Full time Accountant	4	0.91200	3.648
2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	8	0.85200	6.816
1 Head Cook	8	0.70075	5.606
2 Assistant Cook	16	0.69000	11.04
1 Head Teacher/Principal	4	1.98000	7.92
4 Full Time Teachers/Lecturer	32	1.80000	57.6
Specific skill training per girl	800	0.02500	20
Electricity / Water Charges	4	2.00000	8
Medical care / Contingencies	800	0.01500	12
Maintenance	4	2.50000	10
Miscellaneous	4	2.50000	10
Preparatory Camps	4	0.07000	0.28

Activity Master	Physical	Unit Cost	Financial	
P.T.A.	4	0.10000	0.4	
Capacity Building	4	0.10000	0.4	
Physical / Self Defence	4	0.10000	0.4	
Examination Fee	200	0.02000	4	
Assistant Warden	4	1.47996	5.91984	
Chowkidar	4	0.10000	0.4	
		Total	355.58	
Total of KGBV - Type III (Recurring) (Previous Year) (Classes VI -XII)				

Outcome: This activity would help in addressing issues of drop out of girls and improve retention rate. This is covered under PGI 1.2.3-1.2.8, 1.4.9a, and 1.4.10.

c) Kasturba Gandhi Balika Vidyalaya (KGBV)- Type-IV (Classes IX - XII): KGBVs have been established to provide access and quality education to girls belonging to disadvantaged groups by setting up residential schools/hostels from upper primary to secondary level and to ensure smooth transition of girls from elementary to secondary and up to Class XII wherever possible. An outlay of Rs.33.077 lakh (Recurring) as per unit costs given below is estimated, under Elementary component for Type-IV KGBVs.

Activity Master	Physical	Unit Cost	Financial
KGBV - Type - IV (Recurring) (Previous Yea	r) (Classes IX - X	II)	
Food/Lodging per child per month	100	0.24000	24
Stipend per girl per month	100	0.01200	1.2
Supplementary TLM, Stationery and other educational material	100	0.00050	0.05
1 Warden	1	1.62800	1.628
1 Chowkidar	1	0.75900	0.759
1 Head Cook	1	0.77200	0.772
2 Assistant Cook	2	0.75900	1.518
Specific skill training per girl	100	0.00500	0.5
Electricity / Water Charges	1	1.00000	1
Medical care / Contingencies	100	0.01250	1.25
Maintenance	1	0.10000	0.1
Miscellaneous	1	0.20000	0.2
P.T.A.	1	0.10000	0.1
Total of KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)	33.077

23) 'Rani Laxmibai Atma Raksha Prashikshan' - Self-Defence Training: Gender-based violence threatens the growth, development, education and health of adolescent girls in the country. Self-defence training instil self confidence amongst girls and helps to promote their education particularly their transition to secondary and higher secondary level and to reduce the drop-out rate in schools. Through self-defence techniques, the girls are taught to increase their core strength. In dire situations, one is not required to have a particular dress to defend and save oneself instead a strategic nudge, a sharp flick, a kick or a punch are enough to deter the attacker. The girls are trained to use every day articles such as, Key chain, dupatta, Stole, mufflers, bags, pen/pencil, notebook etc. as weapons of opportunity/improvised self-defence weapons to their advantage.

The States and UTs may also look for convergence for availing funding for self-defence training under the Nirbhaya Fund under Ministry of Women and Child Development, Government of India, Police Department, Home Guards, NCC or with other State government schemes. State is requested to provide UDISE number of these schools within two months where these activities will be carried out.

(i) Rani Laxmibai Atma Raksha Prashikshan (Elementary and Secondary): An outlay of Rs. 59.25 lakh @ Rs. 5000/- per school per month was estimated for 3 Months training in self-defence for girls in 395 Upper Primary schools and Rs. 62.10 lakh @ Rs. 5000/- per school per month was estimated for 3 Months training in self-defence for girls in 414 Secondary/Senior Secondary schools.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
'Rani Laxmibai Atma Raksha Prashikshan'			
Rani LaxmibaiAtma Raksha Prashikshan (Upto Class VIII)	395	0.15000	59.25
Rani Laxmibai Atma Raksha Prashikshan (Upto Class X/XII)	414	0.15000	62.1
		Total	121.35

Outcome: This would strengthen girl's enrolment & retention and is covered under PGI indicator 1.4.10.

24) Special Projects for Equity (Elementary and Secondary level)

(i) Sanitary pad Vending & incinerator machines (NR)-Elementary level: An amount of Rs. 79.68 lakh @ Rs. 0.32000 lakh per school per machine was estimated for 249 Government secondary and higher secondary schools. List of schools is attached at *Annexure XII (A)*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Special Projects for Equity - (NR) (Elementary)			
Sanitary pad Vending & incinerator machines	249	0.32000	79.68

(ii) Sanitary pad Vending & incinerator machines (NR)-Secondary level: An amount of Rs. 43.84 lakh @ Rs.0.32000 lakh was estimated for 137 Government secondary and higher secondary schools. List of schools is attached at *Annexure XII (B)*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Special Projects for Equity - (NR) (Secondary)			
Sanitary pad Vending & incinerator machines	137	0.32000	43.84

Outcome: This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

(iii) Special Projects for Equity (Elementary)

a. Adolescent Programme for Girls Students (Elementary): An amount of Rs. 175.95 lakh
@ Rs. 3000/ was estimated for Career Guidance Programme for Girls of 5865 Government secondary and higher secondary schools of the State.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Special Projects for Equity - Recurring (Elemen	ntary)		
Adolescent Programme for Girls	5865	0.03000	175.95
Total			175.95

Outcome: This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

b. Maa-Beti Sammelan (Elementary): An amount of Rs. 16.0 lakh was estimated for motivational program on school retention and higher education for mothers and daughters @ Rs. 1.0 lakh per district across all 16 districts.

Activity Master	Physical (Districts)	Unit Cost	Financial
Special Projects for Equity - Recurring (Secondary)		
Maa- Beti Sammelan	16	1.00000	16
		Total	16

(iv) Special Projects for Equity (Secondary):

a. Remedial Coaching Classes: An amount of Rs. 18.36 lakh @ Rs.500 per student was estimated for remedial coaching classes for Board examination preparations for SC/ST students.

Activity Master	Physical (Students)	Unit Cost	Financial
Special Projects for Equity - Recurring (Secondar	y)		
Remedial Coaching Classes	3672	0.00500	18.36
	1 23 62		
Total			18.36

Outcome: This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

b. Special Coaching Classes: An amount of Rs. 55.27 lakh @ Rs.660 per school was estimated for life skills and academic coaching classes in 8375 schools across all 16 districts.

Activity Master	Physical (Schools)	Unit Cost	Financial
Special Projects for Equity - Recurring (Secondary	y)		
Special Coaching Classes	8375	0.00660	55.275
Total			55.275

Outcome: This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

(v) Project Girls Empowerment (Secondary): An amount of Rs. 211.55 lakh was estimated for various projects for Girls in 855 Government secondary and higher secondary schools & all 16 districts of the State.

- a. Adolescent Programme for Girl Students: An outlay of Rs. 85.50 lakh @ Rs. 10,000 per school was estimated for awareness programs for 855 schools.
- b. Career Guidance Programme for Girls: An outlay of Rs. 51.30 lakh @ Rs. 6,000 per school was estimated for career guidance programs for 855 schools.
- c. Kishori Utkarsh Manch: An outlay of Rs. 16.0 lakh @ Rs. 1.0 lakh per school was estimated for counselling and gender equality awareness programs for girls students for 855 schools.
- d. Dalit Siksha Utkarsha Abhiyan: An outlay of Rs. 42.75 lakh @ Rs. 5,000 per school was estimated for learning enhancement programs of Science & Math subjects for SC/ST/Minority students for 855 schools.
- e. Maa Beti Mela: An amount of Rs. 16.0 lakh was estimated for motivational program on school retention and higher education for mothers and daughters @ Rs. 1.0 lakh per district across all 16 districts.

(Rs. in lakh)

Activity Master	Physical (Schools/District)	Unit Cost	Financial
Project - Girls Empowerment (Secondary)			
Adolescent Programme for Girl Students	855	0.10000	85.5
Career Guidance Programme for Girls	855	0.06000	51.3
Kishori Utkarsh Manch	16	1.00000	16
Dalit Siksha Utkarsha Abhiyan	855	0.05000	42.75
Maa Beti Mela	16	1.00000	16
Total			211.55

Outcome: This would help in raising awareness about future career prospects; improve enrolment and retention in Secondary/Higher Secondary schools. This is covered under PGI indicator No. 1.2.5, 1.2.7, 1.3.5.

25) Inclusive Education:

A comprehensive action plan (Calendar of activities) is to be prepared for the identification of children with special needs (CwSN), training of teachers, availability of special educators, making infrastructure and ICT inclusive and awareness programmes. State may explore avenues for convergence with Ministry of Health and Ministry of Social Justice for effective coverage and implementation.

a) Elementary: An outlay of Rs. 192.475 lakh as per detail given below was estimated for various activities at elementary level for 2908 Children with Special Needs such as, identification and assessment camps (including for CwSN in pre-primary sections), distribution of aids and appliances, Braille stationary material, assistive devices, provision of transportation and escort allowances, Stipend for Girls etc.

Activity Master	Physical	Unit Cost	Financia	
Inclusive Education (up to Highest Class VIII)				
Student Oriented Components (Upto Highest Class - VII	II) (District I	Level) (Recurri	ng)	
Purchase/Development of instructional & Training materials	16	0.35000	5.6	
Sports & Exposure Visit	16	0.10000	1.6	
Orientation of Principals, Educational administrators, parents / guardians etc.	450	0.00500	2.25	
Total of Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)				
Student Oriented Components (Upto Highest Class - VI	II) (Block Le	vel) (Recurring	9)	
Gap Identification for OoSCwSN	35	0.20000	7	
Assistive Devices, Equipments and TLM	35	0.12000	4.2	
Environment Building programme	35	0.10000	3.5	
Total of Student Oriented Components (Upto Highest C (Recurring)	lass - VIII) (I	Block Level)	14.7	
Student Oriented Components (Upto Highest Class - VI	II) (Student S	Specific) (Recui	rring)	
Escort Allowance	1403	0.02000	28.06	
Transport Allowance	1208	0.02000	24.16	
Home Based Education	232	0.02000	4.64	
Providing Aids & Appliances	614	0.03000	18.42	
Reader Allowance- For only VI and Low vision	60	0.02000	1.2	
Total of Student Oriented Components (Upto Highest C Specific) (Recurring)	lass - VIII) (S	Student	76.48	
Stipend for Girls (Upto Highest Class - VIII) (Recurring	g)			
Stipend for Girls	1275	0.02000	25.5	
Total of Stipend for Girls (Upto Highest Class - VIII) (F	Recurring)		25.5	
Identification & Assessment (up to Highest Class VIII)				
Identification and Assessment (Medical Assessment Camps) (Upto Highest Class VIII)	35	0.10000	3.50	
Total of Identification & Assessment (up to Highest Class	s VIII)		3.50	
Capacity Building of Special Educators (up to Highest C	Class VIII)			
In-service Training of Special Educators (Upto Highest Class VIII)	89	0.00500	0.445	
Resource Support towards Salary (Upto Highest Class V	/III) (Recurr	ing)		
Financial Support (Previous Spl. Educators)	26	2.40000	62.4	
Total of Resource Support towards Salary (Upto Highest Class VIII) (Recurring)			62.4	

b) Secondary: An outlay of Rs. 243.46 lakh as per detail given below was estimated for various activities at secondary/ senior secondary level for 315 CwSN such as, providing aids and appliances, Braille stationary material, reader allowance, assistive devices and home based education including Rs. 70.0 lakh non-recurring amount for equipping all 35 block resource rooms for CwSN. List of BRCs is placed at Annexure XIII.

		-	S. III Idilli)
Activity Master	Physical	Unit Cost	Financia
Student Oriented Components (Upto Highest Class - XII) (Dist	rict Level) (Recurring)	
Orientation of Principals, Educational administrators, parents / guardians etc.	900	0.00500	4.5
Total of Student Oriented Components (Upto Highest Class - XII) (District Level) (Recurring)			4.5
Student Oriented Components (Upto Highest Class - XII) (Bloom	ck Level) (R	ecurring)	
Helper/Ayas/Attendant	6	0.72000	4.32
Total of Student Oriented Components (Upto Highest C		Block Level) (Recurring)	4.32
Student Oriented Components (Upto Highest Class - XII) (Student Oriented Components (Upto Highest Class - XII)	dent Specific) (Recurring)	
Escort Allowance	47	0.02000	0.94
Transport Allowance	112	0.02000	2.24
Reader Allowance- For only VI and Low vision	18	0.00500	0.09
Total of Student Oriented Components (Upto Highest Class		ent Specific) (Recurring)	3.27
Stipend for Girls (Upto Highest Class - XII) (Recurring)			
Stipend for Girls	180	0.02000	3.6
Total of Stipend for Girls (Upto Highest	Class - XII)	(Recurring)	3.6
Identification & Assessment (Upto Highest Class - XII)			
Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	35	0.10000	3.50
Total Identification & Assessment (U	pto Highest	Class – XII)	3.50
Capacity Building of Special Educators (up to Highest Class X	(II)		
In-service Training of Special Educators (Upto Highest Class XII)	51	0.02500	1.275
Strengthening Components under Inclusive Education (Upto F	Highest Class	- XII) (NR)	
Equipments for Resource Rooms	35	2.00000	70
Total of Strengthening Components under Inclusive Education	on (Upto Hig	ghest Class - XII) (NR)	70
Resource Support towards Salary (Upto Highest Class XII) (R	ecurring)		
Financial Support (Previous Spl. Educators)	51	3.00000	153
Total of Resource Support towards Salary (Upto Highes	st Class XII)	(Recurring)	153

Outcome: The activities under this intervention would provide Access and increase retention of CwSN children by providing them a conducive learning environment. This is covered under PGI indicator 1.4.12 to 1.4.15.

- **26)** Strengthening Of Teacher Education: An amount of Rs. 2246.40 lakh was estimated for the Teacher Education component. The following activities are part of the said component:
 - a) Assessment Cell (SCERT): An outlay of Rs. 35.00 lakh was estimated for setting up of an assessment cell at the state level at SCERT. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc.

M

Activity Master	Physical	Unit Cost	Financial
Assessment Cell			
SCERT	1	35.00	35.00

Outcome: This would enable States and UTs in improving the learning outcomes of students and help them to prepare plan of action to improve the quality of education.

b) New Construction and Expansion of existing TEIs - NR: An outlay of Rs. 894.00 lakh was estimated for setting up of an assessment cell at the state level at SCERT. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc. List placed at Annexure-XIV.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Strengthening of Physical Infrastructure for Nev-NR	w Construction an	d Expansion of	existing TEIs
DIETs	4	223.50000	894

Outcome: This would enable States and UTs in improving the learning outcomes of students and help them to prepare plan of action to improve the quality of education.

c) Support for Teachers Educator Salary: An amount of Rs. 624.76 lakh as per unit cost given below was estimated for Salary of academic posts in DIETs, and para academic posts in DIETs. Total amount of support for salary for teacher educators is worked out as per the scheme, @ 60% of total salary estimate.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Support for Teachers Educators Sa	lary in TEIs (Academic Posts)		
DIETs	103	5.01130	516.1639
Total			516.16
Para Academic Posts (Support for S	Salary)		
DIETs	37	2.93515	108.600550
		Total	108.60
		Grand Total	624.76

Outcome: State to ensure 100% of academic positions are filled in the SCERT/SIE and DIETs at the beginning of the given academic year. This is covered under PGI Indicator 2.1.12.

d) DIKSHA: An outlay of Rs. 50.00 lakh was estimated for DIKSHA for Content Creation Workshops for Interactive Digital Resources; Capacity Building of Teachers, Teacher Educators and other functionaries on usage of DIKSHA, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
DIKSHA (National Teacher Portal)			
Capacity building and Training for Teachers, Educators	210	0.04143	8.7

Activity Master	Physical	Unit Cost	Financial
and State officials for usage of DIKSHA	A Comment		
Development of Digital Content	4	10.32500	41.3
Total of DIKSHA (National Teacher Portal)			50

Outcome: This online platform would enable users accessing various teaching learning materials as e-contents on class wise and subject wise themes for students and teachers.

e) Programme & Activities and Capacity Building: An outlay of Rs. 400.00 lakh as per detail given below was estimated for Programme & Activities including research studies, exposure visits, short term professional courses, short term researches, impact studies, development of the State Curriculum Frameworks (SCFs), conducting activities such as consultations with stakeholders at the district level, etc.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Program & Activities including Faculty Development	of Teacher Educa	tors	
Program & Activities (DIET)	9	30.00000	270
Specific projects for Research activities (DIET)	9	10.00000	90
Program & Activities (SCERT)	1	30.00000	30
Specific programme for Research activities (SCERT)	1	10.00000	10
Total	1		400

Outcome:

- Dissemination of the findings and impact of the research studies would be shared by the States and UTs.
- The SCERT/SIE would conduct an impact assessment study of the in-service/induction training programmes.
- e) Technology Support to TEIs (Recurring): An amount of Rs. 24 lakh @Rs. 2.40 lakh per TEI was estimated for recurring grant for ICT in SCERT and 09 DIETs for activities such as, econtent and digital resources, internet connectivity and maintenance, etc.

(Rs. in lakh)

Activity Master	Physical (No. of TEI)	Unit Cost	Financial
Technology Support to TEIs (Recurring)			
SCERT (Technology Support)	1	2.4	2.4
DIETs (Technology Support)	9	2.4	21.6
		Total	24

Outcome: Introduction of innovative methods and good quality e-content developed would help in improving the quality of teacher training.

f) Training for Teacher Educators: An amount of Rs. 3.64 lakh @Rs. 0.04 lakh per teacher educator in TEIs was estimated for recurring grant for 10 days training activities in blended mode.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
	(No. of TEI)		

Training for Teacher Educators			
SCERT	10	0.04000	0.4
DIETs	81	0.04000	3.24
	THE PERSON NAMED IN	Total	3.64

Outcome: Introduction of innovative methods and good quality e-content developed would help in improving the quality of teacher training.

g) Annual Grants to TEIs: An outlay of Rs. 215.00 lakh as per detail given below for SCERT and DIETs was estimated under Annual Grant for TEIs for meeting day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books, stationery, periodicals, small office and library equipments, office expenses, etc.

(Rs. in lakh)

Activity Master	Physical Unit Cost	Financial
Annual Grants		
DIETs	9 20.00000	180
SCERT	1 35.00000	35
	Total of Annual Grant for TEIs	215

Outcome: State to ensure that SCERT and DIETs utilise the annual grants optimally and are registered under PFMS. This is covered under PGI indicator 2.1.26.

27) Vocational Education (Secondary):

The aim of introducing vocational education in schools is to prepare educated and employable youth. Under vocationalisation of school education, vocational courses are introduced along with academic subjects from classes 9 to 12. Under this component, there is greater involvement of industry in design, delivery and assessment of vocational skills.

(i) New Secondary Schools: An amount of Rs. 356.32 lakh for new introduction of VE in 20 schools as per detail given below was estimated for support for Vocational Education towards non-recurring and recurring cost. List of 20 new schools approved is at *Annexure XV*.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Introduction of VE in schools - NR			
Tools, Equipment & Furniture (New)	20 •	3.13000	62.6
Classroom Cum Workshop for VE	9	24.95000	224.55
Total of Introdu	ction of VE in s	chools - NR	287.15
Recurring Support VE - New			1907
Financial Support for Vocational Teacher/ Trainer (New)	21	1.20000	25.2
Financial Support for Resource Persons (New)	20	0.31300	6.26
Raw material Grant for new school per course (New)	20	0.56300	11.26
Cost of providing Hands on Skill Training to Students (New)	20	0.30000	6
Office Expenses / Contingencies for New School (New)	20	0.25000	5

Activity Master	Physical	Unit Cost	Financial
Induction training of Teachers VE - Teachers (10 Days)	21	0.05000	1.05
Recurring Support to Hub and Spoke Model	9	1.25000	11.25
Transportation allowance for Children from Spoke to Hub School	105	0.03000	3.15
Total of R	ecurring Suppo	rt VE - New	69.17
		Total	356.32

(ii) Existing Schools: An amount of Rs. 1104.81 lakh as per unit cost given below was estimated for support for Vocational Education towards recurring cost for 140 existing Schools.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Recurring Support VE - Existing	b = 1		
Financial Support for Vocational Teacher/ Trainer (Existing)	197	2.40000	472.8
Financial Support for Resource Persons (Existing)	140	0.97320	136.248
Raw material grant for new school per course (Existing)	140	1.75180	245.252
Cost of providing Hands Training Students (Existing)	140	0.94130	131.782
Assessment and Certification Cost (Existing)	800	0.00600	4.8
Office Expenses / Contingencies for School (Existing)	140	0.77860	109.004
In-service Training of VE - Teachers (5 - Days) - (Existing)	197	0.02500	4.925
Total of Rec	urring Support	VE - Existing	1104.811

Outcome: The activities under this intervention would enhance the employability of youth and bridge the divide between the academic & applied learning. This is covered under PGI indicator 1.3.5.

- **28) ICT and Digital Initiatives:** An outlay of Rs. 1629.58 lakh as per detail given below was estimated for ICT and Digital Initiatives including smart classrooms.
- (i)ICT and Digital Initiatives (Elementary)-NR: An outlay of Rs. 340.0 lakh non-recurring was estimated for ICT and Digital Initiatives as per detail given below for 28 Government Schools for Digital Hardware & Software and 67 Government Schools for Smart Classrooms. The list is attached at *Annexure XI (A)*.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Digital Hardware & Software (up to Highest Class V	III) - NR	ture to the second	
Digital Hardware & Software (Type - I) (Elementary)	28	6.40000	179.2
Smart Classroom (Type - II) (Elementary)	67	2.40000	160.8
		Total	340

(ii) ICT and Digital Initiatives (Elementary)-Recurring: An outlay of Rs. 505.89 lakh as per detail given below was estimated for ICT and Digital Initiatives under recurring component.

In

Activity Master	Physical (Schools)	Unit Cost	Financial
Recurring Components (Digital Hardware & Softwa	re upto Highe	st Class VIII)	
Recurring Cost (ICT & Digital Initiatives) (Option - I) (New)	28	1.20000	33.6
Recurring Cost (ICT & Digital Initiatives) (Option - I) (Existing)	188	2.40000	451.2
Smart Classroom - (Recuring) (Type - II) (Elementary) (New)	67	0.19000	12.73
Smart Classroom - (Recuring) (Type - II) (Elementary) (Existing)	22	0.38000	8.36
Total of Recurring Components (Digital Hardwa	re & Software	c upto Highest Class VIII)	505.89

(iii) ICT and Digital Initiatives (Secondary)-NR: An outlay of Rs.213.60 lakh non-recurring was estimated for ICT and Digital Initiatives as per detail given below for 06 New Secondary Government Schools for Digital Hardware & Software and 73 Schools for Smart Classrooms. The list is attached at *Annexure XI (B)*.

(Rs. in lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Digital Hardware & Software (upto Highest Class XII) - N	VR.		
Digital Hardware & Software (Type - I) (Secondary & Sr. Secondary)	6	6.40000	38.4
Smart Classroom (Type - II) (Secondary & Sr. Secondary)	73	2.40000	175.2
Total of Digital Hardware & Software (upto	Highest Clas	ss XII) - NR	213.6

(vi) ICT and Digital Initiatives (Secondary)-Recurring: An outlay of Rs. 570.09 lakh as per detail given below was estimated for ICT and Digital Initiatives under recurring component.

(Rs. In lakh)

Activity Master	Physical (Schools)	Unit Cost	Financial
Recurring Components (Digital Hardware & Software	upto Highest C	lass XII)	
Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option - I) (New)	6	1.20000	7.2
Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option - I) (Existing)	183	2.40000	439.2
Smart Classroom (Recurring) (Secondary & Sr. Secondary) (Option - II) (Existing)	289	0.38000	109.82
Smart Classroom (Recurring) (Secondary & Sr. Secondary) (Option - II) (New)	73	0.19000	13.87
Total of Recurring Components (Digital Hardware &	Software upto 1	Highest Class XII)	570.09

Outcome: Number of schools having ICT coverage and functioning as a percentage of number of Secondary/Higher Secondary schools. This will improve PGI indicator No. 1.3.3.

The utilization of these funds needs to be in accordance of the detailed guidelines issued by MOE.

All purchase from central fund should be made through GEM to ensure effective prices and standardized equipments.

The following points need to be kept in mind during procurement:

- Inventory of each item will be maintained by the school and the concerned school Principal will
 be the in-charge for ensuring that all hardware and software has been marked as inventory items.
 The record of ICT inventory, school wise, has to be maintained online and made available to
 MOE as and when required.
- Teachers should be encouraged to make use of e-learning platforms like DIKSHA, E-Pathshala, Swayam, SwayamPrabha, NROER, NISHTHA, O-labs etc.
- Teachers to be encouraged to contribute content to DIKSHA Portal.
- States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
- In order to ensure that computers installed in the schools are being used regularly, software which indicates when the computers are turned on or off, linked to the State server must be put in place.
- As per IT Act 2000, it has to be ensured that effective firewalls and appropriate control filters and
 monitoring software mechanism are installed in all computers in schools. Please consult local NIC
 for installing a govt. approved, free firewall.

29) Monitoring Information System (MIS)

(i) Monitoring of the Scheme: An outlay of Rs. 10.78 lakh was estimated for support for various MIS of the Department like UDISE+, Shagun and child tracking system, etc. An outlay of Rs. 4.313 lakh @ Rs. 2 per student was estimated for MIS/UDISE+ activities. An amount of Rs. 6.47 lakh @ Rs. 3 per student was estimated for collecting student wise data. It is mandatory for the State/UT to collect the student wise data in classes Pre-Primary to XII, in the current financial year. The same database will be used for monitoring the progress of the student in Vidya Samiksha Kendra (VSK) at State and UT. Software which is being developed by NIC may be used for student wise data collection if the State/UT doesn't have any such system in place.

(Rs. in lakh)

Activity Master	Physical (Students)	Unit Cost	Financial
Child Tracking System	215694	0.00003	6.47082
Management Information System (Udise+)	215694	0.00002	4.31388
Total of Monit	oring Information S	System (MIS)	10.7847

(ii) Vidya Samiksha Kendra (VSK): An amount of Rs. 300.00 lakh was estimated for establishment of Vidya Samiksha Kendra. The Vidya Samiksha Kendra can be established at State/ UT level as per the suggestions that will be issued by the Ministry of Education.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
Vidya Samiksha Kendra(EE/SE/TE)			Man des San de
Vidya Samiksha Kendra- Non- Recurring			
Call Management Solution(Software for call center, agent License, Hardware for call center, Installation Charges and Annual Maintenance Support Charges, PRI Lines, SMS Gateway, Monitoring and Training)	1	250.00	250.0

IT Infrastructure State MIS Dashboard Application, Mobile App, development APIs for integration of all other application & maintenance			
Vidya Samiksha Kendra- Recurring			
Other Operational Expenses	1	50.00	50.0
		Total	300.00

The following major initiatives may be implemented by the State/ UT through the data-driven monitoring system of Vidya Samiksha Kendra.

- Daily Online Attendance of Students and Teachers
- Centralised Summative and Periodic Assessments
- School Enrolment Drive
- School Accreditation
- Minimizing Non-Academic work of Teachers through School Administrative Module
- Technology Enabled Learning Initiatives during COVID/ unforeseen situation
- Specially selected and trained Teachers will be providing continual guidance and academic support using the video wall rooms through live data sharing with BRCs, CRCs, Taluka and District officials, and Students from all over the State through Call management solution.

30) Management, Monitoring, Media, Evaluation & Research (MMMER):

An outlay of Rs. 2429.03 lakh was estimated for Management, Monitoring, Media, Evaluation and Research (MMMER) for Staffing cost, Media, Advertising & Publicity, Research Studies, etc.

(Rs. in lakh)

Activity Master	Physical	Unit Cost	Financial
MMMER (E.E / S.E. / T.E)	1	2429.031	2429.031

Outcome Targets:

To achieve the desired objectives and outcomes of the scheme, it has been decided to prepare a Comprehensive Action Plan covering all interventions of Samagra Shiksha upto 2025-26 with long term vision and sustainability. The 5-year Perspective Plan including year-wise outcome target is at *Annexure XVII*. State will ensure effective implementation of this outcome based action plan.

31) Spill Over

An outlay of Rs. 20791.5690 lakh as Spill over under various activities falling under Elementary Education, Secondary Education and Teacher Education was estimated with the condition that all pending activities should be completed during this year 2022-23. The detail is enclosed at *Annexure XVIII*.

32) Costing Sheet

The consolidated item-wise estimate for 2022-23 is at *Annexure XIX*. The State must bifurcate the annexed costing sheet among all the Districts according to their proposals/approvals and capture the district wise expenditure against the budget allotted, on the PRABANDH portal on a monthly basis for the real time monitoring of each activity/component approved under Samagra Shiksha. Also, State needs to ensure that timely implementation of the various interventions as per the annual calendar of activities submitted.

The meeting ended with a vote of thanks to the Chair.

List of Participants

Ministry of Education, Government of India

- 1. Ms. Anita Karwal, Secretary (SE&L)
- 2. Sh. Santosh K. Yadav, Additional Secretary (SS-I) (SE&L)
- 3. Sh. Prem Prakash Gupta, Director
- 4. Sh. Shobhit Gupta, Director (Finance)
- 5. Ms. Reetu Chandra, Deputy Secretary
- 6. Sh. Tejpal Singh, Under Secretary
- 7. Ms. Sohila K. Bakshi State Coordinator, TSG
- 8. Appraisal Team Members- TSG Consultants, Samagra Shiksha

Representatives of other Ministeries/ Departments, Government of India

- 1. Dr. Sumantra Pal, Ecomonic Advisor, Ministry of Women & Child Development
- 2. Sh. S. Sasikumar, Director, Ministry of Women & Child Development
- 3. Dr. Prem, NITI Aayog
- 4. Ms. Khyati Menezes, Young Professional, NITI Aayog

State Government of Manipur

- 1. Sh. L. Nandakumar Singh, Director of Education (S) & State Project Director, Samagra Shiksha Manipur.
- 2. Sh. T. Phulen Meitei, Addl. State Project Director (Elementary), Samagra Shiksha Manipur.
- 3. Sh. A Chinglenkhomba Meitei, Addl. State Project Director (Secondary), Samagra Shiksha Manipur.
- 4. Sh. Jim G. Thingujam, Joint Director, SCERT, Manipur.
- 5. Sh. Arif Mujahid Khan, Finance Controller (Elementary), Samagra Shiksha, Manipur.
- 6. Sh. S. Ranbir Singh, State Coordinator, Samagra Shiksha, Manipur.
- 7. Sh. L. Chandrakumar Singh, State Coordinator, Samagra Shiksha, Manipur.
- 8. Sh. Sananingthem Sharma, Sr. Account Officer, Samagra Shiksha, Manipur.
- 9. Sh. Thingbaijam Naresh Kumar, Executive Engineer, Samagra Shiksha, Manipur.
- 10. Sh. Th. Nixon Singh, Asst Engineer, Samagra Shiksha, Manipur.
- 11. Sh. O. Amitkanta Singh, System Analyst, Samagra Shiksha, Manipur
- 12. Sh. Dhanabir Singh, MIS Coordinator, Samagra Shiksha, Manipur
- 13. Sh. Kaphunsinpou Malangmei (Peter), State Coordinator, Samagra Shiksha, Manipur.
- 14. Ms. Rita Usham, State Coordinator, Samagra Shiksha, Manipur.
- 15. Ms. Jaya Kangjam, State Coordinator, Samagra Shiksha, Manipur.
- 16. Ms. Diana Thangjam, Asst. State Coordinator, Samagra Shiksha, Manipur.
- 17. Ms. Sonia Puyam, Asst. State Coordinator, Samagra Shiksha, Manipur.
- 18. Ms. H. Leishembi Chanu, Resource Person, Samagra Shiksha, Manipur.
- 19. Sh. W. Meghachandra Singh, DEO, Samagra Shiksha, Manipur.

Annexure-II

Annual Calendar of Activities

		Responsibility	Total			,	Time	fram	e for l	Imple	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
Acces	s & Retention														
Open	ing of New / Upgraded Schools														
1	Opening of New Schools - NR (Elementary)														
	Composite School for Elementary	Education Engineering Wing, Education	6												
	Upgradation of PS to UPS (VI -VIII)	Education Engineering Wing, Education	10												
2	Opening of New Schools - Recurring (Elementary)														
	Recurring Cost - New Primary (Samagra)	SPO	6												
	Recurring Cost - New Upper Primary (Samagra)	SPO	10												
3	Opening of New / Upgraded Schools - NR (Secondary)														
	2 Section School (Class IX - X)	Engineering Wing, Edn(S)	4												
6	Opening of New / Upgraded Schools - NR (Hr. Secondary)														
	Higher Secondary School - Science & Arts Subject (XI - XII)	Engineering Wing, Edn(S)	2												
	Higher Secondary School - Science & Commerce Subject (XI - XII)	Engineering Wing, Edn(S)	2												
	i Subhas Chandra Avasiya Vidhyalaya														
25.2	Netaji Subhash Chandra Bose Avasiya Vidyalaya - Non Recurring (Previous Year) (Upgradation till X)														
	Furniture / Equipment (including kitchen	Samagra Shiksha	1600												

		Responsibility	Total				Time	fram	e for l	Imple	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	equipment)														
	TLM and equipment including library books (New)	Samagra Shiksha	1600												
	Replacement of bedding (once in 3 years)	Samagra Shiksha	1600												
26.2	Netaji Subhash Chandra Bose Avasiya Vidyalaya - Recurring (Previous Year) (Upgradation till X)														
	Stipend per child per month	Samagra Shiksha	1800												
	Supplementary TLM, Stationery and other educational Materials	Samagra Shiksha	1800												
	1 Warden	Samagra Shiksha	9												
	4 Full-time Teachers	Samagra Shiksha	72												
	1 Head Teacher in case the enrollment exceeds 100	Samagra Shiksha	9												
	3 Part Time Teachers	Samagra Shiksha	27												
	1 Full Time Accountant	Samagra Shiksha	9												
	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	Samagra Shiksha	18												
	1 Head Cook	Samagra Shiksha	9												
	2 Assistant Cook	Samagra Shiksha	18												
	Specific Skill training	Samagra Shiksha	1800												
	Electricity / water charges	Samagra Shiksha	1800												
	Medical care/contingencies	Samagra Shiksha	1800												
	Maintenance	Samagra Shiksha	9												
	Miscellaneous	Samagra Shiksha	1800												
	Capacity Building	Samagra Shiksha	9												
	Physical / Self Defence Training	Samagra Shiksha	9												
	Food/Lodging per child per month	Samagra Shiksha	1800												
	Assistant Warden	Samagra Shiksha	9												

		Responsibility	Total				Time	fram	e for	Impl	emen	tatior	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Examination Fee	Samagra Shiksha	450												
35	Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels) - NR (New) (Capacity 100) (Elementary)														
	Furniture/ Equipment (including kitchen)	Samagra Shiksha	200												
	TLM and equipment including library books	Samagra Shiksha	200												
	Bedding (new)	Samagra Shiksha	200												
	Construction of building (new)	Engineering Wing Education(S)	2												
36	Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) - (Rec) (New) (Capacity 100) (Elementary)														
	Food/Lodging per child per month	Samagra Shiksha	200												
	Stipend per child per month	Samagra Shiksha	200												
	Supplementary TLM, Stationery and other educational material	Samagra Shiksha	200												
	1 Warden	Samagra Shiksha	2												
	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	Samagra Shiksha	4												
	1 Head Cook	Samagra Shiksha	2												
	2 Assistant Cook	Samagra Shiksha	4												
	Specific Skill training	Samagra Shiksha	200												
	Electricity / water charges	Samagra Shiksha	200												
	Medical care/contingencies	Samagra Shiksha	200												
	Maintenance	Samagra Shiksha	2												
	Miscellaneous	Samagra Shiksha	2												
	Provision of Rent	Samagra Shiksha	2												
	Capacity Building	Samagra Shiksha	2												
	Physical / Self Defence Training	Samagra Shiksha	2												

		Responsibility	Total			1	Time	fram	e for	Impl	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
37	Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) - NR (Existing) (Capacity 100) (Elementary)														
	Replacement of bedding (once in 3 years)	Samagra Shiksha	600												
38	Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) -(Rec) (Existing) (Capacity 100) (Elementary)														
	Food/Lodging per child per month	Samagra Shiksha	800												
	Stipend per child per month	Samagra Shiksha	800												
	Supplementary TLM, Stationery and other educational material	Samagra Shiksha	800												
	1 Warden	Samagra Shiksha	8												
	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	Samagra Shiksha	16												
	1 Head Cook	Samagra Shiksha	8												
	2 Assistant Cook	Samagra Shiksha	16												
	Specific Skill training	Samagra Shiksha	800												
	Electricity / water charges	Samagra Shiksha	800												
	Medical care/contingencies	Samagra Shiksha	800												
	Maintenance	Samagra Shiksha	8												
	Miscellaneous	Samagra Shiksha	800												
	Preparatory camps		0												
	P.T.A / school functions		0												
	Provision of Rent	Samagra Shiksha	8												
	Capacity Building	Samagra Shiksha	8												
	Physical / Self Defence Training	Samagra Shiksha	8												
	gthening of Existing Schools														
48	Strengthening of Existing Schools (up to Highest Class VIII) - NR														

		Responsibility	Total			ı	Time	frame	e for	Imple	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	lun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Additional Classrooms (Upto Class VIII)	SMDC / Education Engineering Wing, Education	31												
	Boys Toilets	SMDC	89												
	Girls Toilets (Upto Class VIII)	SMDC	127												
	Drinking Water (Upto Class VIII)	SMDC	27												
	CWSN Toilets (Upto Class VIII)	SMDC	34												
	Major Repair	SMDC	54												
	Ramps and Handrails	SMDC	196												
	Building Less Schools (Primary)	Education Engineering Wing, Education	14												
	Dilapited Building (Primary)	Education Engineering Wing, Education	18												
	Dilapited Building (Upper Primary)	Education Engineering Wing, Education	16												
	Rain Water Harvesting		0												
49	Strengthening of Existing Schools (IX - X) - NR														
	Computer Room	Engineering Wing, Edn(S)/SMDC	11												
	Boys Toilet	Engineering Wing, Edn(S)/SMDC	17												
	Library Room	Engineering Wing, Edn(S)/SMDC	19												
	Lab Equipment (Sci Lab)	Engineering Wing, Edn(S)/SMDC	13												
	Science Lab	Engineering Wing, Edn(S)/SMDC	13												
	Art/Craft Room	Engineering Wing, Edn(S)/SMDC	12												

		Responsibility	Total			1	Time	frame	e for	Impl	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Toilets for CWSN	Engineering Wing, Edn(S)/SMDC	27												
	Drinking Water	Engineering Wing, Edn(S)/SMDC	14												
	Additional Classroom	Engineering Wing, Edn(S)/SMDC	17												
	Removal of Architectural Barriers	Engineering Wing, Edn(S)/SMDC	23												
	Girls Toilet	Engineering Wing, Edn(S)/SMDC	25												
	Rainwater Harvesting		0												
50	Strengthening of Existing Schools (XI - XII) - NR														
	Library Room	Engineering Wing, Edn(S)/SMDC	2												
	Lab Equipment (Sci Lab)	Engineering Wing, Edn(S)/SMDC	1												
	Science Lab	Engineering Wing, Edn(S)/SMDC	1												
	Drinking Water	Engineering Wing, Edn(S)/SMDC	19												
	Additional Classroom	Engineering Wing, Edn(S)/SMDC	14												
	Chemistry Lab	Engineering Wing, Edn(S)/SMDC	1												
	Biology Lab	Engineering Wing, Edn(S)/SMDC	3												
	Art / Craft Room	Engineering Wing, Edn(S)/SMDC	2												
	Boys Toilet	Engineering Wing, Edn(S)/ SMDC	4												

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	l		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Girls Toilet	Engineering Wing, Edn(S)/SMDC	4												
	Removal of Architectural Barriers	Engineering Wing, Edn(S)/SMDC	2												
	Lab Equipment (Chemistry)	Engineering Wing, Edn(S)/SMDC	1												
	Lab Equipment (Biology)	Engineering Wing, Edn(S)/SMDC	3												
51	Electrification in Schools (Elementary) - NR														
	Solar Panel	Outsourcing Firm	166												
52	Electrification in Schools (Secondary and Sr. Secondary) - NR														
	Solar Panel For School	Outsourcing Firm	16												
54	Teacher Quarter - NR (up to Highest Class X or XII)														
	Residential Quarter	Engineering Wing, Edn(S)	28												
55	Repairing and Renovations (up to Highest Class X or XII) - NR														
	Major Repair	SMDC	12												
Free	Textbooks														
61	Free Text Books														
	Text Books (Class I - II)	School	65711												
	Braille Books (Class I II)	School	26												
	Large Print Books (Class I II)	School	93												
	Text Books (Class III - V)	School	61148												
	Braille Books (Class III - V)	School	21												
	Large Print Books (Class III - V)	School	189												
	Text Books (Class VI - VIII)	School	38982									П			

		Responsibility	Total	Timeframe for Implementation												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar	
	Braille Books (Class VI VIII)	School	18													
	Large Print Books (Class VI - VIII)	School	115													
Free	Uniforms															
62	Uniform															
	All Girls	school	73274													
	ST Boys	school	40893										V			
	SC Boys	school	2351									√	V			
	BPL Boys	school	26051									√	V			
Speci	al Training of Out of School Children (OoSC)															
63	Special Training for OoSC - Non-Residential (Fresh)															
	12 Month (Non-Residential - Fresh)	SCHOOL	1302													
64	Special Training for OoSC - Residential (Fresh)															
	12 Month (Residential - Fresh)	SCHOOL	1166													
65	Special Training for OoSC - Non-Residential (Previous year)															
	12 Month (Non-Residential - Prev Year)	SCHOOL	801													
66	Special Training for OoSC - Residential (Previous year)															
	12 Month (Residential - Prev. Year)	SCHOOL	695													
Supp	ort to SCPCR															
70	Support to SCPCR															
	Support to SCPCR (Upto Highest Class VIII)	SPO/DPO	3402													
	munity Mobilization													<u> </u>		
98	Community Mobilization (Elementary)													<u> </u>		
	Training of SMC/ SDMC	State Level Team/District Level Team/SMDC	2121													

		Responsibility	Total	Timeframe for Implementation												
COMPONENT/ACTIVITY		(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar	
	Community Mobilization	State Level Team/District Level Team/SMDC	2404													
99	Community Mobilization (Secondary)															
	SMDC Training	State Level Team/District Level Team/SMDC	427													
	Community Mobilization	State Level Team/District Level Team/SMDC	427													
	ity Interventions															
	s for Quality (LEP, Innovation, Guidance etc)															
71	Innovation Projects - (NR) (Elementary)															
	ICT Facility to BRCs	BRC	35													
	Teacher Resource Package (Primary)	BRC	10876													
72	Innovation Projects - (Elementary) (Recurring)															
	Fund for Safety and Security at School Level	School	2404													
	Holistic Report Card for Students (Elementary	School	75628													
	Orientation Programme for Teachers on Safety and Security	School	13727													
	Shaala Siddhi	School	2404													
	Teacher IdCards	SPO/ DPO	13727													
	Youth & Eco Club	School	511													
	Youth & Eco Club(stand alone primary only schools)	School	1893													
	ICT Lab to BRCs (Recurring)	BRC	35													
74	Innovation Projects - Recurring (Secondary & Sr. Secondary)															
	Aptitude Test at School Level	State Level Team/District Level Team/SMDC	16					V	V							

		Responsibility	Total	Timeframe for Implementation												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar	
	Funds for Safety and Security	State Level Team/District Level Team/SMDC	427							√						
	Orientation Programme for Teachers on safety and Security	State Level Team/District Level Team/SMDC	4462							V						
	Shaala Siddhi	State Level Team/District Level Team	427						√	√						
	Talent Search at school level	State Level Team/District Level Team/SMDC	16									$\sqrt{}$				
	Teacher Exchange programme	State Level Team/District Level Team/SMDC	16								\checkmark					
	Teacher IdCards	State Level Team/District Level Team/SMDC	3401								$\sqrt{}$					
	Youth & Eco Club	State Level Team/District Level Team/SMDC	427								√					
	Exposure to Vocational Education (Class 6 - 8)	State Level Team/District Level Team/SMDC	432													
77	Project - Innovative Activities - (Recurring) (State Specific) (Secondary & Sr. Secondary)															
	Biometric system for monitoring teachers attendance		0							V						
	Science Park / Center	State Level Team/District Level Team/SMDC	16							V						
	Twining of schools	State Level Team/District Level Team/SMDC	80											$\sqrt{}$		
	Maheishangdagi Mahei	State Level Team/District Level Team/SMDC	427											$\sqrt{}$	√	
	All India Radio Education Programme	State Level Team with outsource Firm	746			√	V	√	√	V	$\sqrt{}$	$\sqrt{}$	$\sqrt{}$	$\sqrt{}$	V	
	Joyful Learning	State Level Team/District Level Team/SMDC	427									$\sqrt{}$				

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	l		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	School Meet	State Level Team/District Level Team/SMDC	17							$\sqrt{}$		V			
79	Project Innovation - (Rec) - (State Specific) (Elementary)														
	Teacher Appraisal Format (PINDICS)	School	13727												
	Joyful Saturday	School	500												
	Enrollment Drive	SPO/ DPO	0												
	Display of LOGO	SPO/ DPO	2399												
	Documentation of Best Practice on Shagun Portal	SPO	1												
	Unique Selling Proposition(USP)	School	100												
	Aadhar Enable Biometric Attendance System (ABAS)	School	0												
	Nurturing of Gifted Child	School	142569												
	All India Radio Educational Program	SPO	530												
	Talent Hunt	SPO/ DPO	16												
	Setting up Studio	SPO	0												
	School Readiness Module	SPO/ DPO	11409												
83	Project Kala Utsav (Secondary)														
	Kala Utsav	State Level Team/District Level Team	1												
88	Experiential Learning (Elementary)														
	Rangotsav		1												
93	LEP (Class VI - VIII)	0 01'1 1 1	22454												
	Learning Enhancement/Enrichment Programme (Remedial Teaching)	Samagra Shiksha and School	32454							П					
94	LEP (Class IX - XII)														

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	ì		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Learning Enhancement/Enrichment Programme (Remedial Teaching)	State Level Team/District Level Team/SMDC	34707												
100	Band Competition														
	Band Competition (Secondary&Sr. Secondary)	State Level Team/District Level Team/SMDC	1												
NIPU	N Bharat Mission														
86	Nipun Bharat Mission (FLN)														
	Teaching Learning Materials for implementation of Innovative pedagogies	SPO/ DPO	110115												
	Teacher Resource Material/Activity Handbook	SPO/ SCERT	11409												
	Capacity building of Teachers of Grades I to V (New)	SPO/ SCERT	6521												
	Independent, periodic and holistic assessment of Students	SPO/ SCERT	1												
	Foundational Learning Study (FLS)		0												
87	Formation of PMU (Elementary)														
	State Level	SPO	1												
	District Level	SPO/ DPO	16												
Train	ing for In-service Teacher and Head Teachers														
106	In-Service Training (Elementary)														
	Training for Educational Administrators (Elementary)	State Level Team	210												
107	In-Service Training (IX - XII)														
	Teachers Class XI to XII (Government Schools)	State Level Team/District Level Team	1516							√		√	√		
	Teachers Class XI to XII (Government Aided Schools)	State Level Team/District Level Team	81							V		V	V		
	Training for Educational Administrators (Secondary)	State Level Team	210						V						

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	l		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Training for Educational Administrators (Sr. Secondary)	State Level Team	210						V						
113	Training of Resource Persons & Master														
	Trainers (Secondary)														
	KRPs Training Under NISHTHA State level (State Level Team/District	80						١.,						ĺ
	Class XI to XII)	Level Team													
	oosite School Grant														
118	Annual Grant (up to Highest Class VIII)														
	School Grant - (Enrol > 30 and $<=100$)	School	998												
	School Grant - (Enrol > 100 and <= 250)	School	116												ĺ
	School Grant - (Enrol > 250 and <= 1000)	School	8												
	School Grant (Enrol >= 1 and <= 30)	School	1282												
119	Annual Grant (up to Highest Class X or XII)														
	School Grant - (Enrol > 30 and <=100)	School	146												
	School Grant - (Enrol > 100 and <= 250)	School	159												
	School Grant - (Enrol > 250 and <= 1000)	School	88												
	School Grant - (Enrol > 1000)	School	5												
	School Grant (Enrol >= 1 and <= 30)	School	29												
Libra	ry Grants														
120	Library Grant (upto Highest Class VIII)														
	Upper Primary Schools	School	511												ĺ
	Primary Schools	School	1893												
121	Library Grant (upto Highest Class XII)														
	Secondary Schools (Upto Class X)	School	370												
	Senior Secondary School (Upto Class XII)	School	57												
Rastr	iya Aavishkar Abhiyan														
124	Rashtriya Aavishkar Abhiyaan (Elementary)														

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Science Exhibition / Book Fair	State/District team	16												
	Quiz Competition	State/District team	16												
	Exposure visit outside State	State/District team	1600												
	Science Kit	Outsource Firm	514												
	Excursion Trip for Students within State	State/District team	32446												
	Maths Kit	Outsource Firm	514												
	School Mentoring by Higher Education Institutes	State/District team	514												
	Participation in Science and Maths Olympiads	State/District team	16												
	Formation of Science / Maths Clubs	State/District team	160												
	Science Park	State/District team	16												
125	Rashtriya Aaviskaar Abhiyan (Secondary)														
	Science Exhibition / Book Fair	State Level Team/District Level Team	16											V	
	Quiz Competition	State Level Team/District Level Team	16											V	
	Study Trip for Students to Higher Institutions (Within States)	State Level Team/District Level Team	8000											V	
	Exposure visit outside State	State Level Team/District Level Team	800											V	
	Maths Kit	Outsource Firm	427												
	Science Kit	Outsource Firm	427				$\sqrt{}$								
	Tinkering Lab	Outsource Firm	113												
	Formation of Science / Maths Clubs	State Level Team/District Level Team	160												√
	Participation in Children's Science Congress	State Level Team/District Level Team	16												V
	Participation in Science and Maths Olympiads	State Level Team/District Level Team	80												V

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	School Mentoring by Higher Education Institutes	State Level Team/District Level Team	427												√
	Excursion Trip for Students within State	State Level Team/District Level Team	34707												$\sqrt{}$
	Establishment Of Science Park	State Level Team/District Level Team	0												√
	and Digital Initiatives														
127	Digital Hardware & Software (up to Highest Class VIII) - NR														
	Digital Hardware & Software (Type - I) (Elementary)	Outsource Firm BOO Model	28												
	Smart Classroom (Type - II) (Elementary)	Outsource Firm BOO Model	67												
128	Recurring Components (Digital Hardware & Software upto Highest Class VIII)														
	Recurring Cost (ICT & Digital Initiatives) (Option - I) (New)	Outsource Firm BOO Model	28												
	Recurring Cost (ICT & Digital Initiatives) (Option - I) (Existing)	Outsource Firm BOO Model	188												
	Smart Classroom - (Recuring) (Type - II) (Elementary) (New)	Outsource Firm BOO Model	67												
	Smart Classroom - (Recuring) (Type - II) (Elementary) (Existing)	Outsource Firm BOO Model	22												
129	Digital Hardware & Software (upto Highest Class XII) - NR														
	Digital Hardware & Software (Type - I) (Secondary & Sr. Secondary)	Outsource Firm BOO Model	6												
	Smart Classroom (Type - II) (Secondary & Sr. Secondary)	Outsource Firm BOO Model	73												
130	Recurring Components (Digital Hardware &														

		Responsibility	Total			i	Time	fram	e for	Imple	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Software upto Highest Class XII)														
	Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option - I) (New)	Outsource Firm BOO Model	6												
	Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option - I) (Existing)	Outsource Firm BOO Model	183												
	Smart Classroom (Recurring) (Secondary & Sr. Secondary) (Option - II) (New)	Outsource Firm BOO Model	289												
	Smart Classroom (Recurring) (Secondary & Sr. Secondary) (Option - II) (Existing)	Outsource Firm BOO Model	73												
Early	Childhood Care and Education (ECCE)														
133	Pre- Primary (Non- Recurring)														
	Child Friendly Furniture	SPO/DPO	170												
	BALA Features	SPO/DPO	170												
	Out Door Play Materials	SPO/DPO	170												
134	Pre-Primary (Recurring)														
	TLM for Children	SCHOOL	8376												
	Support at Pre-Primary Level (New)	SPO	468												
	Support to Pre-Primary (Existing)	SPO	672												
Acad	emic support through BRC/URC/CRC														
135	Provision for BRCs/URCs														
	Financial Support for 1 Accountant-cum- support staff	BRC	65												
	Financial Support for 1 Data Entry Operator in position	BRC	23												
	Financial Support for 1 MIS Coordinator in position	BRC	28												
	Financial Support for 2 Resource Persons for	BRC	66												

			Responsibility	Total			,	Time	fram	e for	Imple	ement	tation	1		
	CO	OMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	CWS	N														
	Finan BRC	ncial Support for 6 Resource Persons at	BRC	173												
137	Provisions															
	Finan	ncial Support for CRC Coordinator (one)	BRC	0												
Sport	•	l Education														
122	Sports & I Class XII)	Physical Education (upto Highest														
	Sport	s & Physical Education (Secondary)	District Level Committee with SMDC	370												
	Sport	s & Physical Education (Sr. Secondary)	District Level Committee with SMDC	57												
123	Sports & I Class VIII	Physical Education (upto Highest														
	Sport)	s & Physical Education (Primary Schools	Samagra SIS, District, Zonal and School	1893				√	√	V	V					
	Sport School	s & Physical Education (Upper Primary ols)	Samagra SIS, District, Zonal and School	511				√	√	1	V					
Teach	ner Educatio	on														
		ngthening of physical infrastructure in IETs/BITEs)														
140		ning of Physical Infrastructure for New														
	Constructi NR	ion and Expansion of existing TEIs -														
	DIET	Ss	Engineering Wing Education (S)	4												
	SCEF			0				•					_			
Techi	nology Supp															
143	Technolog	y Support to TEIs (Recurring)														

		Responsibility	Total			1	Time	fram	e for	Impl	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	SCERT (Technology Support)	SCERT	1												
	DIETs (Technology Support)	SCERT	9												
	ram & Activities including Faculty Development of ner Educators														
144	Program & Activities including Faculty Development of Teacher Educators														
	Program & Activities (DIET)	SCERT, DIET	9												
	Specific projects for Research activities (DIET)	SCERT, DIET	9												
	Program & Activities (SCERT)	SCERT	1												
	Specific programme for Research activities (SCERT)	SCERT	1												
Asses	sment Cell (SCERT)														
145	Assessment Cell														
	SCERT	SCERT	1												
Finar	icial Support for Teacher Educators (TEIs)														
147	Financial Support for Salary in TEIs (Academic Posts)														
	DIETs	SCERT	91												
148	Para Academic Posts (Financial Support)														
	DIETs	SCERT	25												
Train	ing of Teacher Educators														
149	Training for Teacher Educators														
	SCERT	SCERT	10												
	DIETs	SCERT, DIET	81												
DIKS	HA (National Teacher Portal)														

		Responsibility	Total				Time	fram	e for	Impl	emen	tatior	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
151	DIKSHA (National Teacher Portal)														
	Capacity building and Training for Teachers, Educators and State officials for usgae of DIKSHA	SCERT	210												
	Development of Digital Content	SCERT	4												
	cial Support for Teachers (HMs/Teachers)														
154	Financial Support for Salary (Elementary)														
	Financial Support for Teacher Salary (Elementary)	Samagra Shiksha, Manipur & Edn(S)	1												
157	Financial Support for Teachers (Secondary)														
	Financial Support for Teacher Salary (Secondary)	Samagra Shiksha, Manipur & Edn(S)	1												
Appo	intment of Language Teachers														
159	Language Teachers in NER (Hindi) (Secondary & Sr. Secondary)														
	Hindi Teacher (Previous)	Samagra Shiksha, Manipur & Edn(S)	152												
161	Language Teachers in NER (Hindi) (Elementary)														
	Hindi Teacher (New)	Samagra Shiksha, Manipur & Edn(S)	0												
	Hindi Teacher (Previous)	Samagra Shiksha, Manipur & Edn(S)	450												
	er & Equity														
	ırba Gandhi Balika Vidyalaya (KGBVs)														
167	KGBV - Type - II (NR) (New) (Classes VI -X)														
	Construction of building (new)	Engineering Wing Education (S)	1												
	Furniture/ Equipment (including kitchen)	Samagra Shiksha	50												
	TLM and equipment including library books	Samagra Shiksha	50												

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	ì		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
į	Bedding	Samagra Shiksha	50												t
68	KGBV - Type - II (Recurring) (New) (Classes VI -X)														
ļ	Food/Lodging per child per month	Samagra Shiksha	150												
ļ	Stipend per child per month	Samagra Shiksha	150												
	Supplementary TLM, Stationery and other educational material	Samagra Shiksha	150												
	1 Warden	Samagra Shiksha	1												
ļ	4 - 5 Fulltime teachers	Samagra Shiksha	7												
ļ	3 Part time teachers	Samagra Shiksha	3												
	1 Full time Accountant	Samagra Shiksha	1												
	2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	Samagra Shiksha	2												
	1 Head Cook	Samagra Shiksha	1												
	2 Assistant Cook	Samagra Shiksha	2												
	1 Head Teacher	Samagra Shiksha	1												
	Specific Skill training	Samagra Shiksha	150												
	Electricity / Water Charges	Samagra Shiksha	1												
	Medical care / Contingencies	Samagra Shiksha	150												
	Maintenance	Samagra Shiksha	1												
	Miscellaneous	Samagra Shiksha	1												
	Preparatory Camps	Samagra Shiksha	1												
	P.T.A.	Samagra Shiksha	1												
	Capacity Building	Samagra Shiksha	1												
	Physical / Self Defence	Samagra Shiksha	1												

		Responsibility	Total			1	Time	fram	e for	Imple	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Replacement of bedding (once in 3 years)	Samagra Shiksha	100												
171	KGBV - Type - III (NR) (New) (Classes VI -XII)														
	Furniture/ Equipment (including kitchen)	Samagra Shiksha	400												
	TLM and equipment including library books	Samagra Shiksha	400												
	Bedding	Samagra Shiksha	200												
172	KGBV - Type - III (Recurring) (New) (Classes VI -XII)														
	Food/Lodging per child per month	Samagra Shiksha	1200												
	Stipend per girl per month	Samagra Shiksha	1200												
	Supplementary TLM, Stationery and other educational material	Samagra Shiksha	1200												
	1 Warden	Samagra Shiksha	6												
	3 Part time teachers	Samagra Shiksha	18												
	1 Full time Accountant	Samagra Shiksha	6												
	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	Samagra Shiksha	12												
	1 Head Cook	Samagra Shiksha	6												
	1 Head Teacher/Principal	Samagra Shiksha	6												
	4 Full Time Teachers/Lecturer	Samagra Shiksha	48												
	2 Assistant Cook	Samagra Shiksha	12												
	Specific skill training per girl	Samagra Shiksha	1200												
	Electricity / Water Charges	Samagra Shiksha	6												
	Medical care / Contingencies	Samagra Shiksha	1200												
	Maintenance	Samagra Shiksha	6												
	Miscellaneous	Samagra Shiksha	6												
	Preparatory Camps	Samagra Shiksha	6												

		Responsibility	Total			1	Time	fram	e for	Imple	ement	ation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	P.T.A.	Samagra Shiksha	6												
	Capacity Building	Samagra Shiksha	6												
	Physical / Self Defence	Samagra Shiksha	6												
	Examination Fee	Samagra Shiksha	300												
	Assistant Warden	Samagra Shiksha	6												
173	KGBV - Type - III (NR) (Previous Year) (Classes VI -XII)														
	Construction of building (new) / Upgradation	Engineering Wing Education (S)	4												
	Furniture/ Equipment (including kitchen)		0												
	TLM and equipment including library books		0												
	Replacement of bedding (once in 3 years)	Samagra Shiksha	400												
174	KGBV - Type III (Recurring) (Previous Year) (Classes VI -XII)														
	Food/Lodging per child per month	Samagra Shiksha	800												
	Stipend per girl per month	Samagra Shiksha	800												
	Supplementary TLM, Stationery and other educational material	Samagra Shiksha	800												
	1 Warden	Samagra Shiksha	4												
	3 Part time teachers	Samagra Shiksha	12												
	1 Full time Accountant	Samagra Shiksha	4												
	2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	Samagra Shiksha	8												
	1 Head Cook	Samagra Shiksha	8												
	2 Assistant Cook	Samagra Shiksha	16												
	1 Head Teacher/Principal	Samagra Shiksha	4												
	4 Full Time Teachers/Lecturer	Samagra Shiksha	32												

		Responsibility	Total				Time	fram	e for	Impl	emen	tation	1		
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Specific skill training per girl	Samagra Shiksha	800												
	Electricity / Water Charges	Samagra Shiksha	4												
	Medical care / Contingencies	Samagra Shiksha	800												
	Maintenance	Samagra Shiksha	4												
	Miscellaneous	Samagra Shiksha	4												
	Preparatory Camps	Samagra Shiksha	4												
	P.T.A.	Samagra Shiksha	4												
	Capacity Building	Samagra Shiksha	4												
	Physical / Self Defence	Samagra Shiksha	4												
	Examination Fee	Samagra Shiksha	200												
	Assistant Warden	Samagra Shiksha	4												
	Chowkidar	Samagra Shiksha	4												
178	KGBV - Type - IV (Recurring) (Previous Year) (Classes IX - XII)														
	Food/Lodging per child per month	District Level Committee with SMDC	100			V									
	Stipend per girl per month	District Level Committee with SMDC	100			V									
	Supplementary TLM, Stationery and other educational material	District Level Committee with SMDC	100			V									
	1 Warden	District Level Committee with SMDC	1			V									
	1 Chowkidar	District Level Committee with SMDC	1			V									
	1 Head Cook	District Level Committee with SMDC	1			V									
	2 Assistant Cook	District Level Committee with SMDC	2			V									

		Responsibility	Total Timeframe for Implementation												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Specific skill training per girl	District Level Committee with SMDC	100			V									
	Electricity / Water Charges	District Level Committee with SMDC	1			√									
	Medical care / Contingencies	District Level Committee with SMDC	100	√											
	Maintenance	District Level Committee with SMDC	1			√									
	Miscellaneous	District Level Committee with SMDC	1			V									
	Preparatory Camps	District Level Committee with SMDC	0			√									
	P.T.A.	District Level Committee with SMDC	1			√									
	Capacity Building	District Level Committee with SMDC	0			√									
	Physical / Self Defence	District Level Committee with SMDC	0			V									
Total	of Kasturba Gandhi Balika Vidyalaya (KGBVs)														
	Laxmibai Atma Raksha Prashikshan														
183	Rani Laxmibai Atma Raksha Prashikshan (upto Highest Class X or XII)														
	Rani Laxmibai Atma Raksha Prashikshan (Upto Class X or XII)	Outsource Firm (VOVINAM Association, Manipur)	414											$\sqrt{}$	
184	Rani Laxmibai Atma Raksha Prashikshan (up to Highest Class VIII)														
	Rani Laxmibai Atma Raksha Prashikshan (Upto Class VIII)	Samagra Shiksha SIS/DPO/School	395												
Total	of Rani Laxmibai Atma Raksha Prashikshan														

	Responsibility Total Timeframe for Implementation										
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	gency) antity Physical quantity April Apri		Feb	Mar					
Speci	al Projects for Equity										
185	Special Projects for Equity - (NR) (Secondary)										
	Sanitary pad Vending & incinerator machines	Outsource Firm through Limited Tender	137								
186	Special Projects for Equity - Recurring (Secondary)										
	Remedial Coaching Classes	ZEOs, District Level Committee with SMDC	3672								
	Special Coaching Classes	ZEOs, State Level Team with Outsource Resource Persons	8375								
187	Special Projects for Equity - (NR) (Elementary)										
	Sanitary pad Vending & incinerator machines	Samagra Shiksha , State level	249								
188	Special Projects for Equity - Recurring (Elementary)										
	Adolescent Programme for Girls	Samagra Shiksha , State level	5865								
	Maa- Beti Sammelan	Samagra Shiksha , District level	16								
190	Project- Girls Empowerment (Secondary)										
	Adolescent Programme for Girls Students	District Level Team with SMDC	855				√				
	Career Guidance Programme for Girls	District Level Team with SMDC	855				V				
	Kishori Utkarsh Manch	District Level Team with SMDC	16					√			
	Dalit Siksha Utkarsha Abhiyan	District Level Team with SMDC	855					V			

		Responsibility	Total												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Maa Beti Mela	District Level Team with SMDC	16									√			
	sive Education														
	sion for Children with Special Needs (CWSN)														
198	Student Oriented Components (Upto Highest Class - VIII) (District Level) (Recurring)														
	Purchase/Development of instructional & Training materials	SPO/BRC	16												
	Sports & Exposure Visit	DPO	16												
	Orientation of Principals, Educational administrators, parents / guardians etc.	SPO/DPO	450												
199	Student Oriented Components (Upto Highest Class - VIII) (Block Level) (Recurring)														
	Gap Identification for OoSCwSN	DPO	35												
	Assistive Devices, Equipments and TLM	SPO/DPO	35												
	Environment Building programme	SPO/DPO	35												
200	Student Oriented Components (Upto Highest Class - VIII) (Student Specific) (Recurring)														
	Escort Allowance	DPO	1403												
	Transport Allowance	DPO	1208												
	Home Based Education	DPO	232												
	Providing Aids & Appliances	SPO/DPO	614												
	Reader Allowance- For only VI and Low vision	DPO	60												
201	Stipend for Girls (Upto Highest Class - VIII) (Recurring)														
	Stipend for Girls	DPO	1275												
202	Student Oriented Components (Upto Highest Class - XII) (District Level) (Recurring)														

		Responsibility	Total												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Orientation of Principals, Educational administrators, parents / guardians etc.	District Level Team with SMDC	900					V							
203	Student Oriented Components (Upto Highest Class - XII) (Block Level) (Recurring)														
	Helper/Ayas/Attendant	District Level Team with SMDC	6	$\sqrt{}$	√	√	V	√	√	√	~	$\sqrt{}$	$\sqrt{}$	\checkmark	√
204	Student Oriented Components (Upto Highest Class - XII) (Student Specific) (Recurring)														
	Escort Allowance	District Level Team with SMDC	47									√			
	Transport Allowance	District Level Team with SMDC	112												
	Reader Allowance- For only VI and Low vision	District Level Team with SMDC	18									√			
205	Stipend for Girls (Upto Highest Class - XII) (Recurring)														
	Stipend for Girls	District Level Team with SMDC	180									V			
206	Identification & Assessment (up to Highest Class VIII)														
	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class VIII)	SPO/DPO	35												
	Early Identification and Detection Camps (Pre-Primary)	SPO/DPO	35												
207	Identification & Assessment (Upto Highest Class - XII)														
	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	Block Level Team with SMDC	35												
208	Capacity Building of Special Educators (up to Highest Class VIII)														

		Responsibility	Total												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	In-service Training of Special Educators (Upto Highest Class VIII)	SPO/DPO	89												
209	Capacity Building of Special Educators (up to Highest Class XII)														
	In-service Training of Special Educators (Upto Highest Class XII)	SPO	51								√				
210	Resource Support towards Salary (Upto Highest Class VIII) (Recurring)														
	Financial Support (Previous Spl. Educators)	DPO	26												
212	Strengthening Components under Inclusive Education (Upto Highest Class - XII) (NR)														
	Equipments for Resource Rooms	Block Level Team with SMDC	35						√	√	√	√	√		
213	Resource Support towards Salary (Upto Highest Class XII) (Recurring)														
	Financial Support (Previous Spl. Educators)	District Level Team	51	1									V		
Vocat	tional Education														
	duction of Vocational Education at Secondary and r Secondary														
214	Introduction of VE in schools - NR														
	Tools, Equipment & Furniture (New)	Samagra Shiksha, Manipur	20												<u> </u>
	Classroom Cum Workshop for VE	Samagra Shiksha, Manipur	9												
215	Recurring Support VE - New														
	Financial Support for Vocational Teacher/ Trainer (New)	JCRE Skill Solution	21												
	Financial Support for Resource Persons (New)	Samagra Shiksha, Manipur	20												
	Raw material Grant for new school per course (New)	Samagra Shiksha, Manipur	20						V						
	Cost of providing Hands on Skill Training to Students (New)	Samagra Shiksha, Manipur	20						V						

		Responsibility	Total Timeframe for Implementation												
	COMPONENT/ACTIVITY	(Implementing Agency) Total Physical quantity	Physical quantity	April	May	Jun	July	Aug	Sep	Oct	Nov	Dec	Jan	Feb	Mar
	Office Expenses / Contingencies for New School (New)	Samagra Shiksha, Manipur	20						V						
	Induction training of Teachers VE - Teachers (10 Days)	State Level Team	21						V						
	Recurring Support to Hub and Spoke Model	Samagra Shiksha, Manipur	9												
	Transportation allowance for Children from Spoke to Hub School	Samagra Shiksha, Manipur	105						V						
217	Recurring Support VE - Existing														
	Financial Support for Vocational Teacher/ Trainer (Existing)	JCRE Skill Solution	197							V					
	Financial Support for Resource Persons (Existing)	Samagra Shiksha, Manipur	140						V						
	Raw material grant for new school per course (Existing)	Samagra Shiksha, Manipur	140						√						
	Cost of providing Hands Training Students (Existing)	Samagra Shiksha, Manipur	140						√						
	Assessment and Certification Cost (Existing)	Samagra Shiksha, Manipur	800												
	Office Expenses / Contingencies for School (Existing)	Samagra Shiksha, Manipur	140						V						
	In-service Training of VE - Teachers (5 - Days) - (Existing)	State Level Team	197								√				
218	Addition of VE Course in Existing Schools - NR														
	Tools, Equipment & Furniture (Existing Schools)		0												
Moni	toring of the Scheme														
Moni	toring Information System (MIS)													•	
219	Monitoring of the Scheme														
	Child Tracking System	spo/dpo/Block/School	215694					$\sqrt{}$			$\sqrt{}$				
	Management Information System (Udise +)	spo/dpo/Block/School	215694												

Annexure-III

Check list to be ensured by Bureau before submitting file to IFD for concurrence

Sl. No.	Items	Requirement/Supporting Documents
	The entire amount of central share of CSS released to the state till 31 st March 2022 has been transferred to the single Nodal Account of the SNA concerned.	SNA 01 and SNA 06 Report of PFMS along with PRABANDH Report
	Corresponding State Share in full has been credited to by the State Government to the Single Nodal Account of the SNA.	SNA 01 & SNA 06 Report of PFMS along with PRABANDH Report
	in the consolidated Fund of India (CFI) as per the instructions contained in DOE's O M dated 30-06-2021.	State Government should calculate the interest earned with clear bifurcation of central and state share and deposit in CFI. SNA 04 report Interest income should be shown in UC
	of the SNA and all the bank accounts of implementing Agencies except Zero balance account opened under	Bureau to certified that Central Share is not diverted to PD account/FD/Flexi Account/Multi Option Deposit Account.
	be more than 25% of the amount likely to be released under CSS to a state in 2022-23.	M 22 Report & SNA 01 report of PFMS along with closing balance of SNA account as on date. Bureau certified that Funds available in the bank account of SNA is not be more than 25% of the amount (Rs) likely to be released under CSS (Rs) to the state in 2022-23.
6	Whether all IAs are mapped on PFMS	The details regarding all IAs, and IAs mapped on PFMS may be provided

		No. of IAs	No. of IAs where zero balance have been opened	No. of IAs whi details has bee submitted to be opening zero b	n ank for	Details of where no process ha been initia	ıs	Time Period when the details will be submitted to
				account				bank
		Bureau	3 Report on PFI certified that all	l IAs are mappe				ı
	the CSS in their detailed demand for Grants of the State has been opened.	share h	•	1				
8	PAB minutes	PAB m (Page n	inutes indicating o)	g Budget Estima	ates and a	ctual releas	able a	nmount
		A Propose Release by M/o Edu Central Provisio Whethe Amoun Provisio	B ed Matching s ed share	tate Provision in State Budget red by PAB Rs. e Government a required to be predicted to be predicted to be predicted for the predicted f	D Deficit (i in State F B-C as central s share Ye provisioned	f any) Budget Share in DE es/No. I by State g	OG Rs	5

10	Confirmation from State regarding transfer of GOI share along with matching state share of last year 2021-		rernment	letter (l	Page no.) sup	ported w	rith PRABANDH Report	
	22 (Released till 31-03-2022)							is no shortfall in GOI share	
		A	В	С	D	Е	F	1	
		Year	GOI	Due	State	Deficit			
			release	State	share		Since		
				share	release		2018-		
							19		
		2018-19							
		2019-20							
		2020-21							
		2021-22							
		 Cumulative State share statement along with details required under refinancial management guidelines and declaration by State Government that there is no deficit in State share. Note - Any excess release by state upto 2017-18 shall be taken as zopening balance from 2018-19 onwards, that there is no deficit of states. 							
11	Consolidated Audited UC of 2020-21 for Samagra Shiksha	Audited U Bureau ce	` 0		•	C	•	Secretary	
12	Consolidated Provisional UC of 2021-22 for Samagra Shiksha	Consolida	ited Audi	ted UC	(Page N	o.) coun	tersigned	d by State Secretary	
		Bureau ce	ertifies th	at Provi	isional U	C is sati	sfactory		
13	Expenditure statement	SNA 01 F fund.	Report sh	owing 6	expenditu	re not b	e less tha	an 75% of the total available	
		Expenditu	ıre staten	nent up	to last mo	onth in a	ll compo	onents separately.	

		Bureau certifies that pace of expenditure is satisfactory (utilization of at least 75% of the funds released earlier including central share and state share both)
14	Statement of outstanding advances	Outstanding advances Report (Page no)
		Note - Outstanding advances to be examined. How many advance are unsettled for more than one year old and timeline by which they would be settle these advances are to be reported.
15	Physical Progress Report	Physical Progress Report (Page no)
		The projects which are under progress and not even started till yet should be examined. What efforts are being made to complete these projects.
	All other provision of DOE O. M. dated 23 rd March, 2021 have been strictly complied with.	Bureau certifies that all provisions of DOEs O M dated 23 rd March 2021 have been duly complied by State Government with undertaking from State Government.

- Note: 1. Bureau to specifically certify where mentioned against corresponding row.
 2. Bureau should submit proposal in above Tabular format of checklist so that file is not returned back for any deficiency in document.
 3. The format of release of fund should specifically be attached in tabular form.

Annexure-IV

Check list to be submitted by the States/UTs along-with proposal for release of instalment in 2022-23

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
1	PAB minutes	PAB minutes indicating Budget Estimates and actual releasable amount (pg. No.)	Whether the commitments given by States/UTs in the PAB meeting were fulfilled
2	Confirmation from state Government towards provision of matching state share in the State Budget	State government letter (Page no)	Central share as Estimated by PAB
	State Budget	A B C D Proposed Matching state share Released by MoE Colum (A) Released Corresponding Colum (A) Provision in State Budget (if any) in State Budget B-C	Amount of State share required to be provisioned by State government Provision made by State Government Whether there is any deficit in state share yes/No
3	Confirmation from State regarding transfer of GOI share along-with matching state share of last year 2021-22	State Government letter (Page No.) Note: States/UTs should certify that there is no shortfall in GOI share and matching share from start of SamagraShiksha Format at Annexure-A.	Year to year release of central share since beginning of SamagraShiksha i.e. for 2018-19, 2019-20, 2020-21, 2021-22 with cumulative release Last year release of Central share – Rs.— Actual Central share transferred to SIS – Rs. – Whether entire central share transferred to SIS Yes/No Matching State Share in respect of above central share – Rs. –

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
			Matching State share transferred to SIS – Rs. – whether any deficit in State share – Yes/No
4	Ad-hoc release of current year (2022-23) along-with matching state share from State Treasury to SIS	State Government letter regarding confirmation of Receipt of Central share and State share (Page No.)	Total ad-hoc release – Rs. – Actual of ad-hoc release transferred to SIS – Rs Whether entire central share of ad-hoc release was transferred to SIS Yes/No Matching State Share – State share transferred to SIS –Rs Whether entire matching state share transferred to SIS- Yes/No
5	Confirmation that there is no deficit of State share Cumulative GOI & State upto 2017-18 in above tabular Form. Note Any excess release by state upto 2017-18 shall be taken as zero opening balance from 2018-19 onwards.	Cumulative State share statement along-with declaration by State Government that there is no deficit in State share	
6	Provisional UC 2021-22 for balance of 1 st instalment under SamagraShiksha	Provisional UC (page no.)	
7	Consolidated Audited UC of 2021-22 for 2 nd instalment under SamagraShiksha	Consolidated Audited UC (Page No.)	

Sl. No	Requirements	Document required to be submitted	Comments of States/UTs
8	Expenditure statement	Expenditure statement upto last month	Expenditure position in all components separately. States/UTs should also certify that pace of expenditure is satisfactory and there is no possibility of parking of funds after release as per proposal of States/UTs.
9	Statement of outstanding advances	Outstanding advances Report (Page No)	How many advance are unsettled for more than one year old and timeline by which they would be settle these advances are to be reported.
10	Physical Progress Report	Physical Progress Report (Page No.)	The projects which are under progress and not even started till yet clearly indicated and what efforts are being made to complete these projects.
11	PRABANDH Portal	Document/ Data updation on PRABANDH portal	

Annexure-A

State share Statement

A	В	C	D	E	F	G	H	I	J
Year	Approv ed Outlay	GOI relea se	GOI share receiv ed	GOI Shortfall/Exc ess for the year only (+/-)	Cumul ative Centra l share Shortf all/ Excess	Stat e shar e Due	State share receive d	State share Shortfall/Exc ess for the year only (+/-)	Cumulat ive State share Shortfall / Excess
2018-19									
2019-20								_	
2020-21									
2021-22									

Annexure-V

List of 170 Schools for Support at Pre-Primary

Govt schools having class 1st						
S.no	district_name	school_management	school_name	udise_code		
			BISHNUPUR AWANG PRIMARY			
1	BISHNUPUR	Department of Education	SCHOOL	14040100402		
2	BISHNUPUR	Department of Education	LANGOMPOKPI PRIMARY SCHOOL	14040104703		
2	DIGIN WINDING	D	LEIMAPOKPAM PUBLIC HIGH	1.40.40.10.200.2		
3	BISHNUPUR	Department of Education	SCHOOL MOIRANG KHUNOU PRIMARY	14040102803		
4	BISHNUPUR	Department of Education	SCHOOL	14040201109		
	Bisinveren	Department of Education	NAMBOL MAKHA UPPER PRIMARY	11010201109		
5	BISHNUPUR	Department of Education	SCHOOL	14040104301		
_			NINGTHOUKHONG MODEL	1 10 10 10 5 50 1		
6	BISHNUPUR	Department of Education	HIGHER SECONDARY SCHOOL	14040106601		
7	BISHNUPUR	Department of Education	OINAM GIRLS HIGH SCHOOL	14040105401		
8	BISHNUPUR	Department of Education	UPOKPI PRIMARY SCHOOL	14040101506		
9	BISHNUPUR	Department of Education	WANGOO HIGHER SECONDARY SCHOOL	14040200301		
10	CHANDEL	Tribal Welfare Department	AIBOL JOUPI P/S	14090421801		
11	CHANDEL	Department of Education	AIGIYANG PRIMARY SCHOOL	14090413701		
12	CHANDEL	Department of Education	KALIKALOK PRIMARY SCHOOL	14090304401		
13	CHANDEL	Tribal Welfare Department	KHUNGPHAM PRIMARY SCHOOL	14090308902		
14	CHANDEL	Department of Education	KURNUCHING PRIMARY SCHOOL	14090304201		
15	CHANDEL	Tribal Welfare Department	LAMBUNG P/S	14090314401		
16	CHANDEL	Tribal Welfare Department	LARONG KHUNOU P/S	14090311101		
17	CHANDEL	Department of Education	LIWA MARING PRIMARY SCHOOL	14090306601		
1,	CHITCHE	Department of Education	MAHA UNION HIGHER	11090300001		
18	CHANDEL	Department of Education	SECONDARY SCHOOL	14090314701		
19	CHANDEL	Tribal Welfare Department	MAHAO TERA P/S	14090317202		
20	CHANDEL	Department of Education	MOLPHEI UPPER PRIMARY SCHOOL	14090421901		
21	CHANDEL	Tribal Welfare Department	NUNGKANGCHING UPPER PRIMARY SCHOOL	14090304601		
22	CHANDEL	Department of Education	PALDAI PRIMARY SCHOOL	14090410801		
23	CHANDEL	Tribal Welfare Department	THORCHAM P/S	14090422101		
24	CHANDEL	Tribal Welfare Department	UNAPAL P/S	14090300601		
25	CHANDEL	Tribal Welfare Department	VOMKU P/S	14090311301		
26	CHANDEL	Department of Education	ZIONTLANG PRIMARY SCHOOL	14090302402		
	CHURACHAN					
27	DPUR	Tribal Welfare Department	DONGJANG JBS	14030114701		
28	CHURACHAN DPUR	Tribal Welfare Department	KHENGJANG JBS	14030108701		
20	CHURACHAN	Titoai wenare Department	KILINOJANO JBS	14030100701		
29	DPUR	Tribal Welfare Department	M. BONGMOL JBS	14030114101		
	CHURACHAN	•				
30	DPUR	Tribal Welfare Department	MOIRANG MANTAK UPS (ADC)	14030203302		
31	CHURACHAN DPUR	Tribal Welfare Department	SAICHANG UPS (ADC)	14030606801		
32	CHURACHAN	Tribal Welfare Department	SEMPANJANG JBS (ADC)	14030207801		
32	CHURACHAN	Thoat wenate Department	BEMITANJANO IDS (ADC)	14030207601		

Govt schools having class 1st						
S.no	district_name	school_management	school_name	udise_code		
	DPUR					
33	CHURACHAN DPUR	Tribal Welfare Department	SIDEN CHANGPIKOT JBS (ADC)	14030205201		
34	CHURACHAN DPUR	Tribal Welfare Department	THENMUOL JBS	14030120701		
35	CHURACHAN DPUR	Tribal Welfare Department	TONGLHANG JBS (ADC)	14030612001		
36	IMPHAL EAST	Department of Education	ARAPTI MAMANG LEIKAI PRIMARY SCHOOL	14070202806		
37	IMPHAL EAST	Department of Education	KAMENG UPPER P.S	14070103501		
38	IMPHAL EAST	Department of Education	KEIBI KHULLEN P/S	14070107403		
39	IMPHAL WEST	Department of Education	HAOREIBI JUNIOR HIGH SCHOOL	14060309601		
40	IMPHAL WEST	Social welfare Department	IDEAL BLIND SCHOOL	14060200309		
41	IMPHAL WEST	Department of Education	KHAGEMBA JUNIOR HIGH SCHOOL	14060301601		
42	IMPHAL WEST	Department of Education	KHORDAK KHONGBAL PRIMARY SCHOOL	14060300104		
43	IMPHAL WEST	Department of Education	LILASHINGKHONGNANGKHONG HIGH SCHOOL	14060100114		
44	IMPHAL WEST	Department of Education	LILONG JUNIOR HIGH SCHOOL	14060308902		
45	IMPHAL WEST	Department of Education	MALOM TULIHAL PRIMARY SCHOOL	14060312002		
46	IMPHAL WEST	Department of Education	MEITRAM PRIMARY SCHOOL	14060303401		
47	IMPHAL WEST	Department of Education	MODERN P.S.	14060200204		
48	IMPHAL WEST	Department of Education	MOIRANG SUBEDAR UPPER PRIMARY SCHOOL	14060308601		
49	IMPHAL WEST	Department of Education	NARAN KONJIL MAYAI UPPER PRIMARY SCHOOL	14060302202		
50	IMPHAL WEST	Department of Education	OINAM PRIMARY MADRASSA	14060306902		
51	IMPHAL WEST	Department of Education	OINAM WANGOI PRIMARY SCHOOL	14060306901		
52	IMPHAL WEST	Department of Education	S.K. IDEAL H. SCHOOL	14060206201		
53	IMPHAL WEST	Department of Education	SAGOLBAND RISHIKUL UPPER PRIMARY SCHOOL	14060102304		
54	IMPHAL WEST	Department of Education	SAGOLTONGBA MAKHA P.S.	14060206003		
55	IMPHAL WEST	Department of Education	SAMUSANG SHANTIPUR UPPER PRIMARY SCHOOL	14060303504		
56	IMPHAL WEST	Department of Education	SANGAIPROU (KABUI) P.S.	14060200401		
57	IMPHAL WEST	Department of Education	SARDAR PATEL MEMORIAL P.S.	14060200304		
58	IMPHAL WEST	Department of Education	SINGJAMEI CHINGAMAKHA H.S.	14060102004		
59	IMPHAL	Department of Education	TAKYEL KHONGBAL P.S.	14060200302		

Govt schools having class 1st						
S.no	district_name	school_management	school_name	udise_code		
	WEST					
	IMPHAL					
60	WEST	Department of Education	TAKYEL MAPAL UPS	14060200305		
-1	IMPHAL		THANGTEK TERA PRIMARY	1.40.5020200.5		
61	WEST	Department of Education	SCHOOL KAK. KHUNOU CHEKSAPAT	14060203905		
62	KAKCHING	Department of Education	PRIMARY SCHOOL.	14140205905		
02	III III (G	Department of Education	KAKCHING KHULLEL NEW	11110200900		
63	KAKCHING	Department of Education	PRIMARY SCHOOL.	14140201101		
64	KAKCHING	Department of Education	KAKCHING MAKHA HIGH SCHOOL	14140201602		
			KHOIDUM UPPER PRIMARY			
65	KAKCHING	Department of Education	SCHOOL	14140206901		
66	KAKCHING	Department of Education	NUNGOO KHONGYAM PRIMARY SCHOOL	14140203901		
- 00	KAKCIIIVO	Department of Education	PALLEL MANINGCHING PRIMARY	14140203701		
67	KAKCHING	Department of Education	SCHOOL	14140200213		
			SEKMAIJIN KHUNOU			
	**		KOMLAKHONG MAMANG			
68	KAKCHING	Department of Education	PRIMARY SCHOOL. WABAGAI AWANG LEIKAI	14140203403		
69	KAKCHING	Department of Education	PRIMARY SCHOOL	14140201901		
07	IN INCOME.	Department of Education	WABAGAI TERAURAK HIGH	14140201701		
70	KAKCHING	Department of Education	SCHOOL	14140201905		
71	KAMJONG	Department of Education	KAMJONG HIGH SCHOOL	14150400102		
72	KAMJONG	Tribal Welfare Department	KHUNTHAK PS	14150502701		
73	KAMJONG	Tribal Welfare Department	MAILIANG P/S	14150303701		
74	KAMJONG	Tribal Welfare Department	SHINGCHA PS	14150401901		
75	KAMJONG	Department of Education	SORDE HS	14150302401		
76	KANGPOKPI	Department of Education	EKOUPHAI PRIMARY SCHOOL	14100309201		
77	KANGPOKPI	Department of Education	HEIROKLAND PRIMARY SCHOOL	14100322102		
			JALENBUNG PHAIKON PRIMARY			
78	KANGPOKPI	Department of Education	SCHOOL	14100316001		
79	KANGPOKPI	Department of Education	K. BETHEL PRIMARY SCHOOL	14100206001		
80	KANGPOKPI	Tribal Welfare Department	KARPUR SUNGBA UJB SCHOOL	14100301001		
81	KANGPOKPI	Tribal Welfare Department	LAIPHROK MARING UJB SCHOOL	14100317801		
82	KANGPOKPI	Tribal Welfare Department	LHANGKICHOI UJB SCHOOL	14100202201		
83	KANGPOKPI	Tribal Welfare Department	MOLCHAM UJB SCHOOL	14100303501		
84	KANGPOKPI	Department of Education	MOLKONBUNG UPPER PRIMARY SCHOOL	14100317601		
85	KANGPOKPI	Tribal Welfare Department	N. TERAKHONG UJB SCHOOL	14100317001		
86	KANGPOKPI	Tribal Welfare Department	NONGMAIBAND UJB SCHOOL	14100302101		
00	MINOLOMI	Thoat wentare Department	NORTH CHANGOUBUNG PRIMARY	14100301001		
87	KANGPOKPI	Department of Education	SCHOOL	14100100401		
88	KANGPOKPI	Department of Education	OLD BOLJANG PRIMARY SCHOOL	14100309901		
89	KANGPOKPI	Tribal Welfare Department	SINAM KOM UJB SCHOOL	14100308301		
90	KANGPOKPI	Tribal Welfare Department	T. GAMNOM JUNIOR HIGH SCHOOL	14100314001		
91	KANGPOKPI	Department of Education	WAKAN UPPER PRIMARY SCHOOL	14100305801		
92	NONEY	Tribal Welfare Department	TAOSANG PS	14160404904		

Govt schools having class 1st						
S.no	district_name	school_management	school_name	udise_code		
93	PHERZAWL	Tribal Welfare Department	KHUANGGIN JBS	14120400301		
94	SENAPATI	Department of Education	13 MILES LOWER PRIMARY SCHOOL	14010517801		
95	SENAPATI	Department of Education	KANEM UPPER PRIMARY SCHOOL	14010501001		
96	SENAPATI	Tribal Welfare Department	KATAFIIMAI UJB SCHOOL	14010408201		
97	SENAPATI	Department of Education	KATOMEI NEPALI PART 3 PRIMARY SCHOOL	14010502501		
		1	MAKENG CHEIJINBA PRIMARY			
98	SENAPATI	Department of Education	SCHOOL	14010518601		
99	SENAPATI	Department of Education	MAKHEL KHUNOU PRIMARY SCHOOL	14010509602		
100	SENAPATI	Department of Education	MAO MARAM HIGHER SECONDARY SCHOOL	14010511502		
101	SENAPATI	Department of Education	PAOMATA HIGH SCHOOL	14010408501		
102	SENAPATI	Tribal Welfare Department	SAHNATSIINA PRIMARY SCHOOL	14010601907		
103	SENAPATI	Department of Education	TAPHOU NEPALI UPPER PRIMARY SCHOOL	14010505902		
104	SENAPATI	Tribal Welfare Department	TUNGGAM AFII PRIMARY SCHOOL	14010401001		
105	SENAPATI	Department of Education	WILLONG HIGH SCHOOL	14010514001		
106	SENAPATI	Department of Education	WILLONG KHUNOU UPPER PRIMARY SCHOOL	14010515001		
107	TAMENGLON G	Department of Education	AKHUI HIGH SCHOOL	14020103401		
108	TAMENGLON G	Tribal Welfare Department	ATANGKHUNNOU PS	14020305401		
109	TAMENGLON G	Tribal Welfare Department	ATENGBA PS	14020204801		
110	TAMENGLON G	Department of Education	AZURAM JR. HIGH SCHOOL	14020200101		
111	TAMENGLON G	Department of Education	CHABOU PS	14020201503		
112	TAMENGLON G	Tribal Welfare Department	CHARINAPANG PS	14020205301		
113	TAMENGLON G	Tribal Welfare Department	CHINGKAO PS	14020204901		
114	TAMENGLON G	Department of Education	GADAI FARMLANE JR. HS	14020104603		
115	TAMENGLON G	Department of Education	HAFLONG RD. WD-IX PS	14020106002		
116	TAMENGLON G	Tribal Welfare Department	INRENGLONG PS	14020106001		
117	TAMENGLON G	Department of Education	KADIH AKHUN PS	14020301102		
118	TAMENGLON G	Tribal Welfare Department	KAMRANGA KHASI PS	14020201901		
119	TAMENGLON G	Tribal Welfare Department	KARENGKU PS	14020102204		
120	TAMENGLON G	Tribal Welfare Department	KATANG PS	14020203902		
121	TAMENGLON G	Tribal Welfare Department	KATANGNAM PS	14020202701		

Govt schools having class 1st						
S.no	district_name	school_management	school_name	udise_code		
122	TAMENGLON G	Department of Education	LENGLONG HIGH SCHOOL	14020301301		
123	TAMENGLON G	Tribal Welfare Department	LOWER SONPRAM PS	14020101801		
124	TAMENGLON G	Tribal Welfare Department	MACHUNLONG PS	14020106008		
125	TAMENGLON G	Department of Education	MAKUI ASHANG PS	14020306001		
126	TAMENGLON G	Tribal Welfare Department	MUKTAKHAL PS	14020202101		
127	TAMENGLON G	Department of Education	NAMTIRAM PS	14020200203		
128	TAMENGLON G	Tribal Welfare Department	NDETNING PS	14020305701		
129	TAMENGLON G	Department of Education	NEW LEMTA PRIMARY SCHOOL	14020304502		
130	TAMENGLON G	Department of Education	NEW MAGULONG PS	14020203601		
131	TAMENGLON G	Tribal Welfare Department	NJUNGKOK PS	14020205801		
132	TAMENGLON G	Department of Education	OINAMLONG PART 4 PS	14020200803		
133	TAMENGLON G	Tribal Welfare Department	OINAMLONG PS	14020200801		
134	TAMENGLON G	Department of Education	PARAGON PS	14020302903		
135	TAMENGLON G	Tribal Welfare Department	PHAITOL PS	14020201601		
136	TAMENGLON G	Tribal Welfare Department	PUNGLAM PS	14020104201		
137	TAMENGLON G	Tribal Welfare Department	RAMLALONG PS	14020104901		
138	TAMENGLON G	Tribal Welfare Department	SEMPANG PS	14020102801		
139	TAMENGLON G	Tribal Welfare Department	SIBILONG DUIGAIJANG PS	14020200902		
140	TAMENGLON G	Department of Education	SONGPIBUNG PS	14020305801		
141	TAMENGLON G	Tribal Welfare Department	TABANGLONG PS	14020103001		
142	TAMENGLON G	Tribal Welfare Department	TAIJIJANG PS	14020205001		
143	TAMENGLON G	Tribal Welfare Department	TAMENGLONG HQ. PS	14020104502		
144	TAMENGLON G	Department of Education	TAOLAPANJAENG PS	14020206801		
145	TAMENGLON G	Department of Education	THINGTUBUNG PS	14020206501		
146	TAMENGLON G	Tribal Welfare Department	THIUJAINING PS	14020302801		
147	TAMENGLON G	Tribal Welfare Department	THIULON NAMTHAN PS	14020200403		

S.no			s having class 1st	
	district_name	school_management	school_name	udise_code
	TAMENGLON			
148	G	Tribal Welfare Department	TUNGTAO PS	14020205201
	TAMENGLON			
149	G	Tribal Welfare Department	UPPER PHELLONG PS	14020203201
150	TAMENGLON	5	LIPPED GANGDANG DG	1.4020107.601
150	G	Department of Education	UPPER SANGRUNGPANG PS	14020105601
151	TENCHOLIDAL	Department of Education	CHINGKHAN YONYER PRIMARY SCHOOL	14110105701
151	TENGNOUPAL	*		14110105701
152	TENGNOUPAL	Tribal Welfare Department	LEITAN P/S	14110202701
153	TENGNOUPAL	Department of Education	MOREH HIGHER SECONDARY SCHOOL	14110207501
		•		
154	THOUBAL	Department of Education	AMUREIJAM PRIMARY SCHOOL	14050101001
155	THOUBAL	Department of Education	ATHOKPAM JUNIOR HIGH SCHOOL	14050103302
156	THOUBAL	Department of Education	BENGI PRIMARY SCHOOL	14050107101
1.55	THE STATE OF THE S	5	CHAOBOK ARAPTI JUNIOR HIGH	14050110003
157	THOUBAL	Department of Education	SCHOOL	14050110802
150	THOUBAL	Department of Education	HAOREIBI LAIRABAKHONG	14050110001
158		Department of Education	PRIMARY MADRASSA	14050110901
159	THOUBAL	Department of Education	KEKRU GOVT. PRIMARY SCHOOL KHELAKHONG AMANBI UPPER	14050102402
160	THOUBAL	Department of Education	PRIMARY MADRASSA	14050112004
100	HIOODAL	Department of Education	LAIPHRAKPAM JUNIOR HIGH	14030112004
161	THOUBAL	Department of Education	SCHOOL	14050111701
101	111002112	2 oparation of 2000mion	LEISHANGTHEM KELIMAKHONG	11000111701
162	THOUBAL	Department of Education	UPPER PRIMARY SCHOOL	14050104003
163	THOUBAL	Department of Education	LEITANPOK PRIMARY MADRASSA	14050101302
		•	LILONG HIGHER SECONDARY	
164	THOUBAL	Department of Education	MADRASSA	14050110101
			MOIJING AWANG PRIMARY	
165	THOUBAL	Department of Education	MADRASSA	14050103902
			NIMAICHAND AND KEINYA HIGH	
166	THOUBAL	Department of Education	SCHOOL	14050103003
167	THOUBAL	Department of Education	SEKMAI KHUMBI HIGH SCHOOL	14050107501
			SINGA BISHNUNAHA UPPER	
168	THOUBAL	Department of Education	PRIMARY SCHOOL	14050101907
1.00	THOUDAL	Department of E1	WANGJING PUBLIC PRIMARY	14050117202
169	THOUBAL	Department of Education	SCHOOL WANGKHEM HINIOR HIGH	14050117303
170	THOUBAL	Department of Education	WANGKHEM JUNIOR HIGH SCHOOL	14050101902

Manipur- List of approved Primary School- 6 Schools

SN	District	Habitation name	Village name	Village Code	Approval
1	Churachandpur	Tuidam	Tuidam Village	269746	Primary
2	Churachandpur	Khengmol	Khengmol Village	269712	Primary
3	KANGPOKPI	Pangsang	Pansang	268728	Primary
4	IMPHAL EAST	AENON VILLAGE	Luwangshangbam Matai	270278	Primary
5	Noney	Happy Colony	Noney Village	269254	Primary
6	Noney	Tamsamuan	Bakwa Village	269206	Primary

	Manipur- List of approved Upper Primary School- 10 Schools						
Sn	District	Proposed Primary school	UDISE	Approved			
1	Kangpokpi	S.P Ngaimun	14100221102	UPS			
2	Imphal East	Wangkhem Mamang	14070203401	UPS			
3	Imphal West	Lambal	14060201201	UPS			
4	Imphal West	Awang Leikinthabi Mayai Leikai	14060202801	UPS			
5	Imphal West	Lamlongei Mamang Leikai	14060206902	UPS			
6	Tengnoupal	Tuisomjang	14110200401	UPS			
7	Tengnoupal	Sairel Saisim	14110212801	UPS			
8	Churachandpur	Kukimun	14030618801	UPS			
9	Tamenglong	Illeng	14020301101	UPS			
10	Tamenglong	Puching (Khebuching)	14020104101	UPS			

Manipur- List of approved Secondary School- 4 Schools							
SN	District	School Name	UDISE	Remarks			
1	Bishnupur	KEIRENPHABI JR.HS	14040201103	2			
2	Imphal East	YUMNAM KHUNOUJUNIOR H/S, YUMNAM KHUNOU	14070107801	2			
3	Senapati	TOBUMAI JUNIOR HIGH SCHOOL	14010509401	2			
4	Bishnupur	UTLOU JUNIOR HIGH SCHOOL	14040102203	2			

Manipur_List of approved Higher Secondary School_4 Schools									
SN	Di	istrict	Schools	UDISE code	Stream/Subject	Section			
	1 Bi	ishnupur	Kumbi High School	14040200403	Science and commerce	2			
,	2 Im	nphal West	Malom Megha High School	14060303201	Science and arts	2			
,	3 Im	nphal West	Singjamei Chingamakha H.S.	14060102004	Science and arts	2			
4	4 Bi	ishnupur	Utlou Govt. High School	14040102201	Science and commerce	2			

Annexure-VII

List of Netaji SubhashChandra Bose AvasiyaVidyalaya for Residential School Building (Elementary)

List of Residential Hostel (Capacity-100) 2022-23 (ELEMENTARY)

Sr. No	Name of District	Name of Block	Name of School where hostels are to be located	UDISE Code	Category of District
1	KAMJONG	KASOM	Kasom Khullen High School	14150503101	
2	PHERZAWL	TIPAIMUKH	Pherzawl Govt. High School	14120500701	Border Area

Note: Newly Formulated Districts

Annexure-VIII (A)

Additional Class room-Elementary

	Additional Class Room-Elementary-31					
S.				udise_sch_cod		
No	district_name	block_name	school_name	e		
1	BISHNUPUR	BISHNUPUR	THAMNAPOKPI NARANSEINA JUNIOR HIGH SCHOOL	14040102101		
1	DISTINCT OR	DISTINCT OR	WAHENGKHUMAN UPPER	14040102101		
2	BISHNUPUR	BISHNUPUR	PRIMARY SCHOOL	14040102708		
			NINGTHOUKHONG MAMANG			
3	BISHNUPUR	BISHNUPUR	JUNIOR HIGH SCHOOL	14040107302		
4	BISHNUPUR	MOIRANG	POMBIKHOK PRIMARY SCHOOL	14040200102		
_			BORAYANGBI UPPER PRIMARY			
5	BISHNUPUR	MOIRANG	SCHOOL	14040200202		
6	BISHNUPUR	MOIRANG	THANGALAWAI PRIMARY SCHOOL	14040201102		
7	BISHNUPUR	MOIRANG	KEIRENPHABI JR.HIGH SCHOOL	14040201102		
8	BISHNUPUR	MOIRANG CHURACHANDP	CHANDPUR PRIMARY SCHOOL	14040201202		
9	CHURACHANDPUR	UR	N. MUOLHOI JBS	14030100308		
		CHURACHANDP				
10	CHURACHANDPUR	UR	NEW LAMKA UPS	14030109901		
		CHURACHANDP				
11	CHURACHANDPUR	UR	GAMNOMPHAI JBS (ADC)	14030205302		
12	CHURACHANDPUR	HENGLEP	NAJANG JBS (ADC)	14030600201		
13	CHURACHANDPUR	HENGLEP	BOLKOT JBS	14030604401		
14	CHURACHANDPUR	HENGLEP	ZOUNOI JBS (ADC)	14030613901		
15	CHURACHANDPUR	SAMULAMLAN	NEW DAMPI VILLAGE PRIMARY SCHOOL	14030201902		
16	CHURACHANDPUR	SAMULAMLAN	BUNGLON UPS (GOVT)	14030201302		
17	CHURACHANDPUR	SAMULAMLAN	KEIRAP KHULLEN JBS (ADC)	14030208101		
18	IMPHAL EAST	IRILBUNG	ARAPTI PRIMARY SCHOOL	14070202802		
10	IMPHAL EAST	SAWOMBUNG	ARAFII FRIMAR I SCHOOL	14070202802		
19	IMPHAL EAST	IMPHAL EAST- I	ITAM KHUNOU P/S	14070102505		
		SAWOMBUNG				
20	IMPHAL EAST	IMPHAL EAST- I	LOUSHANGKHONG P.S	14070103701		
21	D COLLAI E A CE	SAWOMBUNG	AWANG NG AIR ANGRAM R/G	1.4070100201		
21	IMPHAL EAST	IMPHAL EAST- I	AWANG NGAIRANGBAM P/S	14070108301		
22	IMPHAL WEST	HAORANG	THANGTEK JR. H.S. PHUMLOU UPPER PRIMARY	14060204002		
23	IMPHAL WEST	HAORANG	SCHOOL	14060207401		
24	IMPHAL WEST	HAORANG	LOITANG KHUNOU P.S.	14060207701		
			LAIJINGNINGTHOU JUNIOR HIGH			
25	IMPHAL WEST	IMC	SCHOOL	14060100104		
26	IMPHAL WEST	IMC	KAKHULONG JUNIOR HIGH SCHOOL	14060101302		
27	JIRIBAM	JIRIBAM	CHAMPANAGAR P/S	14130302802		
28	JIRIBAM	JIRIBAM	JATRAPUR P/S	14130302002		
29	KANGPOKPI	SAITU	S. LHANGNOM UJB SCHOOL	14100217101		
30	TAMENGLONG	TOUSEM	KHEDAGAR KHASI PS	14020201801		
30	TAMENOLUNG	LOOSEMI	מוומעונא איסער אווא	14020201001		

Add	Additional Class Room-Elementary-31					
S.				udise_sch_cod		
No	district_name	block_name	school_name	e		
			T.BONGMOL UPPER PRIMARY			
31	TENGNOUPAL	TENGNOUPAL	SCHOOL	14110206001		

Boys Toilet

S.No	district_name	block_name	school_name	udise_sch_code
1.	BISHNUPUR	BISHNUPUR	UPOKPI PRIMARY SCHOOL	1404010150
			ISHOK UPPER PRIMARY	
2.	BISHNUPUR	BISHNUPUR	SCHOOL	1404010270
			OINAM MAKHA PRIMARY	
3.	BISHNUPUR	BISHNUPUR	SCHOOL	1404010590
4	DICTIVITIDITO	MOIDANG	POMBIKHOK PRIMARY SCHOOL	1404020010
4.	BISHNUPUR	MOIRANG	BORAYANGBI UPPER	1404020010
5.	BISHNUPUR	MOIRANG	PRIMARY SCHOOL	1404020020
	BISTE (CT CK	Nonu II (C	ITHAI KHUNOU PRIMARY	1101020020
6.	BISHNUPUR	MOIRANG	SCHOOL	1404020050
			KHONG ASHANGBI PRIMARY	
7.	BISHNUPUR	MOIRANG	SCHOOL	1404020110
0	D. 10.111 11.111	1 1 0 TD 1 1 1 G	KEIRENPHABI JR.HIGH	1 10 10 20 1 10
8.	BISHNUPUR	MOIRANG	SCHOOL THANGA WANGMA PRIMARY	1404020110
9.	BISHNUPUR	MOIRANG	THANGA WANGMA PRIMARY SCHOOL	1404020120
	BISHNUPUR		ITHING PRIMARY SCHOOL	
10.	BISHNUPUK	MOIRANG	KWAKTA WARD NO. 8	1404020150
11.	BISHNUPUR	MOIRANG	PRIMARY SCHOOL	1404020510
12.	CHANDEL	CHAKPIKARONG	KANAKANGBUNG P/S	1409040830
13.	CHANDEL	CHANDEL	KONGPE PRIMARY SCHOOL	1409031400
			BIJANG LOUBUK GOVT. JR.	
14.	CHURACHANDPUR	CHURACHANDPUR	H/S	1403010240
15.	CHURACHANDPUR	CHURACHANDPUR	SEILAL JBS	1403010110
16.	CHURACHANDPUR	CHURACHANDPUR	SAIDAN UPS	1403010280
17.	CHURACHANDPUR	CHURACHANDPUR	GELMOL JBS	1403011080
18.	CHURACHANDPUR	CHURACHANDPUR	THINGKANGPHAI JBS	1403011370
19.	CHURACHANDPUR	HENGLEP	NAJANG JBS (ADC)	1403060020
20.	CHURACHANDPUR	HENGLEP	SAICHANG UPS (ADC)	1403060680
21.	CHURACHANDPUR	SINGNGAT	CHIVUTAMPAK JBS	1403030220
		~	LAIKON UPPER PRIMARY	
22.	IMPHAL EAST	IRILBUNG	SCHOOL	1407020380
			THONGJU JUNIOR HIGH	
23.	IMPHAL EAST	IRILBUNG	SCHOOL	1407020430
24.	IMPHAL EAST	IRILBUNG	NGARIYAN P/S	1407020500
25.	IMPHAL EAST	IRILBUNG	LAIKHONG P/S	1407020560
			ANDRO SANAPAT PRIMARY	
26.	IMPHAL EAST	IRILBUNG	SCHOOL	1407020621
27.	IMPHAL EAST	SAWOMBUNG	KHARASOM P.S	140701028

.No	district_name	block_name	school_name	udise_sch_code
	_	IMPHAL EAST- I		
		SAWOMBUNG		
28.	IMPHAL EAST	IMPHAL EAST- I	NONGPOK HEIROK P/S	140701031
29.	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	KANGHU CHINGJIL P.S	140701036
2).	IVII TIAL LAST	SAWOMBUNG	KANOHO CHINOJILT.S	140701030
30.	IMPHAL EAST	IMPHAL EAST- I	CHALLOU P/S	140701039
		SAWOMBUNG	AWANG POTSANGBAM KHNU	
31.	IMPHAL EAST	IMPHAL EAST- I	UPPER P/S	140701040
32.	IMPHAL WEST	HAORANG	KHAMARAL UPS	140602023
33.	IMPHAL WEST	HAORANG	KANGMONG LANGOLJAM P.S.	140602037
34.	IMPHAL WEST	HAORANG	PHOIJING CHINGMANG P.S.	140602042
35.	IMPHAL WEST	HAORANG	KONTHOUJAM P.S.	140602045
36.	IMPHAL WEST	HAORANG	CHANGANGEI Jr H/S	140602052
37.	IMPHAL WEST	HAORANG	LOITANG KHUNOU P.S.	140602077
38.	JIRIBAM	JIRIBAM	HARINAGAR P/S	141303055
39.	KAKCHING	KAKCHING	WANGOO WARUKOK PRIMARY SCHOOL.	141402040
40.	KAMJONG	KAMJONG	SKIPE PS	141504007
41.	KAMJONG	KAMJONG	SHINGCHA PS	141504019
42.	KAMJONG	KAMJONG	K LANGLI PS	141504026
43.	KAMJONG	KAMJONG	GAMPAL P/S	141504059
44.	KAMJONG	KASOM KL.	ITHAM PS	141505023
45.	KAMJONG	KASOM KL.	PUNOMRAM PS	141505041
46.	KAMJONG	KASOM KL.	NAMBASHI KN. P/S	141505002
47.	KAMJONG	KASOM KL.	KANGKUM PS	141505008
48.	KAMJONG	KASOM KL.	LAIRAM PHUNGKA PS	141505024
49.	KAMJONG	KASOM KL.	KHUNTHAK PS	141505027
50.	KAMJONG	KASOM KL.	UPPER KHOIRIPOK PS	141505028
51.	KAMJONG	KASOM KL.	KHONGLO PS	141505033
52.	KAMJONG	KASOM KL.	K ASHANG KL PS	141505038
53.	KAMJONG	KASOM KL.	KANGOI PS	141505039
54.	KAMJONG	PHUNGYAR	PHALANG P/S	141503012
55.	KAMJONG	PHUNGYAR	LOUSHING P/S	141503017
56.	KAMJONG	PHUNGYAR	MAROU P/S	141503020
57.	KAMJONG	PHUNGYAR	L KHUNTHAK PS	141503027
58.	KAMJONG	PHUNGYAR	PUNGE PS	141503036
59.	KAMJONG	PHUNGYAR	MAILIANG P/S	141503037
60.	KAMJONG	PHUNGYAR	LOUPHONG PS	141503040
61.	KAMJONG	PHUNGYAR	RAMREI ATO P/S	141503045
62.	KANGPOKPI	SAIKUL	URAN CHIRU UJB SCHOOL	141003031
63.	KANGPOKPI	SAIKUL	MAKOKCHING UJB SCHOOL	141003149
	WANGBOWE	C A WZZ W	LAIPHROK MARING UJB	1410004=5
64.	KANGPOKPI	SAIKUL	SCHOOL	141003178

S.No	district name	block name	school_name	udise sch code
5.110	district_name	block_name	TUNGGAM KHUNOU LOWER	udise_sen_code
66.	SENAPATI	PAOMATA	PRIMARY SCHOOL	14010408303
67.	SENAPATI	PAOMATA	LIYAI KHUNOU UJB SCHOOL	14010406303
68.	TAMENGLONG	TAMEI	NALLONG PS	1402030430
69.	TAMENGLONG	TAMEI	KADI PS	1402030480
70.	TAMENGLONG	TAMEI	ATANGKHULLEN PS	1402030530
71.	TAMENGLONG	TAMENGLONG	DAILONG JR. HIGH SCHOOL	14020102102
72.	TAMENGLONG	TAMENGLONG	LOWER SONPRAM PS	1402010180
73.	TAMENGLONG	TAMENGLONG	AWANGKHUL PT-II PS	1402010260
74.	TAMENGLONG	TAMENGLONG	TABANGLONG PS	1402010300
75.	TAMENGLONG	TAMENGLONG	INRAILONG PS	1402010380
76.	TAMENGLONG	TAMENGLONG	PUNGLAM PS	1402010420
77.	TAMENGLONG	TOUSEM	J. PABRAM PS	1402020060
78.	TAMENGLONG	TOUSEM	TATBUNG PS	1402020200
79.	TAMENGLONG	TOUSEM	IMPAH PS	1402020400
80.	TENGNOUPAL	MACHI	LANGOL KHUNOU UPPER PRIMARY SCHOOL	1411010200
81.	TENGNOUPAL	MACHI	MAOLHANG PRIMARY SCHOOL	1411010310
82.	TENGNOUPAL	MACHI	LANGOL ASHRAM SCHOOL	1411010070
83.	TENGNOUPAL	MACHI	PHOILENCHING P/S	1411010730
84.	TENGNOUPAL	TENGNOUPAL	LEIBI UPPER PRIMARY SCHOOL	1411020910
85.	TENGNOUPAL	TENGNOUPAL	KHAOSAT P/S	1411021020
86.	UKHRUL	UKHRUL	PHADANG NGARUMPHUNG P/S	1408010031
87.	UKHRUL	UKHRUL	RINGUI AYOTANG P/S	1408010330
88.	UKHRUL	UKHRUL	SOMDAL KASOM UPS	1408010420
89.	UKHRUL	UKHRUL	MAICHON P/S	1408010790

Girls Toilets

Girls	Girls Toilets-127				
S.no	district_name	block_name	school_name	udise_sch_code	
1	BISHNUPUR	BISHNUPUR	UPOKPI PRIMARY SCHOOL	14040101506	
	DAGAN WANDAND	MORANG	POMBIKHOK PRIMARY	14040200102	
4	BISHNUPUR	MOIRANG	SCHOOL	14040200102	
			KEIRENPHABI JR.HIGH		
8	BISHNUPUR	MOIRANG	SCHOOL	14040201103	
10	BISHNUPUR	MOIRANG	ITHING PRIMARY SCHOOL	14040201501	
			KWAKTA WARD NO. 8		
11	BISHNUPUR	MOIRANG	PRIMARY SCHOOL	14040205102	
			JOYPUR KHUNOU UPPER		
12	BISHNUPUR	BISHNUPUR	PRIMARY SCHOOL	14040101001	
13	BISHNUPUR	BISHNUPUR	LANGPOK PRIMARY SCHOOL	14040102404	
14	BISHNUPUR	BISHNUPUR	NINGTHOUKHONG MAMANG	14040107302	

Girls Toilets-127					
S.no	district_name	block_name	school_name	udise_sch_code	
		_	JUNIOR HIGH SCHOOL		
			TANGJENG AHALLUP		
15	BISHNUPUR	MOIRANG	PRIMARY SCHOOL	14040200101	
			WANGOO SELLUNGKHONG		
16	BISHNUPUR	MOIRANG	UPPER PRIMARY SCHOOL	14040200303	
19	CHANDEL	CHAKPIKARONG	KHENGJOY P/S	14090418901	
20	CHANDEL	CHAKPIKARONG	HENGSHI P/S	14090421201	
21	CHANDEL	CHAKPIKARONG	THORCHAM P/S	14090422101	
22	CHANDEL	CHANDEL	TARAO LAIMANAI P/S	14090302601	
23	CHANDEL	CHANDEL	AIHANG P/S	14090304701	
24	CHANDEL	CHANDEL	CHARANGCHING P/S	14090313601	
26	CHURACHANDPUR	CHURACHANDPUR	SEILAL JBS	14030101101	
28	CHURACHANDPUR	CHURACHANDPUR	GELMOL JBS	14030110801	
29	CHURACHANDPUR	CHURACHANDPUR	THINGKANGPHAI JBS	14030113701	
31	CHURACHANDPUR	HENGLEP	SAICHANG UPS (ADC)	14030606801	
32	CHURACHANDPUR	SINGNGAT	CHIVUTAMPAK JBS	14030302201	
33	CHURACHANDPUR	CHURACHANDPUR	KHENGJANG JBS	14030108701	
34	CHURACHANDPUR	HENGLEP	UKHA LOIKHAI JBS (ADC)	14030600901	
35	CHURACHANDPUR	HENGLEP	BOLKOT JBS	14030604401	
36	CHURACHANDPUR	HENGLEP	SANTING JBS (ADC)	14030605901	
37	CHURACHANDPUR	HENGLEP	S. NABIL JBS (ADC)	14030610701	
38	CHURACHANDPUR	HENGLEP	ZOUNOI JBS (ADC)	14030613901	
39	CHURACHANDPUR	SAMULAMLAN	KEIRAP KHULLEN JBS (ADC)	14030209001	
40	CHURACHANDPUR	SINGNGAT	LUNGTHUL (T) JBS	14030301401	
41	CHURACHANDPUR	SINGNGAT	LUNGTHUL (D) JBS	14030301602	
42	CHURACHANDPUR	SINGNGAT	TANGPIJOL JBS	14030303701	
			LAIKON UPPER PRIMARY		
43	IMPHAL EAST	IRILBUNG	SCHOOL	14070203803	
<i>-</i> 1	IMPLIAL EACT	SAWOMBUNG		14070102001	
51	IMPHAL EAST	IMPHAL EAST- I	CHALLOU P/S	14070103901	
53	IMPHAL EAST	IRILBUNG	WAKHA PRIMARY SCHOOL	14070200901	
54	IMPHAL EAST	IRILBUNG	ARAPTI PRIMARY SCHOOL NONGPOK KEITHELMANBI	14070202802	
55	IMPHAL EAST	IRILBUNG	P/S	14070205602	
56	IMPHAL EAST	IRILBUNG	NUNGGAIPOKPI P/S	14070205002	
20		SAWOMBUNG	SABUNGKHOK UPPER	11070200100	
57	IMPHAL EAST	IMPHAL EAST- I	PRIMARY SCHOOL	14070101901	
		SAWOMBUNG			
58	IMPHAL EAST	IMPHAL EAST- I	SEKTA P/S	14070102301	
59	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	TAKHEL SANJENBAM P.S	14070102901	
37	IVII IIAL LASI	SAWOMBUNG	TAXILL SAINJENDAM F.S	1+0/0102701	
60	IMPHAL EAST	IMPHAL EAST- I	NONGDAM P/S	14070103201	
		SAWOMBUNG			
61	IMPHAL EAST	IMPHAL EAST- I	SEIJANG P.S	14070103802	
62	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	KONTHA NEW P/S	14070104902	
62				14070104802	
03	IMPHAL EAST	SAWOMBUNG	KAIRANG KHUNJIL P/M	14070105203	

Girls	Toilets-127			
S.no	district_name	block_name	school_name	udise_sch_code
		IMPHAL EAST- I		
69	IMPHAL WEST	HAORANG	LOITANG KHUNOU P.S.	14060207701
70	IMPHAL WEST	WANGOI	OINAM WANGOI PRIMARY SCHOOL	14060306901
72	JIRIBAM	JIRIBAM	LATINGKHAL KATOURA L/P	14130301105
73	JIRIBAM	JIRIBAM	JAKURADHAR PART II P/S	14130301601
74	JIRIBAM	JIRIBAM	TUPIDHOR L/P	14130301801
75	JIRIBAM	JIRIBAM	DHOLAKHAL PUNJI L/P	14130301902
76	JIRIBAM	JIRIBAM	ISLAMABAD L/P	14130303001
77	JIRIBAM	JIRIBAM	MONGBUNG P/S	14130304002
78	JIRIBAM	JIRIBAM	LALPANI P/S	14130304702
79	JIRIBAM	JIRIBAM	NUNKHAL L/P	14130304801
80	JIRIBAM	JIRIBAM	BOROBEKRA L/P	14130305102
- 00	JICIDI IIVI	JIKIDI IIVI	KAKCHING KHULLEL NEW	11130303102
82	KAKCHING	KAKCHING	PRIMARY SCHOOL	14140201101
			KAKCHING CENTRAL UPPER	
83	KAKCHING	KAKCHING	PRIMARY SCHOOL	14140201402
84	KAKCHING	KAKCHING	LAPHUPAT TERA PRIMARY SCHOOL	14140202701
04	KAKCIIIVO	KAKCIIIVO	ARONG KHUNOU HEIBONG	14140202701
85	KAKCHING	KAKCHING	KEIDONGBI P/S	14140203302
			TANGJENG UPPER PRIMARY	
86	KAKCHING	KAKCHING	SCHOOL	14140203801
91	KAMJONG	KASOM KL.	ITHAM PS	14150502301
96	KAMJONG	KASOM KL.	KHUNTHAK PS	14150502701
109	KAMJONG	KASOM KL.	WANGLEE PS	14150500701
110	KAMJONG	KASOM KL.	CHONGDANG PS	14150502101
114	KANGPOKPI	KANGPOKPI	YAIKHONGPAO UJB SCHOOL	14100104201
115	KANGPOKPI	KANGPOKPI	HARUP NAGA UJB SCHOOL	14100106001
116	KANGPOKPI	KANGPOKPI	KOTLEN UJB SCHOOL	14100110501
	VI I VICE OVERV	VI I VODOVIDA	D.R. KHATIWADA UJB	11100115101
117	KANGPOKPI	KANGPOKPI	SCHOOL SALEM ACADEMY UJB	14100116101
118	KANGPOKPI	KANGPOKPI	SCHOOL SCHOOL	14100120305
110	IM II (OI OIII I	TENTION OTHER	THONGNANGPAL UJB	11100120303
119	KANGPOKPI	SAIKUL	SCHOOL	14100308501
120	KANGPOKPI	SAIKUL	C. KHOLLEN UJB SCHOOL	14100313701
			KAIHAO TANGKHUL UJB	
121	KANGPOKPI	SAIKUL	SCHOOL	14100320901
122	KANGPOKPI	SAITU	KANGCHUP CHINGKHONG JUNIOR HIGH SCHOOL	14100207701
123	KANGPOKPI	SAITU	LEIKOT UJB SCHOOL	14100207701
123	KANGPOKPI		KONTAM UJB SCHOOL	14100201301
124	KANUPUKPI	SAITU	KHARAM THADOI UJB	14100203801
125	KANGPOKPI	SAITU	SCHOOL	14100205901
126	KANGPOKPI	SAITU	NUNGGANG UJB SCHOOL	14100209402
			NATOP BOLJANG UJB	
127	KANGPOKPI	SAITU	SCHOOL	14100210701

Girls	Toilets-127			
S.no	district_name	block_name	school_name	udise_sch_code
128	KANGPOKPI	SAITU	SAHEIBUNG UJB SCHOOL	14100210801
129	KANGPOKPI	SAITU	L. MANGJOL UJB SCHOOL	14100219401
131	NONEY	NUNGBA	KHONGSANG PS	14160400401
132	NONEY	NUNGBA	SEMPAT NAGA PS	14160408201
133	NONEY	NUNGBA	MARANGJING PT-I PS	14160410701
134	NONEY	NUNGBA	KABUI KHULLEN PS	14160411201
10.	1,01,21	1,61,621	TUNGGAM KHUNOU LOWER	11100111201
135	SENAPATI	PAOMATA	PRIMARY SCHOOL	14010408303
136	SENAPATI	PAOMATA	LIYAI KHUNOU UJB SCHOOL	14010406301
			AKONAMAI LOWER	
137	SENAPATI	PAOMATA	PRIMARY SCHOOL	14010400111
120	CENIADATI	TADUDI	MALINGLI LOWER PRIMARY	14010516202
138	SENAPATI TAMENCI ONG	TADUBI	SCHOOL	14010516202
140	TAMENGLONG	TAMEI	KADI PS	14020304801
141	TAMENGLONG	TAMEI	ATANGKHULLEN PS	14020305301
143	TAMENGLONG	TAMENGLONG	LOWER SONPRAM PS	14020101801
145	TAMENGLONG	TAMENGLONG	TABANGLONG PS	14020103001
148	TAMENGLONG	TOUSEM	J. PABRAM PS	14020200601
149	TAMENGLONG	TOUSEM	TATBUNG PS	14020202001
151	TAMENGLONG	TAMEI	KAWALONG PS	14020300504
152	TAMENGLONG	TOUSEM	KHEDAGAR KHASI PS	14020201801
1.50	TENGNOLID AL	NA CIVI	GOMI UPPER PRIMARY	1 11 10 10 2 10 1
159	TENGNOUPAL	MACHI	SCHOOL	14110102401
160	TENGNOUPAL	TENGNOUPAL	CHAHMOL P/S	14110202201
161	TENGNOUPAL	TENGNOUPAL	YONGKHUL P/S	14110207601
162	THOUBAL	THOUBAL	HAOKHA UPPER PRIMARY SCHOOL	14050102201
102	HIOODAL	IIIOOBAL	LANGMEITHET UPPER	14030102201
163	THOUBAL	THOUBAL	PRIMARY SCHOOL	14050107001
			THOKCHOM BENGI UPPER	
164	THOUBAL	THOUBAL	PRIMARY SCHOOL	14050107202
4 - 5			HEIROK KHUNOU UPPER	4.40.504.00.500
165	THOUBAL	THOUBAL	PRIMARY SCHOOL	14050108608
			HAOREIBI LOU-MANGA LOWER PRIMARY	
166	THOUBAL	THOUBAL	MADRASSA	14050110501
			CHINGJAO MAYAI LOWER	
167	THOUBAL	THOUBAL	PRIMARY MADRASSA	14050111403
			KEIBUNG WANGMATABA	
1.00	THOUDAL	THOUDAL	LOWER PRIMARY	14050111012
168	THOUBAL	THOUBAL	MADRASSA LANGTHABAL KHUNOU	14050111813
169	THOUBAL	THOUBAL	PRIMARY SCHOOL	14050112601
173	UKHRUL	UKHRUL	MAICHON P/S	14080107901
174	UKHRUL	CHINGAI	PAOYI L/P (SV)	14080200704
175	UKHRUL	CHINGAI	RAZAI KL PS	14080204601
176	UKHRUL	CHINGAI	RAZAI KL UPS	14080200801
177	UKHRUL	CHINGAI	TUSOM KL P/S	14080200801
1//	UNTRUL	CHINGAI	I USUM KL I/S	14000202001

Girls	Girls Toilets-127					
S.no	district_name	block_name	school_name	udise_sch_code		
178	UKHRUL	CHINGAI	HUISHU PS	14080204401		
179	UKHRUL	UKHRUL	HUIMI JR. HS	14080103602		
180	UKHRUL	UKHRUL	NUNGOU P/S	14080101101		
181	UKHRUL	UKHRUL	SHANGCHING P/S	14080101301		
182	UKHRUL	UKHRUL	LUNGREIPHUNG P/S	14080101902		
183	UKHRUL	UKHRUL	KHANGKHUI KL. P/S	14080102801		
184	UKHRUL	UKHRUL	KHANGKHUI KN. P/S	14080102901		
185	UKHRUL	UKHRUL	LANGDANG PHUNGDHAR P/S	14080103101		
186	UKHRUL	UKHRUL	RINGUI RAMHON P/S	14080103201		
187	UKHRUL	UKHRUL	UPPER LEISAN P/S	14080105101		
188	UKHRUL	UKHRUL	RONSHAK P/S	14080106801		
189	UKHRUL	UKHRUL	HUINING ARA PS	14080108108		
190	UKHRUL	UKHRUL	NEW CANAAN PS	14080108203		
191	UKHRUL	UKHRUL	KHAMASOM WALLELY P/S	14080108505		
192	UKHRUL	UKHRUL	MOLNOM P/S	14080109401		

CWSN-Toilets

CWSN Toilets-34					
S.No	district_name	block_name	school_name	udise_sch_code	
1.	SENAPATI	PAOMATA	LIYAI X-TIAN UPPER PRIMARY SCHOOL	14010405302	
2.	TAMENGLONG	TAMEI	NEW PALLONG PS	14020302401	
3.	TAMENGLONG	TAMENGLONG	KHONGJARON JR. HIGH SCHOOL	14020103901	
4.	TAMENGLONG	TAMENGLONG	RANGKHUNG PT - III PS	14020102503	
5.	TAMENGLONG	TOUSEM	TOUSEM KHULLEN PS	14020202401	
6.	TAMENGLONG	TOUSEM	NJUNGKOK PS	14020205801	
7.	CHURACHANDPUR	CHURACHANDPUR	BIJANG LOUBUK GOVT. JR. H/S	14030102401	
8.	CHURACHANDPUR	CHURACHANDPUR	SANGAIKOT JBS	14030115201	
9.	CHURACHANDPUR	SAMULAMLAN	PHUNCHONGJANG JBS (ADC)	14030208201	
10.	BISHNUPUR	BISHNUPUR	KEINOU THONGKHA PRIMARY SCHOOL	14040103112	
11.	BISHNUPUR	BISHNUPUR	NINGTHOUKHONG MAMANG JUNIOR HIGH SCHOOL	14040107302	
12.	BISHNUPUR	MOIRANG	TRONGLAOBI JUNIOR HIGH SCHOOL	14040201809	
13.	THOUBAL	THOUBAL	PHOUDEN UPPER PRIMARY SCHOOL	14050100802	
14.	THOUBAL	THOUBAL	HEIROK PT.II MAYAI LEIKAI UPPER PRIMARY SCHOOL	14050108606	
15.	THOUBAL	THOUBAL	CHAOBOK TAIREL MAKHONG PRIMARY MADRASSA	14050110702	
16.	THOUBAL	THOUBAL	RAFIUDDIN PM	14050114309	
17.	THOUBAL	THOUBAL	WANGJING HODAMBA JUNIOR HIGH SCHOOL	14050117301	
18.	IMPHAL WEST	HAORANG	TAKYEL MAPAL UPS	14060200305	

CWSN Toilets-34					
S.No	district_name	block_name	school_name	udise_sch_code	
			KHUMBONG UPPER PRIMARY		
19.	IMPHAL WEST	HAORANG	SCHOOL	14060205901	
20.	IMPHAL WEST	IMC	PETTIGREW JR. H.S.	14060101904	
			NARAN KONJIL MAYAI UPPER		
21.	IMPHAL WEST	WANGOI	PRIMARY SCHOOL	14060302202	
			HEIRANGOITHONG JUNIOR		
22.	IMPHAL WEST	WANGOI	HIGH SCHOOL	14060304402	
			BENGOON AWANG PRIMARY		
23.	IMPHAL WEST	WANGOI	MADRASSA	14060311001	
			BENGOON MANING UPPER		
24.	IMPHAL WEST	WANGOI	PRIMARY SCHOOL	14060311002	
2.5	DADILAL EAGE	SAWOMBUNG		1.4070102001	
25.	IMPHAL EAST	IMPHAL EAST- I	CHALLOU P/S	14070103901	
26.	UKHRUL	CHINGAI	MEWUCHUKHE PS	14080202502	
27.	JIRIBAM	JIRIBAM	CHANDRANATHPUR L/P	14130300401	
28.	JIRIBAM	JIRIBAM	CHINGDONG LEIKAI UPPER P/S	14130302502	
29.	KAKCHING	KAKCHING	PALLEL JUNIOR HIGH SCHOOL	14140200201	
30.	TAMENGLONG	TAMEI	THENJANG JR. HIGH SCHOOL	14020303701	
			KAKCHING LOUMI UPPER		
31.	KAKCHING	KAKCHING	PRIMARY SCHOOL	14140201603	
			WABAGAI THAMBALANGOU		
32.	KAKCHING	KAKCHING	PRIMARY SCHOOL	14140201903	
			LANGMEIDONG PRIMARY		
33.	KAKCHING	KAKCHING	SCHOOL	14140202501	
34.	NONEY	NUNGBA	GAIDIMJANG -II PS	14160403001	

Drinking Water

Drink	Drinking Water-27					
S.No	district_name	block_name	school_name	udise_sch_code		
1	KAMJONG	KAMJONG	SKIPE PS	14150400701		
2	KAMJONG	KAMJONG	NINGCHOU PS	14150401001		
3	KAMJONG	KAMJONG	K LANGLI PS	14150402601		
4	KAMJONG	KASOM KL.	ITHAM PS	14150502301		
5	KAMJONG	PHUNGYAR	SIKIPHUNG LEINGANGCHING SV	14150304301		
6	NONEY	NUNGBA	MONGJARON KHULLEN PS	14160400201		
7	TENGNOUPAL	МАСНІ	KHUNBI TUINEM UPPER PRIMARY SCHOOL LANGOL KHUNOU UPPER	14110101301		
8	TENGNOUPAL	MACHI	PRIMARY SCHOOL	14110102001		
9	TENGNOUPAL	MACHI	MAOLHANG PRIMARY SCHOOL	14110103101		
10	TENGNOUPAL	MACHI	PHUNCHONG P/S	14110100901		
11	TENGNOUPAL	MACHI	BIJANG P/S	14110105301		
12	TENGNOUPAL	MACHI	KOIJAM P/S	14110106201		
13	TENGNOUPAL	TENGNOUPAL	AIMOL NGAIRONG UPPER PRIMARY SCHOOL	14110200201		
14	TENGNOUPAL	TENGNOUPAL	SENAM P/S	14110201301		

Drink	Drinking Water-27					
S.No	district_name	block_name	school_name	udise_sch_code		
15	TENGNOUPAL	TENGNOUPAL	LEITAN P/S	14110202701		
16	TENGNOUPAL	TENGNOUPAL	YONGKHUL P/S	14110207601		
17	TENGNOUPAL	TENGNOUPAL	ANGBRASU P/S	14110208301		
18	TENGNOUPAL	TENGNOUPAL	LAMLONG KHUNOU P/S	14110208501		
19	TENGNOUPAL	TENGNOUPAL	KAMBANG KHUNOU P/S	14110209201		
20	TENGNOUPAL	MACHI	THAMLAI P/SCHOOL	14110106701		
21	UKHRUL	CHINGAI	MARANGPHUNG PS	14080203701		
22	UKHRUL	CHINGAI	NEW WAHONG PS	14080203901		
23	UKHRUL	CHINGAI	LUIREISHIMPHUNG P/S	14080204201		
24	UKHRUL	CHINGAI	CHALLOU PS	14080204301		
25	UKHRUL	UKHRUL	WUNGHON UPS	14080108202		
26	UKHRUL	UKHRUL	VPH P/S	14080100424		
27	UKHRUL	UKHRUL	TOLLOI PHUNGTON P/S	14080103906		

Major Repair

Major Repair-54					
S.No	district_name	block_name	school_name	udise_sch_code	
1.	TAMENGLONG	TAMENGLONG	NEW WAIRANGBA PS	14020104003	
2.	CHURACHANDPUR	CHURACHANDPUR	SUMKHOHEN JR. H/S	14030105601	
3.	CHURACHANDPUR	CHURACHANDPUR	TUINUPHAI JBS	14030103601	
4.	CHURACHANDPUR	CHURACHANDPUR	THENMUOL JBS	14030120701	
5.	CHURACHANDPUR	HENGLEP	VUNGBUK JR. H/S (GOVT)	14030614701	
6.	CHURACHANDPUR	SAMULAMLAN	G. SONGGEL UPPER PRIMARY SCHOOL	14030200101	
7.	BISHNUPUR	BISHNUPUR	LEIMAPOKPAM HINDI KABUI PRIMARY SCHOOL	14040102802	
8.	BISHNUPUR	MOIRANG	TANGJENG AHALLUP PRIMARY SCHOOL	14040200101	
9.	BISHNUPUR	MOIRANG	KUMBI WAPOKPI PRIMARY SCHOOL	14040201901	
10.	THOUBAL	THOUBAL	KANGASHENBI UPPER PRIMARY SCHOOL	14050103401	
11.	THOUBAL	THOUBAL	SABANTONGBA PRIMARY SCHOOL	14050103801	
12.	THOUBAL	THOUBAL	LEISHANGTHEM KELIMAKHONG UPPER PRIMARY SCHOOL	14050104003	
13.	THOUBAL	THOUBAL	HEIROK KHUNOU UPPER PRIMARY SCHOOL	14050108608	
14.	THOUBAL	THOUBAL	TUREL AHANBI MATHAK LOWER PRIMARY MADRASSA	14050110201	
15.	THOUBAL	THOUBAL	HAOREIBI KONJIL LEIKAI JUNIOR HIGH MADRASSA	14050111001	
16.	IMPHAL WEST	HAORANG	CHANGANGEI KABUI P.S.	14060205201	
17.	IMPHAL WEST	IMC	IROISHEMBA UPPER PRIMARY SCHOOL	14060100902	
18.	IMPHAL WEST	WANGOI	SAMUSANG SHANTIPUR UPPER PRIMARY SCHOOL	14060303504	

	Repair-54	1.11.	11	1: 1 1
S.No	district_name	block_name	school_name	udise_sch_code
19.	IMPHAL WEST	WANGOI	MEKOLA JUNIOR HIGH SCHOOL	14060303803
20.	IMPHAL WEST	WANGOI	OINAM WANGOI PRIMARY SCHOOL	1406030690
21.	IMPHAL WEST	WANGOI	OINAM PRIMARY MADRASSA	1406030690
21.	IVII IIAL WEST	WANGOI	MAYANG IMPHAL THANA	1400030090.
			LEIRENSANA JUNIOR HIGH	
22.	IMPHAL WEST	WANGOI	SCHOOL	1406031020
23.	IMPHAL EAST	IRILBUNG	WAKHA PRIMARY SCHOOL	1407020090
			BAMON KAMPU UPPER PRIMARY	
24.	IMPHAL EAST	IRILBUNG	SCHOOL THAN (DATE HELD MICH	14070201604
25.	IMPHAL EAST	IRILBUNG	THAMBALKHONG JUNIOR HIGH SCHOOL	1407020201
26.	IMPHAL EAST	IRILBUNG	CHINGKHAM PRIMARY SCHOOL	1407020201
27.	IMPHAL EAST	IRILBUNG	WANGKHEM PRIMARY SCHOOL	1407020230
	IVII IIAL EAST	SAWOMBUNG	WANGKIEW I KIWAK I SCHOOL	1407020340
28.	IMPHAL EAST	IMPHAL EAST- I	MOIRANG KAMPU P/S	14070100502
		SAWOMBUNG		
29.	IMPHAL EAST	IMPHAL EAST- I	BUNGLUNG GORKHA P/S	1407010570
20	DADILAL EAGE	SAWOMBUNG	LAMBOHAHH AMBED DA	1.407010700
30.	IMPHAL EAST	IMPHAL EAST- I	LAMBOIKHUL UPPER P/S	1407010700
31.	UKHRUL	CHINGAI	KUINGAI PS	1408020270
32.	UKHRUL	CHINGAI	MAREM UPS	1408020320
33.	UKHRUL	UKHRUL	K.K. LEISHIPHANIT JR. H/S	1408010041
34.	UKHRUL	UKHRUL	VPH P/S	1408010042
35.	UKHRUL	UKHRUL	KHANGKHUI KL. P/S	1408010280
36.	UKHRUL	UKHRUL	SHONGPHEL PS	1408010640
37.	CHANDEL	CHANDEL	CHARANGCHING KHULLEN PRIMARY SCHOOL	1409030790
38.	CHANDEL	CHANDEL	HONGBIBAN P/S	1409030790
39.	CHANDEL	CHANDEL	ST.JOHN PRIMARY SCHOOL	1409030940
40.	KANGPOKPI	KANGPOKPI	GAMNOMPHAI UJB SCHOOL	1410011900
41.	KANGPOKPI	KANGPOKPI	SALEM ACADEMY UJB SCHOOL	1410011900
42.	KANGPOKPI	KANGPOKPI	LHANGNOMPHAI UJB SCHOOL	1410012030.
42.	KANOFOKFI	KANGFORFI	SAI-OH UPPER PRIMARY	1410012080
43.	KANGPOKPI	SAITU	SCHOOL	1410021250
44.	KANGPOKPI	SAITU	BIJANG UJB SCHOOL	1410021290
			SORA KAKCHING PRIMARY	
45.	KAKCHING	KAKCHING	MADRASSA	1414020020
46.	KAMJONG	KAMJONG	CHASSAD PS	1415040470
47.	KAMJONG	PHUNGYAR	RIHA LOUTEI P/S	1415030010
48.	KAMJONG	PHUNGYAR	ALANG P/S	1415030100
49.	KAMJONG	PHUNGYAR	CHUNGKA PS	1415030150
50.	NONEY	NUNGBA	BITIANG PS	1416040710
51.	NONEY	NUNGBA	NEW KABUIKHULLEN UPS	1416040980
52.	NONEY	NUNGBA	LUBANGLONG PS	1416040360
53.	NONEY	NUNGBA	NUNGLEIBAND PS	1416040440
54.	NONEY	NUNGBA	PUNGMON PS	1416040960

Ramp with Handrail

Ramp with Handrail-196						
S.No	district_name	block_name	school_name	udise_sch_code		
			AKONAMAI LOWER PRIMARY			
1.	SENAPATI	PAOMATA	SCHOOL	14010400111		
2.	SENAPATI	PAOMATA	LIYAI KHUNOU UJB SCHOOL	14010406301		
3.	SENAPATI	PAOMATA	LAII GAZEPHEMAI UJB SCHOOL	14010406502		
4.	SENAPATI	PAOMATA	KATAFIIMAI UJB SCHOOL	14010408201		
	SERVII ATT	THOWITH	NGARI ZIIDAM LOWER	14010400201		
5.	SENAPATI	PURUL	PRIMARY SCHOOL	14010602802		
			THINGBA KHULLEN ASHRAM			
6.	SENAPATI	PURUL	SCHOOL	14010600802		
7.	SENAPATI	TADUBI	13 MILES LOWER PRIMARY SCHOOL	14010517801		
7.	SEIWH IIII	TADODI	KATOMEI MAKENG UJB	14010317001		
8.	SENAPATI	TADUBI	SCHOOL	14010500402		
			KARONG BAZAR PRIMARY			
9.	SENAPATI	TADUBI	SCHOOL	14010503901		
10.	SENAPATI	TADUBI	KHABUNG UJB SCHOOL	14010504502		
11.	SENAPATI	TADUBI	NGATAN UJB SCHOOL	14010505701		
12.	SENAPATI	TADUBI	CHOWAINU UJB SCHOOL	14010509801		
13.	SENAPATI	TADUBI	SADIM PUKHRI UJB SCHOOL	14010516201		
14.	TAMENGLONG	TAMEI	ILLENG PS	14020301101		
15.	TAMENGLONG	TAMEI	DIKIURAM PS	14020301901		
16.	TAMENGLONG	TOUSEM	THINGCHAMPHAI PS	14020201301		
17.	TAMENGLONG	TOUSEM	KHEDAGAR KHASI PS	14020201801		
18.	TAMENGLONG	TOUSEM	CHINGKAO PS	14020204901		
19.	CHURACHANDPUR	CHURACHANDPUR	MATA MUALTAM JBS	14030119901		
20.	CHURACHANDPUR	HENGLEP	UKHA LOIKHAI JBS (ADC)	14030600901		
21.	CHURACHANDPUR	HENGLEP	SANTING JBS (ADC)	14030605901		
22.	CHURACHANDPUR	HENGLEP	SANGLEL JBS (ADC)	14030607701		
23.	CHURACHANDPUR	HENGLEP	TUILUMJANG JBS (ADC)	14030609901		
24.	CHURACHANDPUR	HENGLEP	TEIJANG JBS (ADC)	14030611601		
25.	CHURACHANDPUR	HENGLEP	T. GANGPIJANG JBS (ADC)	14030615001		
26.	CHURACHANDPUR	SAMULAMLAN	NIRPU JR. H/S (GOVT)	14030208401		
27.	CHURACHANDPUR	SAMULAMLAN	THENJANG JBS (ADC)	14030209701		
20	THOUDAN	THOUDAN	LEIRONGTHEL PITRA	1.4050107002		
28.	THOUBAL	THOUBAL	PRIMARY SCHOOL CHINGJAO MAYAI LOWER	14050107903		
29.	THOUBAL	THOUBAL	PRIMARY MADRASSA	14050111403		
30.	IMPHAL WEST	WANGOI	OINAM PRIMARY MADRASSA	14060306902		
			CHABUNG COMPANY MAKHA	_ 1300000702		
31.	IMPHAL WEST	WANGOI	PRIMARY SCHOOL	14060311301		
32.	UKHRUL	CHINGAI	PAOYI L/P (SV)	14080200704		
33.	UKHRUL	CHINGAI	RAZAI KL UPS	14080200801		
34.	UKHRUL	CHINGAI	CHINGJAROI KN P/S	14080201101		
35.	UKHRUL	CHINGAI	KHAMASOM PHUNGREI P/S	14080201701		
36.	UKHRUL	CHINGAI	POI MAKEVA PS	14080203102		

	ith Handrail-196	1.1 .		1. 1 1
S.No	district_name	block_name	school_name	udise_sch_code
37.	UKHRUL	CHINGAI	MARANGPHUNG PS	1408020370
38.	UKHRUL	UKHRUL	K.K. LEISHIPHANIT JR. H/S	1408010041
39.	UKHRUL	UKHRUL	PHADANG NGARUMPHUNG P/S	1408010031
40.	UKHRUL	UKHRUL	HUNDUNG VASINGTANG P/S	1408010070
41.	UKHRUL	UKHRUL	SHOKVAO P/S	1408010260
42.	UKHRUL	UKHRUL	UPPER LEISAN P/S	1408010510
43.	UKHRUL	UKHRUL	MAICHON P/S	1408010790
44.	UKHRUL	UKHRUL	HALANG WUNGLUNGTANG P/S	1408010810
45.	UKHRUL	UKHRUL	HUINING ARA PS	1408010810
46.	UKHRUL	UKHRUL	KHAMASOM WALLELY P/S	1408010850
47.	UKHRUL	UKHRUL	SOLOLUI P/S	1408010860
48.	CHANDEL	CHAKPIKARONG	TUIKONG P/S	1409042140
49.	KANGPOKPI	KANGPOKPI	KAZANGA LOWER PRIMARY SCHOOL	1410010010
			NOONPANI LOWER PRIMARY	
50.	KANGPOKPI	KANGPOKPI	SCHOOL	1410010400
51.	KANGPOKPI	KANGPOKPI	SONGPIJANG LOWER PRIMARY SCHOOL	1410011030
52.	KANGPOKPI	KANGPOKPI	HAIJOL LOWER PRIMARY SCHOOL	1410011730
53.	KANGPOKPI	KANGPOKPI	MAOHING LOWER PRIMARY SCHOOL	1410012050
54.	KANGPOKPI	KANGPOKPI	LAIKOT LOWER PRIMARY SCHOOL	1410012090
55.	KANGPOKPI	KANGPOKPI	YAIKHONGPAO UJB SCHOOL	1410010420
56.	KANGPOKPI	KANGPOKPI	M.PUNGTANG UJB SCHOOL	1410010590
57.	KANGPOKPI	KANGPOKPI	HARUP NAGA UJB SCHOOL	1410010600
58.	KANGPOKPI	KANGPOKPI	NAIBET UJB SCHOOL	1410010910
59.	KANGPOKPI	KANGPOKPI	GELBUNG UJB SCHOOL	1410010970
60.	KANGPOKPI	KANGPOKPI	SELSI UJB SCHOOL	1410011020
61.	KANGPOKPI	KANGPOKPI	KOTLEN UJB SCHOOL	1410011050
62.	KANGPOKPI	KANGPOKPI	KHOLJANG JUNIOR HIGH SCHOOL	1410011500
63.	KANGPOKPI	KANGPOKPI	MOLSANG UJB SCHOOL	1410011560
64.	KANGPOKPI	KANGPOKPI	PHOIBUNG UJB SCHOOL	1410011640
65.	KANGPOKPI	KANGPOKPI	HAIPI UJB SCHOOL	1410011820
66.	KANGPOKPI	KANGPOKPI	GAMNOMPHAI UJB SCHOOL	1410011920
67.	KANGPOKPI	KANGPOKPI	SALEM ACADEMY UJB SCHOOL	1410011900
68.	KANGPOKPI	KANGPOKPI	S. CHANGOUBUNG UJB SCHOOL	1410012100
69.	KANGPOKPI	SAIKUL	SORALAND LOWER PRIMARY SCHOOL	1410031870
70.	KANGPOKPI	SAIKUL	YANGNOMPHAI UJB SCHOOL	1410030070
71.	KANGPOKPI	SAIKUL	KARPUR SUNGBA UJB SCHOOL	1410030100

	ith Handrail-196	1.1 .		1
S.No	district_name	block_name	school_name	udise_sch_code
72.	KANGPOKPI	SAIKUL	LEMBAKHUL UJB SCHOOL	1410030140
73.	KANGPOKPI	SAIKUL	NONGMAIBAND UJB SCHOOL	1410030180
74.	KANGPOKPI	SAIKUL	LAIKOT KOM UJB SCHOOL	1410030250
75.	KANGPOKPI	SAIKUL	SIMOL KUKI UJB SCHOOL	1410030260
76.	KANGPOKPI	SAIKUL	TUISOMJANG UJB SCHOOL	14100302703
77.	KANGPOKPI	SAIKUL	GANGPIJANG UJB SCHOOL	1410030750
78.	KANGPOKPI	SAIKUL	T. WAKONPHAI UJB SCHOOL	1410030800
79.	KANGPOKPI	SAIKUL	THINGSAT UJB SCHOOL	1410030810
			THANGAL SURUNG UJB	
80.	KANGPOKPI	SAIKUL	SCHOOL	1410030820
81.	KANGPOKPI	SAIKUL	SATANG KUKI UJB SCHOOL	1410030840
			THONGNANGPAL UJB	
82.	KANGPOKPI	SAIKUL	SCHOOL	14100308501
83.	KANGPOKPI	SAIKUL	KHOKON UJB SCHOOL	14100308703
84.	KANGPOKPI	SAIKUL	E. MULLAM UJB SCHOOL	1410030890
			LUWANGSANGOL UJB	
85.	KANGPOKPI	SAIKUL	SCHOOL	1410031190
86.	KANGPOKPI	SAIKUL	C. KHOLLEN UJB SCHOOL	1410031370
87.	KANGPOKPI	SAIKUL	JANGNOI UJB SCHOOL	1410031380
88.	KANGPOKPI	SAIKUL	DONGSUM UJB SCHOOL	1410031390
			T. GAMNOM JUNIOR HIGH	
89.	KANGPOKPI	SAIKUL	SCHOOL	14100314003
90.	KANGPOKPI	SAIKUL	DENGLEN UJB SCHOOL	1410031410
91.	KANGPOKPI	SAIKUL	SONGBEM UJB SCHOOL	14100314203
92.	KANGPOKPI	SAIKUL	SOMPHUNG UJB SCHOOL	1410031430
93.	KANGPOKPI	SAIKUL	ICHAIGOJANG UJB SCHOOL	1410031510
94.	KANGPOKPI	SAIKUL	THINGPHAI UJB SCHOOL	1410031530
			TANGKHUL KHULLEN UJB	
95.	KANGPOKPI	SAIKUL	SCHOOL	1410031770
0.6	IV A NGDOWNI	CATIZITI	LAIPHROK MARING UJB	1.410021700
96.	KANGPOKPI	SAIKUL	SCHOOL PONCE AL KIND FOR THE	14100317803
97.	KANGPOKPI	SAIKUL	BONGBAL KHULLEN UJB SCHOOL	14100318103
71.	K/H/OI OKI I	Brincel	KAMUCHINGJANG UJB	1410031010
98.	KANGPOKPI	SAIKUL	SCHOOL	14100318902
			SANDANGSENBA MARING	
99.	KANGPOKPI	SAIKUL	JUNIOR HIGH SCHOOL	14100319103
100.	KANGPOKPI	SAIKUL	LUNGTHER UJB SCHOOL	1410031930
101.	KANGPOKPI	SAIKUL	GOTANGKOT UJB SCHOOL	14100319703
102.	KANGPOKPI	SAIKUL	KAMU TAMPAK UJB SCHOOL	14100319903
103.	KANGPOKPI	SAIKUL	KAMU KHONGSAI UJB SCHOOL	14100320403
104.	KANGPOKPI	SAIKUL	SAICHANG UJB SCHOOL	1410032040
104.	KANGPOKPI	SAIKUL	SONGPHEL UJB SCHOOL	1410032080
106.	KANGPOKPI	SAIKUL	LEISEMLOK UJB SCHOOL	14100321401
107.	KANGPOKPI	SAIKUL	WAITHOU CHIRU UJB SCHOOL	14100321501
108.	KANGPOKPI	SAIKUL	HEINGANGLOK UJB SCHOOL	1410032170

	th Handrail-196	1		1
S.No	district_name	block_name	school_name	udise_sch_code
109.	KANGPOKPI	SAIKUL	LAIKOT KHUNOU UJB SCHOOL	14100324101
110.	KANGPOKPI	SAIKUL	H. YANGNOM UJB SCHOOL	14100328601
			MONGJANG LOWER PRIMARY	
111.	KANGPOKPI	SAITU	SCHOOL	14100215803
112.	KANGPOKPI	SAITU	PHAILENGKOT UJB SCHOOL	14100200103
113.	KANGPOKPI	SAITU	BETHSAIDA JUNIOR HIGH SCHOOL	14100200203
113.	KANGPOKPI	SAITU	LHANGKICHOI UJB SCHOOL	1410020020
115.	KANGPOKPI	SAITU	K. ORPHANAGE UJB SCHOOL	1410020220
116.	KANGPOKPI	SAITU	KONTAM UJB SCHOOL	1410020380
117.	KANGPOKPI	SAITU	KHENGJANG UJB SCHOOL	1410020400
118.	KANGPOKPI	SAITU	MAKHAN UJB SCHOOL	1410020410
119.	KANGPOKPI	SAITU	IRENG UJB SCHOOL	1410020490
120.	KANGPOKPI	SAITU	HARAOTHEL UJB SCHOOL	1410020580
121.	KANGPOKPI	SAITU	KHARAM THADOI UJB SCHOOL	1410020590
121.	KANOFOKFI	SAITU	KHARAM VAIPHEI UJB	1410020390
122.	KANGPOKPI	SAITU	SCHOOL	1410020620
			KANGCHUP SONGLUNG UJB	
123.	KANGPOKPI	SAITU	SCHOOL	1410020670
124.	KANGPOKPI	SAITU	K. TUIKUN UJB SCHOOL	1410020730
125.	KANGPOKPI	SAITU	LANGKA UJB SCHOOL	1410020860
			LAIMATON THANGBUH UJB	
126.	KANGPOKPI	SAITU	SCHOOL	1410020910
127.	KANGPOKPI	SAITU	NUNGGANG UJB SCHOOL	1410020940
128.	KANGPOKPI	SAITU	NUNGSAI CHIRU JUNIOR HIGH SCHOOL	1410021040
129.	KANGPOKPI	SAITU	NATOP BOLJANG UJB SCHOOL	1410021040
			SAHEIBUNG UJB SCHOOL	
130.	KANGPOKPI	SAITU	KHARAM PALLEN UJB	1410021080
131.	KANGPOKPI	SAITU	SCHOOL SCHOOL	1410021100
			THANGLONG MOLBUNG UJB	
132.	KANGPOKPI	SAITU	SCHOOL	1410021130
133.	KANGPOKPI	SAITU	PHOLJANG UJB SCHOOL	1410021140
134.	KANGPOKPI	SAITU	KHORIPOK UJB SCHOOL	1410021220
			LOIBOL KHULLEN UJB	
135.	KANGPOKPI	SAITU	SCHOOL	1410021380
136.	KANGPOKPI	SAITU	SADU CHIRU UJB SCHOOL	1410021390
137.	KANGPOKPI	SAITU	G. LHANGJOL UJB SCHOOL	1410021530
138.	KANGPOKPI	SAITU	G. PHALBUNG UJB SCHOOL	1410021540
139.	KANGPOKPI	SAITU	MONGPIJANG UJB SCHOOL	1410021590
140.	KANGPOKPI	SAITU	N. SONGLUNG UJB SCHOOL	1410021600
141.	KANGPOKPI	SAITU	S. LHANGNOM UJB SCHOOL	1410021710
142.	KANGPOKPI	SAITU	L. KHOMUNOM UJB SCHOOL	1410021860
143.	KANGPOKPI	SAITU	TUIPAJANG UJB SCHOOL	1410021870
144.	KANGPOKPI	SAITU	PHOIBIH UJB SCHOOL	1410021880
145.	KANGPOKPI	SAITU	L. MANGJOL UJB SCHOOL	1410021940

	th Handrail-196			T
S.No	district_name	block_name	school_name	udise_sch_code
146.	KANGPOKPI	SAITU	C. MUNNOM UJB SCHOOL	14100219501
1.47	TENGNOLIDA I	MACHI	YAMOLCHING PRIMARY	14110105401
147.	TENGNOUPAL	MACHI	SCHOOL BONGLI JUNIOR HIGH	14110105401
148.	TENGNOUPAL	MACHI	SCHOOL	14110105501
149.	TENGNOUPAL	MACHI	KHUNBI P/S	14110101501
150.	TENGNOUPAL	MACHI	LAICHING MINOU P/S	14110102501
151.	TENGNOUPAL	MACHI	THAMLAI P/SCHOOL	14110106701
152.	TENGNOUPAL	MACHI	PHOILENCHING P/S	14110107301
153.	TENGNOUPAL	TENGNOUPAL	AIMOL KHULLEN P/S	14110200101
154.	TENGNOUPAL	TENGNOUPAL	CHAHMOL P/S	14110202201
155.	TENGNOUPAL	TENGNOUPAL	LEITAN P/S	14110202701
156.	TENGNOUPAL	TENGNOUPAL	AIMOL KUMBIREI P/S	14110203101
			T.BONGMOL UPPER PRIMARY	
157.	TENGNOUPAL	TENGNOUPAL	SCHOOL	14110206001
158.	TENGNOUPAL	TENGNOUPAL	YONGKHUL P/S	14110207601
159.	TENGNOUPAL	TENGNOUPAL	KAMBANG KHUNOU P/S	14110209201
160.	TENGNOUPAL	TENGNOUPAL	LAMJANG P/S	14110209801
161.	TENGNOUPAL	TENGNOUPAL	KHONGKANG SAVUMPA P/S	14110210701
162.	PHERZAWL	THANLON	PHAIPHENG JBS	14120401801
163.	PHERZAWL	TIPAIMUKH	LUNGTHULIEN JR. H/S	14120500301
164.	JIRIBAM	JIRIBAM	TUPIDHOR L/P	14130301801
165.	KAMJONG	KAMJONG	SKIPE PS	14150400701
166.	KAMJONG	KAMJONG	NAMPISHA PS	14150400801
167.	KAMJONG	KAMJONG	PIHANG P/S	14150406201
168.	KAMJONG	KASOM KL.	WANGLEE PS	14150500701
169.	KAMJONG	KASOM KL.	MANTHOURAM PS	14150501403
170.	KAMJONG	KASOM KL.	ITHAM PS	14150502301
171.	KAMJONG	KASOM KL.	PUNOMRAM PS	14150504101
172.	KAMJONG	KASOM KL.	NAMBASHI KN. P/S	14150500201
173.	KAMJONG	KASOM KL.	LOWER KHOIRIPOK PS	14150501801
174.	KAMJONG	KASOM KL.	TARONG PS	14150501901
175.	KAMJONG	KASOM KL.	CHONGDANG PS	14150502101
176.	KAMJONG	KASOM KL.	KHAMLANG PS	14150502601
177.	KAMJONG	KASOM KL.	UPPER KHOIRIPOK PS	14150502801
178.	KAMJONG	KASOM KL.	KASOM KN PS	14150502901
179.	KAMJONG	KASOM KL.	KHONGLO PS	14150503301
180.	KAMJONG	KASOM KL.	K ASHANG KL PS	14150503801
181.	KAMJONG	KASOM KL.	KANGOI PS	14150503901
182.	KAMJONG	PHUNGYAR	RIHA LOUTEI P/S	14150300107
183.	KAMJONG	PHUNGYAR	MAROU P/S	14150302001
184.	KAMJONG	PHUNGYAR	SHINGTA PS	14150302101
185.	KAMJONG	PHUNGYAR	NONGMAN P/S	14150302501
186.	KAMJONG	PHUNGYAR	PATBUNG PS	14150303201
187.	KAMJONG	PHUNGYAR	PUNGE PS	14150303601

Ramp wi	Ramp with Handrail-196					
S.No	district_name	block_name	school_name	udise_sch_code		
188.	KAMJONG	PHUNGYAR	LOUPHONG PS	14150304001		
189.	NONEY	NUNGBA	NEW KABUIKHULLEN UPS	14160409801		
190.	NONEY	NUNGBA	NEW MARANGJING PS	14160410501		
191.	NONEY	NUNGBA	NAMKAOLONG PT-II PS	14160404201		
192.	NONEY	NUNGBA	TUIPHAI UPS	14160408101		
193.	NONEY	NUNGBA	NAGACHING PT-II PS	14160410001		
194.	NONEY	NUNGBA	UPPER NUNGTEK PS	14160410401		
195.	NONEY	NUNGBA	HAOLAIJANG PS	14160410601		
196.	NONEY	NUNGBA	KABUI KHULLEN PS	14160411201		

Buildingless – Primary

Buildingless- Primary-14					
S.No	district_name	block_name	school_name	udise_sch_code	
1	CHURACHANDPUR	HENGLEP	KOKODAN DAHLON PRIMARY SCHOOL	14030612101	
2	IMPHAL EAST	IRILBUNG	PHUNAL KHUNOU PRIMARY SCHOOL	14070203108	
3	IMPHAL EAST	IRILBUNG	ANDRO SANTHEL P/S	14070205206	
4	IMPHAL EAST	IRILBUNG	MOIRANGPUREL AWANG LEIKAI P/S	14070205307	
5	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	MAIRENPAT P/S	14070106003	
6	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	PUKHAO SANTIPUR PRIMARY SCHOOL	14070106403	
7	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	KOUPAK GORKHA P/S	14070110701	
8	KANGPOKPI	SAIKUL	OLD BOLJANG PRIMARY SCHOOL	14100309901	
9	KANGPOKPI	SAIKUL	PHAIKON PRIMARY SCHOOL	14100316002	
10	KANGPOKPI	SAIKUL	GAMPUM PRIMARY SCHOOL	14100317401	
11	KANGPOKPI	SAITU	WAPANG SONGJANG PRIMARY SCHOOL	14100206501	
12	PHERZAWL	THANLON	PHAIKHOLUM PRIMARY SCHOOL	14120401902	
13	PHERZAWL	THANLON	TALLIAN PRIMARY SCHOOL	14120404602	
14	NONEY	NUNGBA	KANGBENGPANG PS	14160402502	

Dilapited Building (Primary)

Dilapite	Dilapited Building (Primary) -18					
S.NO	district_name	block_name	school_name	udise_sch_code		
1	SENAPATI	TADUBI	CHAKUMAI UJB SCHOOL	14010510301		
2	CHURACHANDPUR	CHURACHANDPUR	MONGBUNG JBS	14030116301		
3	BISHNUPUR	MOIRANG	CHINGYANG PRIMARY SCHOOL	14040201209		
4	THOUBAL	THOUBAL	KIYAM SIPHAI PRIMARY SCHOOL	14050100901		
5	THOUBAL	THOUBAL	HEININGSOI PRIMARY SCHOOL	14050104801		

		•	1		
	6	THOUBAL	THOUBAL	WANGBAL PRIMARY SCHOOL	14050109601
	7	THOUBAL	THOUBAL	MAIBAM KONJIL PRIMARY SCHOOL	14050112002
				LANGTHABAL KHUNOU PRIMARY	
	8	THOUBAL	THOUBAL	SCHOOL	14050112601
	9	IMPHAL WEST	HAORANG	KANGMONG MAISNAM P.S.	14060203704
	10	UKHRUL	CHINGAI	NUNGBI KL PS	14080201901
L	11	UKHRUL	UKHRUL	CHAMPHUNG P/S	14080104301
L	12	UKHRUL	UKHRUL	HUINING ARA PS	14080108108
	13	KANGPOKPI	SAIKUL	LAIKOT KOM UJB SCHOOL	14100302501
L	14	KANGPOKPI	SAIKUL	SIMOL KUKI UJB SCHOOL	14100302601
	15	KANGPOKPI	SAITU	KHOLEP UJB SCHOOL	14100217201
	16	KAMJONG	KAMJONG	NAMPISHA PS	14150400801
	17	NONEY	NUNGBA	TAMLOK PS	14160408001
ſ	18	NONEY	NUNGBA	NUNGTEK PS	14160410301

Dilapited Building (Upper Primary)

Dilapite	Dilapited Building (Upper Primary) -16						
S.No	district_name	block_name	school_name	udise_sch_code			
1	BISHNUPUR	MOIRANG	NGANGKHALAWAI UPPER PRIMARY SCHOOL	1404020170			
2	CHANDEL	CHAKPIKARONG	MOLPHEI UPPER PRIMARY SCHOOL	1409042190			
3	CHURACHANDPUR	CHURACHANDPUR	LEISANG GOVT. JR. H/S	1403010710			
4	CHURACHANDPUR	CHURACHANDPUR	MATALAMBULANE GOVT. JR. H/S	14030111401			
5	IMPHAL EAST	IRILBUNG	MADAN MOHON JUNIOR HIGH SCHOOL	14070200601			
6	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	ANGOM LAWAI UPPER P/S	14070100301			
7	IMPHAL WEST	HAORANG	KHAIDEM UPS	14060204801			
8	IMPHAL WEST	WANGOI	LANGTHABAL NAMBUL MAPAL JUNIOR HIGH SCHOOL	14060303902			
9	IMPHAL WEST	WANGOI	HAOREIBI JUNIOR HIGH SCHOOL	14060309603			
10	KAKCHING	KAKCHING	IRENGBAND UPPER PRIMARY SCHOOL	1414020010			
11	KAKCHING	KAKCHING	KAKCHING LOUMI UPPER PRIMARY SCHOOL	14140201603			
12	KAKCHING	KAKCHING	TANGJENG UPPER PRIMARY SCHOOL	1414020380			
13	SENAPATI	PAOMATA	CHINGMAI KHUNOU UPPER PRIMARY SCHOOL	1401040750			
14	THOUBAL	THOUBAL	SINGA BISHNUNAHA UPPER PRIMARY SCHOOL	1405010190			
15	THOUBAL	THOUBAL	KHONGDOUBI UPPER PRIMARY SCHOOL	14050104902			
16	THOUBAL	THOUBAL	IRONG CHESSABA UPPER PRIMARY SCHOOL	14050111902			

Solar Panel for School

S.No	district_name	block_name	school_name	udise_sch_code
			SARANAMAI X-TIAN PRIMARY	
1.	SENAPATI	PAOMATA	SCHOOL TUNGGAM V. TYAN PRIMARY	14010404601
2.	SENAPATI	PAOMATA	TUNGGAM X-TIAN PRIMARY SCHOOL	14010408601
2.	SEIVII III	THOMHIM	NGARI ZIIDAM LOWER PRIMARY	14010400001
3.	SENAPATI	PURUL	SCHOOL	14010602802
4.	SENAPATI	PURUL	PURUL ROSOFII UJB SCHOOL	14010600501
5.	SENAPATI	PURUL	PROUFII UJB SCHOOL	14010601402
6.	SENAPATI	PURUL	SIRONG SOFII PRIMARY SCHOOL	14010603301
7.	SENAPATI	TADUDI	CHIBITSII LOWER PRIMARY	14010509103
8.	SENAPATI	TADUBI TADUBI	SCHOOL KATOMEI MAKENG UJB SCHOOL	14010500402
9.				
9.	SENAPATI	TADUBI	RAJAMEI UJB SCHOOL TINGSONG CENTRE PRIMARY	14010500801
10.	SENAPATI	TADUBI	SCHOOL	14010504303
11.	SENAPATI	TADUBI	KHABUNG UJB SCHOOL	14010504502
12.	SENAPATI	TADUBI	NGATAN UJB SCHOOL	14010505701
13.	SENAPATI	TADUBI	KAYINU PRIMARY SCHOOL	14010509101
14.	SENAPATI	TADUBI	RABUNAMAI UJB SCHOOL	14010509701
15.	SENAPATI	TADUBI	CHOWAINU UJB SCHOOL	14010509801
16.	SENAPATI	TADUBI	TADUBI UJB SCHOOL	14010511501
17.	SENAPATI	TADUBI	MAKHAN KHUMAN UJB SCHOOL	14010511601
18.	SENAPATI	TADUBI	THUYENG PRIMARY SCHOOL	14010516601
19.	SENAPATI	TADUBI	UPPER SHAJOUBA UJB SCHOOL	14010517602
20.	TAMENGLONG	TAMEI	JADUKI JR. HS	14020304901
21.	TAMENGLONG	TAMEI	KAWALONG PS	14020300504
22.	TAMENGLONG	TAMEI	ILLENG PS	14020301101
23.	TAMENGLONG	TAMEI	NEW PALLONG PS	14020302401
24.	TAMENGLONG	TAMEI	KUILONG PS	14020303901
25.	TAMENGLONG	TAMEI	MAKUINONG PS	14020304201
26.	TAMENGLONG	TAMEI	NEW TAKOU PS	14020304701
27.	TAMENGLONG	TAMEI	ATANGKHULLEN PS	14020305301
28.	TAMENGLONG	TAMENGLONG	LOWER SONPRAM PS	14020101801
29.	TAMENGLONG	TAMENGLONG	SANGRUNGPANG PS	14020102901
30.	TAMENGLONG	TAMENGLONG	KAHULONG PS	14020103201
31.	TAMENGLONG	TAMENGLONG	INRENGLONG PS	14020106001
32.	TAMENGLONG	TOUSEM	J. PABRAM PS	14020200601
33.	TAMENGLONG	TOUSEM	SIBILONG DUIGAIJANG PS	14020200902
34.	TAMENGLONG	TOUSEM	KAIMAI PS (KUKI)	14020201001
35.	TAMENGLONG	TOUSEM	KHEDAGAR KHASI PS	14020201801
36.	TAMENGLONG	TOUSEM	KAMRANGA KHASI PS	14020201901
37.	TAMENGLONG	TOUSEM	KATANGNAM PS	14020202701
38.	TAMENGLONG	TOUSEM	INEM PS	14020203001
39.	TAMENGLONG	TOUSEM	IMPAH PS	14020204001
40.	TAMENGLONG	TOUSEM	VANGAICHUNGPAO PS	14020204201
41.	TAMENGLONG	TOUSEM	NEW CHINGKAO PS	14020204902
42.	TAMENGLONG	TOUSEM	ABEN PS	14020205601

Solar Panel For School -166					
S.No	district_name	block_name	school_name	udise_sch_code	
43.	TAMENGLONG	TOUSEM	NJUNGKOK PS	14020205801	
			THINGCHOM UPPER PRIMARY		
44.	CHURACHANDPUR	CHURACHANDPUR	SCHOOL	14030102701	
45.	CHURACHANDPUR	CHURACHANDPUR	T. TANGNUAM GOVT. UPS	14030111301	
46.	CHURACHANDPUR	CHURACHANDPUR	GELMOL JBS	14030110801	
47.	CHURACHANDPUR	CHURACHANDPUR	SINGHEU JBS	14030118101	
48.	CHURACHANDPUR	HENGLEP	TINGMUN LPS (GOVT)	14030607102	
49.	CHURACHANDPUR	HENGLEP	SANTING JBS (ADC)	14030605901	
50.	CHURACHANDPUR	HENGLEP	SAICHANG UPS (ADC)	14030606801	
51.	CHURACHANDPUR	HENGLEP	ZOUNOI JBS (ADC)	14030613901	
52.	CHURACHANDPUR	SAMULAMLAN	PHOISENPHAI JBS (ADC)	14030206801	
53.	CHURACHANDPUR	SAMULAMLAN	P. GELJANG JBS (ADC)	14030207301	
54.	CHURACHANDPUR	SAMULAMLAN	SEMPANJANG JBS (ADC)	14030207801	
55.	CHURACHANDPUR	SAMULAMLAN	KHOUSABUNG JBS (ADC)	14030208001	
56.	CHURACHANDPUR	SAMULAMLAN	PHUNCHONGJANG JBS (ADC)	14030208201	
57.	CHURACHANDPUR	SAMULAMLAN	KEIRAP KHULLEN JBS (ADC)	14030209001	
58.	CHURACHANDPUR	SINGNGAT	LUNGTHUL (T) JBS	14030301401	
59.	CHURACHANDPUR	SINGNGAT	TANGPIJOL JBS	14030303701	
60.	BISHNUPUR	MOIRANG	KONJENG JUNIOR HIGH SCHOOL	14040202301	
<i>C</i> 1	THOUDAL	THOUDAL	CHARANGPAT MAMANG PRIMARY	1.4050100405	
61.	THOUBAL	THOUBAL	SCHOOL	14050100405	
62.	THOUBAL	THOUBAL	LEITANPOK PRIMARY MADRASSA KIYAM WANGMATABA PRIMARY	14050101302	
63.	THOUBAL	THOUBAL	SCHOOL	14050101303	
05.	THOODILE	THOUBILE	MOIJING AWANG PRIMARY	11020101303	
64.	THOUBAL	THOUBAL	MADRASSA	14050103902	
65.	THOUBAL	THOUBAL	KAIREMBIKHOK PRIMARY SCHOOL	14050106001	
66.	THOUBAL	THOUBAL	WANGBAL PRIMARY SCHOOL	14050109601	
			HAOREIBI CHEGAIPOKPI LOWER		
67.	THOUBAL	THOUBAL	PRIMARY MADRASSA	14050110401	
68.	THOUBAL	THOUBAL	TUREL AHANBI SALAM MATHAK LOWER PRIMARY MADRASSA	14050110502	
06.	HIOUDAL	HIOOBAL	HAOREIBI MAKHA LEIKAI PRIMARY	14030110302	
69.	THOUBAL	THOUBAL	MADRASSA	14050110902	
			CHINGJAO NUNGEI NALA LOWER		
70.	THOUBAL	THOUBAL	PRIMARY MADRASSA	14050111402	
71.	THOUBAL	THOUBAL	KEIBUNG WANGMATABA LOWER PRIMARY MADRASSA	14050111813	
72.	IMPHAL WEST	WANGOI	UCHIWA WANGBAL P.M	14060302406	
12.	IIII II II IIIII		TOP UPOKPI UPPER PRIMARY	11000302400	
73.	IMPHAL WEST	WANGOI	SCHOOL	14060305701	
			BENGOON AWANG PRIMARY		
74.	IMPHAL WEST	WANGOI	MADRASSA PENGGON GARAL PRIMARY	14060311001	
75.	IMPHAL WEST	WANGOI	BENGOON SABAL PRIMARY MADRASSA	14060311003	
13.	IMPLIAL WEST	WAINUUI	BENGOON MAMANG PRIMARY	14000311003	
76.	IMPHAL WEST	WANGOI	MADRASSA	14060311801	
77.	UKHRUL	CHINGAI	PAOREI PS	14080202401	

Solar Pa	Solar Panel For School -166						
S.No	district_name	block_name	school_name	udise_sch_code			
78.	UKHRUL	CHINGAI	CHALLOU PS	14080204301			
79.	UKHRUL	UKHRUL	HUNDUNG VASINGTANG P/S	14080100703			
80.	UKHRUL	UKHRUL	SOMDAL KASOM UPS	14080104204			
81.	KANGPOKPI	KANGPOKPI	NOONPANI LOWER PRIMARY SCHOOL	14100104001			
82.	KANGPOKPI	KANGPOKPI	HAIJOL LOWER PRIMARY SCHOOL	14100117301			
83.	KANGPOKPI	KANGPOKPI	MAOHING LOWER PRIMARY SCHOOL	14100120501			
84.	KANGPOKPI	KANGPOKPI	M.PUNGTANG UJB SCHOOL	14100105901			
85.	KANGPOKPI	KANGPOKPI	NAIBET UJB SCHOOL	14100109101			
86.	KANGPOKPI	KANGPOKPI	D.R. KHATIWADA UJB SCHOOL	14100116101			
87.	KANGPOKPI	KANGPOKPI	S. CHANGOUBUNG UJB SCHOOL	14100121001			
88.	KANGPOKPI	SAIKUL	B. BOLJANG UJB SCHOOL	14100300401			
89.	KANGPOKPI	SAIKUL	SIMOL KUKI UJB SCHOOL	14100302601			
90.	KANGPOKPI	SAIKUL	GANGPIJANG UJB SCHOOL	14100307501			
91.	KANGPOKPI	SAIKUL	M. PHAIJANG UJB SCHOOL	14100307604			
92.	KANGPOKPI	SAIKUL	SADU KOIRENG UJB SCHOOL	14100307801			
93.	KANGPOKPI	SAIKUL	T. WAKONPHAI UJB SCHOOL	14100308001			
94.	KANGPOKPI	SAIKUL	JANGNOI UJB SCHOOL	14100313801			
95.	KANGPOKPI	SAIKUL	SONGBEM UJB SCHOOL	14100314201			
96.	KANGPOKPI	SAIKUL	TUSAM UJB SCHOOL	14100314601			
97.	KANGPOKPI	SAIKUL	ICHAIGOJANG UJB SCHOOL	14100315101			
98.	KANGPOKPI	SAIKUL	THINGPHAI UJB SCHOOL	14100315301			
99.	KANGPOKPI	SAIKUL	SALAM VAIPHEI UJB SCHOOL	14100320101			
100.	KANGPOKPI	SAITU	HAIBUNG PRIMARY SCHOOL	14100212401			
101.	KANGPOKPI	SAITU	SAI-OH UPPER PRIMARY SCHOOL	14100212501			
102.	KANGPOKPI	SAITU	MONGJANG LOWER PRIMARY SCHOOL	14100215801			
103.	KANGPOKPI	SAITU	LHANGKICHOI UJB SCHOOL	14100202201			
104.	KANGPOKPI	SAITU	IRENG UJB SCHOOL	14100204901			
105.	KANGPOKPI	SAITU	KHARAM THADOI UJB SCHOOL	14100205901			
106.	KANGPOKPI	SAITU	K. CHIRU UJB SCHOOL	14100208401			
107.	KANGPOKPI	SAITU	LAIMATON THANGBUH UJB SCHOOL	14100209101			
108.	KANGPOKPI	SAITU	SIANGAI NAMDAI UJB SCHOOL	14100210001			
109.	KANGPOKPI	SAITU	VEITUM KHUNOU UJB SCHOOL	14100210501			
110.	KANGPOKPI	SAITU	SAHEIBUNG UJB SCHOOL	14100210801			
111.	KANGPOKPI	SAITU	KHARAM PALLEN UJB SCHOOL	14100211001			
112.	KANGPOKPI	SAITU	PHOLJANG UJB SCHOOL	14100211401			
113.	KANGPOKPI	SAITU	KHORIPOK UJB SCHOOL	14100212201			
114.	KANGPOKPI	SAITU	SADU CHIRU UJB SCHOOL	14100213901			
115.	KANGPOKPI	SAITU	MONGPIJANG UJB SCHOOL	14100215901			
116.	KANGPOKPI	SAITU	N. SONGLUNG UJB SCHOOL	14100216001			
117.	KANGPOKPI	SAITU	S. LHANGNOM UJB SCHOOL	14100217101			
118.	KANGPOKPI	SAITU	KHOLEP UJB SCHOOL	14100217201			

Solar Pa	Solar Panel For School -166					
S.No	district_name	block_name	school_name	udise_sch_code		
119.	KANGPOKPI	SAITU	L. KHOMUNOM UJB SCHOOL	14100218601		
120.	KANGPOKPI	SAITU	PHOIBIH UJB SCHOOL	14100218801		
121.	KANGPOKPI	SAITU	C. MUNNOM UJB SCHOOL	14100219501		
122.	KANGPOKPI	SAITU	LEILON KHUNOU UJB SCHOOL	14100219901		
123.	TENGNOUPAL	MACHI	KHOIBU JUNIOR HIGH SCHOOL	14110107101		
124.	TENGNOUPAL	TENGNOUPAL	H. MONGJANG UPPER PRIMARY SCHOOL	14110205301		
125.	TENGNOUPAL	TENGNOUPAL	AIMOL KHULLEN P/S	14110200101		
126.	TENGNOUPAL	TENGNOUPAL	T.BONGMOL UPPER PRIMARY SCHOOL	14110206001		
127.	TENGNOUPAL	TENGNOUPAL	LEIBI UPPER PRIMARY SCHOOL	14110209101		
128.	TENGNOUPAL	TENGNOUPAL	KHONGKANG SAVUMPA P/S	14110210701		
129.	PHERZAWL	THANLON	PHAIPHENG JBS	14120401801		
130.	PHERZAWL	TIPAIMUKH	LUNGTHULIEN JR. H/S	14120500301		
131.	KAKCHING	KAKCHING	SORA TERAHOUBI PRIMARY SCHOOL	14140200212		
132.	KAKCHING	KAKCHING	KEIRAK PRIMARY MADRASSA	14140202001		
133.	KAKCHING	KAKCHING	LANGMEIDONG PRIMARY SCHOOL	14140202501		
134.	KAKCHING	KAKCHING	SEROU BENGALI PRIMARY SCHOOL.	14140203602		
135.	KAMJONG	KAMJONG	KHAYANG UPS	14150404101		
136.	KAMJONG	KASOM KL.	LEIHAORAM PS	14150501301		
137.	KAMJONG	KASOM KL.	LAIRAM KL UPS	14150501501		
138.	KAMJONG	KASOM KL.	LOWER KHOIRIPOK PS	14150501801		
139.	KAMJONG	PHUNGYAR	RIHA LOUTEI P/S	14150300107		
140.	KAMJONG	PHUNGYAR	CHUNGKA PS	14150301501		
141.	NONEY	NUNGBA	TAODAIJANG JR. HS	14160400501		
142.	NONEY	NUNGBA	TAOLINGPUNG JR. HS	14160404101		
143.	NONEY	NUNGBA	MONGJARON KHULLEN PS	14160400201		
144.	NONEY	NUNGBA	KHONGSANG PS	14160400401		
145.	NONEY	NUNGBA	BOLONGDAI PS	14160402101		
146.	NONEY	NUNGBA	OKOKLONG PS	14160402301		
147.	NONEY	NUNGBA	MUKTIKHULLEN PS	14160402501		
148.	NONEY	NUNGBA	KAMBIRON PS	14160402901		
149.	NONEY	NUNGBA	THANAGONG PS	14160403101		
150.	NONEY	NUNGBA	LUBANGLONG PS	14160403601		
151.	NONEY	NUNGBA	NAMKAOLONG PT-II PS	14160404201		
152.	NONEY	NUNGBA	NUNGLEIBAND PS	14160404401		
153.	NONEY	NUNGBA	LONGKAIPHUN PS	14160405901		
154.	NONEY	NUNGBA	LONGPHAILUM PS	14160406901		
155.	NONEY	NUNGBA	DOLLANG PT-III PS	14160407203		
156.	NONEY	NUNGBA	JOUJANGTEK PS	14160407401		
157.	NONEY	NUNGBA	NONEY PT-II PS	14160407804		
158.	NONEY	NUNGBA	TAMLOK PS	14160408001		
159.	NONEY	NUNGBA	TUIPHAI UPS	14160408101		

Solar Pa	Solar Panel For School -166					
S.No	district_name	block_name	school_name	udise_sch_code		
160.	NONEY	NUNGBA	EJEIRONG PS	14160409401		
161.	NONEY	NUNGBA	PUNGMON PS	14160409601		
162.	NONEY	NUNGBA	NAGACHING PT-II PS	14160410001		
163.	NONEY	NUNGBA	NAGACHING PS	14160410002		
164.	NONEY	NUNGBA	HAOLAIJANG PS	14160410601		
165.	NONEY	NUNGBA	MARANGJING PT-I PS	14160410701		
166.	NONEY	NUNGBA	KABUI KHULLEN PS	14160411201		

Annexure VIII (B)

Additional Class Room Secondary

Additio	nal Class Room-Second	lary-17		
S.No	district name	block name	school name	udise_sch_code
1.	BISHNUPUR	BISHNUPUR	GOKUL HIGH SCHOOL	14040101501
2.	BISHNUPUR	BISHNUPUR	LEIMAPOKPAM PUBLIC HIGH SCHOOL	14040102803
3.	CHURACHANDPU R	CHURACHANDPU R	TUIBUANG GOVT. H/S	14030100301
4.	IMPHAL EAST	IRILBUNG	K.G.B.V.	14070205204
5.	IMPHAL WEST	HAORANG	S.K. IDEAL H. SCHOOL	14060206201
6.	JIRIBAM	JIRIBAM	LALPANI H/S	14130304701
7.	KAKCHING	KAKCHING	KAKCHING KHUNOU HIGH SCHOOL.	14140205601
8.	KANGPOKPI	SAIKUL	KASTURBA GANDHI BALIKA VIDYALAYA	14100308902
9.	SENAPATI	TADUBI	RESIDENTIAL SCHOOL	14010501805
10.	TAMENGLONG	TAMENGLONG	MODEL VILL. HIGH SCHOOL	14020104503
11.	TENGNOUPAL	MACHI	RESIDENTIAL SCHOOL HEINOUKHONG	14110105002
12.	THOUBAL	THOUBAL	MOIJING HIGH SCHOOL	14050103907
13.	THOUBAL	THOUBAL	PHUNDREI HIGH SCHOOL	14050104301
14.	THOUBAL	THOUBAL	LALITAMADHOP SHARMA HIGH SCHOOL	14050104601
15.	THOUBAL	THOUBAL	HEIROK II HIGH SCHOOL	14050108601
16.	THOUBAL	THOUBAL	RESIDENTIAL SCHOOL	14050111406
17.	THOUBAL	THOUBAL	KASTURBA GANDHI BALIKA VIDYALAYA	14050114002

Boys Toilets

Boys to	Boys toilets-17					
S.no	district_name	block_name	school_name	udise_sch_code		
			NAMBOL LEIREN HIGH			
1.	BISHNUPUR	BISHNUPUR	SCHOOL	14040104004		
			NAMBOL COLLEGIATE HIGH			
2.	BISHNUPUR	BISHNUPUR	SCHOOL	14040104602		
	CHURACHANDPU					
3.	R	CHURACHANDPUR	SAIKOT GOVT. H/S	14030103101		
	CHURACHANDPU					
4.	R	SINGNGAT	SUANGDOH GOVT. JR. H/S	14030300101		
		SAWOMBUNG IMPHAL				
5.	IMPHAL EAST	EAST- I	CHINGTAM H.S	14070101904		
		SAWOMBUNG IMPHAL				
6.	IMPHAL EAST	EAST- I	SRIVAN H/S	14070104604		
		SAWOMBUNG IMPHAL				
7.	IMPHAL EAST	EAST- I	LAIRIKYENGBAM LEIKAI H/S	14070105404		

Boys to	Boys toilets-17					
S.no	district_name	block_name	school_name	udise_sch_code		
8.	IMPHAL WEST	WANGOI	PAOBITEK HIGH SCHOOL	14060306601		
9.	KAKCHING	KAKCHING	WABAGAI HIGH SCHOOL	14140201907		
10.	KANGPOKPI	KANGPOKPI	CHALWA HIGH SCHOOL	14100106801		
11.	KANGPOKPI	KANGPOKPI	HENGBUNG HIGH SCHOOL	14100120001		
12.	KANGPOKPI	SAITU	MOTBUNG HIGH SCHOOL	14100200901		
13.	PHERZAWL	THANLON	SINZAWL GOVT. H/S	14120406601		
14.	PHERZAWL	TIPAIMUKH	PHERZAWL H/S (GOVT)	14120500701		
15	TAMENGLONG	TOUSEM	TOUSEM HIGH SCHOOL	14020202402		
16	THOUBAL	THOUBAL	SEKMAI KHUMBI HIGH SCHOOL	14050107501		
17	UKHRUL	UKHRUL	TUSHEN HIGH SCHOOL(TASHAR)	14080100903		

Girls Toilets

Girls To	Girls Toilets-25					
S.No	district name	block name	school name	udise_sch_code		
			NAMBOL LEIREN HIGH			
1.	BISHNUPUR	BISHNUPUR	SCHOOL	14040104004		
			NAMBOL COLLEGIATE			
2.	BISHNUPUR	BISHNUPUR	HIGH SCHOOL	14040104602		
3.	CHURACHANDPUR	CHURACHANDPUR	TUAITENGPHAI GOVT H/S	14030104301		
		SAWOMBUNG IMPHAL				
4.	IMPHAL EAST	EAST- I	CHINGTAM H.S	14070101904		
		SAWOMBUNG IMPHAL				
5.	IMPHAL EAST	EAST- I	SRIVAN H/S	14070104604		
	D COLLAR EAGE	SAWOMBUNG IMPHAL	LAIRIKYENGBAM LEIKAI	14050105404		
6.	IMPHAL EAST	EAST- I	H/S	14070105404		
7.	IMPHAL EAST	IRILBUNG	KONGPAL IMPHAL MORNING HIGH SCHOOL	14070200402		
7.	IMPHAL EAST	IRILBUNG	TAKHOK MAPAL HIGH	14070200402		
8.	IMPHAL EAST	IRILBUNG	SCHOOL	14070203901		
9.	IMPHAL WEST	WANGOI	PAOBITEK HIGH SCHOOL	14060306601		
10.	IMPHAL WEST	WANGOI	UCHIWA HIGH SCHOOL	14060302404		
11.	KAKCHING	KAKCHING	WABAGAI HIGH SCHOOL	14140201907		
12.	KANGPOKPI	KANGPOKPI	CHALWA HIGH SCHOOL	14100106801		
			HENGBUNG HIGH			
13.	KANGPOKPI	KANGPOKPI	SCHOOL	14100120001		
14.	PHERZAWL	THANLON	SINZAWL GOVT. H/S	14120406601		
15.	PHERZAWL	THANLON	PHAIJANG GOVT. H/S	14120402401		
16.	PHERZAWL	TIPAIMUKH	SENVON H/S (GOVT.)	14120500101		
			PARVACHAWM H/S			
17.	PHERZAWL	TIPAIMUKH	(GOVT)	14120500501		
18.	PHERZAWL	TIPAIMUKH	TUOLBUNG GOVT UPPER PRIMARY SCHOOL	14120501501		
18.	PHERZAWL	TIPAIMUKH	KANGRENG H/S (GOVT)	14120501501		
			, ,			
20.	TAMENGLONG	TOUSEM	TOUSEM HIGH SCHOOL	14020202402		
21.	TAMENGLONG	TAMEI	TAKOU HIGH SCHOOL	14020304601		

Girls T	Girls Toilets-25					
S.No	district name	block name	school name	udise_sch_code		
			AIMOL CHINGNUNGHUT			
22.	TENGNOUPAL	TENGNOUPAL	HIGH SCHOOL	14110201201		
			SEKMAI KHUMBI HIGH			
23.	THOUBAL	THOUBAL	SCHOOL	14050107501		
			TUSHEN HIGH			
24.	UKHRUL	UKHRUL	SCHOOL(TASHAR)	14080100903		
25.	UKHRUL	UKHRUL	TUINEM H/S	14080100203		

CwSN-Toilet

CwSN-To		1.11	11	1
S.No	district_name	block_name	school_name THANGA WANGMA HIGH	udise_sch_code
1.	BISHNUPUR	MOIRANG	SCHOOL	1404020120
1.	DISTINCT OR	WOIKANG	MOIRANG MULTIPURPOSE	1404020120
2.	BISHNUPUR	MOIRANG	HIGHER SECONDARY SCHOOL	14040202303
3.	BISHNUPUR	MOIRANG	MUKTA HIGH SCHOOL	1404020340
			CHAOYAIMA HIGHER	
4.	THOUBAL	THOUBAL	SECONDARY SCHOOL	1405010320
5.	THOUBAL	THOUBAL	EUREKA HIGH SCHOOL	1405010440
6.	THOUBAL	THOUBAL	SEKMAI KHUMBI HIGH SCHOOL	1405010750
			LAMDING HIGHER SECONDARY	
7.	THOUBAL	THOUBAL	SCHOOL	1405010940
			SANGAIYUMPHAM HIGHER	
8.	THOUBAL	THOUBAL	SECONDARY SCHOOL	1405011430
			KHANGABOK HIGHER	
9.	THOUBAL	THOUBAL	SECONDARY SCHOOL	1405011442
10.	IMPHAL WEST	HAORANG	MODEL HR SEC	1406020031
			BENGOON HIGHER SECONDARY	
11.	IMPHAL WEST	WANGOI	SCHOOL	1406031110
10	D (DILAY E) CE	IDH DIDIG	KONGPAL IMPHAL MORNING	1.405020040
12.	IMPHAL EAST	IRILBUNG	HIGH SCHOOL	1407020040
13.	IMPHAL EAST	IRILBUNG	POROMPAT SABAL LEIKAI HIGH SCHOOL	1407020201
14.	IMPHAL EAST	IRILBUNG	URUP HIGH SCHOOL	1407020201
15.	IMPHAL EAST	IRILBUNG	TAKHOK MAPAL HIGH SCHOOL	
		+		1407020390
16.	IMPHAL EAST	IRILBUNG	LAMLONG HR. SEC. SCHOOL	1407020480
17.	UKHRUL	UKHRUL	TUINEM H/S	1408010020
18.	TENGNOUPAL	MACHI	MACHI HIGH SCHOOL	1411010430
10	TENGNOLID II	TENIONO IDAI	AIMOL CHINGNUNGHUT HIGH	1,111,020,120
19.	TENGNOUPAL	TENGNOUPAL	SCHOOL SCHOOL AND A DV	1411020120
20	TENCHOLIDAL	TENCHOLIDAL	MOREH HIGHER SECONDARY	1411020750
20.	TENGNOUPAL	TENGNOUPAL	SCHOOL NAME COVER 11/2	1411020750
21.	PHERZAWL	THANLON	PHAIJANG GOVT. H/S	1412040240
22.	JIRIBAM	JIRIBAM	BOROBEKRA HIGHER SEC.SCHOOL	1413030510
23.	KAKCHING	KAKCHING	WABAGAI HIGH SCHOOL	1414020190
24.	KAMJONG	KASOM KL.	NAMBASHI HIGH SCHOOL	1415050110
25.	KAMJONG	PHUNGYAR	SHINGKAP HS	1415030180

CwSN-Toilets-27					
S.No	district_name	block_name	school_name	udise_sch_code	
			NUNGBA HIGHER SECONDARY		
26.	NONEY	NUNGBA	SCHOOL	14160402001	
27.	NONEY	NUNGBA	TENGKONJANG HR. SEC. SCHOOL	14160407805	

Drinking Water

Drinking Water - 14					
S.No	district_name	block_name	school_name	udise_sch_code	
1.	CHURACHANDPUR	CHURACHANDPUR	TUIBUANG GOVT. H/S	14030100301	
2.	CHURACHANDPUR	CHURACHANDPUR	GANDHI MEMORIAL GOVT. H/S	14030109301	
3.	IMPHAL EAST	SAWOMBUNG IMPHAL EAST- I	SRIVAN H/S	14070104604	
4.	IMPHAL WEST	HAORANG	HINDI SECONDARY SCHOOL (KANGLATOMBI)	14060208204	
5.	KAKCHING	KAKCHING	WABAGAI HIGH SCHOOL	14140201907	
6.	KAMJONG	KASOM KL.	NAMBASHI HIGH SCHOOL	14150501101	
7.	KANGPOKPI	SAITU	MOTBUNG HIGH SCHOOL	14100200901	
8.	NONEY	NUNGBA	HAOCHONG HIGH SCHOOL	14160409501	
9.	TAMENGLONG	TAMENGLONG	MODEL VILL. HIGH SCHOOL	14020104503	
10.	THOUBAL	THOUBAL	LALITAMADHOP SHARMA HIGH SCHOOL	14050104601	
11.	THOUBAL	THOUBAL	SEKMAI KHUMBI HIGH SCHOOL	14050107501	
12.	UKHRUL	CHINGAI	FRONTIER HS	14080200902	
13.	UKHRUL	UKHRUL	MODEL H/S	14080100418	
14.	UKHRUL	UKHRUL	SANAKEITHEL CHINGSHANG HS	14080105501	

Removal of Architectural Barriers

Remova	Removal of Architectural Barriers-23					
S.No	district_name	block_name	school_name	udise_sch_code		
1.	SENAPATI	PURUL	KHONGDEI HIGH SCHOOL	14010602201		
2.	SENAPATI	TADUBI	RESIDENTIAL SCHOOL	14010501805		
3.	SENAPATI	TADUBI	MARAM ASHRAM SCHOOL	14010513706		
4.	TAMENGLONG	TAMEI	TAKOU HIGH SCHOOL	14020304601		
5.	TAMENGLONG	TOUSEM	OINAMLONG HIGH SCHOOL	14020200802		
6.	CHURACHANDPUR	CHURACHANDPUR	NGULZAPUM GOVT. JR. H/S	14030112601		
7.	CHURACHANDPUR	CHURACHANDPUR	T. KAIZAKHUP GOVT. JR. H/S	14030120201		
8.	CHURACHANDPUR	HENGLEP	HENGLEP H/S (GOVT)	14030600101		
9.	IMPHAL WEST	WANGOI	CANCHIPUR HIGH SCHOOL	14060300903		
10.	IMPHAL WEST	WANGOI	UCHIWA HIGH SCHOOL	14060302404		
			YUMNAM HUIDROM HIGH			
11.	IMPHAL WEST	WANGOI	SCHOOL	14060306003		
12.	IMPHAL WEST	WANGOI	PAOBITEK HIGH SCHOOL	14060306601		

13.	IMPHAL EAST	IRILBUNG	K.G.B.V.	14070205204
14.	CHANDEL	CHANDEL	LEINGANGCHING HIGH SCHOOL	14090312401
15.	KANGPOKPI	KANGPOKPI	CHALWA HIGH SCHOOL	14100106801
16.	KANGPOKPI	KANGPOKPI	THONGLANG AKUTPA HIGH SCHOOL	14100111401
17.	KANGPOKPI	KANGPOKPI	IRANG PART 2 HIGH SCHOOL	14100113101
18.	KANGPOKPI	KANGPOKPI	GOMA DEVI HIGH SCHOOL	14100120401
19.	KANGPOKPI	SAIKUL	GALLAM HIGH SCHOOL	14100313401
20.	KANGPOKPI	SAITU	SAITU HIGH SCHOOL	14100216901
21.	TENGNOUPAL	TENGNOUPAL	KHAROU KHUNOU HIGH SCHOOL	14110208001
22.	PHERZAWL	TIPAIMUKH	D.R. THUOMA GOVERNMENT JR. H/S	14120502202
23.	NONEY	NUNGBA	NUNGNANG HIGH SCHOOL	14160405201

Computer Room

Computer	Computer Room-11					
S.no	district_name	block_name	school_name	udise_sch_code		
1.	SENAPATI	TADUBI	RESIDENTIAL SCHOOL	14010501805		
2.	CHURACHANDPUR	CHURACHANDPUR	TUIBUANG GOVT. H/S	14030100301		
3.	CHURACHANDPUR	CHURACHANDPUR	RESIDENTIAL SCHOOL	14030109915		
4.	BISHNUPUR	BISHNUPUR	GOKUL HIGH SCHOOL	14040101501		
5.	THOUBAL	THOUBAL	ABDUL ALI HIGH MADRASSA	14050110102		
6.	IMPHAL WEST	IMC	SINGJAMEI CHINGAMAKHA H.S.	14060102004		
7.	IMPHAL WEST	WANGOI	KASTURBA GANDHI BALIKA VIDYALAYA	14060311309		
8.	UKHRUL	UKHRUL	SHANGSHAK RESIDENTIAL SCHOOL	14080101805		
9.	KANGPOKPI	SAIKUL	THANGTONG HIGHER SECONDARY SCHOOL	14100313201		
10.	TENGNOUPAL	МАСНІ	RESIDENTIAL SCHOOL HEINOUKHONG	14110105002		
11.	NONEY	NUNGBA	NONEY ASHRAM SCHOOL	14160407810		

Library Room

Librar	Library Room -19					
S.no	district_name	block_name	school_name	udise_sch_code		
1.	SENAPATI	TADUBI	RESIDENTIAL SCHOOL	14010501805		
2.	TAMENGLONG	TAMEI	MAKUI HIGH SCHOOL	14020302902		
3.	CHURACHANDPUR	CHURACHANDPUR	TUIBUANG GOVT. H/S	14030100301		
4.	CHURACHANDPUR	CHURACHANDPUR	RESIDENTIAL SCHOOL	14030109915		
5.	CHURACHANDPUR	CHURACHANDPUR	CHURACHANDPUR GOVT. H/S	14030110101		
6.	BISHNUPUR	BISHNUPUR	BISHNUPUR HIGH SCHOOL	14040100701		

Librar	Library Room -19					
S.no	district_name	block_name	school_name	udise_sch_code		
7.	BISHNUPUR	BISHNUPUR	GOKUL HIGH SCHOOL	14040101501		
8.	BISHNUPUR	MOIRANG	KWAKTA HIGH SCHOOL	14040204401		
9.	THOUBAL	THOUBAL	TENTHA HIGH SCHOOL	14050104905		
10	THOUBAL	THOUBAL	RESIDENTIAL SCHOOL	14050111406		
11.	THOUBAL	THOUBAL	KASTURBA GANDHI BALIKA VIDYALAYA	14050114002		
12	IMPHAL WEST	HAORANG	S.K. IDEAL H. SCHOOL	14060206201		
13	IMPHAL WEST	HAORANG	DEAF AND MUTE SCHOOL	14060200310		
14.	IMPHAL WEST	WANGOI	KASTURBA GANDHI BALIKA VIDYALAYA	14060311309		
15	IMPHAL EAST	IRILBUNG	MINUTHONG FAIZA HIGH MADRASSA	14070204702		
16	IMPHAL EAST	IRILBUNG	K.G.B.V.	14070205204		
17.	UKHRUL	UKHRUL	SHANGSHAK RESIDENTIAL SCHOOL	14080101805		
18.	KANGPOKPI	SAIKUL	KASTURBA GANDHI BALIKA VIDYALAYA	14100308902		
19	TENGNOUPAL	MACHI	RESIDENTIAL SCHOOL HEINOUKHONG	14110105002		

Science Lab

Scienc	Science Lab-13					
S.no	district_name	block_name	school_name	udise_sch_code		
1.	SENAPATI	TADUBI	RESIDENTIAL SCHOOL	14010501805		
2.	TAMENGLONG	TAMEI	MAKUI HIGH SCHOOL	14020302902		
3.	CHURACHANDPUR	CHURACHANDPUR	TUIBUANG GOVT. H/S	14030100301		
4.	CHURACHANDPUR	CHURACHANDPUR	RESIDENTIAL SCHOOL	14030109915		
5.	BISHNUPUR	BISHNUPUR	BISHNUPUR HIGH SCHOOL	14040100701		
6.	BISHNUPUR	MOIRANG	KWAKTA HIGH SCHOOL	14040204401		
7.	THOUBAL	THOUBAL	TENTHA HIGH SCHOOL	14050104905		
8.	THOUBAL	THOUBAL	RESIDENTIAL SCHOOL	14050111406		
9.	THOUBAL	THOUBAL	KASTURBA GANDHI BALIKA VIDYALAYA	14050114002		
10	IMPHAL WEST	WANGOI	KASTURBA GANDHI BALIKA VIDYALAYA	14060311309		
11	IMPHAL EAST	IRILBUNG	K.G.B.V.	14070205204		
12	UKHRUL	UKHRUL	SHANGSHAK RESIDENTIAL SCHOOL	14080101805		
13	TENGNOUPAL	MACHI	RESIDENTIAL SCHOOL HEINOUKHONG	14110105002		

Art/Craft Room

Art /Craft Room-12					
S.no	district_name	block_name	school_name	udise_sch_code	
1.	SENAPATI	TADUBI	RESIDENTIAL SCHOOL	14010501805	
2.	TAMENGLONG	TOUSEM	MAGULONG HIGH SCHOOL	14020203501	

Art/C	Art /Craft Room-12					
S.no	district_name	block_name	school_name	udise_sch_code		
3.	CHURACHANDPUR	CHURACHANDPUR	TUIBUANG GOVT. H/S	14030100301		
4.	CHURACHANDPUR	CHURACHANDPUR	RESIDENTIAL SCHOOL	14030109915		
5.	BISHNUPUR	BISHNUPUR	GOKUL HIGH SCHOOL	14040101501		
6.	BISHNUPUR	MOIRANG	KASTURBA GANDHI BALIKA VIDYALAYA- THAMNAPOPKPI	14040201604		
7.	BISHNUPUR	MOIRANG	KWAKTA HIGH SCHOOL	14040204401		
8.	IMPHAL WEST	WANGOI	KASTURBA GANDHI BALIKA VIDYALAYA	14060311309		
9.	IMPHAL EAST	IRILBUNG	K.G.B.V.	14070205204		
10.	UKHRUL	UKHRUL	SHANGSHAK RESIDENTIAL SCHOOL	14080101805		
11.	TENGNOUPAL	МАСНІ	RESIDENTIAL SCHOOL HEINOUKHONG	14110105002		
12.	NONEY	NUNGBA	NONEY ASHRAM SCHOOL	14160407810		

Biology Lab

Biolog	Biology Lab -3					
S.No.	district_name	block_name	school_name	udise_sch_code		
	IMPHAL	SAWOMBUNG IMPHAL				
1	EAST	EAST- I	SAGOLMANG H/S	14070106702		
			THANGTONG HIGHER			
2	KANGPOKPI	SAIKUL	SECONDARY SCHOOL	14100313201		
3	PHERZAWL	TIPAIMUKH	PARBUNG HIGH SCHOOL	14120501701		

Residential Quarter

Resid	Residential Quarter-28					
					Techer	
					Quarter	
S.No	district_name	block_name	school_name	udise_sch_code	NO	
			NINGTHOUKHONG			
			MODEL HIGHER			
1	BISHNUPUR	BISHNUPUR	SECONDARY SCHOOL	14040106601	2	
			PURUM TAMPAK HIGH			
2	CHANDEL	CHANDEL	SCHOOL	14090300101	2	
3	CHURACHANDPUR	CHURACHANDPUR	KUMBIPUKHRI H/S	14030109201	2	
			CHURACHANDPUR GOVT.			
4	CHURACHANDPUR	CHURACHANDPUR	H/S	14030110101	2	
			SAIBOH GOVT. HIGH			
5	CHURACHANDPUR	CHURACHANDPUR	SCHOOL	14030117101	2	
			CHURACHAND HIGHER			
6	IMPHAL EAST	IRILBUNG	SECONDARY SCHOOL	14070200216	2	
			JOHNSTONE HIGHER			
7	IMPHAL WEST	IMC	SECONDARY SCHOOL	14060101313	2	
			SUGNU HIGHER			
8	KAKCHING	KAKCHING	SECONDARY SCHOOL	14140204803	2	
9	KANGPOKPI	SAITU	SAITU HIGH SCHOOL	14100216901	2	

Resid	Residential Quarter-28					
					Techer	
					Quarter	
S.No	district_name	block_name	school_name	udise_sch_code	NO	
10	SENAPATI	PURUL	LAKHAMAI HIGH SCHOOL	14010601401	2	
11	TAMENGLONG	TAMENGLONG	L PABRAM HIGH SCHOOL	14020102001	2	
			AIMOL CHINGNUNGHUT			
12	TENGNOUPAL	TENGNOUPAL	HIGH SCHOOL	14110201201	2	
13	THOUBAL	THOUBAL	HEIROK II HIGH SCHOOL	14050108601	2	
			SANGAIYUMPHAM			
			HIGHER SECONDARY			
14	THOUBAL	THOUBAL	SCHOOL	14050114303	2	

Annexure-VIII (C)

Additional class Room-Higher Sec

Addition	Additional class Room-Higher Sec-14					
S.No	district_name	block_name	school_name	udise_sch_code		
			MOIRANG MULTIPURPOSE HIGHER			
1.	BISHNUPUR	MOIRANG	SECONDARY SCHOOL	14040202303		
2.	IMPHAL EAST	IRILBUNG	LAMLONG HR. SEC. SCHOOL	14070204805		
3.	IMPHAL EAST	IRILBUNG	AZAD HIGHER SEC.SCHOOL	14070205901		
	IMPHAL					
4.	WEST	IMC	IBOTONSANA GIRLS HIGHER SEC SCHOOL	14060100811		
	IMPHAL		TAMPHASANA GIRLS HIGHER			
5.	WEST	IMC	SECONDARY SCHOOL	14060101312		
	IMPHAL					
6.	WEST	IMC	JOHNSTONE HIGHER SECONDARY SCHOOL	14060101313		
	IMPHAL					
7.	WEST	WANGOI	WANGOI HIGHER SECONDARY SCHOOL	14060307002		
	IMPHAL					
8.	WEST	WANGOI	BENGOON HIGHER SECONDARY SCHOOL	14060311101		
9.	JIRIBAM	JIRIBAM	BOROBEKRA HIGHER SEC.SCHOOL	14130305101		
10.	KAKCHING	KAKCHING	WABAGAI HIGH SCHOOL	14140201907		
11.	THOUBAL	THOUBAL	HEIROK HIGHER SECONDARY SCHOOL	14050106407		
12.	THOUBAL	THOUBAL	LAMDING HIGHER SECONDARY SCHOOL	14050109401		
			SANGAIYUMPHAM HIGHER SECONDARY			
13.	THOUBAL	THOUBAL	SCHOOL	14050114303		
14.	UKHRUL	CHINGAI	JESSAMI HR. SECONDARY SCHOOL	14080202501		

Boys Toilets

Boys '	Boys Toilets-4						
S.No	district_name	block_name	school_name	udise_sch_code	BT NO		
1	KAMJONG	PHUNGYAR	SHINGKAP HS	14150301801	1		
2	KAMJONG	PHUNGYAR	SORDE HS	14150302401	1		
			TALUI HR. SEC.				
3	UKHRUL	UKHRUL	ACADEMY	14080103904	2		

Girls Toilets

Girls	Girls Toilets-4				
S.No	district_name	block_name	school_name	udise_sch_code	
			NAMBOL HIGHER SECONDARY		
1	BISHNUPUR	BISHNUPUR	SCHOOL	14040108003	
			THANGA WANGMA HIGH		
2	BISHNUPUR	MOIRANG	SCHOOL	14040201206	
3	CHANDEL	CHAKPIKARONG	NEW SAMTAL HIGH SCHOOL	14090422801	
4	UKHRUL	UKHRUL	TALUI HR. SEC. ACADEMY	14080103904	

Drinking Water

g Water-19			
district_name	block_name	school_name	udise_sch_code
		WANGOO HIGHER SECONDARY	
BISHNUPUR	MOIRANG		14040200301
CHANDEL	CHAKPIKARONG		14090423501
CHANDEL	CHANDEL	SCHOOL	14090314701
CHURACHANDPUR	CHURACHANDPUR	VUNGZAGEN GOVT. H/S	14030119101
CHURACHANDPUR	SAMULAMLAN	SAGANG HR SEC SCHOOL	14030202801
IMPHAL WEST	HAORANG	NILAPADAMA HR. SEC.SCHOOL	14060208301
		RAMLAL PAUL HIGHER	
IMPHAL WEST	IMC	SECONDARY SCHOOL	14060101505
IMPHAL WEST	WANGOI		14060310304
IMDIIAI WECT	WANCOI		14060311101
			14140202206
KAKCHINU	KAKCHING		14140202206
KAKCHING	KAKCHING	SECONDARY SCHOOL	14140202502
		THANGTONG HIGHER SECONDARY	
KANGPOKPI	SAIKUL	SCHOOL	14100313201
NONEY	NUNGBA		14160402001
TAMENGLONG	TAMEI	LANGMEI HR.SEC.SCHOOL	14020300101
TAMENGLONG	TAMENGLONG	TAMENGLONG HR. SEC SCHOOL	14020104301
		MOREH HIGHER SECONDARY	
TENGNOUPAL	TENGNOUPAL		14110207501
THOUDAL	THOUDAL		14050102205
INUUDAL	ITIOUDAL		14050103205
THOUBAL	THOUBAL	MADRASSA	14050110101
UKHRUL	UKHRUL	UKHRUL HR. SEC. SCHOOL	14080100425
	district_name BISHNUPUR CHANDEL CHANDEL CHURACHANDPUR CHURACHANDPUR IMPHAL WEST IMPHAL WEST IMPHAL WEST KAKCHING KAKCHING KANGPOKPI NONEY TAMENGLONG TENGNOUPAL THOUBAL	district_nameblock_nameBISHNUPURMOIRANGCHANDELCHAKPIKARONGCHANDELCHANDELCHURACHANDPURCHURACHANDPURCHURACHANDPURSAMULAMLANIMPHAL WESTIMCIMPHAL WESTWANGOIIMPHAL WESTWANGOIKAKCHINGKAKCHINGKAKCHINGKAKCHINGKANGPOKPISAIKULNONEYNUNGBATAMENGLONGTAMEITAMENGLONGTAMENGLONGTENGNOUPALTENGNOUPALTHOUBALTHOUBAL	district_name block_name school_name BISHNUPUR MOIRANG SCHOOL CHANDEL CHAKPIKARONG SECONDARY SCHOOL CHANDEL CHANDEL SCHOOL CHANDEL CHANDEL SCHOOL CHURACHANDPUR CHURACHANDPUR VUNGZAGEN GOVT. HIGHER SECONDARY SCHOOL CHURACHANDPUR SAMULAMLAN SAGANG HR SEC SCHOOL IMPHAL WEST HAORANG NILAPADAMA HR. SEC.SCHOOL IMPHAL WEST IMC SECONDARY SCHOOL IMPHAL WEST WANGOI SCHOOL IMPHAL WEST WANGOI SCHOOL KAKCHING KAKCHING KAKCHING HIGHER SECONDARY KAKCHING KAKCHING SECONDARY SCHOOL KANGPOKPI SAIKUL SCHOOL THANGTONG HIGHER SECONDARY NONEY NUNGBA SCHOOL TAMENGLONG TAMEI LANGMEIDONG HIGHER SECONDARY SCHOOL TAMENGLONG TAMEI LANGMEIDONG HR. SEC SCHOOL MOREH HIGHER SECONDARY TENGNOUPAL TENGNOUPAL SCHOOL THOUBAL THOUBAL MADRASSA

Major Repair

Major	Major Repair-12					
					No of	
					class	
S.No	district_name	block_name	school_name	udise_sch_code	rooms	
			CHURACHANDPUR GOVT.			
1.	CHURACHANDPUR	CHURACHANDPUR	H/S	14030110101		2
			CHAOYAIMA HIGHER			
2.	THOUBAL	THOUBAL	SECONDARY SCHOOL	14050103205		3
			JOHNSTONE HIGHER			
3.	IMPHAL WEST	IMC	SECONDARY SCHOOL	14060101313		2
4.	TENGNOUPAL	MACHI	MACHI HIGH SCHOOL	14110104301		2
5.	NONEY	NUNGBA	TENGKONJANG HR. SEC.	14160407805		3

	SCHOOL	

Removal of Architectural Barriers

Remova	Removal of Architectural Barriers-2				
S.No	district_name	block_name	school_name	udise_sch_code	
1	IMPHAL WEST	WANGOI	WANGOI HIGHER SECONDARY SCHOOL	14060307002	
2	KANGPOKPI	KANGPOKPI	GELNAL HIGHER SECONDARY SCHOOL	14100109001	

Library Room

Libra	Library Room-2					
S.no	district_name	block_name	school_name	udise_sch_code		
			NILAPADAMA HR.			
1	IMPHAL WEST	HAORANG	SEC.SCHOOL	14060208301		
2	NONEY	NUNGBA	MODEL RESIDENTIAL SCHOOL	14160400303		

Science Lab

Science Lab-1						
S.no	district_name	block_name	school_name	udise_sch_code		
	IMPHAL	SAWOMBUNG IMPHAL	RESIDENTIAL			
28	EAST	EAST- I	SCHOOL	14070101403		

Art / Craft Room

Art/Craft Room-2					
S.no	district_name	block_name	school_name	udise_sch_code	
1	TAMENGLONG	TAMEI	LANGMEI HR.SEC.SCHOOL	14020300101	
2	NONEY	NUNGBA	MODEL RESIDENTIAL SCHOOL	14160400303	

Chemistry Lab

Chemistry Lab -1				
S.NO	district_name	block_name	school_name	udise_sch_code
1	IMPHAL WEST	HAORANG	NILAPADAMA HR. SEC.SCHOOL	14060208301

Solar Panel for School

Solar Panel For School-16					
S.No	district_name	block_name	school_name	udise_sch_code	
1.	TAMENGLONG	TAMENGLONG	TAMENGLONG HR. SEC SCHOOL	14020104301	
2.	CHURACHANDPUR	CHURACHANDPUR	RENGKAI HR. SEC. SCHOOL	14030100101	

Solar Panel For School-16				
S.No	district_name	block_name	school_name	udise_sch_code
3.	CHURACHANDPUR	CHURACHANDPUR	KANGVAI GOVT. HR. SEC SCHOOL	14030105501
4.	CHURACHANDPUR	CHURACHANDPUR	VUNGZAGEN GOVT. H/S	14030119101
5.	CHURACHANDPUR	SAMULAMLAN	SAGANG HR SEC SCHOOL	14030202801
6.	UKHRUL	CHINGAI	JESSAMI HR. SECONDARY SCHOOL	14080202501
7.	CHANDEL	CHAKPIKARONG	CHAKPIKARONG GOVT. HIGHER SECONDARY SCHOOL	14090423501
8.	CHANDEL	CHANDEL	MAHA UNION HIGHER SECONDARY SCHOOL	14090314701
9.	KANGPOKPI	SAIKUL	THANGTONG HIGHER SECONDARY SCHOOL	14100313201
10.	KAKCHING	KAKCHING	KAKCHING HIGHER SEC. SCHOOL	14140202206
11.	KAKCHING	KAKCHING	LANGMEIDONG HIGHER SECONDARY SCHOOL	14140202502
12.	KAKCHING	KAKCHING	SUGNU HIGHER SECONDARY SCHOOL	14140204803
13.	KAKCHING	KAKCHING	KAKCHING KHUNOU COLLEGE	14140206005
14.	KAMJONG	PHUNGYAR	PHUNGYAR HR. SEC. SCHOOL	14150302801
15.	NONEY	NUNGBA	NUNGBA HIGHER SECONDARY SCHOOL	14160402001
16.	NONEY	NUNGBA	TENGKONJANG HR. SEC. SCHOOL	14160407805

Annexure IX

ICT facility for BRCs

S.No.	Name of the Block	Block Code	District	District Code
1	Bishnupur	140401	Bishnupur	1404
2	Moirang	140402	Bishnupur	1404
3	Chakpikarong	140904	Chandel	1409
4	Chandel	140903	Chandel	1409
5	Churachandpur	140301	Churachandpur	1403
6	Henglep	140306	Churachandpur	1403
7	Samulamlan	140302	Churachandpur	1403
8	Singngat	140303	Churachandpur	1403
9	Irilbung	140702	Imphal East	1407
10	Sawombung	140701	Imphal East	1407
11	Haorang	140602	Imphal West	1406
12	IMC	140601	Imphal West	1406
13	Wangoi	140603	Imphal West	1406
14	Jiribam	141303	Jiribam	1413
15	Kakching	141402	Kakching	1414
16	Kamjong	141504	Kamjong	1415
17	Kasom Khulen	141505	Kamjong	1415
18	Phungyar	141503	Kamjong	1415
19	Kangpokpi	141001	Kangpokpi	1410
20	Saikul	141003	Kangpokpi	1410
21	Saitu	141002	Kangpokpi	1410
22	Nungba	141604	Noney	1416
23	Thanlon	141204	Pherzawl	1412
24	Tipaimukh	141205	Pherzawl	1412
25	Paomata	140104	Senapati	1410
26	Purul	140106	Senapati	1410
27	Tadubi	140105	Senapati	1410
28	Tamei	140203	Tamenglong	1402
29	Tamenglong	140201	Tamenglong	1402
30	Tousem	140202	Tamenglong	1402
31	Machi	141101	Tengnoupal	1411
32	Tengnoupal	141102	Tengnoupal	1411
33	Thoubal	140501	Thoubal	1405
34	Chingai	140802	Ukhrul	1408
35	Ukhrul	140801	Ukhrul	1408

Annexure X

LIS	LIST OF SCHOOLS APPROVED FOR TEACHER RESOURCE PACKAGE (PRIMARY): 2022-23				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS	
1	BISHNUPUR-1404	14040104801	BALARAM KHUL UPPER PRIMARY SCHOOL	7	
2	BISHNUPUR-1404	14040100402	BISHNUPUR AWANG PRIMARY SCHOOL	4	
3	BISHNUPUR-1404	14040100201	BISHNUPUR CHINGNING MUSLIM PRIMARY SCHOOL	3	
4	BISHNUPUR-1404	14040100401	BISHNUPUR CHINGNING UPPER PRIMARY SCHOOL	4	
5	BISHNUPUR-1404	14040100701	BISHNUPUR HIGH SCHOOL	2	
6	BISHNUPUR-1404	14040100501	BISHNUPUR KHA JUNIOR HIGH SCHOOL	4	
7	BISHNUPUR-1404	14040200202	BORAYANGBI UPPER PRIMARY SCHOOL	3	
8	BISHNUPUR-1404	14040200201	CHAIREL TUREL WANGMA TABA PRIMARY SCHOOL	2	
9	BISHNUPUR-1404	14040201202	CHANDPUR PRIMARY SCHOOL	3	
10	BISHNUPUR-1404	14040201204	CHINGMEI UPPER PRIMARY SCHOOL	4	
11	BISHNUPUR-1404	14040201209	CHINGYANG PRIMARY SCHOOL	2	
12	BISHNUPUR-1404	14040101501	GOKUL HIGH SCHOOL	4	
13	BISHNUPUR-1404	14040201210	HEISNAM PRIMARY SCHOOL	1	
14	BISHNUPUR-1404	14040103901	IRENGBAM AWANG UPPER PRIMARY SCHOOL	5	
15	BISHNUPUR-1404	14040103902	IRENGBAM MAKHA PRIMARY SCHOOL	4	
16	BISHNUPUR-1404	14040102701	ISHOK UPPER PRIMARY SCHOOL	2	
17	BISHNUPUR-1404	14040200503	ITHAI KHUNOU HIGH SCHOOL	3	
18	BISHNUPUR-1404	14040200501	ITHAI KHUNOU PRIMARY SCHOOL	2	
19	BISHNUPUR-1404	14040201501	ITHING PRIMARY SCHOOL	3	
20	BISHNUPUR-1404	14040101001	JOYPUR KHUNOU UPPER PRIMARY SCHOOL	2	
21	BISHNUPUR-1404	14040104802	KABOWAKCHING KHUNOU PRIMARY SCHOOL	5	
22	BISHNUPUR-1404	14040104701	KABOWAKCHING PRIMARY SCHOOL	3	
23	BISHNUPUR-1404	14040103710	KADAJIT PRIMARY SCHOOL	4	
24	BISHNUPUR-1404	14040102402	KAKYAI PRIMARY SCHOOL	4	
25	BISHNUPUR-1404	14040201301	KARANG UPPER PRIMARY SCHOOL	1	
26	BISHNUPUR-1404	14040201205	KEIBUL PRIMARY SCHOOL	2	
27	BISHNUPUR-1404	14040103106	KEINOU HIGH SCHOOL	5	
28	BISHNUPUR-1404	14040103112	KEINOU THONGKHA PRIMARY SCHOOL	3	
29	BISHNUPUR-1404	14040103114	KEINOU THONGTHAK MANING	3	

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
		+	PRIMARYSCHOOL	
30	BISHNUPUR-1404	14040201103	KEIRENPHABI JR.HIGH SCHOOL	2
31	BISHNUPUR-1404	14040102604	KHA SANJENBAM PRIMARY SCHOOL	4
32	BISHNUPUR-1404	14040105201	KHATHONG AWANG PRIMARY SCHOOL	2
33	BISHNUPUR-1404	14040103601	KHOIJUMAN JUNIOR HIGH SCHOOL	7
34	BISHNUPUR-1404	14040201101	KHONG ASHANGBI PRIMARY SCHOOL	2
35	BISHNUPUR-1404	14040200901	KHORDAK KHONGBAL UPPER PRIMARY SCHOOL	1
36	BISHNUPUR-1404	14040102808	KHUNPHAM PRIMARY SCHOOL	6
37	BISHNUPUR-1404	14040104501	KONGKHAM AWANG PRIMARY SCHOOL	5
38	BISHNUPUR-1404	14040104401	KONGKHAM MAKHA PRIMARY SCHOOL	3
39	BISHNUPUR-1404	14040104402	KONGKHAM NEW PRIMARY SCHOOL	6
40	BISHNUPUR-1404	14040202301	KONJENG JUNIOR HIGH SCHOOL	8
41	BISHNUPUR-1404	14040203802	KUMBI ADARSH PRIMARY SCHOOL	2
42	BISHNUPUR-1404	14040200403	KUMBI HIGH SCHOOL	2
43	BISHNUPUR-1404	14040204301	KUMBI SANDHONG UPPER PRIMARY SCHOOL	3
44	BISHNUPUR-1404	14040203602	KUMBI SETUPUR PRIMARY SCHOOL	2
45	BISHNUPUR-1404	14040203501	KUMBI TERAKHUNOU UPPER PRIMARY SCHOOL	3
46	BISHNUPUR-1404	14040203801	KUMBI THINGEL PRIMARY SCHOOL	3
47	BISHNUPUR-1404	14040201901	KUMBI WAPOKPI PRIMARY SCHOOL	2
48	BISHNUPUR-1404	14040201802	KWAKTA KHUMAN UPPER PRIMARY SCHOOL	1
49	BISHNUPUR-1404	14040201808	KWAKTA TERAKHONGSHANGBI PRIMARY MADRASSA	2
50	BISHNUPUR-1404	14040201804	KWAKTA THINGEL PRIMARY SCHOOL	3
51	BISHNUPUR-1404	14040205102	KWAKTA WARD NO. 8 PRIMARY SCHOOL	3
52	BISHNUPUR-1404	14040101303	KWASIPHAI JUNIOR HIGH SCHOOL	3
53	BISHNUPUR-1404	14040104102	LAITONJAM MAKHA PRIMARY SCHOOL	6
54	BISHNUPUR-1404	14040104703	LANGOMPOKPI PRIMARY SCHOOL	3
55	BISHNUPUR-1404	14040102401	LANGPOK KAKYAI UPPER PRIMARY SCHOOL	3
56	BISHNUPUR-1404	14040102404	LANGPOK PRIMARY SCHOOL	4
57	BISHNUPUR-1404	14040102802	LEIMAPOKPAM HINDI KABUI PRIMARY SCHOOL	4

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
58	BISHNUPUR-1404	14040102807	LEIMAPOKPAM MAKHA PRIMARY SCHOOL	3
59	BISHNUPUR-1404	14040102804	LEIMAPOKPAM MAYAI PRIMARY SCHOOL	1
60	BISHNUPUR-1404	14040102803	LEIMAPOKPAM PUBLIC HIGH SCHOOL	2
61	BISHNUPUR-1404	14040103301	LEIMARAM HIGH SCHOOL	7
62	BISHNUPUR-1404	14040102503	LOUREMBAM MANING PRIMARY SCHOOL	3
63	BISHNUPUR-1404	14040103903	MADHUMATI HIGH SCHOOL	3
64	BISHNUPUR-1404	14040105101	MAIBAM CHINGMANG PRIMARY SCHOOL	3
65	BISHNUPUR-1404	14040105102	MAIBAM LOKPACHING PRIMARY SCHOOL	1
66	BISHNUPUR-1404	14040202702	MOIRANG JUNIOR HIGH SCHOOL	4
67	BISHNUPUR-1404	14040201109	MOIRANG KHUNOU PRIMARY SCHOOL	2
68	BISHNUPUR-1404	14040202501	MOIRANG MODEL PRIMARY SCHOOL	5
69	BISHNUPUR-1404	14040201106	MOIRANGKHUNOU KEIRENPHABI UPPER PRIMARY SCHOOL	3
70	BISHNUPUR-1404	14040101402	NACHOU JUNIOR HIGH SCHOOL	2
71	BISHNUPUR-1404	14040104602	NAMBOL COLLEGIATE HIGH SCHOOL	3
72	BISHNUPUR-1404	14040104301	NAMBOL MAKHA UPPER PRIMARY SCHOOL	5
73	BISHNUPUR-1404	14040104901	NAOREM HIGH SCHOOL	3
74	BISHNUPUR-1404	14040104403	NAOREM KABUI PRIMARY SCHOOL	3
75	BISHNUPUR-1404	14040103802	NGAIKHONG SIPHAI PRIMARY SCHOOL	3
76	BISHNUPUR-1404	14040103807	NGAIKHONG HIGH SCHOOL	3
77	BISHNUPUR-1404	14040103801	NGAIKHONG JUNIOR HIGH SCHOOL	4
78	BISHNUPUR-1404	14040103401	NGAIKHONG KHUNOU PRIMARY SCHOOL	6
79	BISHNUPUR-1404	14040107601	NGAKCHROUPOKPI UPPER PRIMARY SCHOOL	3
80	BISHNUPUR-1404	14040201701	NGANGKHALAWAI UPPER PRIMARY SCHOOL	3
81	BISHNUPUR-1404	14040200704	NGANUKON PRIMARY SCHOOL	1
82	BISHNUPUR-1404	14040107001	NINGTHOUKHONG KHA HIGH SCHOOL	6
83	BISHNUPUR-1404	14040107302	NINGTHOUKHONG MAMANG JUNIOR HIGH SCHOOL	9
84	BISHNUPUR-1404	14040106601	NINGTHOUKHONG MODEL HIGHER SECONDARY SCHOOL	2
85	BISHNUPUR-1404	14040106901	NINGTHOUKHONG SADAR PATEL	4

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
			HIGH SCHOOL	
86	BISHNUPUR-1404	14040201001	NONGMAIKHONG PRIMARY SCHOOL	1
87	BISHNUPUR-1404	14040105401	OINAM GIRLS HIGH SCHOOL	1
88	BISHNUPUR-1404	14040105501	OINAM HIGH SCHOOL	5
89	BISHNUPUR-1404	14040106101	OINAM HINDU PRIMARY SCHOOL	4
90	BISHNUPUR-1404	14040105901	OINAM MAKHA PRIMARY SCHOOL	4
91	BISHNUPUR-1404	14040105601	OINAM PRIMARY SCHOOL	2
92	BISHNUPUR-1404	14040203301	OKSHONGBUNG UPPER PRIMARY SCHOOL	6
93	BISHNUPUR-1404	14040104002	PHOIJING NO. 6 JUNIOR HIGH SCHOOL	4
94	BISHNUPUR-1404	14040104201	PHOIJING PRIMARY SCHOOL	4
95	BISHNUPUR-1404	14040102003	PHUBALA HIGH SCHOOL	3
96	BISHNUPUR-1404	14040200102	POMBIKHOK PRIMARY SCHOOL	1
97	BISHNUPUR-1404	14040101502	POTSHANGBAM UPPER PRIMARY SCHOOL	3
98	BISHNUPUR-1404	14040102601	PUKHRAMBAM HIGH SCHOOL	4
99	BISHNUPUR-1404	14040201218	SAGRAM PRIMARY SCHOOL	1
100	BISHNUPUR-1404	14040200801	SAITON NO. 1. UPPER PRIMARY SCHOOL	2
101	BISHNUPUR-1404	14040200703	SAITON NO. 2 PRIMARY SCHOOL	3
102	BISHNUPUR-1404	14040201211	SALAM MODEL PRIMARY SCHOOL	3
103	BISHNUPUR-1404	14040201208	SAMUKOL UPPER PRIMARY SCHOOL	5
104	BISHNUPUR-1404	14040104804	SENAPATI SABAL PRIMARY SCHOOL	3
105	BISHNUPUR-1404	14040202602	SHRIBON JUNIOR HIGH SCHOOL	3
106	BISHNUPUR-1404	14040101901	SUNUSIPHAI UPPER PRIMARY SCHOOL	2
107	BISHNUPUR-1404	14040200101	TANGJENG AHALLUP PRIMARY SCHOOL	1
108	BISHNUPUR-1404	14040102703	TERAPOKPI KABUI PRIMARY SCHOOL	1
109	BISHNUPUR-1404	14040102101	THAMNAPOKPI NARANSEINA JUNIOR HIGH SCHOOL	4
110	BISHNUPUR-1404	14040201601	THAMNAPOKPI UPPER PRIMARY SCHOOL	5
111	BISHNUPUR-1404	14040201212	THANGA HIGH SCHOOL	4
112	BISHNUPUR-1404	14040201206	THANGA WANGMA HIGH SCHOOL	2
113	BISHNUPUR-1404	14040201207	THANGA WANGMA PRIMARY SCHOOL	4
114	BISHNUPUR-1404	14040201102	THANGALAWAI PRIMARY SCHOOL	1
115	BISHNUPUR-1404	14040203101	THANGJING UPPER PRIMARY SCHOOL	4

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
116	BISHNUPUR-1404	14040101703	THINUNGEI UPPER PRIMARY SCHOOL	7
117	BISHNUPUR-1404	14040102302	THIYAM PRIMARY SCHOOL	3
118	BISHNUPUR-1404	14040102603	THOUNAOJAM PRIMARY SCHOOL	3
119	BISHNUPUR-1404	14040103705	TOUBUL HIGH SCHOOL	5
120	BISHNUPUR-1404	14040103704	TOUBUL KABUI PRIMARY SCHOOL	3
121	BISHNUPUR-1404	14040103703	TOUBUL MAKHA PRIMARY SCHOOL	2
122	BISHNUPUR-1404	14040101601	TOUPOKPI GOVT. JUNIOR HIGH SCHOOL	4
123	BISHNUPUR-1404	14040201809	TRONGLAOBI JUNIOR HIGH SCHOOL	4
124	BISHNUPUR-1404	14040101508	UPOKPI KHUNOU PRIMARY SCHOOL	4
125	BISHNUPUR-1404	14040101506	UPOKPI PRIMARY SCHOOL	4
126	BISHNUPUR-1404	14040102203	UTLOU JUNIOR HIGH SCHOOL	3
127	BISHNUPUR-1404	14040102201	UTLOU GOVT. HIGH SCHOOL	3
128	BISHNUPUR-1404	14040102202	UTLOU PRIMARY SCHOOL	5
129	BISHNUPUR-1404	14040102708	WAHENGKHUMAN UPPER PRIMARY SCHOOL	2
130	BISHNUPUR-1404	14040200301	WANGOO HIGHER SECONDARY SCHOOL	4
131	BISHNUPUR-1404	14040200402	WANGOO SABAL NAODAKHONG UPPER PRIMARY SCHOOL	1
132	BISHNUPUR-1404	14040200303	WANGOO SELLUNGKHONG UPPER PRIMARY SCHOOL	3
133	BISHNUPUR-1404	14040201902	WAPOKPI PRIMARY SCHOOL	3
134	BISHNUPUR-1404	14040103306	WAROICHING PRIMARY SCHOOL	2
135	BISHNUPUR-1404	14040103002	YUMNAM KHUNOU PRIMARY SCHOOL	1
136	CHANDEL-1409	14090421801	AIBOL JOUPI P/S	5
137	CHANDEL-1409	14090413701	AIGIYANG PRIMARY SCHOOL	1
138	CHANDEL-1409	14090304701	AIHANG P/S	8
139	CHANDEL-1409	14090413601	AISHI PRIMARY SCHOOL	1
140	CHANDEL-1409	14090305701	ANAL KHULLEN P/S	6
141	CHANDEL-1409	14090405301	ANAL KHUNOU HIGH SCHOOL	6
142	CHANDEL-1409	14090318101	ANGBRASHU KHUNOU PRIMARY SCHOOL	2
143	CHANDEL-1409	14090313801	ANGKHEL CHAYANG P/S	6
144	CHANDEL-1409	14090306101	ANTHI PRIMARY SCHOOL	2
145	CHANDEL-1409	14090315601	BERU WANGKHERA UPPER PRIMARY SCHOOL	2
146	CHANDEL-1409	14090305801	BERUKHUDAM P/S	5
147	CHANDEL-1409	14090313901	BETUK SHANGKRENG PRIMARY SCHOOL	1

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
148	CHANDEL-1409	14090401701	BOLJANG TAMPAK P/S	3
149	CHANDEL-1409	14090409301	BOLLOK PRIMARY SCHOOL	2
150	CHANDEL-1409	14090304001	BONGJANG PRIMARY SCHOOL	2
151	CHANDEL-1409	14090430901	BONGJOI KUKI PRIMARY SCHOOL	2
152	CHANDEL-1409	14090417801	C. GAMNOM PRIMARY SCHOOL	1
153	CHANDEL-1409	14090410701	CHAHKAP PRIMARY SCHOOL	2
154	CHANDEL-1409	14090411501	CHAHMOL PRIMARY SCHOOL	1
155	CHANDEL-1409	14090403501	CHAKPI MOLBEM PRIMARY SCHOOL	4
156	CHANDEL-1409	14090423501	CHAKPIKARONG GOVT. HIGHER SECONDARY SCHOOL	5
157	CHANDEL-1409	14090310901	CHALLONG P/S	6
158	CHANDEL-1409	14090420001	CHALYANG PRIMARY SCHOOL	2
159	CHANDEL-1409	14090309501	CHANDEL KHULLEN UPPER PRIMARY SCHOOL	1
160	CHANDEL-1409	14090314901	CHANDEL P/S	9
161	CHANDEL-1409	14090302401	CHANDONPOKPI P/S	5
162	CHANDEL-1409	14090313701	CHANDROPODO P/S	6
163	CHANDEL-1409	14090307901	CHARANGCHING KHULLEN PRIMARY SCHOOL	1
164	CHANDEL-1409	14090313601	CHARANGCHING P/S	8
165	CHANDEL-1409	14090404901	CHARONGCHING PRIMARY SCHOOL	2
166	CHANDEL-1409	14090416301	CHEHJANG P/S	6
167	CHANDEL-1409	14090403202	DANGKHU PRIMARY SCHOOL	2
168	CHANDEL-1409	14090311201	DUTHANG P/S	4
169	CHANDEL-1409	14090411301	GELYANG PRIMARY SCHOOL	2
170	CHANDEL-1409	14090414601	GOBOK P/S	6
171	CHANDEL-1409	14090301201	HEIBUNGLOK PRIMARY SCHOOL	1
172	CHANDEL-1409	14090303501	HEIGRUTAMPAK UPPER PRIMARY SCHOOL	1
173	CHANDEL-1409	14090421201	HENGSHI P/S	5
174	CHANDEL-1409	14090407401	HL. BEAMUNG KHUBUNG KHUHLE PRIMARY SCHOOL	2
175	CHANDEL-1409	14090314101	HNATHAM P/S	11
176	CHANDEL-1409	14090309401	HONGBIBAN P/S	7
177	CHANDEL-1409	14090314704	JAPHOU UPPER PRIMARY SCHOOL	1
178	CHANDEL-1409	14090314801	JULBANGCHING PRIMARY SCHOOL	1
179	CHANDEL-1409	14090408301	KANAKANGBUNG P/S	8
180	CHANDEL-1409	14090304501	KAZIPHUNG PRIMARY SCHOOL	1
181	CHANDEL-1409	14090307101	KHAMBATHEL P/S	7
182	CHANDEL-1409	14090420101	KHANGBAROL UPPER PRIMARY	5

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
			SCHOOL	
183	CHANDEL-1409	14090417701	KHANGTUNG PRIMARY SCHOOL	2
184	CHANDEL-1409	14090416501	KHENGJANG JAMVUNG P.S	2
185	CHANDEL-1409	14090418901	KHENGJOY P/S	5
186	CHANDEL-1409	14090422001	KHOLMUNLEN P/S	4
187	CHANDEL-1409	14090310701	KHONGJON P/S	6
188	CHANDEL-1409	14090402001	KHONGNANGPHEI SABI P/S	5
189	CHANDEL-1409	14090413001	KHONGTAL PRIMARY SCHOOL	3
190	CHANDEL-1409	14090423102	KHUBUNG KHUNOU PRIMARY SCHOOL	2
191	CHANDEL-1409	14090423101	KHUBUNG KHUNOU PRIMARY SCHOOL	8
192	CHANDEL-1409	14090415101	KHUBUNGKHULLEN P/S	6
193	CHANDEL-1409	14090311601	KHUDEI KHUNOU P/S	7
194	CHANDEL-1409	14090314301	KHUHRINGKHU PRIMARY SCHOOL	2
195	CHANDEL-1409	14090308902	KHUNGPHAM PRIMARY SCHOOL	8
196	CHANDEL-1409	14090302901	KHURINGMUL PRIMARY SCHOOL	2
197	CHANDEL-1409	14090430401	KHUTHUM UPPER PRIMARY SCHOOL	5
198	CHANDEL-1409	14090304801	KOMSEN P/S	5
199	CHANDEL-1409	14090314001	KONGPE PRIMARY SCHOOL	2
200	CHANDEL-1409	14090424201	KOTLEN PRIMARY SCHOOL	1
201	CHANDEL-1409	14090430801	L. BONGJOI PRIMARY SCHOOL	2
202	CHANDEL-1409	14090314201	L.THANGKAM P/S	6
203	CHANDEL-1409	14090315201	LAARPHU PRIMARY SCHOOL	1
204	CHANDEL-1409	14090314401	LAMBUNG P/S	7
205	CHANDEL-1409	14090302001	LAMKANG KHUNOU P/S	3
206	CHANDEL-1409	14090313301	LAMKANG KHUNTHAK P/S	8
207	CHANDEL-1409	14090316501	LAMKANG KHUNYAI PRIMARY SCHOOL	1
208	CHANDEL-1409	14090313501	LAMKANG THAMTHI P/S	8
209	CHANDEL-1409	14090305601	LAMPHOU CHARU P/S	5
210	CHANDEL-1409	14090431001	LAMYANG KUKI PRIMARY SCHOOL	1
211	CHANDEL-1409	14090400101	LANGCHING P/S	5
212	CHANDEL-1409	14090310801	LARONG GOVT. HIGH SCHOOL	3
213	CHANDEL-1409	14090311101	LARONG KHUNOU P/S	3
214	CHANDEL-1409	14090312401	LEINGANGCHING HIGH SCHOOL	1
215	CHANDEL-1409	14090401601	LEISHENBUNG (SONG DOP) PRIMARY SCHOOL	1
216	CHANDEL-1409	14090311401	LIBUNG PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
217	CHANDEL-1409	14090300301	LITAN P/S	6
218	CHANDEL-1409	14090306601	LIWA MARING PRIMARY SCHOOL	5
219	CHANDEL-1409	14090312303	LIWACHANGNING P/S	7
220	CHANDEL-1409	14090409601	LONGJA P/S	11
221	CHANDEL-1409	14090306701	LUNGLEH PRIMARY SCHOOL	1
222	CHANDEL-1409	14090314701	MAHA UNION HIGHER SECONDARY SCHOOL	2
223	CHANDEL-1409	14090317202	MAHAO TERA P/S	7
224	CHANDEL-1409	14090300701	MANTAK P/S	6
225	CHANDEL-1409	14090308901	MANTRIPANTHA PRIMARY SCHOOL	2
226	CHANDEL-1409	14090312201	MARIBUNG P/S	6
227	CHANDEL-1409	14090408501	MESU PRIMARY SCHOOL	2
228	CHANDEL-1409	14090307001	MITONG P/S	6
229	CHANDEL-1409	14090314601	MODI P/S	9
230	CHANDEL-1409	14090418801	MOLKON PRIMARY SCHOOL	1
231	CHANDEL-1409	14090421501	MOLNGAT P/S	6
232	CHANDEL-1409	14090421901	MOLPHEI UPPER PRIMARY SCHOOL	3
233	CHANDEL-1409	14090420501	MOMBI P/S	4
234	CHANDEL-1409	14090410301	MONGJANG PRIMARY SCHOOL	2
235	CHANDEL-1409	14090309901	MONSANG PANTHA P/S	7
236	CHANDEL-1409	14090312601	MOYON KHULLEN PRIMARY SCHOOL	1
237	CHANDEL-1409	14090305001	NEW CHAYANG PRIMARY SCHOOL	2
238	CHANDEL-1409	14090422801	NEW SAMTAL HIGH SCHOOL	3
239	CHANDEL-1409	14090301001	NEW WANGPARAL PRIMARY SCHOOL	2
240	CHANDEL-1409	14090429301	NEW WAYANG PRIMARY SCHOOL	3
241	CHANDEL-1409	14090304601	NUNGKANGCHING UPPER PRIMARY SCHOOL	8
242	CHANDEL-1409	14090422201	NUNGPAN P/S	5
243	CHANDEL-1409	14090318001	NUNGPHURA PRIMARY SCHOOL	2
244	CHANDEL-1409	14090305501	OKLU P/S	5
245	CHANDEL-1409	14090405601	OKNAL (Y.KHUTHA) P/S	6
246	CHANDEL-1409	14090410801	PALDAI PRIMARY SCHOOL	1
247	CHANDEL-1409	14090311001	PARAOLON P/S	6
248	CHANDEL-1409	14090303601	PENACHING P/S	7
249	CHANDEL-1409	14090404501	PHAIJANG PRIMARY SCHOOL	1
250	CHANDEL-1409	14090305401	PHIRAN KHULLEN P/S	6
251	CHANDEL-1409	14090306001	PHIRAN LEIHAO PRIMARY SCHOOL	1
252	CHANDEL-1409	14090422301	PHIRANMACHET P/S	7

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
253	CHANDEL-1409	14090427101	PHOILEN PRIMARY SCHOOL	1
254	CHANDEL-1409	14090309701	PHOURONCHING(RALRINGKHU) PRIMARY SCHOOL	2
255	CHANDEL-1409	14090311901	PHUNAL SAMBUM P/S	8
256	CHANDEL-1409	14090308301	PHUNCHUNG P/S	6
257	CHANDEL-1409	14090312101	PURUM CHUMBANG P/S	6
258	CHANDEL-1409	14090313001	PURUM KHULLEN P/S	5
259	CHANDEL-1409	14090311801	PURUM KHUNOU P/S	4
260	CHANDEL-1409	14090301301	PURUM PANTHA P/S	6
261	CHANDEL-1409	14090300101	PURUM TAMPAK HIGH SCHOOL	5
262	CHANDEL-1409	14090404301	S. THINGKANGPHAI PRIMARY SCHOOL	1
263	CHANDEL-1409	14090416901	S.LAMPHEI P/S	5
264	CHANDEL-1409	14090411601	SAJIK TAMPAK HIGH SCHOOL	2
265	CHANDEL-1409	14090406701	SALLUK P/S	6
266	CHANDEL-1409	14090419801	SEHAO P/S	4
267	CHANDEL-1409	14090423001	SEHLON P/S	4
268	CHANDEL-1409	14090419601	SEMOL PRIMARY SCHOOL	2
269	CHANDEL-1409	14090401101	SINGTOM P/S	5
270	CHANDEL-1409	14090401201	SOKOM UPPER PRIMARY SCHOOL	3
271	CHANDEL-1409	14090416101	SONGJANG P/S	5
272	CHANDEL-1409	14090410101	SONGKONG PRIMARY SCHOOL	2
273	CHANDEL-1409	14090311701	ST.JOHN PRIMARY SCHOOL	7
274	CHANDEL-1409	14090430102	T.S. LAIYANG PRIMARY SCHOOL	2
275	CHANDEL-1409	14090404601	TAMPI KOVOL P/S	6
276	CHANDEL-1409	14090302601	TARAO LAIMANAI P/S	6
277	CHANDEL-1409	14090422601	TEIYANG P/S	5
278	CHANDEL-1409	14090304301	THAMLAPOKPI P/S	5
279	CHANDEL-1409	14090306501	THANGKIN UPPER PRIMARY SCHOOL	2
280	CHANDEL-1409	14090417101	THINGPHAI PRIMARY SCHOOL	1
281	CHANDEL-1409	14090422101	THORCHAM P/S	8
282	CHANDEL-1409	14090309801	THUMTAM PRIMARY SCHOOL	1
283	CHANDEL-1409	14090430201	TOITUNG KOWANG P/S	6
284	CHANDEL-1409	14090307201	TOKPACHING P/S	6
285	CHANDEL-1409	14090420801	TOLBUNG PRIMARY SCHOOL	2
286	CHANDEL-1409	14090313101	TONSEN P/S	5
287	CHANDEL-1409	14090402601	TOUPOKPI GOVT. HIGH SCHOOL	3
288	CHANDEL-1409	14090421101	TUIJANG PRIMARY SCHOOL	1
289	CHANDEL-1409	14090421401	TUIKONG P/S	6

L	IST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
290	CHANDEL-1409	14090430501	TUINOU PRIMARY SCHOOL	2
291	CHANDEL-1409	14090422701	UKON THINGKANGPHAI UPPER PRIMARY SCHOOL	4
292	CHANDEL-1409	14090300601	UNAPAL P/S	6
293	CHANDEL-1409	14090307301	UNOPAT UPPER PRIMARY SCHOOL	14
294	CHANDEL-1409	14090311301	VOMKU P/S	7
295	CHANDEL-1409	14090419001	WAILOU PRIMARY SCHOOL	2
296	CHANDEL-1409	14090412801	YANGDUNG KUKI KHUHLE PRIMARY SCHOOL	2
297	CHANDEL-1409	14090421601	YANGOULEN P/S	4
298	CHURACHANDPUR-1403	14030616901	AINA PRIMARY SCHOOL	1
299	CHURACHANDPUR-1403	14030307001	ALLUSINGTAM JBS	4
300	CHURACHANDPUR-1403	14030104101	B. KALJANG GOVT. UPPER PRIMARY SCHOOL	4
301	CHURACHANDPUR-1403	14030105002	B. SALVAPHAI PRIMARY SCHOOL	2
302	CHURACHANDPUR-1403	14030302204	BEHIANG (H) JBS	4
303	CHURACHANDPUR-1403	14030302203	BEHIANG (T) JBS	4
304	CHURACHANDPUR-1403	14030305002	BELPUAN PRIMARY SCHOOL	2
305	CHURACHANDPUR-1403	14030109802	BETHEL UPPER PRIMARY SCHOOL	5
306	CHURACHANDPUR-1403	14030102401	BIJANG LOUBUK GOVT. JR. H/S	10
307	CHURACHANDPUR-1403	14030122301	BOHLUI JBS	5
308	CHURACHANDPUR-1403	14030604401	BOLKOT JBS	5
309	CHURACHANDPUR-1403	14030307501	BONGBAL JBS	6
310	CHURACHANDPUR-1403	14030119801	BUALLIAN GOVT. UPPER PRIMARY SCHOOL	8
311	CHURACHANDPUR-1403	14030306301	BUKSAU JBS	4
312	CHURACHANDPUR-1403	14030613001	BUNGKOT PRIMARY SCHOOL	2
313	CHURACHANDPUR-1403	14030208101	BUNGLON UPS (GOVT)	1
314	CHURACHANDPUR-1403	14030204001	BUNGLUSHI (GOVT) UPPER PRIMARY SCHOOL	2
315	CHURACHANDPUR-1403	14030610702	BUNGPILON PRIMARY SCHOOL	2
316	CHURACHANDPUR-1403	14030603002	C. MOLLOU UPPER PRIMARY SCHOOL	6
317	CHURACHANDPUR-1403	14030306401	CHAHNOU JBS	3
318	CHURACHANDPUR-1403	14030210201	CHAIBA KABUI JBS (ADC)	2
319	CHURACHANDPUR-1403	14030310701	CHANGLEI LPS	2
320	CHURACHANDPUR-1403	14030612502	CHAROIKHULEN JBS (ADC)	3
321	CHURACHANDPUR-1403	14030205801	CHEHJANG JBS (ADC)	5
322	CHURACHANDPUR-1403	14030301501	CHIANGPI JBS	2
323	CHURACHANDPUR-1403	14030201601	CHINGLANGMEI JBS (ADC)	5
324	CHURACHANDPUR-1403	14030302201	CHIVUTAMPAK JBS	12

LI	IST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
325	CHURACHANDPUR-1403	14030605401	CHONGCHIN UPPER PRIMARY SCHOOL	4
326	CHURACHANDPUR-1403	14030608802	CHONGKHOJOU JBS (ADC)	7
327	CHURACHANDPUR-1403	14030211201	CHOTHE JR. H/S (GOVT)	5
328	CHURACHANDPUR-1403	14030604901	CHOTHEMUNPI JBS (ADC)	9
329	CHURACHANDPUR-1403	14030110101	CHURACHANDPUR GOVT. H/S	5
330	CHURACHANDPUR-1403	14030201901	DAMPI JBS (ADC)	6
331	CHURACHANDPUR-1403	14030114701	DONGJANG JBS	8
332	CHURACHANDPUR-1403	14030121101	DUMSAUMUOL GOVT. LPS	2
333	CHURACHANDPUR-1403	14030104902	G. KHONOM PRIMARY SCHOOL	2
334	CHURACHANDPUR-1403	14030200101	G. SONGGEL UPPER PRIMARY SCHOOL	4
335	CHURACHANDPUR-1403	14030104702	GAMNOM PRIMARY SCHOOL	2
336	CHURACHANDPUR-1403	14030205302	GAMNOMPHAI JBS (ADC)	8
337	CHURACHANDPUR-1403	14030109301	GANDHI MEMORIAL GOVT. H/S	4
338	CHURACHANDPUR-1403	14030108002	GANGPICHAI PRIMARY SCHOOL	2
339	CHURACHANDPUR-1403	14030120101	GELJANG JBS	6
340	CHURACHANDPUR-1403	14030110801	GELMOL JBS	6
341	CHURACHANDPUR-1403	14030100402	GELMOL UPPER PRIMARY SCHOOL	6
342	CHURACHANDPUR-1403	14030203603	H.GELBUNG PRIMARY SCHOOL	1
343	CHURACHANDPUR-1403	14030203902	HAOTAK PHAILEN JBS (ADC)	5
344	CHURACHANDPUR-1403	14030203701	HAOTAK VAJANG LPS (GOVT)	1
345	CHURACHANDPUR-1403	14030603201	HENGKAPKOT JBS (ADC)	5
346	CHURACHANDPUR-1403	14030114901	HENGKEN JBS	2
347	CHURACHANDPUR-1403	14030600101	HENGLEP H/S (GOVT)	4
348	CHURACHANDPUR-1403	14030306501	HIANGMUAL UPS	1
349	CHURACHANDPUR-1403	14030304401	HIANGTUM K PRIMARY SCHOOL	1
350	CHURACHANDPUR-1403	14030206401	I.N.A MEMORIAL H/S (GOVT)	5
351	CHURACHANDPUR-1403	14030117402	JANGMUN PRIMARY SCHOOL	2
352	CHURACHANDPUR-1403	14030209201	K. GELJANG JBS (ADC)	7
353	CHURACHANDPUR-1403	14030109002	K. SALBUNG PRIMARY SCHOOL	3
354	CHURACHANDPUR-1403	14030132701	K.LHANGNUOM PRIMARY SCHOOL	2
355	CHURACHANDPUR-1403	14030617601	KAMKEILON PRIMARY SCHOOL	1
356	CHURACHANDPUR-1403	14030207901	KANGATHEI JBS ADC	4
357	CHURACHANDPUR-1403	14030301901	KANGKAP UPPER PRIMARY SCHOOL	4
358	CHURACHANDPUR-1403	14030105501	KANGVAI GOVT. HR. SEC SCHOOL	4
359	CHURACHANDPUR-1403	14030209401	KEIRAP AIMOL H/S (GOVT)	5
360	CHURACHANDPUR-1403	14030209001	KEIRAP KHULLEN JBS (ADC)	4
361	CHURACHANDPUR-1403	14030210601	KHA AIMOL JR. H/S (GOVT)	3

NO. CODE CODE REC PRI	LIST OF SCHOOLS APPROVED FOR TEACHER RESOURCE PACKAGE (PRIMARY): 2022-23				
363 CHURACHANDPUR-1403 14030607103 KHANPI PRIMARY SCHOOL 364 CHURACHANDPUR-1403 14030108701 KHENGJANG JBS 365 CHURACHANDPUR-1403 14030206301 KHOCHIJANG LPS (GOVT.) 366 CHURACHANDPUR-1403 14030200501 KHODANG JBS (ADC) 367 CHURACHANDPUR-1403 14030117401 KHOINOI JBS 368 CHURACHANDPUR-1403 14030208501 KHOLMUN JBS 369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030608301 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 374 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030109201 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403	D. OF BLETS FOR GULAR MARY CHERS				
364 CHURACHANDPUR-1403 14030108701 KHENGJANG JBS 365 CHURACHANDPUR-1403 14030206301 KHOCHIJANG LPS (GOVT.) 366 CHURACHANDPUR-1403 14030200501 KHODANG JBS (ADC) 367 CHURACHANDPUR-1403 14030117401 KHOINOI JBS 368 CHURACHANDPUR-1403 14030208501 KHOIRENTAK JBS (ADC) 369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030608301 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 377 CHURACHANDPUR-1403 14030601801 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 <	10				
365 CHURACHANDPUR-1403 14030206301 KHOCHIJANG LPS (GOVT.) 366 CHURACHANDPUR-1403 14030200501 KHODANG JBS (ADC) 367 CHURACHANDPUR-1403 14030117401 KHOINOI JBS 368 CHURACHANDPUR-1403 14030208501 KHOIRENTAK JBS (ADC) 369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030608301 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 377 CHURACHANDPUR-1403 1403019201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 381 CHURACHANDPUR-1403	2				
366 CHURACHANDPUR-1403 14030200501 KHODANG JBS (ADC) 367 CHURACHANDPUR-1403 14030117401 KHOINOI JBS 368 CHURACHANDPUR-1403 14030208501 KHOIRENTAK JBS (ADC) 369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 381 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 382 CHURACHANDP	7				
367 CHURACHANDPUR-1403 14030117401 KHOINOI JBS 368 CHURACHANDPUR-1403 14030208501 KHOIRENTAK JBS (ADC) 369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 382 <t< td=""><td>1</td></t<>	1				
368 CHURACHANDPUR-1403 14030208501 KHOIRENTAK JBS (ADC) 369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 381 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602010 L. PHAIKHOLUM PRIMARY SCHOOL 383	3				
369 CHURACHANDPUR-1403 14030108901 KHOLMUN JBS 370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KULBUNG LPS (ADC) 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030602502 L. PHAIKHOLUM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY 384	4				
370 CHURACHANDPUR-1403 14030202501 KHONOMPHAI JBS (ADC) 371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602901 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) </td <td>4</td>	4				
371 CHURACHANDPUR-1403 14030208001 KHOUSABUNG JBS (ADC) 372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602901 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) <t< td=""><td>8</td></t<>	8				
372 CHURACHANDPUR-1403 14030612901 KOKODAN KHULEN JBS (ADC) 373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030602502 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602901 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL <td>5</td>	5				
373 CHURACHANDPUR-1403 14030608301 KOLHEN JBS (ADC) 374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	6				
374 CHURACHANDPUR-1403 14030209402 KOM KEIRAP JBS (ADC) 375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602902 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 384 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 385 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	4				
375 CHURACHANDPUR-1403 14030205101 KONGJANGLOK JBS (ADC) 376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 384 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	8				
376 CHURACHANDPUR-1403 14030618801 KUKIMUN PRIMARY SCHOOL 377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	5				
377 CHURACHANDPUR-1403 14030205601 KULBUNG LPS (ADC) 378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 384 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 385 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	4				
378 CHURACHANDPUR-1403 14030109201 KUMBIPUKHRI H/S 379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	2				
379 CHURACHANDPUR-1403 14030601401 KUNGPINAOSEN JBS (ADC) 380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	4				
380 CHURACHANDPUR-1403 14030602502 L. BOLJOL UPPER PRIMARY SCHOOL 381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	4				
381 CHURACHANDPUR-1403 14030115402 L. MUNCHAM PRIMARY SCHOOL 382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	9				
382 CHURACHANDPUR-1403 14030602102 L. PHAIKHOLUM PRIMARY SCHOOL 383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	1				
383 CHURACHANDPUR-1403 14030602901 L. PHAILEN JBS (ADC) 384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	2				
384 CHURACHANDPUR-1403 14030308901 L. PHAIMOL UPPER PRIMARY SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	2				
SCHOOL 385 CHURACHANDPUR-1403 14030207001 LAIKAMUALSAU JBS (ADC) 386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	4				
386 CHURACHANDPUR-1403 14030204102 LAILAMPAT PRIMARY SCHOOL	1				
	4				
387 CHURACHANDPUR-1403 14030607501 LAILONG (S) JBS (ADC)	2				
	3				
388 CHURACHANDPUR-1403 14030201501 LALLUMBUNG JBS (ADC)	4				
389 CHURACHANDPUR-1403 14030614501 LAMDAN KABUI JBS (ADC)	2				
390 CHURACHANDPUR-1403 14030603401 LAMDAN KUKI JBS (ADC)	6				
391 CHURACHANDPUR-1403 14030120501 LAMJANG GOVT. H/S	3				
392 CHURACHANDPUR-1403 14030304301 LANCHA JBS	2				
393 CHURACHANDPUR-1403 14030113301 LANVA MODEL GOVT. H/S	3				
394 CHURACHANDPUR-1403 14030107101 LEISANG GOVT. JR. H/S	4				
395 CHURACHANDPUR-1403 14030112201 LENGLAKOT GOVT. LPS	2				
396 CHURACHANDPUR-1403 14030101901 LHANGJOL JBS	7				
397 CHURACHANDPUR-1403 14030615101 LHANJANG PRIMARY SCHOOL	3				
398 CHURACHANDPUR-1403 14030303601 LIKHAI JBS	3				

L	IST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	(): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
399	CHURACHANDPUR-1403	14030119602	LINGSIPHAI GOVT. JR. H/S	3
400	CHURACHANDPUR-1403	14030613601	LONPHAI UPPER PRIMARY SCHOOL	1
401	CHURACHANDPUR-1403	14030103602	LUIHOI MUOLCHAM PRIMARY SCHOOL	2
402	CHURACHANDPUR-1403	14030201401	LUKHUMBI JBS (ADC)	2
403	CHURACHANDPUR-1403	14030300401	LUNGCHIN GOVT. JR. H/S	2
404	CHURACHANDPUR-1403	14030609201	LUNGCHUONG UPPER PRIMARY SCHOOL	1
405	CHURACHANDPUR-1403	14030114401	LUNGGIL GOVT. LPS	2
406	CHURACHANDPUR-1403	14030301602	LUNGTHUL (D) JBS	6
407	CHURACHANDPUR-1403	14030301401	LUNGTHUL (T) JBS	2
408	CHURACHANDPUR-1403	14030301301	LUNGTHUL E UPS	1
409	CHURACHANDPUR-1403	14030301603	LUNGTHUL(L) PRIMARY SCHOOL	2
410	CHURACHANDPUR-1403	14030302902	LUNJANG JBS	4
411	CHURACHANDPUR-1403	14030616001	M PHAIJANG PRIMARY SCHOOL	2
412	CHURACHANDPUR-1403	14030114101	M. BONGMOL JBS	6
413	CHURACHANDPUR-1403	14030308201	M. TANGLIAN JBS	5
414	CHURACHANDPUR-1403	14030113901	M.B. SAICHANG UPS	5
415	CHURACHANDPUR-1403	14030309202	M.BUANGMUN PRIMARY SCHOOL	2
416	CHURACHANDPUR-1403	14030612201	MAJURON KABUI JBS (ADC)	3
417	CHURACHANDPUR-1403	14030602201	MAJURON KUKI JBS (ADC)	8
418	CHURACHANDPUR-1403	14030102503	MANDOP LEIKAI JBS	9
419	CHURACHANDPUR-1403	14030119901	MATA MUALTAM JBS	5
420	CHURACHANDPUR-1403	14030111401	MATALAMBULANE GOVT. JR. H/S	2
421	CHURACHANDPUR-1403	14030106101	MATIJANG JBS	7
422	CHURACHANDPUR-1403	14030301001	MAUKOT JBS	9
423	CHURACHANDPUR-1403	14030606301	MAUMUOL JBS (ADC)	4
424	CHURACHANDPUR-1403	14030204301	MINJANG JBS (ADC)	3
425	CHURACHANDPUR-1403	14030122001	MISAO LHAHVOM UPS	4
426	CHURACHANDPUR-1403	14030203302	MOIRANG MANTAK UPS (ADC)	4
427	CHURACHANDPUR-1403	14030610601	MOLPHEITAMPAK JR. H/S (GOVT)	3
428	CHURACHANDPUR-1403	14030116901	MOLVOM JBS	3
429	CHURACHANDPUR-1403	14030114801	MOLZOL JBS	3
430	CHURACHANDPUR-1403	14030116301	MONGBUNG JBS	4
431	CHURACHANDPUR-1403	14030615801	MONGKEN JBS (ADC)	6
432	CHURACHANDPUR-1403	14030107301	MONGLENPHAI GOVT PRIMARY SCHOOL	3
433	CHURACHANDPUR-1403	14030615901	MONGLHAM JBS (ADC)	7
434	CHURACHANDPUR-1403	14030610201	MUALDAK PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
435	CHURACHANDPUR-1403	14030305001	MUALLUM JBS	4
436	CHURACHANDPUR-1403	14030207402	MUALNGAT VILLAGE PRIMARY SCHOOL	2
437	CHURACHANDPUR-1403	14030302205	MUALZIN LPS	2
438	CHURACHANDPUR-1403	14030608803	MUNPI PRIMARY SCHOOL	2
439	CHURACHANDPUR-1403	14030121402	MUOLBEM UPPER PRIMARY SCHOOL	2
440	CHURACHANDPUR-1403	14030606402	MUOLKHANG PRIMARY SCHOOL	2
441	CHURACHANDPUR-1403	14030103001	MUOLVAIPHEI GOVT. UPPER PRIMARY SCHOOL	2
442	CHURACHANDPUR-1403	14030606602	N LEITAN PRIMARY SCHOOL	2
443	CHURACHANDPUR-1403	14030603001	N. CHINGPHEI JR. H/S (GOVT)	3
444	CHURACHANDPUR-1403	14030100308	N. MUOLHOI JBS	7
445	CHURACHANDPUR-1403	14030613801	NABIL KHUMAN JBS (ADC)	5
446	CHURACHANDPUR-1403	14030600201	NAJANG JBS (ADC)	7
447	CHURACHANDPUR-1403	14030601601	NALON UPS (ADC)	12
448	CHURACHANDPUR-1403	14030608202	NAOPANGLON PRIMARY SCHOOL	2
449	CHURACHANDPUR-1403	14030608501	NAPPHOU JBS (ADC)	2
450	CHURACHANDPUR-1403	14030201902	NEW DAMPI VILLAGE PRIMARY SCHOOL	3
451	CHURACHANDPUR-1403	14030109901	NEW LAMKA UPS	7
452	CHURACHANDPUR-1403	14030307402	NEW SINGTAM LPS	2
453	CHURACHANDPUR-1403	14030204402	NGAIRONG PRIMARY SCHOOL	1
454	CHURACHANDPUR-1403	14030204701	NGANUKON JBS (ADC)	6
455	CHURACHANDPUR-1403	14030210301	NGARIAN JR. H/S (GOVT)	3
456	CHURACHANDPUR-1403	14030112601	NGULZAPUM GOVT. JR. H/S	1
457	CHURACHANDPUR-1403	14030613201	NINGTHICHING H/S (GOVT)	2
458	CHURACHANDPUR-1403	14030208401	NIRPU JR. H/S (GOVT)	6
459	CHURACHANDPUR-1403	14030606601	NUNGSHAI JBS (ADC)	5
460	CHURACHANDPUR-1403	14030207301	P. GELJANG JBS (ADC)	3
461	CHURACHANDPUR-1403	14030207502	P. GELMOL KHUNOU PRIMARY SCHOOL	2
462	CHURACHANDPUR-1403	14030614901	P. SEJOL JBS (ADC)	6
463	CHURACHANDPUR-1403	14030307002	P. SUAHZAHAU PRIMARY SCHOOL	1
464	CHURACHANDPUR-1403	14030209801	PANGJANG JBS (ADC)	4
465	CHURACHANDPUR-1403	14030308101	PANGLIAN JBS	6
466	CHURACHANDPUR-1403	14030106401	PENGJANG JBS	7
467	CHURACHANDPUR-1403	14030605702	PHAIBA PRIMARY SCHOOL	2
468	CHURACHANDPUR-1403	14030607901	PHAIBONG JBS (ADC)	4
469	CHURACHANDPUR-1403	14030616201	PHIRAN JBS (ADC)	4

LI	LIST OF SCHOOLS APPROVED FOR TEACHER RESOURCE PACKAGE (PRIMARY): 2022-23				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS	
470	CHURACHANDPUR-1403	14030603502	PHOIPI PRIMARY SCHOOL	2	
471	CHURACHANDPUR-1403	14030206901	PHOISANBUNG JBS (ADC)	7	
472	CHURACHANDPUR-1403	14030206801	PHOISENPHAI JBS (ADC)	4	
473	CHURACHANDPUR-1403	14030208201	PHUNCHONGJANG JBS (ADC)	5	
474	CHURACHANDPUR-1403	14030600803	PHUNCHUNGPHAI PRIMARY SCHOOL	2	
475	CHURACHANDPUR-1403	14030102501	PHUNGKHOTHANG GOVT. H/S	5	
476	CHURACHANDPUR-1403	14030100101	RENGKAI HR. SEC. SCHOOL	7	
477	CHURACHANDPUR-1403	14030309201	S. BELBING UPPER PRIMARY SCHOOL	3	
478	CHURACHANDPUR-1403	14030121401	S. BUALKOT GOVT. LOWER PRIMARY SCHOOL	1	
479	CHURACHANDPUR-1403	14030204702	S. GANGPIJANG JBS (ADC)	5	
480	CHURACHANDPUR-1403	14030309601	S. GELTUI PRIMARY SCHOOL	2	
481	CHURACHANDPUR-1403	14030106701	S. KOTLIAN JBS	6	
482	CHURACHANDPUR-1403	14030100601	S. MOLCHAM JBS	8	
483	CHURACHANDPUR-1403	14030305601	S. MOLLEN JBS	5	
484	CHURACHANDPUR-1403	14030103801	S. MONGKOT GOVT. LPS	1	
485	CHURACHANDPUR-1403	14030610701	S. NABIL JBS (ADC)	4	
486	CHURACHANDPUR-1403	14030113104	SABUAL PRIMARY SCHOOL	2	
487	CHURACHANDPUR-1403	14030612801	SADUKHOIROI JBS (ADC)	4	
488	CHURACHANDPUR-1403	14030202801	SAGANG HR SEC SCHOOL	4	
489	CHURACHANDPUR-1403	14030202803	SAGANGKHUNOU JBS (ADC)	6	
490	CHURACHANDPUR-1403	14030117101	SAIBOH GOVT. HIGH SCHOOL	6	
491	CHURACHANDPUR-1403	14030303901	SAICHANG UPPER PRIMARY SCHOOL	4	
492	CHURACHANDPUR-1403	14030606801	SAICHANG UPS (ADC)	6	
493	CHURACHANDPUR-1403	14030102801	SAIDAN UPS	15	
494	CHURACHANDPUR-1403	14030605802	SAIHUM PRIMARY SCHOOL	2	
495	CHURACHANDPUR-1403	14030103101	SAIKOT GOVT. H/S	5	
496	CHURACHANDPUR-1403	14030122101	SAIPUM GOVT. JR. H/S	4	
497	CHURACHANDPUR-1403	14030204601	SAITON KHULLEN JBS (ADC)	5	
498	CHURACHANDPUR-1403	14030204501	SAITON KHUNOU JBS (ADC)	5	
499	CHURACHANDPUR-1403	14030200802	SAMULAMLAN PRIMARY SCHOOL	1	
500	CHURACHANDPUR-1403	14030115201	SANGAIKOT JBS	7	
501	CHURACHANDPUR-1403	14030607701	SANGLEL JBS (ADC)	3	
502	CHURACHANDPUR-1403	14030605901	SANTING JBS (ADC)	7	
503	CHURACHANDPUR-1403	14030122501	SEHKEN JBS	4	
504	CHURACHANDPUR-1403	14030101101	SEILAL JBS	9	
505	CHURACHANDPUR-1403	14030207801	SEMPANJANG JBS (ADC)	6	
506	CHURACHANDPUR-1403	14030304001	SIALNAH JBS	4	

L	IST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
507	CHURACHANDPUR-1403	14030205201	SIDEN CHANGPIKOT JBS (ADC)	6
508	CHURACHANDPUR-1403	14030308701	SIMBUK LPS	1
509	CHURACHANDPUR-1403	14030118101	SINGHEU JBS	7
510	CHURACHANDPUR-1403	14030306201	SINGNGAT GOVT. H/S	5
511	CHURACHANDPUR-1403	14030206601	SONGDOCHEPU JBS (ADC)	4
512	CHURACHANDPUR-1403	14030615701	SONGKOT PRIMARY SCHOOL	2
513	CHURACHANDPUR-1403	14030104601	SONGPEH JBS	3
514	CHURACHANDPUR-1403	14030600501	SONGPHU JBS (ADC)	3
515	CHURACHANDPUR-1403	14030112001	SONGPI GOVT. UPS	2
516	CHURACHANDPUR-1403	14030300101	SUANGDOH GOVT. JR. H/S	1
517	CHURACHANDPUR-1403	14030300104	SUANGDOH PRIMARY SCHOOL	1
518	CHURACHANDPUR-1403	14030305501	SUMCHINVUM JBS	4
519	CHURACHANDPUR-1403	14030105601	SUMKHOHEN JR. H/S	3
520	CHURACHANDPUR-1403	14030121001	T DAIJANG UPPER PRIMARY SCHOOL	5
521	CHURACHANDPUR-1403	14030115401	T. BONGPIJANG JBS	3
522	CHURACHANDPUR-1403	14030615001	T. GANGPIJANG JBS (ADC)	5
523	CHURACHANDPUR-1403	14030120201	T. KAIZAKHUP GOVT. JR. H/S	3
524	CHURACHANDPUR-1403	14030308501	T. KHAJANG JBS	3
525	CHURACHANDPUR-1403	14030307401	T. SINGTAM JBS	5
526	CHURACHANDPUR-1403	14030111301	T. TANGNUAM GOVT. UPS	4
527	CHURACHANDPUR-1403	14030116001	T. VAJANG GOVT. LPS	2
528	CHURACHANDPUR-1403	14030205702	T.MUNNOMJANG PRIMARY SCHOOL	2
529	CHURACHANDPUR-1403	14030119401	TANGMUAL JBS	7
530	CHURACHANDPUR-1403	14030113501	TANGNUAM JBS	7
531	CHURACHANDPUR-1403	14030303701	TANGPIJOL JBS	3
532	CHURACHANDPUR-1403	14030611601	TEIJANG JBS (ADC)	5
533	CHURACHANDPUR-1403	14030101301	TEISENG JBS	9
534	CHURACHANDPUR-1403	14030110701	THANGKHAI GOVT. H/S	3
535	CHURACHANDPUR-1403	14030600701	THANGSI JBS (ADC)	7
536	CHURACHANDPUR-1403	14030304502	THEIGOTANG PRIMARY SCHOOL	2
537	CHURACHANDPUR-1403	14030209701	THENJANG JBS (ADC)	8
538	CHURACHANDPUR-1403	14030120701	THENMUOL JBS	13
539	CHURACHANDPUR-1403	14030102701	THINGCHOM UPPER PRIMARY SCHOOL	3
540	CHURACHANDPUR-1403	14030113701	THINGKANGPHAI JBS	13
541	CHURACHANDPUR-1403	14030608701	THINGKEU JR. H/S (GOVT)	3
542	CHURACHANDPUR-1403	14030607102	TINGMUN LPS (GOVT)	1
543	CHURACHANDPUR-1403	14030614201	TOKPA KABUI JR. H/S (GOVT)	6

SL. NO. DISTRICT NAME UDISE CODE SCHOOL NAME 544 CHURACHANDPUR-1403 14030107201 TOLLEN JBS 545 CHURACHANDPUR-1403 14030612001 TONGLHANG JBS (ADC) 546 CHURACHANDPUR-1403 14030306801 TONGLON (P) LPS 547 CHURACHANDPUR-1403 14030302901 TONGLON (T) JBS 548 CHURACHANDPUR-1403 14030106500 TORBUNG GOVT. LPS 550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO 555 CHURACHANDPUR-1403 14030301201 TUIKUI MUALLUM JBS	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS 6 7 2 4 9 2 2 6 5 6 5 6 6 1 1 1 1 1 1 1 1
545 CHURACHANDPUR-1403 14030612001 TONGLHANG JBS (ADC) 546 CHURACHANDPUR-1403 14030306801 TONGLON (P) LPS 547 CHURACHANDPUR-1403 14030306601 TONGLON (T) JBS 548 CHURACHANDPUR-1403 14030302901 TONJANG JBS 549 CHURACHANDPUR-1403 14030106500 TORBUNG GOVT. LPS 550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	7 2 4 9 2 2 6 5 6
546 CHURACHANDPUR-1403 14030306801 TONGLON (P) LPS 547 CHURACHANDPUR-1403 14030306601 TONGLON (T) JBS 548 CHURACHANDPUR-1403 14030302901 TONJANG JBS 549 CHURACHANDPUR-1403 14030106500 TORBUNG GOVT. LPS 550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	2 4 9 2 2 6 5 6
547 CHURACHANDPUR-1403 14030306601 TONGLON (T) JBS 548 CHURACHANDPUR-1403 14030302901 TONJANG JBS 549 CHURACHANDPUR-1403 14030106500 TORBUNG GOVT. LPS 550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	4 9 2 2 6 5 6
548 CHURACHANDPUR-1403 14030302901 TONJANG JBS 549 CHURACHANDPUR-1403 14030106500 TORBUNG GOVT. LPS 550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	9 2 2 6 5 6
549 CHURACHANDPUR-1403 14030106500 TORBUNG GOVT. LPS 550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	2 2 6 5 6
550 CHURACHANDPUR-1403 14030104301 TUAITENGPHAI GOVT H/S 551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	2 6 5 6
551 CHURACHANDPUR-1403 14030100301 TUIBUANG GOVT. H/S 552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	6 5 6
552 CHURACHANDPUR-1403 14030120601 TUIBUL JBS 553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	5
553 CHURACHANDPUR-1403 14030120901 TUIKHAM JBS 554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	6
554 CHURACHANDPUR-1403 14030301202 TUIKUI MUALLUM PRIMARY SCHO	
	OI 2
555 CHIIDACHANIDDID 1402 14020201201 THUZHMATATTIMATE	OL 2
555 CHURACHANDPUR-1403 14030301201 TUIKUIMUALLUM JBS	4
556 CHURACHANDPUR-1403 14030609901 TUILUMJANG JBS (ADC)	7
557 CHURACHANDPUR-1403 14030104401 TUINING GOVT. JR. H/S	6
558 CHURACHANDPUR-1403 14030110502 TUINOM JBS (ADC)	5
559 CHURACHANDPUR-1403 14030103601 TUINUPHAI JBS	3
560 CHURACHANDPUR-1403 14030202601 TUIRINGPHAISEN JR. H/S (GOVT)	2
561 CHURACHANDPUR-1403 14030102901 TUITHAPI JBS	6
562 CHURACHANDPUR-1403 14030300202 TUIVELJANG PRIMARY SCHOOL	2
563 CHURACHANDPUR-1403 14030600901 UKHA LOIKHAI JBS (ADC)	8
564 CHURACHANDPUR-1403 14030609101 V MUNLAI PRIMARY SCHOOL	1
565 CHURACHANDPUR-1403 14030607801 VANTUNGBUNG JBS (ADC)	3
566 CHURACHANDPUR-1403 14030110401 VIMALA RAINA GOVT. H/S	10
567 CHURACHANDPUR-1403 14030307201 VOKBUAL (M) JBS	4
568 CHURACHANDPUR-1403 14030614601 VUMHAO H/S (GOVT)	3
569 CHURACHANDPUR-1403 14030614701 VUNGBUK JR. H/S (GOVT)	2
570 CHURACHANDPUR-1403 14030119101 VUNGZAGEN GOVT. H/S	5
571 CHURACHANDPUR-1403 14030115901 ZOMI ZION GOVT. LPS	2
572 CHURACHANDPUR-1403 14030613901 ZOUNOI JBS (ADC)	5
573 IMPHAL EAST-1407 14070104502 ACHANBIGEI GOVT. JUNIOR H/S	13
574 IMPHAL EAST-1407 14070105601 AISHAN GORKHA P/S	1
575 IMPHAL EAST-1407 14070204623 ANANDA SINGH HIGHER SECONDARY SCHOOL	3
576 IMPHAL EAST-1407 14070206210 ANDRO (GOVT.) HIGH SCHOOL	4
577 IMPHAL EAST-1407 14070205203 ANDRO KHOIBU P/S	3
578 IMPHAL EAST-1407 14070206201 ANDRO MACHENGPAT P/S	3
579 IMPHAL EAST-1407 14070206209 ANDRO MAHENDONG P/S	5
580 IMPHAL EAST-1407 14070206212 ANDRO PRIMARY SCHOOL	3

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
581	IMPHAL EAST-1407	14070206216	ANDRO SANAPAT PRIMARY SCHOOL	3
582	IMPHAL EAST-1407	14070100302	ANGOM LAWAI KOINING P/S	5
583	IMPHAL EAST-1407	14070100301	ANGOM LAWAI UPPER P/S	3
584	IMPHAL EAST-1407	14070204901	ANGTHA KHUNOU P/S	3
585	IMPHAL EAST-1407	14070205101	ANGTHA P/S	3
586	IMPHAL EAST-1407	14070202806	ARAPTI MAMANG LEIKAI PRIMARY SCHOOL	2
587	IMPHAL EAST-1407	14070202802	ARAPTI PRIMARY SCHOOL	5
588	IMPHAL EAST-1407	14070100601	AWANG KONGPAL MALOTI P/S	10
589	IMPHAL EAST-1407	14070108301	AWANG NGAIRANGBAM P/S	3
590	IMPHAL EAST-1407	14070104006	AWANG POTSANGBAM KHNU UPPER P/S	3
591	IMPHAL EAST-1407	14070205901	AZAD HIGHER SEC.SCHOOL	7
592	IMPHAL EAST-1407	14070201604	BAMON KAMPU UPPER PRIMARY SCHOOL	7
593	IMPHAL EAST-1407	14070206405	BASHIKHONG JUNIOR HIGH SCHOOL	6
594	IMPHAL EAST-1407	14070206701	BASHIKHONG MAKHA LEIRAK MANUNG PRIMARY SCHOOL	2
595	IMPHAL EAST-1407	14070200102	BRAHMAPUR UPPER PRIMARY SCHOOL	5
596	IMPHAL EAST-1407	14070105703	BUNGLUNG GORKHA P/S	2
597	IMPHAL EAST-1407	14070103901	CHALLOU P/S	5
598	IMPHAL EAST-1407	14070203102	CHANAM SANDROK UPPER PRIMARY SCHOOL	5
599	IMPHAL EAST-1407	14070206103	CHANGAMDABI KANGLA UKOK P/S	3
600	IMPHAL EAST-1407	14070206101	CHANGAMDABI P/S	4
601	IMPHAL EAST-1407	14070107202	CHANUNG P/S	2
602	IMPHAL EAST-1407	14070202302	CHAOBOK KABUI PRIMARY SCHOOL	5
603	IMPHAL EAST-1407	14070100801	CHINGANGBAM LEIKAI UPPER P/S	9
604	IMPHAL EAST-1407	14070202303	CHINGKHAM PRIMARY SCHOOL	5
605	IMPHAL EAST-1407	14070102904	CHINGKHEI LOKMANG P/S	2
606	IMPHAL EAST-1407	14070204503	CHINGMEIRONG UPPER P/S	15
607	IMPHAL EAST-1407	14070102003	CHINGNUNGKHOK P.S	4
608	IMPHAL EAST-1407	14070204401	EASTERN IDEAL HIGH SCHOOL	2
609	IMPHAL EAST-1407	14070201202	GURUPAT PRIMARY SCHOOL	9
610	IMPHAL EAST-1407	14070105605	HANGOIPAT PRIMARY SCHOOL	2
611	IMPHAL EAST-1407	14070108601	HARAOROU COSMOPOLITAN P/S	4
612	IMPHAL EAST-1407	14070104904	HEINGANG AWANG LEIKAI P/S	5
613	IMPHAL EAST-1407	14070104903	HEINGANG H/S	9
614	IMPHAL EAST-1407	14070105202	HEINGANG K. M. M.UPPER P/S	6

L	IST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	7): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
615	IMPHAL EAST-1407	14070104907	HEINGANG P/S	5
616	IMPHAL EAST-1407	14070205202	HEINOUBOK P/S	1
617	IMPHAL EAST-1407	14070205001	HUIKAP HIGH SCHOOL	6
618	IMPHAL EAST-1407	14070104805	IBEMCHA H/S	5
619	IMPHAL EAST-1407	14070201601	IRILBUNG HIGH SCHOOL	7
620	IMPHAL EAST-1407	14070201605	IRILBUNG PRIMARY SCHOOL	5
621	IMPHAL EAST-1407	14070107805	ISHIKA KHUNOU P/S	2
622	IMPHAL EAST-1407	14070107804	ISHINGTHEMBI P/S	2
623	IMPHAL EAST-1407	14070102505	ITAM KHUNOU P/S	2
624	IMPHAL EAST-1407	14070102501	ITAM NUNGOI P/S	2
625	IMPHAL EAST-1407	14070205501	ITHAM P/S	2
626	IMPHAL EAST-1407	14070204527	JAI HIND HIGH SCHOOL	8
627	IMPHAL EAST-1407	14070203301	K.B CHANDRA UPPER PRIMARY SCHOOL	7
628	IMPHAL EAST-1407	14070105201	KAIRANG AWANG LEIKAI P/S	4
629	IMPHAL EAST-1407	14070105203	KAIRANG KHUNJIL P/M	7
630	IMPHAL EAST-1407	14070105101	KAIRANG UPPER P/S	5
631	IMPHAL EAST-1407	14070102906	KAMBONGPUT P/S	2
632	IMPHAL EAST-1407	14070103501	KAMENG UPPER P.S	2
633	IMPHAL EAST-1407	14070103601	KANGHU CHINGJIL P.S	4
634	IMPHAL EAST-1407	14070100401	KANGLA SANGOMSHANG P/S	8
635	IMPHAL EAST-1407	14070100201	KANGLA SIPHAI UPPER P/S	4
636	IMPHAL EAST-1407	14070107403	KEIBI KHULLEN P/S	3
637	IMPHAL EAST-1407	14070107101	KEIBI TARETKHUL P/S	5
638	IMPHAL EAST-1407	14070201401	KEIKHU KABUI UPPER PRIMARY SCHOOL	4
639	IMPHAL EAST-1407	14070104102	KEIKOL P/S	5
640	IMPHAL EAST-1407	14070202104	KEIRAO BITRA PRIMARY SCHOOL	6
641	IMPHAL EAST-1407	14070202105	KEIRAO CHINGDONG PRIMARY SCHOOL	2
642	IMPHAL EAST-1407	14070202606	KEIRAO MAKTING JUNIOR HIGH SCHOOL	4
643	IMPHAL EAST-1407	14070202603	KEIRAO MANGYA NOORUL BIBI PRIMARY MADRASSA	6
644	IMPHAL EAST-1407	14070202604	KEIRAO PRIMARY MADRASSA	4
645	IMPHAL EAST-1407	14070202101	KEIRAO SOCIAL PRIMARY SCHOOL	6
646	IMPHAL EAST-1407	14070203201	KHANAROK PRIMARY SCHOOL	6
647	IMPHAL EAST-1407	14070102801	KHARASOM P.S	3
648	IMPHAL EAST-1407	14070202006	KHERGAO AWANG SABAL LEIKAI PRIMARY SCHOOL	9

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
649	IMPHAL EAST-1407	14070106601	KHEWA COMAPANY P/S	3
650	IMPHAL EAST-1407	14070101101	KHUMIDOK ARAPTI KHABI UPPER P/S	8
651	IMPHAL EAST-1407	14070107701	KHUNDRAKPAM AWANG LEIKAI P/S	6
652	IMPHAL EAST-1407	14070107706	KHUNDRAKPAM CHINGKHU H/S	7
653	IMPHAL EAST-1407	14070204801	KHURAI AHONGEI P/S	13
654	IMPHAL EAST-1407	14070101302	KHURAI HEIGRUMAKHONG H/S	11
655	IMPHAL EAST-1407	14070101602	KHURAI POPULAR H/S	11
656	IMPHAL EAST-1407	14070202902	KIYAMGEI AWANG LEIKAI PRIMARY MADRASSA	5
657	IMPHAL EAST-1407	14070202507	KIYAMGEI KHOIROM LEIKAI PRIMARY SCHOOL	3
658	IMPHAL EAST-1407	14070202903	KIYAMGEI PRIMARY MADRASSA	5
659	IMPHAL EAST-1407	14070202503	KIYAMGEI UPPER PRIMARY SCHOOL	4
660	IMPHAL EAST-1407	14070202501	KIYANGEI HEIBONG MAKHONG PRIMARY SCHOOL	7
661	IMPHAL EAST-1407	14070206403	KONGBA IRONG UPPER PRIMARY SCHOOL	5
662	IMPHAL EAST-1407	14070200402	KONGPAL IMPHAL MORNING HIGH SCHOOL	16
663	IMPHAL EAST-1407	14070104802	KONTHA NEW P/S	6
664	IMPHAL EAST-1407	14070201704	KSHETRI TOP PRIMARY SCHOOL	5
665	IMPHAL EAST-1407	14070205603	LAIKHONG P/S	2
666	IMPHAL EAST-1407	14070203803	LAIKON UPPER PRIMARY SCHOOL	4
667	IMPHAL EAST-1407	14070104910	LAIRENJAO H/S	3
668	IMPHAL EAST-1407	14070105401	LAIRIKYENGBAM AWANG LK. P/S	6
669	IMPHAL EAST-1407	14070105404	LAIRIKYENGBAM LEIKAI H/S	5
670	IMPHAL EAST-1407	14070204201	LAISHRAM DEVA HIGH SCHOOL	5
671	IMPHAL EAST-1407	14070107001	LAMBOIKHUL UPPER P/S	4
672	IMPHAL EAST-1407	14070204805	LAMLONG HR. SEC. SCHOOL	10
673	IMPHAL EAST-1407	14070105501	LAMLONGEI P/S	5
674	IMPHAL EAST-1407	14070100101	LAMPHEL H/S	7
675	IMPHAL EAST-1407	14070203302	LANGDUM PRIMARY SCHOOL	4
676	IMPHAL EAST-1407	14070103801	LEIMAKHONG MAPAL P/S	5
677	IMPHAL EAST-1407	14070202402	LILONG HAO SANTIPUR PRIMARY SCHOOL	3
678	IMPHAL EAST-1407	14070105702	LIROK P/S	1
679	IMPHAL EAST-1407	14070103701	LOUSHANGKHONG P.S	4
680	IMPHAL EAST-1407	14070104603	LUWANGSHANGBAM UPPER P/S	6
681	IMPHAL EAST-1407	14070200601	MADAN MOHON JUNIOR HIGH SCHOOL	10

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
682	IMPHAL EAST-1407	14070200207	MAHABALI RONGMEI UPPER PRIMARY SCHOOL	5
683	IMPHAL EAST-1407	14070104301	MAIBAKHUL P/S	6
684	IMPHAL EAST-1407	14070206402	MAIMOM LEIKAI PRIMARY SCHOOL	6
685	IMPHAL EAST-1407	14070105705	MAKENG NGULROU P/S	1
686	IMPHAL EAST-1407	14070203104	MARING PHUNAL JUNIOR HIGH SCHOOL	2
687	IMPHAL EAST-1407	14070104702	MATAI P/S	4
688	IMPHAL EAST-1407	14070200304	MEITEI MAYEK HIGH SCHOOL	10
689	IMPHAL EAST-1407	14070204702	MINUTHONG FAIZA HIGH MADRASSA	5
690	IMPHAL EAST-1407	14070204501	MINUTHONG KABUI UPPER P/S	7
691	IMPHAL EAST-1407	14070200101	MODERN JUNIOR HIGH SCHOOL	5
692	IMPHAL EAST-1407	14070100502	MOIRANG KAMPU P/S	5
693	IMPHAL EAST-1407	14070100501	MOIRANG KAMPU SAJEB UPPER P/S	6
694	IMPHAL EAST-1407	14070205304	MOIRANGPUREL PRIMARY SCHOOL	2
695	IMPHAL EAST-1407	14070104401	MONGJAM UPPER P/S	6
696	IMPHAL EAST-1407	14070108101	MOROK INGKHOL P/S	3
697	IMPHAL EAST-1407	14070105604	MUNLIAN PRIMARY SCHOOL	2
698	IMPHAL EAST-1407	14070200405	MUTUM LEIKAI PRIMARY SCHOOL	5
699	IMPHAL EAST-1407	14070201501	NAHARUP PRIMARY SCHOOL	11
700	IMPHAL EAST-1407	14070203702	NAOREM BABU PRIMARY SCHOOL	6
701	IMPHAL EAST-1407	14070204204	NAOREM LEIKAI PRIMARY SCHOOL	10
702	IMPHAL EAST-1407	14070103902	NAPET PALLI P/S	5
703	IMPHAL EAST-1407	14070205002	NGARIYAN P/S	3
704	IMPHAL EAST-1407	14070203503	NINGOMTHONG WANGKHEI NONGPOK PRIMARY SCHOOL	7
705	IMPHAL EAST-1407	14070205805	NINGTHOUNAI CHINGYA LEIKAI P/S	2
706	IMPHAL EAST-1407	14070205803	NINGTHOUNAI P/S	6
707	IMPHAL EAST-1407	14070103201	NONGDAM P/S	2
708	IMPHAL EAST-1407	14070103101	NONGPOK HEIROK P/S	2
709	IMPHAL EAST-1407	14070205602	NONGPOK KEITHELMANBI P/S	3
710	IMPHAL EAST-1407	14070103402	NONGREN H.S	1
711	IMPHAL EAST-1407	14070103301	NONGREN P/S	3
712	IMPHAL EAST-1407	14070201702	NOOR ALI PRIMARY MADRASSA	5
713	IMPHAL EAST-1407	14070205601	NUNGBRANG P/S	1
714	IMPHAL EAST-1407	14070206106	NUNGGAIPOKPI P/S	4
715	IMPHAL EAST-1407	14070102101	OKSU NINGTHECHA KHULUPPER P.S	5
716	IMPHAL EAST-1407	14070203601	P.K. UPPER PRIMARY SCHOOL	10
717	IMPHAL EAST-1407	14070108801	PANGEI UPPER P/S	4

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	Y): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
718	IMPHAL EAST-1407	14070201503	PANGONG MAKHONG UPPER PRIMARY SCHOOL	5
719	IMPHAL EAST-1407	14070101202	PHAKNUNG MAKHA LEIKAI P/S	2
720	IMPHAL EAST-1407	14070101201	PHAKNUNG P/S	1
721	IMPHAL EAST-1407	14070205703	POIROUKHONGJIL HIGH SCHOOL	9
722	IMPHAL EAST-1407	14070202010	POROMPAT SABAL LEIKAI HIGH SCHOOL	3
723	IMPHAL EAST-1407	14070107601	POURABI JR. H/S	4
724	IMPHAL EAST-1407	14070106301	PUKHAO AHALLUP JR. H/S	4
725	IMPHAL EAST-1407	14070106501	PUKHAO LAIPHAM P/S	5
726	IMPHAL EAST-1407	14070106001	PUKHAO LEITANPOKPI UPPER P/S	4
727	IMPHAL EAST-1407	14070106201	PUKHAO TERAPUR P/S	4
728	IMPHAL EAST-1407	14070102201	PUNGDONGBAM P.S	6
729	IMPHAL EAST-1407	14070107002	PURUM PANGAL SAMOM P/S	4
730	IMPHAL EAST-1407	14070203003	RAJENDRO PRIMARY SCHOOL	4
731	IMPHAL EAST-1407	14070101501	S. IBOBI P/S	6
732	IMPHAL EAST-1407	14070101901	SABUNGKHOK UPPER PRIMARY SCHOOL	1
733	IMPHAL EAST-1407	14070106702	SAGOLMANG H/S	4
734	IMPHAL EAST-1407	14070108401	SAMBEI P/S	2
735	IMPHAL EAST-1407	14070103001	SANGSABI P/S	1
736	IMPHAL EAST-1407	14070204303	SARDA PRIMARY SCHOOL	4
737	IMPHAL EAST-1407	14070108201	SAROUTHEL P/S	1
738	IMPHAL EAST-1407	14070102503	SAWOMBUNG H/S	4
739	IMPHAL EAST-1407	14070100403	SAWOMBUNG KABUI KHUNOU P/S	5
740	IMPHAL EAST-1407	14070102502	SAWOMBUNG P/S	5
741	IMPHAL EAST-1407	14070103802	SEIJANG P.S	3
742	IMPHAL EAST-1407	14070102301	SEKTA P/S	2
743	IMPHAL EAST-1407	14070107903	SIJA P/S	4
744	IMPHAL EAST-1407	14070108001	SINAM UPPER P/S	5
745	IMPHAL EAST-1407	14070102701	TAKHEL P.S	3
746	IMPHAL EAST-1407	14070102901	TAKHEL SANJENBAM P.S	5
747	IMPHAL EAST-1407	14070206601	TAKHOK MAKHA PRIMARY MADRASSA	3
748	IMPHAL EAST-1407	14070203901	TAKHOK MAPAL HIGH SCHOOL	5
749	IMPHAL EAST-1407	14070108701	TANGKHAM P/S	4
750	IMPHAL EAST-1407	14070102001	TELLOU CHANA UPPER P/S	8
751	IMPHAL EAST-1407	14070202011	THAMBALKHONG JUNIOR HIGH SCHOOL	6
752	IMPHAL EAST-1407	14070204605	THAMCHET HIGH SCHOOL	24

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	(): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
753	IMPHAL EAST-1407	14070101902	THAMNAPOKPI P/S	3
754	IMPHAL EAST-1407	14070101701	THANGJAM KHUNOU P/S	6
755	IMPHAL EAST-1407	14070100901	THARO P/S	4
756	IMPHAL EAST-1407	14070202201	THIYAM KONJIL HIGH SCHOOL	2
757	IMPHAL EAST-1407	14070204302	THONGJU JUNIOR HIGH SCHOOL	6
758	IMPHAL EAST-1407	14070201706	TOP BENGOON UPPER PRIMARY SCHOOL	10
759	IMPHAL EAST-1407	14070206006	TOP CHINGTHA KHUNOU P/S	10
760	IMPHAL EAST-1407	14070200703	TOP DUSARA HIGH SCHOOL	4
761	IMPHAL EAST-1407	14070200704	TOP MAKHA UPPER PRIMARY SCHOOL	5
762	IMPHAL EAST-1407	14070204404	TORBAN KSHTRI LEIKAI PRIMARY SCHOOL	6
763	IMPHAL EAST-1407	14070205903	TULIHAL MAYAI LEIKAI P.M.	2
764	IMPHAL EAST-1407	14070205908	TULIHAL PRIMARY SCHOOL	1
765	IMPHAL EAST-1407	14070203802	UCHEKON PRIMARY SCHOOL	6
766	IMPHAL EAST-1407	14070206219	UCHOL PRIMARY SCHOOL	1
767	IMPHAL EAST-1407	14070206223	UNAMNPON PRIMARY SCHOOL	2
768	IMPHAL EAST-1407	14070202701	URUP AWANG LEIKAI PRIMARY MADRASSA	9
769	IMPHAL EAST-1407	14070202704	URUP HIGH SCHOOL	6
770	IMPHAL EAST-1407	14070202705	URUP PRIMARY SCHOOL	5
771	IMPHAL EAST-1407	14070106906	UYUMPOK NUNGSHUM P/S	2
772	IMPHAL EAST-1407	14070107602	WAIRI MANI YAISKUL P/S	8
773	IMPHAL EAST-1407	14070107901	WAITON P/S	4
774	IMPHAL EAST-1407	14070200901	WAKHA PRIMARY SCHOOL	4
775	IMPHAL EAST-1407	14070106903	WAKHONG P/S	1
776	IMPHAL EAST-1407	14070200210	WANGKHEI HIGH SCHOOL	4
777	IMPHAL EAST-1407	14070204001	WANGKHEI KONGBA PRIMARY SCHOOL	6
778	IMPHAL EAST-1407	14070203401	WANGKHEM PRIMARY SCHOOL	4
779	IMPHAL EAST-1407	14070105001	Y. TAMPHA HIGH SCHOOL	7
780	IMPHAL EAST-1407	14070101903	YAINGANGPOKPI P.S	2
781	IMPHAL EAST-1407	14070205801	YAMBEM UPPER P/S	4
782	IMPHAL EAST-1407	14070105802	YENGKHUMAN P/S	2
783	IMPHAL EAST-1407	14070110201	YOURBUNG KHUNOU P/S	1
784	IMPHAL EAST-1407	14070102601	YOURBUNG P.S	4
785	IMPHAL EAST-1407	14070107801	YUMNAM KHUNOU JR. H/S	4
786	IMPHAL EAST-1407	14070106801	YUMNAM PATLOU P/S	4
787	IMPHAL WEST-1406	14060200701	AKHAM P.S.	5

Ll	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
788	IMPHAL WEST-1406	14060206301	ATOM KHUMAN P.S.	4
789	IMPHAL WEST-1406	14060203601	AWANG KHUNOU LEIKAI P.S	7
790	IMPHAL WEST-1406	14060202801	AWANG LEIKINTHABI P.S.	4
791	IMPHAL WEST-1406	14060211801	AWANG POTSANGBAM HIGH SCHOOL	6
792	IMPHAL WEST-1406	14060211901	AWANG WABAGAI P.S	2
793	IMPHAL WEST-1406	14060203802	AWANGJIRI UPS	3
794	IMPHAL WEST-1406	14060311001	BENGOON AWANG PRIMARY MADRASSA	4
795	IMPHAL WEST-1406	14060311101	BENGOON HIGHER SECONDARY SCHOOL	3
796	IMPHAL WEST-1406	14060311801	BENGOON MAMANG PRIMARY MADRASSA	3
797	IMPHAL WEST-1406	14060311002	BENGOON MANING UPPER PRIMARY SCHOOL	5
798	IMPHAL WEST-1406	14060311003	BENGOON SABAL PRIMARY MADRASSA	4
799	IMPHAL WEST-1406	14060100502	BHEIRODHAN MAXWEL HINDI HIGH SCHOOL	10
800	IMPHAL WEST-1406	14060200402	BUDHIMANJURI HIGH SCHOOL	6
801	IMPHAL WEST-1406	14060300903	CANCHIPUR HIGH SCHOOL	1
802	IMPHAL WEST-1406	14060208102	CH.TULASING HIGH SCHOOL	6
803	IMPHAL WEST-1406	14060311301	CHABUNG COMPANY MAKHA PRIMARY SCHOOL	4
804	IMPHAL WEST-1406	14060311303	CHABUNG COMPANY PRIMARY SCHOOL	5
805	IMPHAL WEST-1406	14060308801	CHAJING KANGJEIBUNG JUNIOR HIGH SCHOOL	4
806	IMPHAL WEST-1406	14060309001	CHAJING MAIRENKHONG UPPER PRIMARY SCHOOL	8
807	IMPHAL WEST-1406	14060308701	CHAJING MAMANG PRIMARY SCHOOL	6
808	IMPHAL WEST-1406	14060205202	CHANGANGEI Jr H/S	10
809	IMPHAL WEST-1406	14060205201	CHANGANGEI KABUI P.S.	6
810	IMPHAL WEST-1406	14060310601	CHAROIBUNG KABUI PRIMARY SCHOOL	3
811	IMPHAL WEST-1406	14060304508	CHINGTHAM LEIKAI POPULAR JUNIOR HIGH SCHOOL	6
812	IMPHAL WEST-1406	14060311401	CHIRAI UPPER PRIMARY SCHOOL	5
813	IMPHAL WEST-1406	14060307701	CHONGTHAM KONA PRIMARY SCHOOL	6
814	IMPHAL WEST-1406	14060200310	DEAF AND MUTE SCHOOL	4
815	IMPHAL WEST-1406	14060205501	GHARI UPS	4

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
816	IMPHAL WEST-1406	14060100204	GURUKUL HIJAM DEWAN JUNIOR HIGH SCHOOL	5
817	IMPHAL WEST-1406	14060300301	HANGOOL AHALLUP PRIMARY SCHOOL	3
818	IMPHAL WEST-1406	14060101707	HAOBAM MARAK H.A. H/S	5
819	IMPHAL WEST-1406	14060206401	HAORANG KEIREL P.S.	3
820	IMPHAL WEST-1406	14060200601	HAORANG SABAL P.S.	6
821	IMPHAL WEST-1406	14060309501	HAOREIBI AWANG UPPER PRIMARY SCHOOL	5
822	IMPHAL WEST-1406	14060309601	HAOREIBI JUNIOR HIGH SCHOOL	5
823	IMPHAL WEST-1406	14060201101	HEIBONGPOKPI high school	3
824	IMPHAL WEST-1406	14060207001	HEIBONGPOKPI LAIRENKABI UPPER PRIMARY SCHOOL	6
825	IMPHAL WEST-1406	14060204901	HEIGRUJAM GOVT. HIGH SCHOOL.	7
826	IMPHAL WEST-1406	14060205601	HEINOUBOK P.S.	6
827	IMPHAL WEST-1406	14060304507	HEINOUKHONGNEMBI UPPER PRIMARY SCHOOL	4
828	IMPHAL WEST-1406	14060102003	HEIRANGOITHONG H.S.	6
829	IMPHAL WEST-1406	14060304402	HEIRANGOITHONG JUNIOR HIGH SCHOOL	4
830	IMPHAL WEST-1406	14060208204	HINDI SECONDARY SCHOOL (KANGLATOMBI)	4
831	IMPHAL WEST-1406	14060200101	IBEMCHA P.S.	5
832	IMPHAL WEST-1406	14060200309	IDEAL BLIND SCHOOL	2
833	IMPHAL WEST-1406	14060307601	IRAM SIPHAI MAMANG UPPER PRIMARY SCHOOL	4
834	IMPHAL WEST-1406	14060307603	IRAM SIPHAI PRIMARY SCHOOL	3
835	IMPHAL WEST-1406	14060100902	IROISHEMBA UPPER PRIMARY SCHOOL	1
836	IMPHAL WEST-1406	14060308002	IROM MEIJRAO HIGH SCHOOL	4
837	IMPHAL WEST-1406	14060308003	IROM MEIJRAO NEW PRIMARY SCHOOL	5
838	IMPHAL WEST-1406	14060205703	JOYPUR KHUL P.S.	6
839	IMPHAL WEST-1406	14060203101	KACHIKHUL JR. H/S	3
840	IMPHAL WEST-1406	14060207201	KADANGBAND UPS	1
841	IMPHAL WEST-1406	14060101302	KAKHULONG JUNIOR HIGH SCHOOL	5
842	IMPHAL WEST-1406	14060208201	KANGLATOMBI MANTRIPAL UPPER PRIMARY SCHOOL	5
843	IMPHAL WEST-1406	14060203705	KANGMONG LANGOLJAM P.S.	4
844	IMPHAL WEST-1406	14060203704	KANGMONG MAISNAM P.S.	4
845	IMPHAL WEST-1406	14060203701	KANGMONG TONGBRAM P.S.	4
846	IMPHAL WEST-1406	14060208001	KANTO KHULLEN P.S.	3

LI	LIST OF SCHOOLS APPROVED FOR TEACHER RESOURCE PACKAGE (PRIMARY): 2022-23				
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS	
847	IMPHAL WEST-1406	14060208002	KANTO TOLAMU P.S.	3	
848	IMPHAL WEST-1406	14060208003	KANTOSABAL P.S.	3	
849	IMPHAL WEST-1406	14060309101	KARAM JUNIOR HIGH SCHOOL	8	
850	IMPHAL WEST-1406	14060102306	KEBOL H.SCHOOL	18	
851	IMPHAL WEST-1406	14060101602	KEISHAMTHONG MODEL HIGH SCHOOL.	11	
852	IMPHAL WEST-1406	14060204302	KHA JIRI MANING UPPER PRIMARY SCHOOL	4	
853	IMPHAL WEST-1406	14060205001	KHABI P.S.	2	
854	IMPHAL WEST-1406	14060203903	KHABI BAMDIAR H.S.	9	
855	IMPHAL WEST-1406	14060301601	KHAGEMBA JUNIOR HIGH SCHOOL	5	
856	IMPHAL WEST-1406	14060204801	KHAIDEM UPS	3	
857	IMPHAL WEST-1406	14060304509	KHA-IMPHAL HIGH SCHOOL	7	
858	IMPHAL WEST-1406	14060202301	KHAMARAL UPS	3	
859	IMPHAL WEST-1406	14060100302	KHOMDRAM SHELUNGBA UPPER PRIMARY SCHOOL	4	
860	IMPHAL WEST-1406	14060201901	KHONGHAMPAT H.S.	7	
861	IMPHAL WEST-1406	14060202101	KHONGHAMPAT KHUNOU P.S.	5	
862	IMPHAL WEST-1406	14060301401	KHONGNANG PHEIDEKPI PRIMARY SCHOOL	4	
863	IMPHAL WEST-1406	14060300104	KHORDAK KHONGBAL PRIMARY SCHOOL	4	
864	IMPHAL WEST-1406	14060205901	KHUMBONG UPPER PRIMARY SCHOOL	5	
865	IMPHAL WEST-1406	14060210402	KHUNDI TRIBAL P.S.	5	
866	IMPHAL WEST-1406	14060100102	KHUNTHOKNGANGBI UPPER PRIMARY SCHOOL	4	
867	IMPHAL WEST-1406	14060207903	KHURKHUL LEIRIJAO UPS	3	
868	IMPHAL WEST-1406	14060207905	KHURKHUL NO. 1 P.S.	13	
869	IMPHAL WEST-1406	14060203201	KIYAM P.S	5	
870	IMPHAL WEST-1406	14060303805	KODOMPOKPI MAYAI LEIKAI PRIMARY SCHOOL	9	
871	IMPHAL WEST-1406	14060310501	KOKCHAI JUNIOR HIGH SCHOOL	3	
872	IMPHAL WEST-1406	14060300502	KOMLAKHONG UPPER PRIMARY SCHOOL	3	
873	IMPHAL WEST-1406	14060310702	KONCHAK PRIMARY SCHOOL	5	
874	IMPHAL WEST-1406	14060204504	KONTHOUJAM MAKHA KHABAM HIGH SCHOOL.	4	
875	IMPHAL WEST-1406	14060204502	KONTHOUJAM MANING TRIBAL PS	3	
876	IMPHAL WEST-1406	14060204503	KONTHOUJAM P.S.	3	
877	IMPHAL WEST-1406	14060300108	KONUMA PRIMARY SCHOOL	2	
878	IMPHAL WEST-1406	14060207301	KOUTRUK P.S.	6	

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
879	IMPHAL WEST-1406	14060304205	KUMARI HIGH SCHOOL	11
880	IMPHAL WEST-1406	14060101706	KWAKEITHEL GIRLS. H.S.	2
881	IMPHAL WEST-1406	14060304502	KWAKEITHEL LAISHRAM LEIKAI UPPER PRIMARY SCHOOL	6
882	IMPHAL WEST-1406	14060100104	LAIJINGNINGTHOU JUNIOR HIGH SCHOOL	5
883	IMPHAL WEST-1406	14060303701	LAIRENJAM JUNIOR HIGH SCHOOL	8
884	IMPHAL WEST-1406	14060303703	LAIRENJAM SABAL UPPER PRIMARY SCHOOL	4
885	IMPHAL WEST-1406	14060207101	LAIRENSAJIK P.S.	3
886	IMPHAL WEST-1406	14060100303	LALAMBUNG HIGH SCHOOL.	6
887	IMPHAL WEST-1406	14060201201	LAMBAL P.S.	3
888	IMPHAL WEST-1406	14060201402	LAMDENG H.S.	3
889	IMPHAL WEST-1406	14060304506	LAMDONG HEINOUKHONGNEMBI UPPER PRIMARY SCHOOL	7
890	IMPHAL WEST-1406	14060203102	LAMDONG SANGAITHEL UPS	2
891	IMPHAL WEST-1406	14060206902	LAMLONGEI P.S.	2
892	IMPHAL WEST-1406	14060210601	LAMSANG AWANG LEIKAI P.S.	5
893	IMPHAL WEST-1406	14060201304	LAMSANG BAZAR P.S.	5
894	IMPHAL WEST-1406	14060205401	LANGJING H.S.	5
895	IMPHAL WEST-1406	14060100716	LANGOLNINGTHOU PRIMARY SCHOOL	3
896	IMPHAL WEST-1406	14060312201	LANGTHABAL KABUI PRIMARY SCHOOL	7
897	IMPHAL WEST-1406	14060309301	LANGTHABAL KUNJA JUNIOR HIGH SCHOOL	14
898	IMPHAL WEST-1406	14060300701	LANGTHABAL MANTRIKHONG UPPER PRIMARY SCHOOL	6
899	IMPHAL WEST-1406	14060303902	LANGTHABAL NAMBUL MAPAL JUNIOR HIGH SCHOOL	7
900	IMPHAL WEST-1406	14060304001	LANGTHABAL PHURAMAKHONG UPPER PRIMARY SCHOOL	9
901	IMPHAL WEST-1406	14060300105	LAPHUPAT TERA UPPER PRIMARY SCHOOL	5
902	IMPHAL WEST-1406	14060307101	LEIPHRAKPAM MAKHA LEIKAI PRIMARY SCHOOL	5
903	IMPHAL WEST-1406	14060307102	LEIPHRAKPAM PRIMARY SCHOOL	5
904	IMPHAL WEST-1406	14060100114	LILASHINGKHONGNANGKHONG HIGH SCHOOL	7
905	IMPHAL WEST-1406	14060308902	LILONG JUNIOR HIGH SCHOOL	5
906	IMPHAL WEST-1406	14060207701	LOITANG KHUNOU P.S.	3
907	IMPHAL WEST-1406	14060202702	LOITANG P.S.	4
908	IMPHAL WEST-1406	14060203502	LUKER MODEL P/S	3

LI	ST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
909	IMPHAL WEST-1406	14060209601	LUWANGBUNG NILAPADMA UPS	7
910	IMPHAL WEST-1406	14060202401	MAHARABI P.S.	4
911	IMPHAL WEST-1406	14060100601	MAHATAMA GANDHI SAMARAK JUNIOR HIGH SCHOOL	9
912	IMPHAL WEST-1406	14060203301	MAKLANG H/S	6
913	IMPHAL WEST-1406	14060303203	MALOM AWANG UPPER PRIMARY SCHOOL	4
914	IMPHAL WEST-1406	14060312002	MALOM TULIHAL PRIMARY SCHOOL	3
915	IMPHAL WEST-1406	14060200902	MANAKHUL P.S.	6
916	IMPHAL WEST-1406	14060310801	MAYANG IMPHAL MODEL JUNIOR HIGH SCHOOL	2
917	IMPHAL WEST-1406	14060310201	MAYANG IMPHAL THANA LEIRENSANA JUNIOR HIGH SCHOOL	4
918	IMPHAL WEST-1406	14060310401	MAYANG IMPHAL THANA MANING PRIMARY SCHOOL	4
919	IMPHAL WEST-1406	14060200801	MAYANGLANGJING U.P.S.	3
920	IMPHAL WEST-1406	14060303401	MEITRAM PRIMARY SCHOOL	4
921	IMPHAL WEST-1406	14060303803	MEKOLA JUNIOR HIGH SCHOOL	6
922	IMPHAL WEST-1406	14060200204	MODERN P.S.	12
923	IMPHAL WEST-1406	14060205804	MOIDANGPOK KHUNOU JR. H.S.	4
924	IMPHAL WEST-1406	14060308601	MOIRANG SUBEDAR UPPER PRIMARY SCHOOL	10
925	IMPHAL WEST-1406	14060101801	MOIRANGKHOM JUNIOR HIGH SCHOOL	9
926	IMPHAL WEST-1406	14060304403	MONGSHANGEI UPPER PRIMARY SCHOOL	4
927	IMPHAL WEST-1406	14060306201	MUTUM PHIBOU UPPER PRIMARY SCHOOL	3
928	IMPHAL WEST-1406	14060204401	NAMBOL MONGJING P.S.	4
929	IMPHAL WEST-1406	14060307501	NAOREM CHAPROU JUNIOR HIGH SCHOOL	3
930	IMPHAL WEST-1406	14060100805	NAOREMTHONG UPPER PRIMARY SCHOOL.	6
931	IMPHAL WEST-1406	14060309201	NARAN KONJIL MAMANG UPPER PRIMARY SCHOOL	4
932	IMPHAL WEST-1406	14060302202	NARAN KONJIL MAYAI UPPER PRIMARY SCHOOL	3
933	IMPHAL WEST-1406	14060304103	NINGOMBAM JUNIOR HIGH SCHOOL	5
934	IMPHAL WEST-1406	14060200901	NONGCHUP KAMENG P.S.	4
935	IMPHAL WEST-1406	14060306101	NUNGTHELLEIMA PRIMARY SCHOOL	5
936	IMPHAL WEST-1406	14060203603	O.GOKULCHAND HIGH SCHOOL	4
937	IMPHAL WEST-1406	14060306902	OINAM PRIMARY MADRASSA	5
938	IMPHAL WEST-1406	14060306901	OINAM WANGOI PRIMARY SCHOOL	4

L	IST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
939	IMPHAL WEST-1406	14060306601	PAOBITEK HIGH SCHOOL	2
940	IMPHAL WEST-1406	14060306103	PAOBITEK PANGAL SIPHAI P/M	3
941	IMPHAL WEST-1406	14060205301	PATSOI KHUNOU UPS	5
942	IMPHAL WEST-1406	14060205304	PATSOI TULIHAL NEW P.S.	5
943	IMPHAL WEST-1406	14060205302	PATSOI TULIYAIMA UPS	6
944	IMPHAL WEST-1406	14060101904	PETTIGREW JR. H.S.	4
945	IMPHAL WEST-1406	14060206704	PHAYENG H.S.	7
946	IMPHAL WEST-1406	14060206701	PHAYENG KANGJEIBUNG UPS.	4
947	IMPHAL WEST-1406	14060204201	PHOIJING CHINGMANG P.S.	5
948	IMPHAL WEST-1406	14060204101	PHOIJING CHINGNING P.S.	4
949	IMPHAL WEST-1406	14060300401	PHOUBAKCHAO HIGH SCHOOL	3
950	IMPHAL WEST-1406	14060207401	PHUMLOU UPPER PRIMARY SCHOOL	3
951	IMPHAL WEST-1406	14060201602	PRAJA H.S.	8
952	IMPHAL WEST-1406	14060206006	RECENT HR. SEC. SCHOOL	3
953	IMPHAL WEST-1406	14060206201	S.K. IDEAL H. SCHOOL	3
954	IMPHAL WEST-1406	14060101104	SAGOLBAND POPULAR UPPER PRIMARY SCHOOL	5
955	IMPHAL WEST-1406	14060102304	SAGOLBAND RISHIKUL UPPER PRIMARY SCHOOL	7
956	IMPHAL WEST-1406	14060206003	SAGOLTONGBA MAKHA P.S.	6
957	IMPHAL WEST-1406	14060206501	SAIREMKHUL UPPER PRIMARY SCHOOL	3
958	IMPHAL WEST-1406	14060204701	SAJIROK P.S.	4
959	IMPHAL WEST-1406	14060203001	SALAM P/S	6
960	IMPHAL WEST-1406	14060307302	SAMUROU HIGH SCHOOL	2
961	IMPHAL WEST-1406	14060307401	SAMUROU MAKHA PRIMARY SCHOOL	5
962	IMPHAL WEST-1406	14060307301	SAMUROU PRIMARY SCHOOL	6
963	IMPHAL WEST-1406	14060303504	SAMUSANG SHANTIPUR UPPER PRIMARY SCHOOL	5
964	IMPHAL WEST-1406	14060200401	SANGAIPROU (KABUI) P.S.	14
965	IMPHAL WEST-1406	14060206801	SANJENBAM P.S.	4
966	IMPHAL WEST-1406	14060200202	SAPAM LEIRAK P.S.	13
967	IMPHAL WEST-1406	14060200304	SARDAR PATEL MEMORIAL P.S.	4
968	IMPHAL WEST-1406	14060210001	SEKMAI KHUNOU KANGJEIBUNG UPS	4
969	IMPHAL WEST-1406	14060300202	SEKMAIJIN HIGH SCHOOL	2
970	IMPHAL WEST-1406	14060207502	SENJAM KHUNOU P.S.	7
971	IMPHAL WEST-1406	14060101802	SHYAMASHIKHI HIGH SCHOOL	7
972	IMPHAL WEST-1406	14060100101	SINAM NODIA UPPER PRIMARY SCHOOL	6

LI	ST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
973	IMPHAL WEST-1406	14060102202	SINGJAMEI CHHATRA VIDYALAYA UPS	5
974	IMPHAL WEST-1406	14060102004	SINGJAMEI CHINGAMAKHA H.S.	14
975	IMPHAL WEST-1406	14060101315	T.G. MONTESSORI	2
976	IMPHAL WEST-1406	14060206601	TAIRENPOKPI P.S.	3
977	IMPHAL WEST-1406	14060308101	TAKHELAMBAM PRIMARY SCHOOL	4
978	IMPHAL WEST-1406	14060200301	TAKYEL KHONGBAL HIGH SCHOOL	3
979	IMPHAL WEST-1406	14060200302	TAKYEL KHONGBAL P.S.	5
980	IMPHAL WEST-1406	14060200305	TAKYEL MAPAL UPS	3
981	IMPHAL WEST-1406	14060205102	TAOBUNGKHOK UPS	3
982	IMPHAL WEST-1406	14060205101	TAOBUNGKHOK HIGH SCHOOL	2
983	IMPHAL WEST-1406	14060201801	TAOTHONG AYUNGBA P.S.	6
984	IMPHAL WEST-1406	14060304202	TARAHEI KONJIL P/M	7
985	IMPHAL WEST-1406	14060202501	TENDONGYAN JR. H.S.	2
986	IMPHAL WEST-1406	14060300103	TERA KHONG AHANBI P/S	2
987	IMPHAL WEST-1406	14060300106	TERA KHUNOU P/S	2
988	IMPHAL WEST-1406	14060206901	TERAURAK P.S.	3
989	IMPHAL WEST-1406	14060100203	THANGMEIBAND KHOYATHONG TOMBISANA HIGH SCHOOL	6
990	IMPHAL WEST-1406	14060204002	THANGTEK JR. H.S.	3
991	IMPHAL WEST-1406	14060203905	THANGTEK TERA PRIMARY SCHOOL	2
992	IMPHAL WEST-1406	14060203402	THAROIJAM MANING P.S	5
993	IMPHAL WEST-1406	14060306401	THIYAM LEISHANGKHONG HIGH SCHOOL	1
994	IMPHAL WEST-1406	14060202901	TINGRI P.S.	4
995	IMPHAL WEST-1406	14060305801	TOP SIPHAI PRIMARY SCHOOL	3
996	IMPHAL WEST-1406	14060305701	TOP UPOKPI UPPER PRIMARY SCHOOL	2
997	IMPHAL WEST-1406	14060302403	UCHIWA AWANG PRIMARY SCHOOL	2
998	IMPHAL WEST-1406	14060302404	UCHIWA HIGH SCHOOL	4
999	IMPHAL WEST-1406	14060302406	UCHIWA WANGBAL P.M	2
1000	IMPHAL WEST-1406	14060100802	URIPOK KHAMLANGBA POPULAR PRIMARY SCHOOL	5
1001	IMPHAL WEST-1406	14060100903	URIPOK TONDONSANA AND CH. THAMBOUMACHA HIGH SCHOOL	13
1002	IMPHAL WEST-1406	14060101102	WAHENGBAM LEIKA JUNIOR HIGH SCHOOL	3
1003	IMPHAL WEST-1406	14060102204	WAIKHOM LEIKAI UPS	13
1004	IMPHAL WEST-1406	14060308201	WAKCHING KHULLEN JUNIOR HIGH SCHOOL	5
1005	IMPHAL WEST-1406	14060307001	WANGOI HIGH SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	(): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1006	IMPHAL WEST-1406	14060306702	WANGOI KABUI PRIMARY SCHOOL	5
1007	IMPHAL WEST-1406	14060306701	WANGOI MAKHA LEIKAI PRIMARY SCHOOL	2
1008	IMPHAL WEST-1406	14060101902	YUMJAO LAIREMBI P.S.	6
1009	IMPHAL WEST-1406	14060306003	YUMNAM HUIDROM HIGH SCHOOL	4
1010	IMPHAL WEST-1406	14060206101	YUREMBAM H.S.	8
1011	IMPHAL WEST-1406	14060206103	YUREMBAM KABUI P.S.	6
1012	JIRIBAM-1413	14130300701	ABOMPUNJEE L/P	1
1013	JIRIBAM-1413	14130304601	AGLAPUR PS	5
1014	JIRIBAM-1413	14130304201	AHAMADABAD HIGH SCHOOL	8
1015	JIRIBAM-1413	14130303801	BABUKHAL P/S	1
1016	JIRIBAM-1413	14130303102	BAKHAL GOVT. UPPER P/S	4
1017	JIRIBAM-1413	14130300501	BHAIBONI L/P	2
1018	JIRIBAM-1413	14130305402	BHAWMIKPARA BENGALI P/S	1
1019	JIRIBAM-1413	14130305401	BHUMIKPARA PS	4
1020	JIRIBAM-1413	14130306901	BHUTANGKHAL UPPER PRIMARY SCHOOL	4
1021	JIRIBAM-1413	14130304102	BIDYANAGAR P/S	3
1022	JIRIBAM-1413	14130300101	BINSELU L.P	2
1023	JIRIBAM-1413	14130305102	BOROBEKRA L/P	3
1024	JIRIBAM-1413	14130303501	BOROIKHAL P/S	4
1025	JIRIBAM-1413	14130302802	CHAMPANAGAR P/S	3
1026	JIRIBAM-1413	14130300401	CHANDRANATHPUR L/P	5
1027	JIRIBAM-1413	14130305004	CHHOTOBEKRA BENGALI P/S	3
1028	JIRIBAM-1413	14130305001	CHHOTOBEKRA H/S	4
1029	JIRIBAM-1413	14130302502	CHINGDONG LEIKAI UPPER P/S	3
1030	JIRIBAM-1413	14130302201	CHOUDHURIKHAL L/P	2
1031	JIRIBAM-1413	14130301602	DHOLAKHAL P/S	2
1032	JIRIBAM-1413	14130301902	DHOLAKHAL PUNJI L/P	4
1033	JIRIBAM-1413	14130302401	DIBONG JR.H/S	4
1034	JIRIBAM-1413	14130306201	DIBONG KHUNOU P/S	3
1035	JIRIBAM-1413	14130301201	DURGAPUR GOVT. L/P	1
1036	JIRIBAM-1413	14130304704	EAST LALPANI P/S	1
1037	JIRIBAM-1413	14130304902	EAST SONAPUR P/S	2
1038	JIRIBAM-1413	14130301304	GOAKHAL P/S	2
1039	JIRIBAM-1413	14130305501	HARINAGAR P/S	2
1040	JIRIBAM-1413	14130303901	HILGHAT L/P	2
1041	JIRIBAM-1413	14130303001	ISLAMABAD L/P	1
1042	JIRIBAM-1413	14130304001	JAIROLPOKPI P/S	4

LIS	T OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1043	JIRIBAM-1413	14130301501	JAKURADHAR L/P	3
1044	JIRIBAM-1413	14130301601	JAKURADHAR PART II P/S	1
1045	JIRIBAM-1413	14130305201	JATRAPUR P/S	1
1046	JIRIBAM-1413	14130306701	JIRIGHAT HIGH SCHOOL	4
1047	JIRIBAM-1413	14130300601	JIRIMUKH L/P	1
1048	JIRIBAM-1413	14130302601	KADAMTALA P/S	3
1049	JIRIBAM-1413	14130305602	KALINAGAR P/S	4
1050	JIRIBAM-1413	14130304501	KASHIMPUR P/S	4
1051	JIRIBAM-1413	14130306101	KASTURBA GIRLS' HIGH SCHOOL	4
1052	JIRIBAM-1413	14130307101	KHEDAGARH PRIMARY SCHOOL	1
1053	JIRIBAM-1413	14130304702	LALPANI P/S	6
1054	JIRIBAM-1413	14130301105	LATINGKHAL KATOURA L/P	3
1055	JIRIBAM-1413	14130301103	LATINGKHAL P/S	5
1056	JIRIBAM-1413	14130303701	LEINGANGPOKPI UPPER P/S	4
1057	JIRIBAM-1413	14130304402	LEISHABITHOL UPPER P/S	3
1058	JIRIBAM-1413	14130300901	MIKIRPUNJI UPPER PRIMARY SCHOOL	2
1059	JIRIBAM-1413	14130301401	MODHUPUR L/P	1
1060	JIRIBAM-1413	14130304002	MONGBUNG P/S	4
1061	JIRIBAM-1413	14130306902	MOULKHANGTHOL LP	1
1062	JIRIBAM-1413	14130301503	NAYAN CHANDRA L/P	1
1063	JIRIBAM-1413	14130300301	NUNGPHOU P/S	1
1064	JIRIBAM-1413	14130301305	NUNGSHEKPUNJI L.P/S	1
1065	JIRIBAM-1413	14130304801	NUNKHAL L/P	4
1066	JIRIBAM-1413	14130301904	NUTAN LALPANI P.S	4
1067	JIRIBAM-1413	14130301202	NUTON DURGAPUR P/S	1
1068	JIRIBAM-1413	14130302901	RASHIDPUR UPPER PRIMARY SCHOOL	1
1069	JIRIBAM-1413	14130303401	SABUGHAT P/S	1
1070	JIRIBAM-1413	14130305003	SAIKHULPHAI LP. SCHOOL	2
1071	JIRIBAM-1413	14130304901	SONAPUR P/S	5
1072	JIRIBAM-1413	14130303902	SOROK ATINGBI HIGH SCHOOL	2
1073	JIRIBAM-1413	14130301802	THANGBOIPUNJI L/P	1
1074	JIRIBAM-1413	14130301801	TUPIDHOR L/P	1
1075	JIRIBAM-1413	14130303301	UCHATHOL P/S	3
1076	KAKCHING-1414	14140203308	ARONG HIGH SCHOOL	1
1077	KAKCHING-1414	14140203302	ARONG KHUNOU HEIBONG KEIDONGBI P/S	1
1078	KAKCHING-1414	14140203301	ARONG KHUNOU PRIMARY SCHOOL	1

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1079	KAKCHING-1414	14140203303	ARONG NONGMAIKHONG UPPER PRIMARY SCHOOL.	1
1080	KAKCHING-1414	14140204103	CHAIREL HIGH SCHOOL	1
1081	KAKCHING-1414	14140203201	ELANGKHANPOKPI JUNIOR HIGH SCHOOL	3
1082	KAKCHING-1414	14140203504	HANGOON MAMANG PRIMARY SCHOOL	2
1083	KAKCHING-1414	14140203501	HANGOON PRIMARY MADRASSA	3
1084	KAKCHING-1414	14140200104	HAWAIROU PRIMARY SCHOOL	3
1085	KAKCHING-1414	14140203101	HIYANGLAM PRIMARY SCHOOL	3
1086	KAKCHING-1414	14140203401	HIYANGLAM AWANG HANJA HIDEN PRIMARY SCHOOL	3
1087	KAKCHING-1414	14140203102	HIYANGLAM AWANG PRIMARY SCHOOL	4
1088	KAKCHING-1414	14140203103	HIYANGLAM MAKHA PRIMARY SCHOOL	5
1089	KAKCHING-1414	14140203104	HIYANGLAM MAYAI IBETOMBI PRIMARY SCHOOL	2
1090	KAKCHING-1414	14140203105	HIYANGLAM TUREL MANBI PRIMARY SCHOOL	2
1091	KAKCHING-1414	14140200101	IRENGBAND UPPER PRIMARY SCHOOL	5
1092	KAKCHING-1414	14140205905	KAK. KHUNOU CHEKSAPAT PRIMARY SCHOOL.	5
1093	KAKCHING-1414	14140202101	KAKCHING HIGH SCHOOL	4
1094	KAKCHING-1414	14140201402	KAKCHING CENTRAL UPPER PRIMARY SCHOOL	5
1095	KAKCHING-1414	14140201101	KAKCHING KHULLEL NEW PRIMARY SCHOOL	7
1096	KAKCHING-1414	14140201702	KAKCHING KHULLEL UPPER PRIMARY SCHOOL	3
1097	KAKCHING-1414	14140205601	KAKCHING KHUNOU HIGH SCHOOL.	1
1098	KAKCHING-1414	14140205301	KAKCHING KHUNOU NEW PRIMARY SCHOOL	4
1099	KAKCHING-1414	14140202301	KAKCHING KHUNYAI LEIKAI UPPER PRIMARY SCHOOL	6
1100	KAKCHING-1414	14140201603	KAKCHING LOUMI UPPER PRIMARY SCHOOL	4
1101	KAKCHING-1414	14140201602	KAKCHING MAKHA HIGH SCHOOL	6
1102	KAKCHING-1414	14140201001	KAKCHING TUREL WANGMA JUNIOR HIGH SCHOOL	3
1103	KAKCHING-1414	14140200602	KAKCHING WAIRI JUNIOR HIGH SCHOOL .	3
1104	KAKCHING-1414	14140202002	KEIRAK AWANG PRIMARY SCHOOL	5

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1105	KAKCHING-1414	14140202001	KEIRAK PRIMARY MADRASSA	5
1106	KAKCHING-1414	14140202004	KEIRAK UPPER PRIMARY SCHOOL	7
1107	KAKCHING-1414	14140206901	KHOIDUM UPPER PRIMARY SCHOOL	1
1108	KAKCHING-1414	14140206801	KHONGYAM PRIMARY SCHOOL	1
1109	KAKCHING-1414	14140202903	KOMNAO PRIMARY SCHOOL	1
1110	KAKCHING-1414	14140202601	LAIMANAI PRIMARY SCHOOL	2
1111	KAKCHING-1414	14140203314	LAIROK PRIMARY SCHOOL.	1
1112	KAKCHING-1414	14140202801	LAMJAO NEW PRIMARY SCHOOL	4
1113	KAKCHING-1414	14140202802	LAMJAO TEJPUR PRIMARY SCHOOL	5
1114	KAKCHING-1414	14140202803	LAMJAO UPPER PRIMARY SCHOOL	4
1115	KAKCHING-1414	14140202501	LANGMEIDONG PRIMARY SCHOOL	3
1116	KAKCHING-1414	14140202701	LAPHUPAT TERA PRIMARY SCHOOL	1
1117	KAKCHING-1414	14140203901	NUNGOO KHONGYAM PRIMARY SCHOOL	2
1118	KAKCHING-1414	14140200201	PALLEL JUNIOR HIGH SCHOOL	3
1119	KAKCHING-1414	14140200213	PALLEL MANINGCHING PRIMARY SCHOOL	2
1120	KAKCHING-1414	14140203803	PANGANTABI UPPER PRIMARY SCHOOL	2
1121	KAKCHING-1414	14140203405	PHOUBAKCHAO LAIPHAM UPPER PRIMARYSCHOOL	2
1122	KAKCHING-1414	14140202202	PRACTISING JUNIOR HIGH SCHOOL. DIET KAKCHING	8
1123	KAKCHING-1414	14140203304	SARIK KONJILPRIMARY SCHOOL	2
1124	KAKCHING-1414	14140203403	SEKMAIJIN KHUNOU KOMLAKHONG MAMANG PRIMARY SCHOOL.	1
1125	KAKCHING-1414	14140203404	SEKMAIJIN PRIMARY SCHOOL.	2
1126	KAKCHING-1414	14140203602	SEROU BENGALI PRIMARY SCHOOL.	2
1127	KAKCHING-1414	14140203601	SEROU MANIPURI UPPER PRIMARY SCHOOL.	4
1128	KAKCHING-1414	14140200207	SORA HIGH SCHOOL	1
1129	KAKCHING-1414	14140200206	SORA KAKCHING PRIMARY MADRASSA	5
1130	KAKCHING-1414	14140200106	SORA KHUNOU UPPER PRIMARY SCHOOL	2
1131	KAKCHING-1414	14140200212	SORA TERAHOUBI PRIMARY SCHOOL	2
1132	KAKCHING-1414	14140204803	SUGNU HIGHER SECONDARY SCHOOL	4
1133	KAKCHING-1414	14140203802	TANGJENG KHUNOU PRIMARY SCHOOL.	1
1134	KAKCHING-1414	14140202901	THONGJAO PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1135	KAKCHING-1414	14140202401	THOUNAOJAM UPPER PRIMARY SCHOOL	4
1136	KAKCHING-1414	14140203306	TOKPACHING PRIMARY SCHOOL.	2
1137	KAKCHING-1414	14140201901	WABAGAI AWANG LEIKAI PRIMARY SCHOOL	4
1138	KAKCHING-1414	14140201904	WABAGAI LEIRAK ACHOUBA PRIMARY SCHOOL	1
1139	KAKCHING-1414	14140201905	WABAGAI TERAURAK HIGH SCHOOL	3
1140	KAKCHING-1414	14140201913	WABAGAI THAMBAL CHINGYA PRIMARY SCHOOL	2
1141	KAKCHING-1414	14140201903	WABAGAI THAMBALANGOU PRIMARY SCHOOL	4
1142	KAKCHING-1414	14140201912	WABAGAI THINGEL LEIKAI PRIMARY SCHOOL	1
1143	KAKCHING-1414	14140203002	WAIKHONG HIGH SCHOOL	5
1144	KAKCHING-1414	14140206201	WAIKHONG UYUNG KHUNOU PRIMARY SCHOOL.	2
1145	KAKCHING-1414	14140204006	WANGOO LAIPHAM AWANG P/S.	2
1146	KAKCHING-1414	14140204001	WANGOO LAIPHAM MAKHA UPPER PRIMARY SCHOOL	2
1147	KAKCHING-1414	14140204005	WANGOO LAIPHAM UPPER PRIMARY SCHOOL	1
1148	KAKCHING-1414	14140204102	WANGOO SABAL UPPER PRIMARY SCHOOL	1
1149	KAKCHING-1414	14140204007	WANGOO TERA HIGH SCHOOL.	2
1150	KAKCHING-1414	14140204002	WANGOO WARUKOK PRIMARY SCHOOL.	1
1151	KAMJONG-1415	14150404601	AISHI PS	4
1152	KAMJONG-1415	14150301001	ALANG P/S	4
1153	KAMJONG-1415	14150404501	BUNGPA AWUNGTANG PS	6
1154	KAMJONG-1415	14150400901	BUNGPA KHULLEN PS	1
1155	KAMJONG-1415	14150400501	BUNGPA KHUNOU PS	3
1156	KAMJONG-1415	14150303801	CHADONG MAPHAO UPS	1
1157	KAMJONG-1415	14150405701	CHAHONG KL PS	2
1158	KAMJONG-1415	14150401501	CHAHONG KN PS	2
1159	KAMJONG-1415	14150401701	CHAHONG PHALUNG P/S	4
1160	KAMJONG-1415	14150404001	CHAMU HIGH SCHOOL	2
1161	KAMJONG-1415	14150404701	CHASSAD PS	9
1162	KAMJONG-1415	14150401301	CHATRIC HS	2
1163	KAMJONG-1415	14150401601	CHATRIC KN PS	4
1164	KAMJONG-1415	14150506001	CHITUWA P/S	3

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMAR	Y): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1165	KAMJONG-1415	14150502101	CHONGDANG PS	4
1166	KAMJONG-1415	14150301501	CHUNGKA PS	6
1167	KAMJONG-1415	14150405901	GAMPAL P/S	4
1168	KAMJONG-1415	14150404401	GRIHANG SARDAR PATEL HIGH SCHOOL	2
1169	KAMJONG-1415	14150301301	H GODAH PS	3
1170	KAMJONG-1415	14150404901	HANGKAW PS	2
1171	KAMJONG-1415	14150501202	HONGBEI KASOM P/S	2
1172	KAMJONG-1415	14150502301	ITHAM PS	2
1173	KAMJONG-1415	14150500401	ITHAM PS	4
1174	KAMJONG-1415	14150503801	K ASHANG KL PS	3
1175	KAMJONG-1415	14150402601	K LANGLI PS	3
1176	KAMJONG-1415	14150500801	KANGKUM PS	2
1177	KAMJONG-1415	14150503901	KANGOI PS	5
1178	KAMJONG-1415	14150400201	KANGPAT HS	5
1179	KAMJONG-1415	14150400601	KANGPAT KHULLEN PS	3
1180	KAMJONG-1415	14150400301	KANGPAT KHUNOU PS	4
1181	KAMJONG-1415	14150500101	KASHUNG HS	5
1182	KAMJONG-1415	14150503101	KASOM KHULLEN HIGH SCHOOL	3
1183	KAMJONG-1415	14150502901	KASOM KN PS	4
1184	KAMJONG-1415	14150303302	KHAMBI P/S	5
1185	KAMJONG-1415	14150502601	KHAMLANG PS	9
1186	KAMJONG-1415	14150404101	KHAYANG UPS	14
1187	KAMJONG-1415	14150405201	KHOIKAI PS	1
1188	KAMJONG-1415	14150502803	KHOIRIPOK UPPER UPS	2
1189	KAMJONG-1415	14150301601	KHONGJAL PS	2
1190	KAMJONG-1415	14150503301	KHONGLO PS	5
1191	KAMJONG-1415	14150502701	KHUNTHAK PS	6
1192	KAMJONG-1415	14150303101	KOSO PS	6
1193	KAMJONG-1415	14150303501	KUMRAM UPS	5
1194	KAMJONG-1415	14150302701	L KHUNTHAK PS	5
1195	KAMJONG-1415	14150501501	LAIRAM KL UPS	7
1196	KAMJONG-1415	14150502201	LAIRAM PHUNGKA PS	2
1197	KAMJONG-1415	14150502401	LAIRAM PHUNGKA PS	5
1198	KAMJONG-1415	14150403001	LAKHAN PS	3
1199	KAMJONG-1415	14150402002	LANGKHE PS	1
1200	KAMJONG-1415	14150501301	LEIHAORAM PS	8
1201	KAMJONG-1415	14150304201	LEINGANGCHING UPS	3

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMA	RY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1202	KAMJONG-1415	14150302901	LEISHI P/S	2
1203	KAMJONG-1415	14150301101	LEITING P/S	6
1204	KAMJONG-1415	14150304001	LOUPHONG PS	5
1205	KAMJONG-1415	14150301701	LOUSHING P/S	5
1206	KAMJONG-1415	14150501801	LOWER KHOIRIPOK PS	4
1207	KAMJONG-1415	14150301901	LUNGPHU HS	1
1208	KAMJONG-1415	14150303701	MAILIANG P/S	5
1209	KAMJONG-1415	14150403901	MAKU H/S	2
1210	KAMJONG-1415	14150501403	MANTHOURAM PS	1
1211	KAMJONG-1415	14150501401	MANTHOURAM PS	4
1212	KAMJONG-1415	14150401401	MAOKOT HS	1
1213	KAMJONG-1415	14150302001	MAROU P/S	3
1214	KAMJONG-1415	14150402801	MATIYANG PS	1
1215	KAMJONG-1415	14150502001	MAWAI HS	1
1216	KAMJONG-1415	14150501101	NAMBASHI HIGH SCHOOL	4
1217	KAMJONG-1415	14150500201	NAMBASHI KN. P/S	3
1218	KAMJONG-1415	14150500302	NAMBASHI VALLEY P/S	4
1219	KAMJONG-1415	14150400801	NAMPISHA PS	4
1220	KAMJONG-1415	14150303001	NGAYOPHUNG PS	1
1221	KAMJONG-1415	14150401001	NINGCHOU PS	3
1222	KAMJONG-1415	14150405301	NINGTHI JR. H/S	3
1223	KAMJONG-1415	14150500603	NONGDAM PS	7
1224	KAMJONG-1415	14150302501	NONGMAN P/S	6
1225	KAMJONG-1415	14150303201	PATBUNG PS	3
1226	KAMJONG-1415	14150405801	PHAIMOL PS	3
1227	KAMJONG-1415	14150301201	PHALANG P/S	7
1228	KAMJONG-1415	14150302801	PHUNGYAR HR. SEC. SCHOOL	1
1229	KAMJONG-1415	14150406201	PIHANG P/S	2
1230	KAMJONG-1415	14150303601	PUNGE PS	4
1231	KAMJONG-1415	14150504101	PUNOMRAM PS	2
1232	KAMJONG-1415	14150304501	RAMREI ATO P/S	8
1233	KAMJONG-1415	14150300501	RAMREI AZE P/S	7
1234	KAMJONG-1415	14150300107	RIHA LOUTEI P/S	10
1235	KAMJONG-1415	14150403301	RONI P/S	4
1236	KAMJONG-1415	14150403302	RONI PS	1
1237	KAMJONG-1415	14150402501	SAHAMPHUNG UPS	1
1238	KAMJONG-1415	14150402301	SAMPUI PS	2
1239	KAMJONG-1415	14150301401	SHAKOK PS	4

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1240	KAMJONG-1415	14150401901	SHINGCHA PS	7
1241	KAMJONG-1415	14150301801	SHINGKAP HS	5
1242	KAMJONG-1415	14150302101	SHINGTA PS	6
1243	KAMJONG-1415	14150302602	SIBUNGTANG P/S	5
1244	KAMJONG-1415	14150304301	SIKIPHUNG LEINGANGCHING SV	2
1245	KAMJONG-1415	14150300201	SIKIPHUNG PS	3
1246	KAMJONG-1415	14150400701	SKIPE PS	1
1247	KAMJONG-1415	14150302401	SORDE HS	1
1248	KAMJONG-1415	14150300901	SOUTH TUSOM P/S	8
1249	KAMJONG-1415	14150500502	TAMACHING PRIMARY SCHOOL	5
1250	KAMJONG-1415	14150302201	TANGKHUL HUNDUNG HIGH SCHOOL	1
1251	KAMJONG-1415	14150501901	TARONG PS	5
1252	KAMJONG-1415	14150300301	THAWAI HS	2
1253	KAMJONG-1415	14150502801	UPPER KHOIRIPOK PS	4
1254	KAMJONG-1415	14150500701	WANGLEE PS	2
1255	KAMJONG-1415	14150402102	YENTEM PS	2
1256	KANGPOKPI-1410	14100202301	A. SONGPIJANG UJB SCHOOL	4
1257	KANGPOKPI-1410	14100306503	A.LEIKOT PRIMARY SCHOOL	3
1258	KANGPOKPI-1410	14100307301	AWANG LONGA KOIRENG HIGH SCHOOL	5
1259	KANGPOKPI-1410	14100300401	B. BOLJANG UJB SCHOOL	12
1260	KANGPOKPI-1410	14100201202	BETHANY PRIMARY SCHOOL	2
1261	KANGPOKPI-1410	14100200201	BETHSAIDA JUNIOR HIGH SCHOOL	9
1262	KANGPOKPI-1410	14100212901	BIJANG UJB SCHOOL	3
1263	KANGPOKPI-1410	14100306001	BILEI LOWER PRIMARY SCHOOL	2
1264	KANGPOKPI-1410	14100202801	BISHNULAL HIGH SCHOOL	5
1265	KANGPOKPI-1410	14100203201	BOLKOT JUNIOR HIGH SCHOOL	4
1266	KANGPOKPI-1410	14100318101	BONGBAL KHULLEN UJB SCHOOL	7
1267	KANGPOKPI-1410	14100116201	BONGMOL UJB SCHOOL	6
1268	KANGPOKPI-1410	14100305201	BUNGPI KHAJANG PRIMARY SCHOOL	1
1269	KANGPOKPI-1410	14100209701	BUNGTE CHIRU HIGH SCHOOL	5
1270	KANGPOKPI-1410	14100313701	C. KHOLLEN UJB SCHOOL	3
1271	KANGPOKPI-1410	14100118601	C. LAMJANG PRIMARY SCHOOL	2
1272	KANGPOKPI-1410	14100219501	C. MUNNOM UJB SCHOOL	8
1273	KANGPOKPI-1410	14100205102	CH. EBENEZER PRIMARY SCHOOL	2
1274	KANGPOKPI-1410	14100104602	CHALBA (KAILENJANG) PRIMARY SCHOOL	1
1275	KANGPOKPI-1410	14100203001	CHALBUNG UPPER PRIMARY SCHOOL	2

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	(): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1276	KANGPOKPI-1410	14100107401	CHALJANG UJB SCHOOL	5
1277	KANGPOKPI-1410	14100106801	CHALWA HIGH SCHOOL	3
1278	KANGPOKPI-1410	14100116501	CHANDMARY PRIMARY SCHOOL	2
1279	KANGPOKPI-1410	14100318801	CHANINGPOKPI HIGH SCHOOL	4
1280	KANGPOKPI-1410	14100213203	CHAROIPANDONGBA PART-III PRIMARY SCHOOL	2
1281	KANGPOKPI-1410	14100213201	CHAROIPANDONGBA UJB SCHOOL	3
1282	KANGPOKPI-1410	14100307701	CHINGDAI KHULLEN UJB SCHOOL	7
1283	KANGPOKPI-1410	14100307001	CHINGMANG HIGH SCHOOL	5
1284	KANGPOKPI-1410	14100210101	CHINI INGKHOL UJB SCHOOL	1
1285	KANGPOKPI-1410	14100106701	CHININGPOKHI PRIMARY SCHOOL	2
1286	KANGPOKPI-1410	14100315801	CHONJANG PRIMARY SCHOOL	2
1287	KANGPOKPI-1410	14100116101	D.R. KHATIWADA UJB SCHOOL	9
1288	KANGPOKPI-1410	14100104301	DAILI UJB SCHOOL	5
1289	KANGPOKPI-1410	14100314101	DENGLEN UJB SCHOOL	7
1290	KANGPOKPI-1410	14100210301	DOLANG KHUNOU HIGH SCHOOL	5
1291	KANGPOKPI-1410	14100313901	DONGSUM UJB SCHOOL	8
1292	KANGPOKPI-1410	14100308901	E. MULLAM UJB SCHOOL	5
1293	KANGPOKPI-1410	14100215301	G. LHANGJOL UJB SCHOOL	7
1294	KANGPOKPI-1410	14100215401	G. PHALBUNG UJB SCHOOL	6
1295	KANGPOKPI-1410	14100219101	G. SONGLUNG UPPER PRIMARY SCHOOL	2
1296	KANGPOKPI-1410	14100313401	GALLAM HIGH SCHOOL	5
1297	KANGPOKPI-1410	14100215201	GAMNOM UJB SCHOOL	9
1298	KANGPOKPI-1410	14100119001	GAMNOMPHAI UJB SCHOOL	10
1299	KANGPOKPI-1410	14100307501	GANGPIJANG UJB SCHOOL	5
1300	KANGPOKPI-1410	14100109701	GELBUNG UJB SCHOOL	3
1301	KANGPOKPI-1410	14100109001	GELNAL HIGHER SECONDARY SCHOOL	3
1302	KANGPOKPI-1410	14100122401	GENBIYANG PRIMARY SCHOOL	2
1303	KANGPOKPI-1410	14100112201	GHIMERATHARI PRIMARY SCHOOL	2
1304	KANGPOKPI-1410	14100120401	GOMA DEVI HIGH SCHOOL	4
1305	KANGPOKPI-1410	14100117201	GOPIBUNG UJB SCHOOL	6
1306	KANGPOKPI-1410	14100112902	GORKHA TAPON PRIMARY SCHOOL	2
1307	KANGPOKPI-1410	14100319701	GOTANGKOT UJB SCHOOL	4
1308	KANGPOKPI-1410	14100203101	GOUNGAIPHAI UJB SCHOOL	5
1309	KANGPOKPI-1410	14100108201	GOVAJANG PRIMARY SCHOOL	2
1310	KANGPOKPI-1410	14100308801	H. CHAMPHAI UJB SCHOOL	10
1311	KANGPOKPI-1410	14100326801	H. KHOPIBUNG PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1312	KANGPOKPI-1410	14100314002	H. TWINOMJANG UJB SCHOOL	4
1313	KANGPOKPI-1410	14100328601	H. YANGNOM UJB SCHOOL	5
1314	KANGPOKPI-1410	14100212401	HAIBUNG PRIMARY SCHOOL	1
1315	KANGPOKPI-1410	14100102701	HAIJANG UJB SCHOOL	6
1316	KANGPOKPI-1410	14100117301	HAIJOL LOWER PRIMARY SCHOOL	2
1317	KANGPOKPI-1410	14100108301	HAIMOL PRIMARY SCHOOL	1
1318	KANGPOKPI-1410	14100118202	HAIPI UJB SCHOOL	6
1319	KANGPOKPI-1410	14100318601	HAOKHONGCHING UPPER PRIMARY SCHOOL	3
1320	KANGPOKPI-1410	14100302001	HAPPY LAND UJB SCHOOL	3
1321	KANGPOKPI-1410	14100205801	HARAOTHEL UJB SCHOOL	4
1322	KANGPOKPI-1410	14100104901	HARUP KHOPI PRIMARY SCHOOL	1
1323	KANGPOKPI-1410	14100106001	HARUP NAGA UJB SCHOOL	3
1324	KANGPOKPI-1410	14100321701	HEINGANGLOK UJB SCHOOL	5
1325	KANGPOKPI-1410	14100322102	HEIROKLAND PRIMARY SCHOOL	1
1326	KANGPOKPI-1410	14100120001	HENGBUNG HIGH SCHOOL	4
1327	KANGPOKPI-1410	14100204601	HENGJANG PRIMARY SCHOOL	2
1328	KANGPOKPI-1410	14100315001	ICHAI LAMLAN UJB SCHOOL	6
1329	KANGPOKPI-1410	14100315101	ICHAIGOJANG UJB SCHOOL	7
1330	KANGPOKPI-1410	14100208801	ICHUM KOM UJB SCHOOL	6
1331	KANGPOKPI-1410	14100112101	IRANG PART 1 UJB SCHOOL	3
1332	KANGPOKPI-1410	14100113101	IRANG PART 2 HIGH SCHOOL	2
1333	KANGPOKPI-1410	14100204901	IRENG UJB SCHOOL	11
1334	KANGPOKPI-1410	14100318002	IRONG NGOUBIKHONG UPPER PRIMARY SCHOOL	3
1335	KANGPOKPI-1410	14100318001	IRONG TANGKHUL UJB SCHOOL	3
1336	KANGPOKPI-1410	14100102401	J. SONGTUN UJB SCHOOL	16
1337	KANGPOKPI-1410	14100316001	JALENBUNG PHAIKON PRIMARY SCHOOL	1
1338	KANGPOKPI-1410	14100205302	JAMHOI UJB SCHOOL	10
1339	KANGPOKPI-1410	14100116701	JANGMOL LOWER PRIMARY SCHOOL	2
1340	KANGPOKPI-1410	14100313801	JANGNOI UJB SCHOOL	12
1341	KANGPOKPI-1410	14100322601	K GAMNOMPHAI UJB SCHOOL	4
1342	KANGPOKPI-1410	14100206001	K. BETHEL PRIMARY SCHOOL	1
1343	KANGPOKPI-1410	14100208401	K. CHIRU UJB SCHOOL	6
1344	KANGPOKPI-1410	14100203301	K. ORPHANAGE UJB SCHOOL	4
1345	KANGPOKPI-1410	14100204201	K. PHOIPI PRIMARY SCHOOL	2
1346	KANGPOKPI-1410	14100207001	K. SONGJANG UJB SCHOOL	3
1347	KANGPOKPI-1410	14100118001	K. SONGTUN UJB SCHOOL	4

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1348	KANGPOKPI-1410	14100207301	K. TUIKUN UJB SCHOOL	6
1349	KANGPOKPI-1410	14100320901	KAIHAO TANGKHUL UJB SCHOOL	4
1350	KANGPOKPI-1410	14100115301	KALAPAHAR HIGH SCHOOL	8
1351	KANGPOKPI-1410	14100320401	KAMU KHONGSAI UJB SCHOOL	3
1352	KANGPOKPI-1410	14100319901	KAMU TAMPAK UJB SCHOOL	4
1353	KANGPOKPI-1410	14100321601	KAMU TANGNOM UPPER PRIMARY SCHOOL	3
1354	KANGPOKPI-1410	14100318901	KAMUCHING HIGH SCHOOL	4
1355	KANGPOKPI-1410	14100318902	KAMUCHINGJANG UJB SCHOOL	2
1356	KANGPOKPI-1410	14100207701	KANGCHUP CHINGKHONG JUNIOR HIGH SCHOOL	6
1357	KANGPOKPI-1410	14100206301	KANGCHUP GELJANG PRIMARY SCHOOL	2
1358	KANGPOKPI-1410	14100208001	KANGCHUP MAKHOM UJB SCHOOL	5
1359	KANGPOKPI-1410	14100206801	KANGCHUP PRIMARY SCHOOL	2
1360	KANGPOKPI-1410	14100206701	KANGCHUP SONGLUNG UJB SCHOOL	9
1361	KANGPOKPI-1410	14100120302	KANGPOKPI HIGH SCHOOL	5
1362	KANGPOKPI-1410	14100205201	KARAKHUL PRIMARY SCHOOL	5
1363	KANGPOKPI-1410	14100301001	KARPUR SUNGBA UJB SCHOOL	4
1364	KANGPOKPI-1410	14100100102	KAZANGA LOWER PRIMARY SCHOOL	2
1365	KANGPOKPI-1410	14100113703	KEITHELMANBI HIGH SCHOOL	7
1366	KANGPOKPI-1410	14100113704	KEITHELMANBI JUNIOR HIGH SCHOOL	10
1367	KANGPOKPI-1410	14100309101	KHAMEN LOK LOWER PRIMARY SCHOOL	2
1368	KANGPOKPI-1410	14100117501	KHAOCHANGBUNG UJB SCHOOL	6
1369	KANGPOKPI-1410	14100211001	KHARAM PALLEN UJB SCHOOL	8
1370	KANGPOKPI-1410	14100205901	KHARAM THADOI UJB SCHOOL	4
1371	KANGPOKPI-1410	14100206201	KHARAM VAIPHEI UJB SCHOOL	2
1372	KANGPOKPI-1410	14100320501	KHARAN TANGKHUL UJB SCHOOL	1
1373	KANGPOKPI-1410	14100114602	KHARKHOLA UJB SCHOOL	4
1374	KANGPOKPI-1410	14100108101	KHARPANI PRIMARY SCHOOL	1
1375	KANGPOKPI-1410	14100204001	KHENGJANG UJB SCHOOL	8
1376	KANGPOKPI-1410	14100210901	KHOKEN UJB SCHOOL	12
1377	KANGPOKPI-1410	14100214501	KHOKHENG JUNIOR HIGH SCHOOL	11
1378	KANGPOKPI-1410	14100308701	KHOKON UJB SCHOOL	8
1379	KANGPOKPI-1410	14100217201	KHOLEP UJB SCHOOL	4
1380	KANGPOKPI-1410	14100115001	KHOLJANG JUNIOR HIGH SCHOOL	8
1381	KANGPOKPI-1410	14100307101	KHONGBAL TANGKHUL JUNIOR HIGH SCHOOL	3

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1382	KANGPOKPI-1410	14100307201	KHONGNANGPOKPI HIGH SCHOOL	2
1383	KANGPOKPI-1410	14100212201	KHORIPOK UJB SCHOOL	6
1384	KANGPOKPI-1410	14100204501	KHUNKHO KUKI UJB SCHOOL	10
1385	KANGPOKPI-1410	14100204401	KHUNKHO NAGA UJB SCHOOL	5
1386	KANGPOKPI-1410	14100204502	KHUNKHO PRIMARY SCHOOL	2
1387	KANGPOKPI-1410	14100204801	KONSAKHUL UJB SCHOOL	6
1388	KANGPOKPI-1410	14100203801	KONTAM UJB SCHOOL	4
1389	KANGPOKPI-1410	14100214104	KOTLEN PRIMARY SCHOOL	2
1390	KANGPOKPI-1410	14100110501	KOTLEN UJB SCHOOL	9
1391	KANGPOKPI-1410	14100320001	KWAROK MARING UJB SCHOOL	5
1392	KANGPOKPI-1410	14100205702	L PHAIJANG PRIMARY SCHOOL	2
1393	KANGPOKPI-1410	14100214101	L. HENGJOL JUNIOR HIGH SCHOOL	8
1394	KANGPOKPI-1410	14100218601	L. KHOMUNOM UJB SCHOOL	10
1395	KANGPOKPI-1410	14100219401	L. MANGJOL UJB SCHOOL	6
1396	KANGPOKPI-1410	14100205403	L.PHAIKOT PRIMARY SCHOOL	2
1397	KANGPOKPI-1410	14100301501	LAIKOICHING HIGH SCHOOL	4
1398	KANGPOKPI-1410	14100120322	LAIKOT JUNIOR HIGH SCHOOL	1
1399	KANGPOKPI-1410	14100324101	LAIKOT KHUNOU UJB SCHOOL	5
1400	KANGPOKPI-1410	14100302501	LAIKOT KOM UJB SCHOOL	4
1401	KANGPOKPI-1410	14100120901	LAIKOT LOWER PRIMARY SCHOOL	2
1402	KANGPOKPI-1410	14100209101	LAIMATON THANGBUH UJB SCHOOL	5
1403	KANGPOKPI-1410	14100317801	LAIPHROK MARING UJB SCHOOL	5
1404	KANGPOKPI-1410	14100321002	LAIROK VAIPHEI PRIMARY SCHOOL	1
1405	KANGPOKPI-1410	14100112501	LAMCHOK PRIMARY SCHOOL	2
1406	KANGPOKPI-1410	14100328401	LAMLAI KHUNOU PRIMARY SCHOOL	1
1407	KANGPOKPI-1410	14100208601	LANGKA UJB SCHOOL	1
1408	KANGPOKPI-1410	14100201501	LEIKOT UJB SCHOOL	7
1409	KANGPOKPI-1410	14100219901	LEILON KHUNOU UJB SCHOOL	6
1410	KANGPOKPI-1410	14100205601	LEILON VAIPHEI UJB SCHOOL	9
1411	KANGPOKPI-1410	14100321401	LEISEMLOK UJB SCHOOL	5
1412	KANGPOKPI-1410	14100301401	LEMBAKHUL UJB SCHOOL	4
1413	KANGPOKPI-1410	14100315601	LEPLEN PRIMARY SCHOOL	2
1414	KANGPOKPI-1410	14100202201	LHANGKICHOI UJB SCHOOL	8
1415	KANGPOKPI-1410	14100120801	LHANGNOMPHAI UJB SCHOOL	3
1416	KANGPOKPI-1410	14100312601	LHUNGTIN HIGH SCHOOL	3
1417	KANGPOKPI-1410	14100102601	LIYAIKONGPAO UJB SCHOOL	3
1418	KANGPOKPI-1410	14100213801	LOIBOL KHULLEN UJB SCHOOL	3
1419	KANGPOKPI-1410	14100209601	LOIBOL KHUNOU PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1420	KANGPOKPI-1410	14100103301	LUNGPHOU UJB SCHOOL	6
1421	KANGPOKPI-1410	14100319301	LUNGTHER UJB SCHOOL	6
1422	KANGPOKPI-1410	14100311901	LUWANGSANGOL UJB SCHOOL	10
1423	KANGPOKPI-1410	14100314401	M. BUNGLUNG UJB SCHOOL	4
1424	KANGPOKPI-1410	14100217901	M. JANGNOMPHAI UJB SCHOOL	4
1425	KANGPOKPI-1410	14100105801	M. NINGTHOUPHAM UJB SCHOOL	8
1426	KANGPOKPI-1410	14100307604	M. PHAIJANG UJB SCHOOL	6
1427	KANGPOKPI-1410	14100105901	M.PUNGTANG UJB SCHOOL	6
1428	KANGPOKPI-1410	14100204101	MAKHAN UJB SCHOOL	3
1429	KANGPOKPI-1410	14100314901	MAKOKCHING UJB SCHOOL	8
1430	KANGPOKPI-1410	14100119801	MAKULI PRIMARY SCHOOL	1
1431	KANGPOKPI-1410	14100120501	MAOHING LOWER PRIMARY SCHOOL	2
1432	KANGPOKPI-1410	14100309001	MAPAO KEITHELMANBI HIGH SCHOOL	3
1433	KANGPOKPI-1410	14100308601	MAPAO KHULLEN UJB SCHOOL	4
1434	KANGPOKPI-1410	14100301201	MAPHOU KUKI UJB SCHOOL	10
1435	KANGPOKPI-1410	14100100101	MARAM HIGH SCHOOL	8
1436	KANGPOKPI-1410	14100303501	MOLCHAM UJB SCHOOL	3
1437	KANGPOKPI-1410	14100205001	MOLHOI UJB SCHOOL	5
1438	KANGPOKPI-1410	14100312502	MOLKON HIGH SCHOOL	5
1439	KANGPOKPI-1410	14100317601	MOLKONBUNG UPPER PRIMARY SCHOOL	3
1440	KANGPOKPI-1410	14100201602	MOLNOI PRIMARY SCHOOL	2
1441	KANGPOKPI-1410	14100115601	MOLSANG UJB SCHOOL	5
1442	KANGPOKPI-1410	14100306901	MONGBUNG HIGH SCHOOL	2
1443	KANGPOKPI-1410	14100215801	MONGJANG LOWER PRIMARY SCHOOL	3
1444	KANGPOKPI-1410	14100303701	MONGJANG UJB SCHOOL	2
1445	KANGPOKPI-1410	14100305601	MONGNELJANG UJB SCHOOL	7
1446	KANGPOKPI-1410	14100215901	MONGPIJANG UJB SCHOOL	3
1447	KANGPOKPI-1410	14100200901	MOTBUNG HIGH SCHOOL	3
1448	KANGPOKPI-1410	14100307401	N. CHALJANG LOWER PRIMARY SCHOOL	2
1449	KANGPOKPI-1410	14100201901	N. KHONNOM PRIMARY SCHOOL	2
1450	KANGPOKPI-1410	14100315501	N. PHAILEN PRIMARY SCHOOL	2
1451	KANGPOKPI-1410	14100216001	N. SONGLUNG UJB SCHOOL	7
1452	KANGPOKPI-1410	14100302101	N. TERAKHONG UJB SCHOOL	4
1453	KANGPOKPI-1410	14100109101	NAIBET UJB SCHOOL	11
1454	KANGPOKPI-1410	14100118501	NATHELJANG UJB SCHOOL	7

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1455	KANGPOKPI-1410	14100210701	NATOP BOLJANG UJB SCHOOL	8
1456	KANGPOKPI-1410	14100211701	NEW KEITHELMANBI HIGH SCHOOL	2
1457	KANGPOKPI-1410	14100304601	NEW SALEM PRIMARY SCHOOL	2
1458	KANGPOKPI-1410	14100314701	NG. PHAINOM UJB SCHOOL	7
1459	KANGPOKPI-1410	14100211201	NONGCHUP HARAM HIGH SCHOOL	5
1460	KANGPOKPI-1410	14100301801	NONGMAIBAND UJB SCHOOL	4
1461	KANGPOKPI-1410	14100104001	NOONPANI LOWER PRIMARY SCHOOL	1
1462	KANGPOKPI-1410	14100100401	NORTH CHANGOUBUNG PRIMARY SCHOOL	2
1463	KANGPOKPI-1410	14100209402	NUNGGANG UJB SCHOOL	3
1464	KANGPOKPI-1410	14100316501	NUNGKA PRIMARY SCHOOL	2
1465	KANGPOKPI-1410	14100103201	NUNGPHOU LOWER PRIMARY SCHOOL	1
1466	KANGPOKPI-1410	14100210401	NUNGSAI CHIRU JUNIOR HIGH SCHOOL	2
1467	KANGPOKPI-1410	14100309901	OLD BOLJANG PRIMARY SCHOOL	2
1468	KANGPOKPI-1410	14100314501	PANGJANG JUNIOR HIGH SCHOOL	13
1469	KANGPOKPI-1410	14100216401	PANGMOUL UPPER PRIMARY SCHOOL	4
1470	KANGPOKPI-1410	14100210003	PARENGBA KHUNOU PRIMARY SCHOOL	1
1471	KANGPOKPI-1410	14100202001	PHAIJANG UJB SCHOOL	8
1472	KANGPOKPI-1410	14100309401	PHAILENG UJB SCHOOL	7
1473	KANGPOKPI-1410	14100321201	PHAILENGJANG UJB SCHOOL	2
1474	KANGPOKPI-1410	14100200101	PHAILENGKOT UJB SCHOOL	6
1475	KANGPOKPI-1410	14100218801	PHOIBIH UJB SCHOOL	6
1476	KANGPOKPI-1410	14100116401	PHOIBUNG UJB SCHOOL	5
1477	KANGPOKPI-1410	14100211401	PHOLJANG UJB SCHOOL	3
1478	KANGPOKPI-1410	14100317901	PHOWAIBI UJB SCHOOL	8
1479	KANGPOKPI-1410	14100103701	PHYAPOU PRIMARY SCHOOL	2
1480	KANGPOKPI-1410	14100323801	POIROU TANGKHUL UJB SCHOOL	4
1481	KANGPOKPI-1410	14100220501	PONLEN HIGH SCHOOL	6
1482	KANGPOKPI-1410	14100208201	RAMKAILONG UPPER PRIMARY SCHOOL	2
1483	KANGPOKPI-1410	14100113401	RIJALTAHAR PRIMARY SCHOOL	2
1484	KANGPOKPI-1410	14100121001	S. CHANGOUBUNG UJB SCHOOL	6
1485	KANGPOKPI-1410	14100219301	S. KHAJANG UJB SCHOOL	6
1486	KANGPOKPI-1410	14100312701	S. KHONNOMPHAI UPPER PRIMARY SCHOOL	5
1487	KANGPOKPI-1410	14100217101	S. LHANGNOM UJB SCHOOL	7

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1488	KANGPOKPI-1410	14100119401	S. MOLNOM UJB SCHOOL	12
1489	KANGPOKPI-1410	14100326301	S.L LHANGHOI UJB SCHOOL	2
1490	KANGPOKPI-1410	14100316101	SADANG (WALPABUNG) PRIMARY SCHOOL	2
1491	KANGPOKPI-1410	14100213701	SADAR JOUTE PRIMARY SCHOOL	2
1492	KANGPOKPI-1410	14100213901	SADU CHIRU UJB SCHOOL	3
1493	KANGPOKPI-1410	14100307801	SADU KOIRENG UJB SCHOOL	4
1494	KANGPOKPI-1410	14100210801	SAHEIBUNG UJB SCHOOL	6
1495	KANGPOKPI-1410	14100320601	SAICHANG UJB SCHOOL	4
1496	KANGPOKPI-1410	14100317301	SAIJANG PRIMARY SCHOOL	2
1497	KANGPOKPI-1410	14100117903	SAIKOTJANG PRIMARY SCHOOL	2
1498	KANGPOKPI-1410	14100212501	SAI-OH UPPER PRIMARY SCHOOL	1
1499	KANGPOKPI-1410	14100216901	SAITU HIGH SCHOOL	6
1500	KANGPOKPI-1410	14100320101	SALAM VAIPHEI UJB SCHOOL	4
1501	KANGPOKPI-1410	14100120305	SALEM ACADEMY UJB SCHOOL	6
1502	KANGPOKPI-1410	14100325301	SAMUSONG UJB SCHOOL	5
1503	KANGPOKPI-1410	14100319101	SANDANGSENBA MARING JUNIOR HIGH SCHOOL	7
1504	KANGPOKPI-1410	14100105102	SANMANE PRIMARY SCHOOL	2
1505	KANGPOKPI-1410	14100216201	SANTING PRIMARY SCHOOL	1
1506	KANGPOKPI-1410	14100321702	SARAM TANGKHUL UJB SCHOOL	2
1507	KANGPOKPI-1410	14100119601	SARASWATI UPPER PRIMARY SCHOOL	6
1508	KANGPOKPI-1410	14100308401	SATANG KUKI UJB SCHOOL	7
1509	KANGPOKPI-1410	14100213101	SEHJANG PRIMARY SCHOOL	1
1510	KANGPOKPI-1410	14100110201	SELSI UJB SCHOOL	9
1511	KANGPOKPI-1410	14100120301	SH. MODEL SCHOOL	4
1512	KANGPOKPI-1410	14100210001	SIANGAI NAMDAI UJB SCHOOL	3
1513	KANGPOKPI-1410	14100302601	SIMOL KUKI UJB SCHOOL	4
1514	KANGPOKPI-1410	14100212701	SINAM JONHOL UJB SCHOOL	4
1515	KANGPOKPI-1410	14100212801	SINAM KHAITHONG PRIMARY SCHOOL	2
1516	KANGPOKPI-1410	14100308301	SINAM KOM UJB SCHOOL	2
1517	KANGPOKPI-1410	14100214401	SIPIJANG LOWER PRIMARY SCHOOL	1
1518	KANGPOKPI-1410	14100314301	SOMPHUNG UJB SCHOOL	4
1519	KANGPOKPI-1410	14100320701	SOMREI UJB SCHOOL	2
1520	KANGPOKPI-1410	14100314201	SONGBEM UJB SCHOOL	6
1521	KANGPOKPI-1410	14100106501	SONGPEHJANG PRIMARY SCHOOL	2
1522	KANGPOKPI-1410	14100313001	SONGPHEL KHULLEN HIGH SCHOOL	4

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1523	KANGPOKPI-1410	14100320801	SONGPHEL UJB SCHOOL	7
1524	KANGPOKPI-1410	14100110301	SONGPIJANG LOWER PRIMARY SCHOOL	2
1525	KANGPOKPI-1410	14100300601	SOPLENG HIGH SCHOOL	3
1526	KANGPOKPI-1410	14100318701	SORALAND LOWER PRIMARY SCHOOL	1
1527	KANGPOKPI-1410	14100301601	SOUTH LOUSHING UJB SCHOOL	2
1528	KANGPOKPI-1410	14100220902	T. CHALJANG PRIMARY SCHOOL	2
1529	KANGPOKPI-1410	14100314001	T. GAMNOM JUNIOR HIGH SCHOOL	2
1530	KANGPOKPI-1410	14100208901	T. KHUNOU (HEITUP MAKHONG) UJB SCHOOL	6
1531	KANGPOKPI-1410	14100119402	T. LHANGHOI UJB SCHOOL	5
1532	KANGPOKPI-1410	14100110001	T. VAICHONG HIGH SCHOOL	6
1533	KANGPOKPI-1410	14100308001	T. WAKONPHAI UJB SCHOOL	5
1534	KANGPOKPI-1410	14100317701	TANGKHUL KHULLEN UJB SCHOOL	3
1535	KANGPOKPI-1410	14100104701	TAPHOU KUKI JUNIOR HIGH SCHOOL	11
1536	KANGPOKPI-1410	14100308201	THANGAL SURUNG UJB SCHOOL	4
1537	KANGPOKPI-1410	14100302301	THANGJINGPOKPI UJB SCHOOL	2
1538	KANGPOKPI-1410	14100211301	THANGLONG MOLBUNG UJB SCHOOL	3
1539	KANGPOKPI-1410	14100313201	THANGTONG HIGHER SECONDARY SCHOOL	3
1540	KANGPOKPI-1410	14100300301	THAYONG UJB SCHOOL	3
1541	KANGPOKPI-1410	14100215701	THINGBONGJANG PRIMARY SCHOOL	2
1542	KANGPOKPI-1410	14100315301	THINGPHAI UJB SCHOOL	5
1543	KANGPOKPI-1410	14100308101	THINGSAT UJB SCHOOL	3
1544	KANGPOKPI-1410	14100311501	THOMBOL PRIMARY SCHOOL	2
1545	KANGPOKPI-1410	14100216801	THOMJANG UJB SCHOOL	4
1546	KANGPOKPI-1410	14100111401	THONGLANG AKUTPA HIGH SCHOOL	4
1547	KANGPOKPI-1410	14100111601	THONGLANG ATONGBA UJB SCHOOL	6
1548	KANGPOKPI-1410	14100308501	THONGNANGPAL UJB SCHOOL	8
1549	KANGPOKPI-1410	14100122102	THOTNE PRIMARY SCHOOL	2
1550	KANGPOKPI-1410	14100209001	TINGKAI KHULLEN HIGH SCHOOL	5
1551	KANGPOKPI-1410	14100212602	TINTONG LAIJANG PRIMARY SCHOOL	1
1552	KANGPOKPI-1410	14100114801	TOKPA LOWER PRIMARY SCHOOL	1
1553	KANGPOKPI-1410	14100303001	TOMBI HANGBU UJB SCHOOL	3
1554	KANGPOKPI-1410	14100301901	TONGKOI UJB SCHOOL	3
1555	KANGPOKPI-1410	14100218701	TUIPAJANG UJB SCHOOL	4
1556	KANGPOKPI-1410	14100302401	TUISENPHAI LOWER PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1557	KANGPOKPI-1410	14100302701	TUISOMJANG UJB SCHOOL	4
1558	KANGPOKPI-1410	14100117001	TUJANG PART-II UPPER PRIMARY SCHOOL	1
1559	KANGPOKPI-1410	14100104101	TUMNOUPOKPI JUNIOR HIGH SCHOOL	9
1560	KANGPOKPI-1410	14100314601	TUSAM UJB SCHOOL	5
1561	KANGPOKPI-1410	14100105802	UPPER COLONY NINGTHOUPHAM PRIMARY SCHOOL	2
1562	KANGPOKPI-1410	14100121201	UPPER MAOHING PRIMARY SCHOOL	2
1563	KANGPOKPI-1410	14100303101	URAN CHIRU UJB SCHOOL	5
1564	KANGPOKPI-1410	14100210601	VEITUM KHULLEN UJB SCHOOL	4
1565	KANGPOKPI-1410	14100210501	VEITUM KHUNOU UJB SCHOOL	4
1566	KANGPOKPI-1410	14100107601	WACOTPHAI JUNIOR HIGH SCHOOL	13
1567	KANGPOKPI-1410	14100209301	WAINEM UJB SCHOOL	5
1568	KANGPOKPI-1410	14100321501	WAITHOU CHIRU UJB SCHOOL	7
1569	KANGPOKPI-1410	14100305801	WAKAN UPPER PRIMARY SCHOOL	2
1570	KANGPOKPI-1410	14100206501	WAPANG SONGJANG PRIMARY SCHOOL	2
1571	KANGPOKPI-1410	14100115801	WASHANGPHUNG UPPER PRIMARY SCHOOL	1
1572	KANGPOKPI-1410	14100107301	WEST JOUPI PRIMARY SCHOOL	2
1573	KANGPOKPI-1410	14100307901	Y. LANGKHONG UJB SCHOOL	4
1574	KANGPOKPI-1410	14100104201	YAIKHONGPAO UJB SCHOOL	7
1575	KANGPOKPI-1410	14100300701	YANGNOMPHAI UJB SCHOOL	3
1576	KANGPOKPI-1410	14100321901	ZERUKANAN PRIMARY SCHOOL	2
1577	KANGPOKPI-1410	14100328201	ZORDANPHAI PRIMARY SCHOOL	2
1578	NONEY-1416	14160410201	BAKUWA PS	4
1579	NONEY-1416	14160402005	BETHANI PS	2
1580	NONEY-1416	14160407101	BITIANG PS	1
1581	NONEY-1416	14160402102	BOLONGDAI GAIBONDAI UPS	2
1582	NONEY-1416	14160402101	BOLONGDAI PS	8
1583	NONEY-1416	14160407602	CHAROI CHAGOTLONG HIGH SCHOOL	5
1584	NONEY-1416	14160407601	CHAROIPHOIBUT UPS	2
1585	NONEY-1416	14160400901	CHINGMEI KABUI PRIMARY SCHOOL	2
1586	NONEY-1416	14160406201	CHONGMUN PS	4
1587	NONEY-1416	14160407202	DOLANG HIGH SCHOOL	3
1588	NONEY-1416	14160407203	DOLLANG PT-III PS	7
1589	NONEY-1416	14160405401	DUANGAILUANG PS	2
1590	NONEY-1416	14160403701	DUITHANJANG JR. HS	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1591	NONEY-1416	14160409401	EJEIRONG PS	6
1592	NONEY-1416	14160403001	GAIDIMJANG -II PS	10
1593	NONEY-1416	14160409001	GAIJINLONG PS	4
1594	NONEY-1416	14160406101	GALLON PS	4
1595	NONEY-1416	14160404906	GS. HAOMEI PS	5
1596	NONEY-1416	14160404002	GUIGAILONG PS	2
1597	NONEY-1416	14160403802	GUITANG PS	2
1598	NONEY-1416	14160409501	HAOCHONG HIGH SCHOOL	6
1599	NONEY-1416	14160410601	HAOLAIJANG PS	8
1600	NONEY-1416	14160402802	HAPPY VALLY PS	1
1601	NONEY-1416	14160407401	JOUJANGTEK PS	13
1602	NONEY-1416	14160411201	KABUI KHULLEN PS	7
1603	NONEY-1416	14160409701	KAJINGLONG PS	4
1604	NONEY-1416	14160402901	KAMBIRON PS	6
1605	NONEY-1416	14160402502	KANGBENGPANG PS	1
1606	NONEY-1416	14160402402	KEEKRU KUKI PS	1
1607	NONEY-1416	14160408901	KEKRU-2 UPS	2
1608	NONEY-1416	14160403002	KHANGSHILLUNG GOVT. HR SEC. SC	2
1609	NONEY-1416	14160402603	KHATHAJANG PS	2
1610	NONEY-1416	14160400401	KHONGSANG PS	4
1611	NONEY-1416	14160401301	KHOUPUM CHINGTHAK PS	4
1612	NONEY-1416	14160404501	L. KHULLEN PS	4
1613	NONEY-1416	14160405501	L. KHUNOU NAMKAOLONG PT-I, PS	4
1614	NONEY-1416	14160404502	L. POUBIDIM PS	2
1615	NONEY-1416	14160407001	LAMDANGMEI HIGH SCHOOL	3
1616	NONEY-1416	14160406601	LEIKOT PS	4
1617	NONEY-1416	14160405001	LEISHOK PS	8
1618	NONEY-1416	14160405801	LENGLONG PS	4
1619	NONEY-1416	14160407503	LONGJANG PS	2
1620	NONEY-1416	14160405901	LONGKAIPHUN PS	5
1621	NONEY-1416	14160406901	LONGPHAILUM PS	6
1622	NONEY-1416	14160405601	LONGPI HIGH SCHOOL	3
1623	NONEY-1416	14160405602	LONGPI PT-II PS	2
1624	NONEY-1416	14160402004	LUANGJAM NUNGBA-IV PS	1
1625	NONEY-1416	14160405202	LUANGRANG GAIRILONG PS	5
1626	NONEY-1416	14160404702	LUANGSAI KAIGUANG PS	2
1627	NONEY-1416	14160403601	LUBANGLONG PS	9
1628	NONEY-1416	14160409101	LUNGJANA PS	2

LIS	T OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	7): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1629	NONEY-1416	14160409902	MACHANGRAM PS	2
1630	NONEY-1416	14160410801	MAKHUAM (V) PS	2
1631	NONEY-1416	14160410802	MAKHUAM PT - IV UPS	2
1632	NONEY-1416	14160410701	MARANGJING PT-I PS	5
1633	NONEY-1416	14160409201	MOLBUNG PS	1
1634	NONEY-1416	14160401401	MOLPHAI PS	1
1635	NONEY-1416	14160400201	MONGJARON KHULLEN PS	1
1636	NONEY-1416	14160400101	MONGJARON KHUNNOU PS	4
1637	NONEY-1416	14160402602	MUKTI SAMJANG PS	5
1638	NONEY-1416	14160402501	MUKTIKHULLEN PS	8
1639	NONEY-1416	14160410002	NAGACHING PS	6
1640	NONEY-1416	14160410901	NAGACHING PT.(III) PS	2
1641	NONEY-1416	14160410001	NAGACHING PT-II PS	3
1642	NONEY-1416	14160408301	NAMDUANJANG CHAKANLONG PS	8
1643	NONEY-1416	14160403401	NAMGAIJANG PS	6
1644	NONEY-1416	14160404201	NAMKAOLONG PT-II PS	6
1645	NONEY-1416	14160400602	NAMNALONG (SATUDAI-II) PS	6
1646	NONEY-1416	14160409801	NEW KABUIKHULLEN UPS	2
1647	NONEY-1416	14160410501	NEW MARANGJING PS	3
1648	NONEY-1416	14160411001	NEW THINGRA PS	2
1649	NONEY-1416	14160407810	NONEY ASHRAM SCHOOL	2
1650	NONEY-1416	14160407806	NONEY MODEL UPPER PRIMARY SCHOOL	2
1651	NONEY-1416	14160407804	NONEY PT-II PS	11
1652	NONEY-1416	14160403801	NUNGADANG PS	4
1653	NONEY-1416	14160402001	NUNGBA HIGHER SECONDARY SCHOOL	3
1654	NONEY-1416	14160401101	NUNGBAI PS	4
1655	NONEY-1416	14160404402	NUNGLEIBAND 1- PS	1
1656	NONEY-1416	14160404401	NUNGLEIBAND PS	6
1657	NONEY-1416	14160405201	NUNGNANG HIGH SCHOOL	3
1658	NONEY-1416	14160404601	NUNGSAI KHUNOU UPS	1
1659	NONEY-1416	14160410301	NUNGTEK PS	10
1660	NONEY-1416	14160402301	OKOKLONG PS	3
1661	NONEY-1416	14160410101	OKTAN PS	6
1662	NONEY-1416	14160407801	PEACELAND PS	1
1663	NONEY-1416	14160404701	POUJANGLUNG PS	3
1664	NONEY-1416	14160409601	PUNGMON PS	6
1665	NONEY-1416	14160409301	SALIN BUNG PS	1

LIS	T OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1666	NONEY-1416	14160408401	SANABUT PS	8
1667	NONEY-1416	14160407301	SANGJI JR. HS	2
1668	NONEY-1416	14160407302	SANGJI KAIGUANG PS	2
1669	NONEY-1416	14160400601	SATUDAI PS	11
1670	NONEY-1416	14160400603	SATUDAI PT-III PS	2
1671	NONEY-1416	14160401701	SEKJANG PS	3
1672	NONEY-1416	14160402801	SEMPAT GANGTE PS	5
1673	NONEY-1416	14160408201	SEMPAT NAGA PS	4
1674	NONEY-1416	14160405002	SOUBUNGLONG PS	5
1675	NONEY-1416	14160408001	TAMLOK PS	2
1676	NONEY-1416	14160400501	TAODAIJANG JR. HS	2
1677	NONEY-1416	14160404101	TAOLINGPUNG JR. HS	2
1678	NONEY-1416	14160404902	TAOSANG KAIGONG UPS	4
1679	NONEY-1416	14160404904	TAOSANG PS	7
1680	NONEY-1416	14160405701	TEIKHANG PS	1
1681	NONEY-1416	14160405702	TEIKHANG PS	4
1682	NONEY-1416	14160404202	TENGKONGJANG PS	5
1683	NONEY-1416	14160407805	TENGKONJANG HR. SEC. SCHOOL	5
1684	NONEY-1416	14160403101	THANAGONG PS	10
1685	NONEY-1416	14160407501	THANGAL HIGH SCHOOL	7
1686	NONEY-1416	14160402201	THINGOU PS	7
1687	NONEY-1416	14160409901	THINGRA HIGH SCHOOL	2
1688	NONEY-1416	14160408101	TUIPHAI UPS	7
1689	NONEY-1416	14160410401	UPPER NUNGTEK PS	7
1690	PHERZAWL-1412	14120404903	B. PHAILIAN JBS	5
1691	PHERZAWL-1412	14120404906	B. PHAILIAN PRIMARY SCHOOL	2
1692	PHERZAWL-1412	14120404907	BILPIKOT (BUNGLIAN) PRIMARY SCHOOL	2
1693	PHERZAWL-1412	14120402602	BUALMUAL (SV) UPPER PRIMARY SCHOOL	1
1694	PHERZAWL-1412	14120404901	BUKPI GOVT. H/S	2
1695	PHERZAWL-1412	14120406001	BUNGPILON GOVT. H/S	4
1696	PHERZAWL-1412	14120504401	BUONGMUN GOVERNMENT HIGH SCHOOL	3
1697	PHERZAWL-1412	14120404402	C ZALEN PRIMARY SCHOOL	2
1698	PHERZAWL-1412	14120504201	CHINGMUN JR. H/S (GOVT)	1
1699	PHERZAWL-1412	14120502202	D.R. THUOMA GOVERNMENT JR. H/S	5
1700	PHERZAWL-1412	14120403501	DAILON JBS	2
1701	PHERZAWL-1412	14120405601	DIALKHAI GOVT. H/S	5

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1702	PHERZAWL-1412	14120404102	GALKAOKOT PRIMARY SCHOOL	2
1703	PHERZAWL-1412	14120404001	GAMHUI JBS	3
1704	PHERZAWL-1412	14120405901	HANSHIP GOVT. H/S	7
1705	PHERZAWL-1412	14120504802	HENCHUNGPUNJI PRIMARY SCHOOL	2
1706	PHERZAWL-1412	14120501901	HMAWNGZUNGKAI JR. H/S (GOVT)	1
1707	PHERZAWL-1412	14120404904	JANGKUM PRIMARY SCHOOL	2
1708	PHERZAWL-1412	14120503101	JEISUO JBS (ADC)	5
1709	PHERZAWL-1412	14120405301	JOUTUNG JBS	13
1710	PHERZAWL-1412	14120502901	KANGRENG H/S (GOVT)	1
1711	PHERZAWL-1412	14120406401	KHAJANG JBS	6
1712	PHERZAWL-1412	14120400301	KHUANGGIN JBS	11
1713	PHERZAWL-1412	14120400302	KHUANGGIN PRIMARY SCHOOL	2
1714	PHERZAWL-1412	14120401602	L. PHUNCHONGJANG JBS	11
1715	PHERZAWL-1412	14120404201	LEIJANGPHAI GOVT. H/S	9
1716	PHERZAWL-1412	14120500301	LUNGTHULIEN JR. H/S	1
1717	PHERZAWL-1412	14120403801	MILONGMUN JBS	5
1718	PHERZAWL-1412	14120503402	MOINADAWR PRIMARY SCHOOL	2
1719	PHERZAWL-1412	14120400601	MONGON JBS	4
1720	PHERZAWL-1412	14120405701	MUALPHENG JBS	4
1721	PHERZAWL-1412	14120402603	MUIKOT UPPER PRIMARY SCHOOL	6
1722	PHERZAWL-1412	14120402002	NAHTHIALBOK PRIMARY SCHOOL	2
1723	PHERZAWL-1412	14120502502	NGAMPABUNG JBS (ADC)	9
1724	PHERZAWL-1412	14120505113	NUNGSEKPUNJI PRIMARY SCHOOL	2
1725	PHERZAWL-1412	14120502501	P. HMUNTE JR H/S (GOVT)	2
1726	PHERZAWL-1412	14120406302	PALKHUANG UPPER PRIMARY SCHOOL	2
1727	PHERZAWL-1412	14120400701	PAMJAL JBS	11
1728	PHERZAWL-1412	14120402501	PANGEN JBS	4
1729	PHERZAWL-1412	14120501701	PARBUNG HIGH SCHOOL	3
1730	PHERZAWL-1412	14120500501	PARVACHAWM H/S (GOVT)	1
1731	PHERZAWL-1412	14120402401	PHAIJANG GOVT. H/S	7
1732	PHERZAWL-1412	14120401901	PHAIKHOLUM JBS	3
1733	PHERZAWL-1412	14120401902	PHAIKHOLUM PRIMARY SCHOOL	2
1734	PHERZAWL-1412	14120401302	PHAILIANBUNG PRIMARY SCHOOL	2
1735	PHERZAWL-1412	14120403402	PHAINUAM PRIMARY SCHOOL	2
1736	PHERZAWL-1412	14120401801	PHAIPHENG JBS	6
1737	PHERZAWL-1412	14120406501	PHAITONG JBS	5
1738	PHERZAWL-1412	14120500701	PHERZAWL H/S (GOVT)	1

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1739	PHERZAWL-1412	14120402604	S. THENZOL PRIMARY SCHOOL	2
1740	PHERZAWL-1412	14120403502	SAITE JBS	2
1741	PHERZAWL-1412	14120502101	SARTUINEK JR. H/S (GOVT)	3
1742	PHERZAWL-1412	14120403101	SAVAIPAIH JBS	2
1743	PHERZAWL-1412	14120500101	SENVON H/S (GOVT.)	2
1744	PHERZAWL-1412	14120503601	SIBAPURIKHAL JR. H/S (GOVT)	3
1745	PHERZAWL-1412	14120401003	SINZANG PRIMARY SCHOOL	2
1746	PHERZAWL-1412	14120406601	SINZAWL GOVT. H/S	8
1747	PHERZAWL-1412	14120400201	SONGTAL GOVT. H/S	2
1748	PHERZAWL-1412	14120403701	SUANGPEHMUN JBS	3
1749	PHERZAWL-1412	14120405801	SUMTUH JBS	11
1750	PHERZAWL-1412	14120504601	SUONGPHUMUN JBS (ADC)	4
1751	PHERZAWL-1412	14120402605	T MAUJANG PRIMARY SCHOOL	2
1752	PHERZAWL-1412	14120501001	TAITHU JR. H/S (GOVT)	3
1753	PHERZAWL-1412	14120501004	TAITHU PRIMARY SCHOOL	2
1754	PHERZAWL-1412	14120500706	TALLAN PRIMARY SCHOOL	2
1755	PHERZAWL-1412	14120402202	TANGNAUM PRIMARY SCHOOL	1
1756	PHERZAWL-1412	14120405401	THANLON GOVT. H/S	3
1757	PHERZAWL-1412	14120401201	THIAKBUNG JBS	6
1758	PHERZAWL-1412	14120502705	THINGKALDOR PRIMARY SCHOOL	2
1759	PHERZAWL-1412	14120501401	THINGPAN GOVT UPPER PRIMARY SCHOOL	5
1760	PHERZAWL-1412	14120502204	THINGPUIKUOL JR. H/S (GOVT)	3
1761	PHERZAWL-1412	14120400401	THUANGTAM JBS	11
1762	PHERZAWL-1412	14120502002	TIPAIMUKH PRIMARY SCHOOL	2
1763	PHERZAWL-1412	14120405501	TONGKHAM PRIMARY SCHOOL	2
1764	PHERZAWL-1412	14120504501	TUAITENGMUN JBS (ADC)	5
1765	PHERZAWL-1412	14120400101	TUALKHOHAU GOVT. H/S	2
1766	PHERZAWL-1412	14120401101	UMTAL JBS	5
1767	PHERZAWL-1412	14120503203	UPPERKHARKHUPLIEN JBS (ADC)	9
1768	SENAPATI-1401	14010517801	13 MILES LOWER PRIMARY SCHOOL	2
1769	SENAPATI-1401	14010518301	BAGALE PRIMARY SCHOOL	2
1770	SENAPATI-1401	14010518501	BAHUNGAON PRIMARY SCHOOL	2
1771	SENAPATI-1401	14010501804	BENDRAMAI PRIMARY SCHOOL	2
1772	SENAPATI-1401	14010601911	CENTRE KHEL PRIMARY SCHOOL	2
1773	SENAPATI-1401	14010516402	CHAKHA PRIMARY SCHOOL	1
1774	SENAPATI-1401	14010516401	CHAKHA PRIMARY SCHOOL	5
1775	SENAPATI-1401	14010600103	CHAKHO PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1776	SENAPATI-1401	14010510301	CHAKUMAI UJB SCHOOL	9
1777	SENAPATI-1401	14010408404	CHAOYEFII PRIMARY SCHOOL	5
1778	SENAPATI-1401	14010408405	CHAOZEFII DEITSII PRIMARY SCHOOL	2
1779	SENAPATI-1401	14010601405	CHARON KHULLEN PRIMARY SCHOOL	2
1780	SENAPATI-1401	14010509103	CHIBITSII LOWER PRIMARY SCHOOL	2
1781	SENAPATI-1401	14010407902	CHIDZIIDU PRIMARY SCHOOL	2
1782	SENAPATI-1401	14010400116	CHINAOMAI PRIMARY SCHOOL	7
1783	SENAPATI-1401	14010407901	CHINGMAI KHULLEN UJB SCHOOL	8
1784	SENAPATI-1401	14010407501	CHINGMAI KHUNOU UPPER PRIMARY SCHOOL	5
1785	SENAPATI-1401	14010603202	CHOFII KHELO PRIMARY SCHOOL	2
1786	SENAPATI-1401	14010603201	CHOFII PRIMARY SCHOOL	2
1787	SENAPATI-1401	14010600803	CHOUKHII PRIMARY SCHOOL	2
1788	SENAPATI-1401	14010511402	CHOWAINAMAI KHULLEN UPPER PRIMARY SCHOOL	7
1789	SENAPATI-1401	14010509801	CHOWAINU UJB SCHOOL	7
1790	SENAPATI-1401	14010407502	CHSIMAIFII PRIMARY SCHOOL	2
1791	SENAPATI-1401	14010503907	COUNCIL H/Q SENAPATI PRIMARY SCHOOL	5
1792	SENAPATI-1401	14010602302	DURO PRIMARY SCHOOL	2
1793	SENAPATI-1401	14010508805	EKHRO-EKHRO PRIMARY SCHOOL	6
1794	SENAPATI-1401	14010510902	EMEFIITHU PRIMARY SCHOOL	8
1795	SENAPATI-1401	14010511001	EMEFIITHUMAI PRIMARY SCHOOL	2
1796	SENAPATI-1401	14010506005	EMESIIPHRO PRIMARY SCHOOL	2
1797	SENAPATI-1401	14010506004	EMESIIPHRO PRIMARY SCHOOL	6
1798	SENAPATI-1401	14010400904	ETRO PRIMARY SCHOOL	3
1799	SENAPATI-1401	14010504801	IKAILONGDI LOWER PRIMARY SCHOOL	3
1800	SENAPATI-1401	14010513102	KABINAM PRIMARY SCHOOL	5
1801	SENAPATI-1401	14010509503	KAIBI SHOBO PRIMARY SCHOOL	2
1802	SENAPATI-1401	14010509501	KAIBI UJB SCHOOL	6
1803	SENAPATI-1401	14010510101	KALINAMAI UPPER PRIMARY SCHOOL	5
1804	SENAPATI-1401	14010514101	KAMALONG PRIMARY SCHOOL	2
1805	SENAPATI-1401	14010514004	KAMALONG PRIMARY SCHOOL	7
1806	SENAPATI-1401	14010501001	KANEM UPPER PRIMARY SCHOOL	5
1807	SENAPATI-1401	14010501701	KANGJANG PRIMARY SCHOOL	1
1808	SENAPATI-1401	14010501702	KANGJANG PRIMARY SCHOOL	3

LI	ST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1809	SENAPATI-1401	14010503901	KARONG BAZAR PRIMARY SCHOOL	9
1810	SENAPATI-1401	14010507001	KARONG UJB SCHOOL	6
1811	SENAPATI-1401	14010408201	KATAFIIMAI UJB SCHOOL	5
1812	SENAPATI-1401	14010500401	KATOMEI UPPER PRIMARY SCHOOL	2
1813	SENAPATI-1401	14010503001	KATOMEI CENTRE UPPER PRIMARY SCHOOL	8
1814	SENAPATI-1401	14010500402	KATOMEI MAKENG UJB SCHOOL	6
1815	SENAPATI-1401	14010502501	KATOMEI NEPALI PART 3 PRIMARY SCHOOL	2
1816	SENAPATI-1401	14010509101	KAYINU PRIMARY SCHOOL	9
1817	SENAPATI-1401	14010601301	KEIZE UJB SCHOOL	4
1818	SENAPATI-1401	14010508403	KESHEFII LOWER PRIMARY SCHOOL	1
1819	SENAPATI-1401	14010504502	KHABUNG UJB SCHOOL	5
1820	SENAPATI-1401	14010506704	KHAMSOM BAZAR PRIMARY SCHOOL	4
1821	SENAPATI-1401	14010506703	KHAMSOM HOUFII PRIMARY SCHOOL	4
1822	SENAPATI-1401	14010602201	KHONGDEI HIGH SCHOOL	5
1823	SENAPATI-1401	14010602202	KHONGDEI KHUMAN PRIMARY SCHOOL	7
1824	SENAPATI-1401	14010602402	KHONGDEI NGAWAR UPPER PRIMARY SCHOOL	2
1825	SENAPATI-1401	14010602401	KHONGDEI NGAWAR UJB SCHOOL	2
1826	SENAPATI-1401	14010602301	KHONGDEI SHIMPHUNG UJB SCHOOL	6
1827	SENAPATI-1401	14010516801	KHONGNEM ORIGINAL UPPER PRIMARY SCHOOL	1
1828	SENAPATI-1401	14010507101	KHONGNEM THANA PRIMARY SCHOOL	1
1829	SENAPATI-1401	14010507301	KHONGNEM UJB SCHOOL	6
1830	SENAPATI-1401	14010512501	KHRIDZIIPHI PRIMARY SCHOOL	2
1831	SENAPATI-1401	14010510302	KHRIDZIIPHIMAI PRIMARY SCHOOL	2
1832	SENAPATI-1401	14010402203	KHYOUBU PRIMARY SCHOOL	3
1833	SENAPATI-1401	14010600304	KIPEI PRIMARY SCHOOL	2
1834	SENAPATI-1401	14010601601	KODOM KHAVII PRIMARY SCHOOL	7
1835	SENAPATI-1401	14010601602	KODOM KHUNOU UPPER PRIMARY SCHOOL	2
1836	SENAPATI-1401	14010601501	KODOM UJB SCHOOL	10
1837	SENAPATI-1401	14010600201	KOIDE BESO UPPER PRIMARY SCHOOL	2
1838	SENAPATI-1401	14010600101	KOIDE HIGH SCHOOL	2
1839	SENAPATI-1401	14010406506	LAII CENTRE PRIMARY SCHOOL	3
1840	SENAPATI-1401	14010406502	LAII GAZEPHEMAI UJB SCHOOL	7
1841	SENAPATI-1401	14010406501	LAII HIGH SCHOOL	1

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1842	SENAPATI-1401	14010407401	LAII SHIRAFII UPPER PRIMARY SCHOOL	1
1843	SENAPATI-1401	14010402205	LAIKHO (GAKUL KANGJAI) PRIMARY SCHOOL	1
1844	SENAPATI-1401	14010600603	LAILA PRIMARY SCHOOL	4
1845	SENAPATI-1401	14010601401	LAKHAMAI HIGH SCHOOL	3
1846	SENAPATI-1401	14010600404	LALE PRIMARY SCHOOL	2
1847	SENAPATI-1401	14010600502	LATOBIIYE PRIMARY SCHOOL	5
1848	SENAPATI-1401	14010405305	LIYAI CENTRE PRIMARY SCHOOL	2
1849	SENAPATI-1401	14010405306	LIYAI CENTRE LOWER, PRIMARY SCHOOL	2
1850	SENAPATI-1401	14010405301	LIYAI HIGH SCHOOL	5
1851	SENAPATI-1401	14010406301	LIYAI KHUNOU UJB SCHOOL	7
1852	SENAPATI-1401	14010405302	LIYAI X-TIAN UPPER PRIMARY SCHOOL	7
1853	SENAPATI-1401	14010510604	LOVADZIIHO PRIMARY SCHOOL	2
1854	SENAPATI-1401	14010600203	LOWER KOIDE PRIMARY SCHOOL	4
1855	SENAPATI-1401	14010602101	LOWER PHAIBUNG UPPER PRIMARY SCHOOL	7
1856	SENAPATI-1401	14010508203	LOWER PUDUNAMAI PRIMARY SCHOOL.	7
1857	SENAPATI-1401	14010507404	LOWER TAPHOU LOWER PRIMARY SCHOOL	2
1858	SENAPATI-1401	14010517901	LOWER THANAMBA LOWER PRIMARY SCHOOL	1
1859	SENAPATI-1401	14010408406	LOWER YUMAI PRIMARY SCHOOL	2
1860	SENAPATI-1401	14010403701	MAIBA HIGH SCHOOL	3
1861	SENAPATI-1401	14010403702	MAIBA VAOFII UJB SCHOOL	6
1862	SENAPATI-1401	14010500103	MAKAPUNG PRIMARY SCHOOL	2
1863	SENAPATI-1401	14010518601	MAKENG CHEIJINBA PRIMARY SCHOOL	4
1864	SENAPATI-1401	14010510601	MAKHAN X-TIAN UPPER PRIMARY SCHOOL	5
1865	SENAPATI-1401	14010510801	MAKHAN HIGH SCHOOL	4
1866	SENAPATI-1401	14010511602	MAKHAN KHUMAN PRIMARY SCHOOL	2
1867	SENAPATI-1401	14010511601	MAKHAN KHUMAN UJB SCHOOL	6
1868	SENAPATI-1401	14010510603	MAKHAN TABIO PRIMARY SCHOOL	2
1869	SENAPATI-1401	14010509602	MAKHEL KHUNOU PRIMARY SCHOOL	2
1870	SENAPATI-1401	14010509601	MAKHEL UJB SCHOOL	6
1871	SENAPATI-1401	14010517307	MAKHRELUI PRIMARY SCHOOL	7

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1872	SENAPATI-1401	14010500105	MAKUI CHAWANG OKLONG (MAKUI CHAWANG) P/S	2
1873	SENAPATI-1401	14010500502	MAKUILONGDI LIANGMAI PRIMARY SCHOOL	7
1874	SENAPATI-1401	14010500501	MAKUILONGDI UPPER PRIMARY SCHOOL	1
1875	SENAPATI-1401	14010516202	MALINGLI LOWER PRIMARY SCHOOL	1
1876	SENAPATI-1401	14010517002	MAO KARONG PRIMARY SCHOOL	8
1877	SENAPATI-1401	14010508802	MAO PRIMARY SCHOOL	9
1878	SENAPATI-1401	14010510901	MAO PUNGDUNG UJB SCHOOL	8
1879	SENAPATI-1401	14010601902	MAODUNA MATHAK UJB SCHOOL	5
1880	SENAPATI-1401	14010513706	MARAM ASHRAM SCHOOL	3
1881	SENAPATI-1401	14010513705	MARAM HINDI UJB SCHOOL	5
1882	SENAPATI-1401	14010516701	MARAM KAVANAM PRIMARY SCHOOL	6
1883	SENAPATI-1401	14010515501	MARAM KHULLEN HIGH SCHOOL	4
1884	SENAPATI-1401	14010500406	MARAM KHUNOU NEPALI LOWER PRIMARY SCHOOL	3
1885	SENAPATI-1401	14010500601	MARAM KHUNOU PRIMARY SCHOOL	5
1886	SENAPATI-1401	14010514401	MARAM MAKHA SAGAI PRIMARY SCHOOL	5
1887	SENAPATI-1401	14010514301	MARAM MATHAK SAGAI PRIMARY SCHOOL	4
1888	SENAPATI-1401	14010513001	MARAM SAGONGBAM PRIMARY SCHOOL	5
1889	SENAPATI-1401	14010513707	MARAM TOWN UPPER PRIMARY SCHOOL	1
1890	SENAPATI-1401	14010513304	MARAM X-TIAN UJB SCHOOL	5
1891	SENAPATI-1401	14010500407	NAMGAILONG RONGMEI PRIMARY SCHOOL	6
1892	SENAPATI-1401	14010514303	NEW MAGAIMAI PRIMARY SCHOOL	1
1893	SENAPATI-1401	14010514302	NEW MAGAIMAI PRIMARY SCHOOL	6
1894	SENAPATI-1401	14010510701	NEW MAKHAN PRIMARY SCHOOL	9
1895	SENAPATI-1401	14010403703	NGAIKHO PRIMARY SCHOOL	8
1896	SENAPATI-1401	14010601101	NGAMJU UPPER PRIMARY SCHOOL	4
1897	SENAPATI-1401	14010602801	NGARI HIGH SCHOOL	3
1898	SENAPATI-1401	14010602501	NGARI KHULLEN PRIMARY SCHOOL	7
1899	SENAPATI-1401	14010602601	NGARI LISHANG PRIMARY SCHOOL	4
1900	SENAPATI-1401	14010602804	NGARI RAIDULOMAI UJB SCHOOL	5
1901	SENAPATI-1401	14010602701	NGARI RAIDULOMAI UPPER, PRIMARY SCHOOL	4
1902	SENAPATI-1401	14010602802	NGARI ZIIDAM LOWER PRIMARY	1

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
			SCHOOL	
1903	SENAPATI-1401	14010500303	NGARYAN PRIMARY SCHOOL	2
1904	SENAPATI-1401	14010505703	NGATAN MATHAK UPPER PRIMARY SCHOOL	2
1905	SENAPATI-1401	14010505701	NGATAN UJB SCHOOL	4
1906	SENAPATI-1401	14010509104	NGHOPHRE PRIMARY SCHOOL	8
1907	SENAPATI-1401	14010600601	OINAM HILLS HIGH SCHOOL	5
1908	SENAPATI-1401	14010509703	OKAI PRIMARY SCHOOL	8
1909	SENAPATI-1401	14010500101	OKLONG HIGH SCHOOL	1
1910	SENAPATI-1401	14010500102	OKLONG KHUNOU PRIMARY SCHOOL	3
1911	SENAPATI-1401	14010408501	PAOMATA HIGH SCHOOL	3
1912	SENAPATI-1401	14010601908	PFIIKHRO PRIMARY SCHOOL	4
1913	SENAPATI-1401	14010601910	PFIIKHRO ZHAIPHAO PRIMARY SCHOOL	2
1914	SENAPATI-1401	14010517606	PFIISHOMAI PRIMARY SCHOOL	4
1915	SENAPATI-1401	14010405309	PFIITHRO PRIMARY SCHOOL	2
1916	SENAPATI-1401	14010601901	PHAIBUNG HIGH SCHOOL	4
1917	SENAPATI-1401	14010602001	PHAIBUNG KHUNOU UJB SCHOOL	8
1918	SENAPATI-1401	14010600303	PHAOBIYE PRIMARY SCHOOL	3
1919	SENAPATI-1401	14010601502	PHAOMAI D PRIMARY SCHOOL	5
1920	SENAPATI-1401	14010600302	PHIILII PRIMARY SCHOOL	3
1921	SENAPATI-1401	14010600102	PHIILO PRIMARY SCHOOL	7
1922	SENAPATI-1401	14010510002	PHIKOMAI PRIMARY SCHOOL	6
1923	SENAPATI-1401	14010405307	PHOUNG (PHOUANG) PRIMARY SCHOOL	1
1924	SENAPATI-1401	14010401403	PHUBA HIGH SCHOOL	2
1925	SENAPATI-1401	14010401404	PHUBA PRIMARY SCHOOL	7
1926	SENAPATI-1401	14010402202	PHUBA THAPHAM PRIMARY SCHOOL	8
1927	SENAPATI-1401	14010506006	PHYAMAI TAPHOU PRIMARY SCHOOL	2
1928	SENAPATI-1401	14010601103	PONGVAH-DAE PRIMARY SCHOOL	1
1929	SENAPATI-1401	14010602002	POUPAOFII PRIMARY SCHOOL	1
1930	SENAPATI-1401	14010602903	POWMAI PRIMARY SCHOOL	9
1931	SENAPATI-1401	14010601402	PROUFII UJB SCHOOL	6
1932	SENAPATI-1401	14010508201	PUDUNAMAI HIGH SCHOOL	2
1933	SENAPATI-1401	14010508401	PUNANAMAI UJB SCHOOL	5
1934	SENAPATI-1401	14010601102	PUNGVAH PRIMARY SCHOOL	6
1935	SENAPATI-1401	14010514003	PUNTUNGLUNG PRIMARY SCHOOL	6
1936	SENAPATI-1401	14010600301	PURUL AKUTPA UPPER PRIMARY SCHOOL	7

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1937	SENAPATI-1401	14010600401	PURUL HIGHER SECONDARY SCHOOL	5
1938	SENAPATI-1401	14010600501	PURUL ROSOFII UJB SCHOOL	5
1939	SENAPATI-1401	14010509701	RABUNAMAI UJB SCHOOL	8
1940	SENAPATI-1401	14010600202	RAFII PRIMARY SCCHOOL	7
1941	SENAPATI-1401	14010500801	RAJAMEI UJB SCHOOL	3
1942	SENAPATI-1401	14010404801	RAKHUTAO UPPER PRIMARY SCHOOL	1
1943	SENAPATI-1401	14010601201	REAFII PRIMARY SCHOOL	4
1944	SENAPATI-1401	14010507401	RIKHUMAI TAPHOU PRIMARY SCHOOL	7
1945	SENAPATI-1401	14010600606	RINITA PRIMARY SCHOOL	2
1946	SENAPATI-1401	14010601702	SADHURNAN PRIMARY SCHOOL	2
1947	SENAPATI-1401	14010508205	SADIM PUDUNAMAI PRIMARY SCHOOL	2
1948	SENAPATI-1401	14010516201	SADIM PUKHRI UJB SCHOOL	5
1949	SENAPATI-1401	14010601907	SAHNATSIINA PRIMARY SCHOOL	4
1950	SENAPATI-1401	14010514902	SANGKHUMAI UPPER PRIMARY SCHOOL	1
1951	SENAPATI-1401	14010514903	SANGKUNGLUNG PRIMARY SCHOOL	3
1952	SENAPATI-1401	14010514901	SANGKUNGMEI PRIMARY SCHOOL	10
1953	SENAPATI-1401	14010404301	SARANAMAI UJB SCHOOL	9
1954	SENAPATI-1401	14010404601	SARANAMAI X-TIAN PRIMARY SCHOOL	8
1955	SENAPATI-1401	14010510001	SARDAR PATEL HIGH SCHOOL	3
1956	SENAPATI-1401	14010513307	SATOINAM PRIMARY SCHOOL	4
1957	SENAPATI-1401	14010400118	SAVIO COMPLEX PRIMARY SCHOOL	2
1958	SENAPATI-1401	14010504601	SENAPATI THONG UPPER PRIMARY SCHOOL	10
1959	SENAPATI-1401	14010517605	SHAJOUBA UJB SCHOOL	6
1960	SENAPATI-1401	14010500104	SHANGLUNG PRIMARY SCHOOL	2
1961	SENAPATI-1401	14010601404	SHIMAI PRIMARY SCHOOL	8
1962	SENAPATI-1401	14010603301	SIRONG SOFII PRIMARY SCHOOL	4
1963	SENAPATI-1401	14010601701	SIRONG UJB SCHOOL	7
1964	SENAPATI-1401	14010511401	SOLITOKHO JUNIOR HIGH SCHOOL	1
1965	SENAPATI-1401	14010508804	SONG SONG PRIMARY SCHOOL	8
1966	SENAPATI-1401	14010505101	SORBUNG UJB SCHOOL	5
1967	SENAPATI-1401	14010518801	SUNGANG PRIMARY SCHOOL	2
1968	SENAPATI-1401	14010511501	TADUBI UJB SCHOOL	4
1969	SENAPATI-1401	14010518701	TAKAIMEI PRIMARY SCHOOL	2
1970	SENAPATI-1401	14010516502	TAMPHUNG PRIMARY SCHOOL	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
1971	SENAPATI-1401	14010516501	TAMPHUNG PRIMARY SCHOOL	4
1972	SENAPATI-1401	14010505904	TAPHOU GURUNG KHUTTY NEPALI PRIMARY SCHOOL	7
1973	SENAPATI-1401	14010505901	TAPHOU NAGA UJB SCHOOL	9
1974	SENAPATI-1401	14010505902	TAPHOU NEPALI UPPER PRIMARY SCHOOL	4
1975	SENAPATI-1401	14010505905	TAPHOU NGAIHANG PRIMARY SCHOOL	5
1976	SENAPATI-1401	14010506003	TAPHOU ONAEME PRIMARY SCHOOL	5
1977	SENAPATI-1401	14010506002	TAPHOU PHYAMAI PRIMARY SCHOOL	7
1978	SENAPATI-1401	14010505903	TAPHOU PUDUNAMAI PRIMARY SCHOOL	5
1979	SENAPATI-1401	14010600403	TEIKHU PRIMARY SCHOOL	5
1980	SENAPATI-1401	14010600802	THINGBA KHULLEN ASHRAM SCHOOL	3
1981	SENAPATI-1401	14010600801	THINGBA KHULLEN UJB SCHOOL	5
1982	SENAPATI-1401	14010600901	THINGBA KHUNOU JUNIOR HIGH SCHOOL	1
1983	SENAPATI-1401	14010600902	THINGBA KHUNOU PRIMARY SCHOOL	5
1984	SENAPATI-1401	14010602901	THIWA HIGH SCHOOL	3
1985	SENAPATI-1401	14010602905	THIWA KHUNOU PRIMARY SCHOOL	4
1986	SENAPATI-1401	14010603001	THIWA SHONGDO UPPER PRIMARY SCHOOL	1
1987	SENAPATI-1401	14010516601	THUYENG PRIMARY SCHOOL	3
1988	SENAPATI-1401	14010504303	TINGSONG CENTRE PRIMARY SCHOOL	3
1989	SENAPATI-1401	14010504302	TINGSONG MAKHA UJB SCHOOL	3
1990	SENAPATI-1401	14010504301	TINGSONG MATHAK UJB SCHOOL	5
1991	SENAPATI-1401	14010509401	TOBUMAI JUNIOR HIGH SCHOOL	2
1992	SENAPATI-1401	14010509402	TOBUMAI PRIMARY SCHOOL	6
1993	SENAPATI-1401	14010401001	TUNGGAM AFII PRIMARY SCHOOL	7
1994	SENAPATI-1401	14010408303	TUNGGAM KHUNOU LOWER PRIMARY SCHOOL	4
1995	SENAPATI-1401	14010408302	TUNGGAM UJB SCHOOL	9
1996	SENAPATI-1401	14010408601	TUNGGAM X-TIAN PRIMARY SCHOOL	3
1997	SENAPATI-1401	14010400102	TUNGJOY BOYS' PRIMARY SCHOOL	5
1998	SENAPATI-1401	14010400113	TUNGJOY HIGH SCHOOL	3
1999	SENAPATI-1401	14010400117	TUNGJOY REKHABUMAI PRIMARY SCHOOL	4
2000	SENAPATI-1401	14010504501	UPPER KHABUNG PRIMARY SCHOOL	5

LI	ST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2001	SENAPATI-1401	14010505702	UPPER NGATAN PRIMARY SCHOOL	3
2002	SENAPATI-1401	14010517602	UPPER SHAJOUBA UJB SCHOOL	10
2003	SENAPATI-1401	14010600503	VAIHU (MOKUL CHANGJANG) PRIMARY SCHOOL	2
2004	SENAPATI-1401	14010408202	VAISIICHU UPPER PRIMARY SCHOOL	2
2005	SENAPATI-1401	14010503906	VAKHO PRIMARY SCHOOL	6
2006	SENAPATI-1401	14010514001	WILLONG HIGH SCHOOL	2
2007	SENAPATI-1401	14010515001	WILLONG KHUNOU UPPER PRIMARY SCHOOL	2
2008	SENAPATI-1401	14010501803	YANGKHULLEN HIGH SCHOOL	2
2009	SENAPATI-1401	14010500701	YANGKHUNOU UJB SCHOOL	4
2010	SENAPATI-1401	14010408403	YUMAI PRIMARY SCHOOL	6
2011	SENAPATI-1401	14010600804	ZEMI PRIMARY SCHOOL	2
2012	SENAPATI-1401	14010502201	ZEMNUI PRIMARY SCHOOL	1
2013	TAMENGLONG-1402	14020205601	ABEN PS	8
2014	TAMENGLONG-1402	14020304001	AHANING PS	3
2015	TAMENGLONG-1402	14020103401	AKHUI HIGH SCHOOL	1
2016	TAMENGLONG-1402	14020300801	AKUNGNING PS	1
2017	TAMENGLONG-1402	14020305202	ATANG KHULLEN PS (NEW)	1
2018	TAMENGLONG-1402	14020305301	ATANGKHULLEN PS	2
2019	TAMENGLONG-1402	14020305401	ATANGKHUNNOU PS	3
2020	TAMENGLONG-1402	14020204801	ATENGBA PS	6
2021	TAMENGLONG-1402	14020101901	ATONGIUNING PS	8
2022	TAMENGLONG-1402	14020305402	ATONGKHUNOU (NEW) PS	2
2023	TAMENGLONG-1402	14020102602	AWANGKHUL JR. HS	5
2024	TAMENGLONG-1402	14020102601	AWANGKHUL PT-II PS	5
2025	TAMENGLONG-1402	14020200101	AZURAM JR. HIGH SCHOOL	2
2026	TAMENGLONG-1402	14020207801	BALBUNG PS	1
2027	TAMENGLONG-1402	14020103601	BAMGAIJANG PS	8
2028	TAMENGLONG-1402	14020101702	BHALOK HIGH SCHOOL	3
2029	TAMENGLONG-1402	14020101703	BHALOK KHUNNOU UPS	2
2030	TAMENGLONG-1402	14020101701	BHALOK PT-II PS	6
2031	TAMENGLONG-1402	14020104402	C M E S JR. HIGH SCHOOL	3
2032	TAMENGLONG-1402	14020103801	CHAKATDAI PS	11
2033	TAMENGLONG-1402	14020305001	CHAPAILONG PS	2
2034	TAMENGLONG-1402	14020205301	CHARINAPANG PS	3
2035	TAMENGLONG-1402	14020300601	CHATON HIGH SCHOOL	3
2036	TAMENGLONG-1402	14020204901	CHINGKAO PS	8
2037	TAMENGLONG-1402	14020205401	CHINGKHONGLONG PS	5

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	r): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2038	TAMENGLONG-1402	14020102102	DAILONG JR. HIGH SCHOOL	2
2039	TAMENGLONG-1402	14020301901	DIKIURAM PS	6
2040	TAMENGLONG-1402	14020104501	DIMTHANLONG PS	15
2041	TAMENGLONG-1402	14020103701	DUIGAILONG PS	10
2042	TAMENGLONG-1402	14020104005	DUILUAN PART-III PS	3
2043	TAMENGLONG-1402	14020104002	DUILUAN PT - II PS	10
2044	TAMENGLONG-1402	14020301201	DUNONG PS	7
2045	TAMENGLONG-1402	14020106005	FARMLANE PS	10
2046	TAMENGLONG-1402	14020104603	GADAI FARMLANE JR. HS	1
2047	TAMENGLONG-1402	14020104602	GADAILONG UPS	17
2048	TAMENGLONG-1402	14020103602	GOITAGAENGLONG PS	2
2049	TAMENGLONG-1402	14020106002	HAFLONG RD. WD-IX PS	1
2050	TAMENGLONG-1402	14020104601	HAPPY VILLA PS	17
2051	TAMENGLONG-1402	14020301101	ILLENG PS	5
2052	TAMENGLONG-1402	14020200701	IMPAH NINGDI PS	1
2053	TAMENGLONG-1402	14020204001	IMPAH PS	9
2054	TAMENGLONG-1402	14020203001	INEM PS	6
2055	TAMENGLONG-1402	14020103802	INRAILONG PS	4
2056	TAMENGLONG-1402	14020106001	INRENGLONG PS	15
2057	TAMENGLONG-1402	14020200601	J. PABRAM PS	5
2058	TAMENGLONG-1402	14020304901	JADUKI JR. HS	1
2059	TAMENGLONG-1402	14020102103	JONLANGPANGPEANG PS	2
2060	TAMENGLONG-1402	14020306501	JOUPI PS	1
2061	TAMENGLONG-1402	14020300701	KABANGNING PS	4
2062	TAMENGLONG-1402	14020302701	KABONRAM PS	2
2063	TAMENGLONG-1402	14020304801	KADI PS	6
2064	TAMENGLONG-1402	14020103201	KAHULONG PS	11
2065	TAMENGLONG-1402	14020103101	KAIKAO HIGH SCHOOL	3
2066	TAMENGLONG-1402	14020201002	KAIMAI PHUNGONG JR. HS	1
2067	TAMENGLONG-1402	14020201001	KAIMAI PS (KUKI)	3
2068	TAMENGLONG-1402	14020201901	KAMRANGA KHASI PS	2
2069	TAMENGLONG-1402	14020205901	KANDIHANG/PUMRAM PS	4
2070	TAMENGLONG-1402	14020102204	KARENGKU PS	4
2071	TAMENGLONG-1402	14020305002	KASANLONG (KADI-III) PS	3
2072	TAMENGLONG-1402	14020203902	KATANG PS	5
2073	TAMENGLONG-1402	14020202701	KATANGNAM PS	4
2074	TAMENGLONG-1402	14020202903	KATIANG NEW PS	1
2075	TAMENGLONG-1402	14020300504	KAWALONG PS	2

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMAR	Y): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2076	TAMENGLONG-1402	14020103902	KHANGCHIULUAN PS	10
2077	TAMENGLONG-1402	14020104101	KHEBUCHING PS	10
2078	TAMENGLONG-1402	14020201801	KHEDAGAR KHASI PS	5
2079	TAMENGLONG-1402	14020103901	KHONGJARON JR. HIGH SCHOOL	5
2080	TAMENGLONG-1402	14020106101	KHUMJI PT-III PS	7
2081	TAMENGLONG-1402	14020305201	KHUNDONG KHUNKHAIBA PS	7
2082	TAMENGLONG-1402	14020301302	KHUNPHUNG PS (NEW)	1
2083	TAMENGLONG-1402	14020306401	KUILONG III PS	1
2084	TAMENGLONG-1402	14020303901	KUILONG PS	3
2085	TAMENGLONG-1402	14020204701	KULBUNG PS	2
2086	TAMENGLONG-1402	14020102001	L PABRAM HIGH SCHOOL	5
2087	TAMENGLONG-1402	14020207601	LAIJANG PS	1
2088	TAMENGLONG-1402	14020302201	LAMLABA HIGH SCHOOL	1
2089	TAMENGLONG-1402	14020207301	LANGKHALONG PS	1
2090	TAMENGLONG-1402	14020300101	LANGMEI HR.SEC.SCHOOL	4
2091	TAMENGLONG-1402	14020300102	LANGMEI PS	7
2092	TAMENGLONG-1402	14020301702	LANGPRAM NEW PS	2
2093	TAMENGLONG-1402	14020301701	LANGPRAM PS	9
2094	TAMENGLONG-1402	14020303301	LASSAN PS	2
2095	TAMENGLONG-1402	14020304401	LEMTA PS	1
2096	TAMENGLONG-1402	14020301301	LENGLONG HIGH SCHOOL	2
2097	TAMENGLONG-1402	14020204601	LHANGNOM PS	1
2098	TAMENGLONG-1402	14020205501	LONGJON PS	4
2099	TAMENGLONG-1402	14020203901	LOWER KATANG PS	6
2100	TAMENGLONG-1402	14020101801	LOWER SONPRAM PS	7
2101	TAMENGLONG-1402	14020102303	LUKHAMBI JR. HS	2
2102	TAMENGLONG-1402	14020105202	LUKHAMBI PT.(III) PS	2
2103	TAMENGLONG-1402	14020106008	MACHUNLONG PS	11
2104	TAMENGLONG-1402	14020203501	MAGULONG HIGH SCHOOL	3
2105	TAMENGLONG-1402	14020207101	MAJURONG PS	1
2106	TAMENGLONG-1402	14020302902	MAKUI HIGH SCHOOL	1
2107	TAMENGLONG-1402	14020306301	MAKUI THEBRAM PS	1
2108	TAMENGLONG-1402	14020304202	MAKUINONG (NEW) PS	1
2109	TAMENGLONG-1402	14020304201	MAKUINONG PS	4
2110	TAMENGLONG-1402	14020207401	MAMONG PS	1
2111	TAMENGLONG-1402	14020202201	MANDU PS	6
2112	TAMENGLONG-1402	14020201201	MAOKOT PS	1
2113	TAMENGLONG-1402	14020104503	MODEL VILL. HIGH SCHOOL	7

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2114	TAMENGLONG-1402	14020202101	MUKTAKHAL PS	4
2115	TAMENGLONG-1402	14020304301	NALLONG PS	3
2116	TAMENGLONG-1402	14020304302	NALONG (NEW) PS	2
2117	TAMENGLONG-1402	14020104401	NAMLALONG PS	1
2118	TAMENGLONG-1402	14020104404	NAMLALONG PS	15
2119	TAMENGLONG-1402	14020200201	NAMTIRAM HIGH SCHOOL	2
2120	TAMENGLONG-1402	14020200203	NAMTIRAM PS	4
2121	TAMENGLONG-1402	14020103203	NAZARETH PS	6
2122	TAMENGLONG-1402	14020305701	NDETNING PS	6
2123	TAMENGLONG-1402	14020104405	NEIGAILONG PS	10
2124	TAMENGLONG-1402	14020204902	NEW CHINGKAO PS	2
2125	TAMENGLONG-1402	14020301501	NEW KUNPHUNG HIGH SCHOOL	3
2126	TAMENGLONG-1402	14020304501	NEW LEMTA PS	1
2127	TAMENGLONG-1402	14020301401	NEW LENGLONG PS	9
2128	TAMENGLONG-1402	14020203601	NEW MAGULONG PS	1
2129	TAMENGLONG-1402	14020203002	NEW MAGULONG PS (NEW)	2
2130	TAMENGLONG-1402	14020202202	NEW MANDU UPPER PS	2
2131	TAMENGLONG-1402	14020302401	NEW PALLONG PS	8
2132	TAMENGLONG-1402	14020304701	NEW TAKOU PS	7
2133	TAMENGLONG-1402	14020104003	NEW WAIRANGBA PS	1
2134	TAMENGLONG-1402	14020201603	NGAHMUNPHAI PS	2
2135	TAMENGLONG-1402	14020205801	NJUNGKOK PS	6
2136	TAMENGLONG-1402	14020201501	NUNGKAO HIGH SCHOOL	1
2137	TAMENGLONG-1402	14020201502	NUNGKAO PART II PS	2
2138	TAMENGLONG-1402	14020305601	NURATHEL PS	4
2139	TAMENGLONG-1402	14020200802	OINAMLONG HIGH SCHOOL	5
2140	TAMENGLONG-1402	14020200803	OINAMLONG PART 4 PS	2
2141	TAMENGLONG-1402	14020200801	OINAMLONG PS	5
2142	TAMENGLONG-1402	14020102101	OLD DAILONG PS	9
2143	TAMENGLONG-1402	14020105701	OLD DUILUAN PS	1
2144	TAMENGLONG-1402	14020204301	OLD KAIPHUNDAI PS	4
2145	TAMENGLONG-1402	14020302501	OLD PALLONG PS	6
2146	TAMENGLONG-1402	14020106004	OLD TAMENGLONG JR. HIGH SCHOOL	4
2147	TAMENGLONG-1402	14020201701	PANGKOTPHAI PS	2
2148	TAMENGLONG-1402	14020207001	PANGMOL PS	2
2149	TAMENGLONG-1402	14020201601	PHAITOL PS	7
2150	TAMENGLONG-1402	14020203101	PHELLONG PS	2
2151	TAMENGLONG-1402	14020303501	PHOIKON PS	2

LI	ST OF SCHOOLS APPROV	ED FOR TEAC	HER RESOURCE PACKAGE (PRIMAR	Y): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2152	TAMENGLONG-1402	14020202501	PHOKLONG KHULLEN PS	6
2153	TAMENGLONG-1402	14020302601	PIULONG PS	1
2154	TAMENGLONG-1402	14020302602	PIULONG PS	3
2155	TAMENGLONG-1402	14020104201	PUNGLAM PS	5
2156	TAMENGLONG-1402	14020104901	RAMLALONG PS	6
2157	TAMENGLONG-1402	14020204101	RANGKEKIULONG PS	2
2158	TAMENGLONG-1402	14020102502	RANGKHUNG PS	1
2159	TAMENGLONG-1402	14020102504	RANGKHUNG PS	2
2160	TAMENGLONG-1402	14020102503	RANGKHUNG PT - III PS	5
2161	TAMENGLONG-1402	14020102501	RANGKHUNG PT-I PS	7
2162	TAMENGLONG-1402	14020102901	SANGRUNGPANG PS	7
2163	TAMENGLONG-1402	14020200301	SARAMBA PS	5
2164	TAMENGLONG-1402	14020102801	SEMPANG PS	5
2165	TAMENGLONG-1402	14020200902	SIBILONG DUIGAIJANG PS	6
2166	TAMENGLONG-1402	14020200901	SIBILONG HIGH SCHOOL	1
2167	TAMENGLONG-1402	14020306101	SINGKHIURAM PS	1
2168	TAMENGLONG-1402	14020306201	SOJAMPHAI PS	1
2169	TAMENGLONG-1402	14020305801	SONGPIBUNG PS	1
2170	TAMENGLONG-1402	14020302001	TABAM NURATHEL PS	2
2171	TAMENGLONG-1402	14020103001	TABANGLONG PS	8
2172	TAMENGLONG-1402	14020205001	TAIJIJANG PS	4
2173	TAMENGLONG-1402	14020301801	TAIPRAM PS	5
2174	TAMENGLONG-1402	14020304601	TAKOU HIGH SCHOOL	1
2175	TAMENGLONG-1402	14020300501	TAMAH PS	5
2176	TAMENGLONG-1402	14020300201	TAMEI HQ. PS	12
2177	TAMENGLONG-1402	14020104502	TAMENGLONG HQ. PS	14
2178	TAMENGLONG-1402	14020104301	TAMENGLONG HR. SEC SCHOOL	2
2179	TAMENGLONG-1402	14020203301	TANINGJAM PS	7
2180	TAMENGLONG-1402	14020102701	TAOBAM PS	2
2181	TAMENGLONG-1402	14020102702	TAOBAM PS	6
2182	TAMENGLONG-1402	14020206901	TAOLANGJANG PS	2
2183	TAMENGLONG-1402	14020206801	TAOLAPANJAENG PS	2
2184	TAMENGLONG-1402	14020303401	TAPON PS	4
2185	TAMENGLONG-1402	14020202001	TATBUNG PS	5
2186	TAMENGLONG-1402	14020202601	TEGUARAM PS	8
2187	TAMENGLONG-1402	14020102203	THARON CENTRE PS	6
2188	TAMENGLONG-1402	14020102201	THARON HIGH SCHOOL	1
2189	TAMENGLONG-1402	14020300505	THENGJANG PS (NEW)	1

LI	ST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	Y): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2190	TAMENGLONG-1402	14020303701	THENJANG JR. HIGH SCHOOL	2
2191	TAMENGLONG-1402	14020201301	THINGCHAMPHAI PS	4
2192	TAMENGLONG-1402	14020206501	THINGTUBUNG PS	1
2193	TAMENGLONG-1402	14020302801	THIUJAINING PS	4
2194	TAMENGLONG-1402	14020200401	THIULON HIGH SCHOOL	2
2195	TAMENGLONG-1402	14020200403	THIULON NAMTHAN PS	5
2196	TAMENGLONG-1402	14020202403	TOUSEM ASHRAM SCHOOL	4
2197	TAMENGLONG-1402	14020202402	TOUSEM HIGH SCHOOL	4
2198	TAMENGLONG-1402	14020202401	TOUSEM KHULLEN PS	6
2199	TAMENGLONG-1402	14020206601	TOUSEM KHULLEN PT.III PS	1
2200	TAMENGLONG-1402	14020205201	TUNGTAO PS	4
2201	TAMENGLONG-1402	14020203201	UPPER PHELLONG PS	3
2202	TAMENGLONG-1402	14020105601	UPPER SANGRUNGPANG PS	2
2203	TAMENGLONG-1402	14020101802	UPPER SONPRAM PS	7
2204	TAMENGLONG-1402	14020200502	VANCHENGPHAI (NEW) PS	1
2205	TAMENGLONG-1402	14020200501	VANCHENGPHAI PS	5
2206	TAMENGLONG-1402	14020204201	VANGAICHUNGPAO PS	4
2207	TAMENGLONG-1402	14020207701	VANTUNGBUNG PS	1
2208	TAMENGLONG-1402	14020104001	WAIRANGBA PS	10
2209	TAMENGLONG-1402	14020205101	ZEILADJANG PS	2
2210	TAMENGLONG-1402	14020202901	ZENNING JR. HS	1
2211	TENGNOUPAL-1411	14110201201	AIMOL CHINGNUNGHUT HIGH SCHOOL	3
2212	TENGNOUPAL-1411	14110200101	AIMOL KHULLEN P/S	11
2213	TENGNOUPAL-1411	14110203101	AIMOL KUMBIREI P/S	6
2214	TENGNOUPAL-1411	14110208301	ANGBRASU P/S	6
2215	TENGNOUPAL-1411	14110210601	AYAPUREL JUNIOR HIGH SCHOOL	3
2216	TENGNOUPAL-1411	14110105301	BIJANG P/S	5
2217	TENGNOUPAL-1411	14110105501	BONGLI JUNIOR HIGH SCHOOL	3
2218	TENGNOUPAL-1411	14110202201	CHAHMOL P/S	7
2219	TENGNOUPAL-1411	14110206101	CHALSON TENGNOUPAL PRIMARY SCHOOL	2
2220	TENGNOUPAL-1411	14110211001	CHANGPOL P/S	3
2221	TENGNOUPAL-1411	14110103201	CHATTONG P/S	6
2222	TENGNOUPAL-1411	14110108101	CHINGJAROI PRIMARY SCHOOL	2
2223	TENGNOUPAL-1411	14110105701	CHINGKHAN YONYER PRIMARY SCHOOL	2
2224	TENGNOUPAL-1411	14110102401	GOMI UPPER PRIMARY SCHOOL	6
2225	TENGNOUPAL-1411	14110205301	H. MONGJANG UPPER PRIMARY	2

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
			SCHOOL	
2226	TENGNOUPAL-1411	14110105001	HEINOUKHONG UPPER PRIMAY SCHOOL	2
2227	TENGNOUPAL-1411	14110211301	K. MOULSANG UPPER PRIMARY SCHOOL	2
2228	TENGNOUPAL-1411	14110209301	KAMBANG KHULLEN P/S	9
2229	TENGNOUPAL-1411	14110209201	KAMBANG KHUNOU P/S	5
2230	TENGNOUPAL-1411	14110100801	KANGOI KULLEN P/S	8
2231	TENGNOUPAL-1411	14110106501	KARONGTHEL UPPER PRIMARY SCHOOL	7
2232	TENGNOUPAL-1411	14110106001	KHANGSHIM PRIMARY SCHOOL	2
2233	TENGNOUPAL-1411	14110210201	KHAOSAT P/S	5
2234	TENGNOUPAL-1411	14110208101	KHAROU KHULLEN P/S	4
2235	TENGNOUPAL-1411	14110208001	KHAROU KHUNOU HIGH SCHOOL	4
2236	TENGNOUPAL-1411	14110107101	KHOIBU JUNIOR HIGH SCHOOL	5
2237	TENGNOUPAL-1411	14110210701	KHONGKANG SAVUMPA P/S	7
2238	TENGNOUPAL-1411	14110210101	KHONGKHANG P/S	7
2239	TENGNOUPAL-1411	14110205601	KHONOMPHAI PRIMARY SCHOOL	1
2240	TENGNOUPAL-1411	14110202501	KHUDEI KHULLEN P/S	6
2241	TENGNOUPAL-1411	14110100401	KHUDEI KHUMAN PRIMARY SCHOOL	2
2242	TENGNOUPAL-1411	14110101501	KHUNBI P/S	5
2243	TENGNOUPAL-1411	14110101301	KHUNBI TUINEM UPPER PRIMARY SCHOOL	2
2244	TENGNOUPAL-1411	14110106201	KOIJAM P/S	8
2245	TENGNOUPAL-1411	14110106601	KONAITONG P/S	5
2246	TENGNOUPAL-1411	14110205201	KWATHA HIGH SCHOOL	1
2247	TENGNOUPAL-1411	14110211101	KWATHA KHUNOU PRIMARY SCHOOL	2
2248	TENGNOUPAL-1411	14110102501	LAICHING MINOU P/S	7
2249	TENGNOUPAL-1411	14110209801	LAMJANG P/S	5
2250	TENGNOUPAL-1411	14110103401	LAMLONG KHULLEN H/S	2
2251	TENGNOUPAL-1411	14110208501	LAMLONG KHUNOU P/S	4
2252	TENGNOUPAL-1411	14110100703	LANGOL ASHRAM SCHOOL	4
2253	TENGNOUPAL-1411	14110102001	LANGOL KHUNOU UPPER PRIMARY SCHOOL	1
2254	TENGNOUPAL-1411	14110100702	LANGOL P/S	6
2255	TENGNOUPAL-1411	14110209101	LEIBI UPPER PRIMARY SCHOOL	9
2256	TENGNOUPAL-1411	14110211701	LEISAN TENGNOUPAL PRIMARY SCHOOL	2
2257	TENGNOUPAL-1411	14110202701	LEITAN P/S	5

LI	ST OF SCHOOLS APPROV	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY	7): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2258	TENGNOUPAL-1411	14110104301	MACHI HIGH SCHOOL	2
2259	TENGNOUPAL-1411	14110210001	MANKANG P/S	7
2260	TENGNOUPAL-1411	14110209901	MAOJANG P/S	6
2261	TENGNOUPAL-1411	14110103101	MAOLHANG PRIMARY SCHOOL	2
2262	TENGNOUPAL-1411	14110104501	MARRYLAND PRIMARY SCHOOL	2
2263	TENGNOUPAL-1411	14110210901	MOIRENGTHEL P/S	2
2264	TENGNOUPAL-1411	14110207501	MOREH HIGHER SECONDARY SCHOOL	3
2265	TENGNOUPAL-1411	14110204701	MOREH PREMNAGAR WARD NO.4 PRIMARY SCHOOL	4
2266	TENGNOUPAL-1411	14110213801	N. CHAMPHAI PRIMARY SCHOOL	1
2267	TENGNOUPAL-1411	14110106301	NUNGTAK P/S	6
2268	TENGNOUPAL-1411	14110103701	PELYANG P/S	4
2269	TENGNOUPAL-1411	14110107301	PHOILENCHING P/S	4
2270	TENGNOUPAL-1411	14110100901	PHUNCHONG P/S	7
2271	TENGNOUPAL-1411	14110214201	S. MOLJOL PRIMARY SCHOOL	2
2272	TENGNOUPAL-1411	14110206402	S.MAIPI P/S	6
2273	TENGNOUPAL-1411	14110207701	SAIBOL P/S	4
2274	TENGNOUPAL-1411	14110212801	SAIREL SAISIM PRIMARY SCHOOL	2
2275	TENGNOUPAL-1411	14110201801	SAIVOM P/S	8
2276	TENGNOUPAL-1411	14110101101	SAMUKOM P/S	5
2277	TENGNOUPAL-1411	14110201301	SENAM P/S	5
2278	TENGNOUPAL-1411	14110201901	SITA HIGH SCHOOL	5
2279	TENGNOUPAL-1411	14110205101	T. JANGNOM PRIMARY SCHOOL	1
2280	TENGNOUPAL-1411	14110206001	T.BONGMOL UPPER PRIMARY SCHOOL	6
2281	TENGNOUPAL-1411	14110201101	TENGNOUPAL HIGH SCHOOL	1
2282	TENGNOUPAL-1411	14110103001	TENKONBUNG PRIMARY SCHOOL	2
2283	TENGNOUPAL-1411	14110103301	THABIKEITHEL PRIMARY SCHOOL	2
2284	TENGNOUPAL-1411	14110106701	THAMLAI P/SCHOOL	6
2285	TENGNOUPAL-1411	14110107401	THINGKANGBUNG P/S	3
2286	TENGNOUPAL-1411	14110106801	TOLLEN GOVT HIGH SCHOOL	2
2287	TENGNOUPAL-1411	14110101401	TUISEN P/S	5
2288	TENGNOUPAL-1411	14110200401	TUISOMJANG PRIMARY SCHOOL	2
2289	TENGNOUPAL-1411	14110208701	WAKSU PRIMARY SCHOOL	2
2290	TENGNOUPAL-1411	14110105401	YAMOLCHING PRIMARY SCHOOL	3
2291	TENGNOUPAL-1411	14110211801	YANGOUPOKPI PRIMARY SCHOOL	2
2292	TENGNOUPAL-1411	14110207601	YONGKHUL P/S	5
2293	THOUBAL-1405	14050110102	ABDUL ALI HIGH MADRASSA	5

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2294	THOUBAL-1405	14050111811	AMAKCHAM PRIMARY MADRASSA	3
2295	THOUBAL-1405	14050101001	AMUREIJAM PRIMARY SCHOOL	5
2296	THOUBAL-1405	14050103302	ATHOKPAM JUNIOR HIGH SCHOOL	6
2297	THOUBAL-1405	14050110001	ATHOKPAM MAKHA UPPER PRIMARY SCHOOL	3
2298	THOUBAL-1405	14050109901	ATHOKPAM MAYAI PRIMARY SCHOOL	6
2299	THOUBAL-1405	14050111201	ATOUKHONG PRIMARY MADRASSA	5
2300	THOUBAL-1405	14050107101	BENGI PRIMARY SCHOOL	6
2301	THOUBAL-1405	14050108301	CHANDRAKHONG PHANJANGKHONG H/S	6
2302	THOUBAL-1405	14050110802	CHAOBOK ARAPTI JUNIOR HIGH SCHOOL	2
2303	THOUBAL-1405	14050110702	CHAOBOK TAIREL MAKHONG PRIMARY MADRASSA	9
2304	THOUBAL-1405	14050100402	CHARANGPAT HIGH SCHOOL	4
2305	THOUBAL-1405	14050100405	CHARANGPAT MAMANG PRIMARY SCHOOL	6
2306	THOUBAL-1405	14050111403	CHINGJAO MAYAI LOWER PRIMARY MADRASSA	5
2307	THOUBAL-1405	14050111402	CHINGJAO NUNGEI NALA LOWER PRIMARY MADRASSA	3
2308	THOUBAL-1405	14050111401	CHINGKHAM MAKHA UPPER PRIMARY MADRASSA	3
2309	THOUBAL-1405	14050105301	CHINGTHAM MANING PRIMARY SCHOOL	2
2310	THOUBAL-1405	14050104401	EUREKA HIGH SCHOOL	4
2311	THOUBAL-1405	14050102201	HAOKHA UPPER PRIMARY SCHOOL	5
2312	THOUBAL-1405	14050110402	HAOREIBI SAMBRUKHONG UPPER PRIMARY SCHOOL	4
2313	THOUBAL-1405	14050110303	HAOREIBI AWANG LEIKAI TERAMAKHONG UPPER PRIMARY SCHOOL	6
2314	THOUBAL-1405	14050111605	HAOREIBI CHANDAKHONG LOWER PRIMARY MADRASSA	2
2315	THOUBAL-1405	14050110401	HAOREIBI CHEGAIPOKPI LOWER PRIMARY MADRASSA	3
2316	THOUBAL-1405	14050111001	HAOREIBI KONJIL LEIKAI JUNIOR HIGH MADRASSA	3
2317	THOUBAL-1405	14050110901	HAOREIBI LAIRABAKHONG PRIMARY MADRASSA	4
2318	THOUBAL-1405	14050110501	HAOREIBI LOU-MANGA LOWER PRIMARY MADRASSA	2
2319	THOUBAL-1405	14050111604	HAOREIBI MAKHA LEIKAI HIGH MADRASSA	3

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2320	THOUBAL-1405	14050110902	HAOREIBI MAKHA LEIKAI PRIMARY MADRASSA	7
2321	THOUBAL-1405	14050110403	HAOREIBI MAYAI LEIKAI UPPER PRIMARY SCHOOL	7
2322	THOUBAL-1405	14050110301	HAOREIBI YANGBI LEIKAI LOWER PRIMARY MADRASSA	3
2323	THOUBAL-1405	14050102101	HAYELLABUK UPPER PRIMARY SCHOOL	4
2324	THOUBAL-1405	14050112012	HEIBONG MAKHONG UPPER PRIMARY SCHOOL	1
2325	THOUBAL-1405	14050104801	HEININGSOI PRIMARY SCHOOL	3
2326	THOUBAL-1405	14050114501	HEIROK CHINGDOMPOK JUNIOR HIGH SCHOOL	6
2327	THOUBAL-1405	14050106408	HEIROK KABO LEIKAI PRIMARY SCHOOL	8
2328	THOUBAL-1405	14050108608	HEIROK KHUNOU UPPER PRIMARY SCHOOL	5
2329	THOUBAL-1405	14050106406	HEIROK PT. III UPPER PRIMARY SCHOOL	6
2330	THOUBAL-1405	14050113902	HEIROK PT.II PRIMARY SCHOOL	7
2331	THOUBAL-1405	14050108606	HEIROK PT.II MAYAI LEIKAI UPPER PRIMARY SCHOOL	1
2332	THOUBAL-1405	14050106401	HEITUPPOKPI UPPER PRIMARY SCHOOL	4
2333	THOUBAL-1405	14050108201	INGOUROK UPPER PRIMARY SCHOOL	3
2334	THOUBAL-1405	14050111902	IRONG CHESSABA UPPER PRIMARY SCHOOL	3
2335	THOUBAL-1405	14050111906	IRONG MAKHA PRIMARY MADRASSA	3
2336	THOUBAL-1405	14050111905	IRONG MAYAI LEIKAI PRIMARY MADRASSA	5
2337	THOUBAL-1405	14050111907	IRONG PRIMARY MADRASSA	5
2338	THOUBAL-1405	14050111904	IRONG SALAM ACHOUBA UPPER PRIMARY SCHOOL	2
2339	THOUBAL-1405	14050106001	KAIREMBIKHOK PRIMARY SCHOOL	3
2340	THOUBAL-1405	14050107701	KAKMAYAI UPPER PRIMARY SCHOOL	3
2341	THOUBAL-1405	14050103401	KANGASHENBI UPPER PRIMARY SCHOOL	13
2342	THOUBAL-1405	14050116702	KANGTHOKCHAO UPPER PRIMARY SCHOOL	2
2343	THOUBAL-1405	14050117102	KANGYAMBEM UPPER PRIMARY SCHOOL	3
2344	THOUBAL-1405	14050111809	KEIBUNG UPPER PRIMARY SCHOOL	5
2345	THOUBAL-1405	14050111813	KEIBUNG WANGMATABA LOWER PRIMARY MADRASSA	4

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2346	THOUBAL-1405	14050102402	KEKRU GOVT. PRIMARY SCHOOL	5
2347	THOUBAL-1405	14050114404	KHANGABOK AWANG UPPER PRIMARY SCHOOL	9
2348	THOUBAL-1405	14050114419	KHANGABOK CHERAPUR UPPER PRIMARY SCHOOL	3
2349	THOUBAL-1405	14050114418	KHANGABOK KHA-KHUNDON UPPER PRIMARY SCHOOL	2
2350	THOUBAL-1405	14050114403	KHANGABOK UPPER PRIMARY SCHOOL	8
2351	THOUBAL-1405	14050111801	KHEKMAN BOYS PRIMARY SCHOOL	5
2352	THOUBAL-1405	14050111802	KHEKMAN GIRLS LOWER PRIMARY SCHOOL	4
2353	THOUBAL-1405	14050111807	KHEKMAN WANGMATABA PRIMARY SCHOOL	5
2354	THOUBAL-1405	14050112004	KHELAKHONG AMANBI UPPER PRIMARY MADRASSA	6
2355	THOUBAL-1405	14050101702	KHOIROM JUNIOR HIGH SCHOOL	3
2356	THOUBAL-1405	14050104902	KHONGDOUBI UPPER PRIMARY SCHOOL	1
2357	THOUBAL-1405	14050101704	KHONGNANGPAL PRIMARY MADRASSA	5
2358	THOUBAL-1405	14050100902	KIYAM SHIPHAI HIGH SCHOOL	5
2359	THOUBAL-1405	14050100901	KIYAM SIPHAI PRIMARY SCHOOL	7
2360	THOUBAL-1405	14050101303	KIYAM WANGMATABA PRIMARY SCHOOL	6
2361	THOUBAL-1405	14050103101	KSHETRILEIKAI PRIMARY SCHOOL	7
2362	THOUBAL-1405	14050111701	LAIPHRAKPAM JUNIOR HIGH SCHOOL	5
2363	THOUBAL-1405	14050104601	LALITAMADHOP SHARMA HIGH SCHOOL	5
2364	THOUBAL-1405	14050117402	LAMDING CHERAPUR UPPER PRIMARY SCHOOL	3
2365	THOUBAL-1405	14050117401	LAMDING KHUMANTHEM UPPER PRIMARY SCHOOL	6
2366	THOUBAL-1405	14050105801	LANGATHEL MANDAKINI UPPER PRIMARY SCHOOL	1
2367	THOUBAL-1405	14050107001	LANGMEITHET UPPER PRIMARY SCHOOL	3
2368	THOUBAL-1405	14050112601	LANGTHABAL KHUNOU PRIMARY SCHOOL	2
2369	THOUBAL-1405	14050110302	LEIHAOKHONG PRIMARY MADRASSA	3
2370	THOUBAL-1405	14050103901	LEINGOIJIL UPPER PRIMARY MADRASSA	6
2371	THOUBAL-1405	14050107902	LEIRONGTHEL MALOM UPPER PRIMARY SCHOOL	3

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2372	THOUBAL-1405	14050107903	LEIRONGTHEL PITRA PRIMARY SCHOOL	3
2373	THOUBAL-1405	14050107901	LEIRONGTHEL UPPER PRIMARY SCHOOL	3
2374	THOUBAL-1405	14050104003	LEISHANGTHEM KELIMAKHONG UPPER PRIMARY SCHOOL	4
2375	THOUBAL-1405	14050104001	LEISHANGTHEM WANGMATABA UPPER PRIMARY SCHOOL	4
2376	THOUBAL-1405	14050101302	LEITANPOK PRIMARY MADRASSA	5
2377	THOUBAL-1405	14050110701	LILONG CHAOBOK LOWER PRIMARY MADRASSA	4
2378	THOUBAL-1405	14050106901	LOUREMBAM UKHONGSHANG UPPER PRIMARY SCHOOL	2
2379	THOUBAL-1405	14050112002	MAIBAM KONJIL PRIMARY SCHOOL	2
2380	THOUBAL-1405	14050112001	MAIBAM PALLI JUNIOR HIGH SCHOOL	2
2381	THOUBAL-1405	14050111603	MAYAI TUREL AHANBI JUNIOR HIGH MADRASSA	7
2382	THOUBAL-1405	14050111602	MAYAI TUREL AHANBI PRIMARY MADRASSA	4
2383	THOUBAL-1405	14050103902	MOIJING AWANG PRIMARY MADRASSA	5
2384	THOUBAL-1405	14050103906	MOIJING UPPER PRIMARY SCHOOL	7
2385	THOUBAL-1405	14050109801	NEPRA COMPANY PRIMARY SCHOOL	5
2386	THOUBAL-1405	14050103003	NIMAICHAND AND KEINYA HIGH SCHOOL	6
2387	THOUBAL-1405	14050103702	NINGOMBAM UPPER PRIMARY SCHOOL	5
2388	THOUBAL-1405	14050111302	NUNGEI KHUNOU LOWER PRIMARY MADRASSA	2
2389	THOUBAL-1405	14050111301	NUNGEI LOWER PRIMARY MADRASSA	3
2390	THOUBAL-1405	14050111501	OINAM SAWOMBUNG HIGH SCHOOL	5
2391	THOUBAL-1405	14050102902	OKRAM UPPER PRIMARY SCHOOL	5
2392	THOUBAL-1405	14050105103	PAPAL PRIMARY SCHOOL	2
2393	THOUBAL-1405	14050107401	PECHI PRIMARY SCHOOL	2
2394	THOUBAL-1405	14050100801	PHOUDEN KEIRAMBI PRIMARY SCHOOL	4
2395	THOUBAL-1405	14050100802	PHOUDEN UPPER PRIMARY SCHOOL	5
2396	THOUBAL-1405	14050104301	PHUNDREI HIGH SCHOOL	9
2397	THOUBAL-1405	14050114301	PULLEIPOKPI PRIMARY SCHOOL	4
2398	THOUBAL-1405	14050104913	PULLEIPOKPI TENTHA KHUNOU PS	6
2399	THOUBAL-1405	14050114309	RAFIUDDIN PM	8

LIS	T OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY)	: 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2400	THOUBAL-1405	14050103801	SABANTONGBA PRIMARY SCHOOL	4
2401	THOUBAL-1405	14050116902	SAMARAM GIRLS PRIMARY SCHOOL	4
2402	THOUBAL-1405	14050116901	SAMARAM JUNIOR HIGH SCHOOL	7
2403	THOUBAL-1405	14050114310	SANGAIYUMPHAM KARANCHI PRIMAY SCHOOL	5
2404	THOUBAL-1405	14050114302	SANGAIYUMPHAM UPPER PRIMARY SCHOOL	4
2405	THOUBAL-1405	14050112401	SANTHEL MAMANG HIGH MADRASSA	5
2406	THOUBAL-1405	14050104402	SAPAM PRIMARY SCHOOL	4
2407	THOUBAL-1405	14050107501	SEKMAI KHUMBI HIGH SCHOOL	3
2408	THOUBAL-1405	14050107602	SHIKHONG KHUNOU HIJAM KHUNOU PRIMARY SCHOOL	4
2409	THOUBAL-1405	14050101907	SINGA BISHNUNAHA UPPER PRIMARY SCHOOL	5
2410	THOUBAL-1405	14050104802	TEKCHAM GIRLS UPPER PRIMARY SCHOOL	7
2411	THOUBAL-1405	14050104803	TEKCHAM PRIMARY SCHOOL	2
2412	THOUBAL-1405	14050104905	TENTHA HIGH SCHOOL	3
2413	THOUBAL-1405	14050104912	TENTHA KHUNJAO JUNIOR HIGH SCHOOL	4
2414	THOUBAL-1405	14050104901	TENTHA MARONGBAND UPPER PRIMARY SCHOOL	6
2415	THOUBAL-1405	14050104904	TENTHA PRIMARY SCHOOL	5
2416	THOUBAL-1405	14050107202	THOKCHOM BENGI UPPER PRIMARY SCHOOL	3
2417	THOUBAL-1405	14050103201	THOUBAL LEITANTHEM KANHAI JUNIOR HIGH SCHOOL	7
2418	THOUBAL-1405	14050103007	THOUBAL WANGMATABA UPPER PRIMARY SCHOOL	5
2419	THOUBAL-1405	14050104004	THOUDAM LEISHANGTHEM HIGH SCHOOL	11
2420	THOUBAL-1405	14050104201	TOMCHA LEIMA HIGH SCHOOL	1
2421	THOUBAL-1405	14050110201	TUREL AHANBI MATHAK LOWER PRIMARY MADRASSA	3
2422	THOUBAL-1405	14050110202	TUREL AHANBI MAYAI PRIMARY MADRASSA	4
2423	THOUBAL-1405	14050110502	TUREL AHANBI SALAM MATHAK LOWER PRIMARY MADRASSA	3
2424	THOUBAL-1405	14050112303	UCHIWA NASTAO UPPER PRIMARY SCHOOL	2
2425	THOUBAL-1405	14050112305	UCHIWA WANGMATABA PRIMARY MADRASSA	2
2426	THOUBAL-1405	14050116502	UKHONGSHANG UPPER PRIMARY	3

LIS	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMARY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
			SCHOOL	
2427	THOUBAL-1405	14050109701	UYAL UPPER PRIMARY SCHOOL	4
2428	THOUBAL-1405	14050102601	WAITHOU MAPAL JUNIOR HIGH SCHOOL	3
2429	THOUBAL-1405	14050102301	WAITHOU PRIMARY SCHOOL	5
2430	THOUBAL-1405	14050109603	WANGBAL JUNIOR HIGH SCHOOL	1
2431	THOUBAL-1405	14050109601	WANGBAL PRIMARY SCHOOL	3
2432	THOUBAL-1405	14050104501	WANGJING HIGH SCHOOL	1
2433	THOUBAL-1405	14050117301	WANGJING HODAMBA JUNIOR HIGH SCHOOL	3
2434	THOUBAL-1405	14050104502	WANGJING JUNIOR HIGH SCHOOL	6
2435	THOUBAL-1405	14050117303	WANGJING PUBLIC PRIMARY SCHOOL	4
2436	THOUBAL-1405	14050101902	WANGKHEM JUNIOR HIGH SCHOOL	13
2437	THOUBAL-1405	14050102501	YAIRIPOK HIGH SCHOOL	8
2438	UKHRUL-1408	14080100466	AWUNGTANG UPS	2
2439	UKHRUL-1408	14080100701	BUMREI P/S	13
2440	UKHRUL-1408	14080204301	CHALLOU PS	4
2441	UKHRUL-1408	14080104301	CHAMPHUNG P/S	3
2442	UKHRUL-1408	14080104601	CHAMPHUNG RAMRIM UPS	2
2443	UKHRUL-1408	14080200201	CHINGAI HS	2
2444	UKHRUL-1408	14080203603	CHINGJAROI AWONTANG PS	1
2445	UKHRUL-1408	14080203801	CHINGJAROI KL P/S	4
2446	UKHRUL-1408	14080201101	CHINGJAROI KN P/S	6
2447	UKHRUL-1408	14080107101	CHINGSHOU HIGH SCHOOL	1
2448	UKHRUL-1408	14080101601	CHOITHAR H/S	3
2449	UKHRUL-1408	14080203601	EASTERN CHRISTIAN HS	2
2450	UKHRUL-1408	14080200902	FRONTIER HS	4
2451	UKHRUL-1408	14080100416	GREENLAND P/S	14
2452	UKHRUL-1408	14080108107	HALANG WUNGLUNGTANG P/S	7
2453	UKHRUL-1408	14080102001	HATHA UPS	2
2454	UKHRUL-1408	14080103602	HUIMI JR. HS	1
2455	UKHRUL-1408	14080108106	HUINING (C) UPS	4
2456	UKHRUL-1408	14080108108	HUINING ARA PS	6
2457	UKHRUL-1408	14080108105	HUINING HIGH SCHOOL	5
2458	UKHRUL-1408	14080204401	HUISHU PS	6
2459	UKHRUL-1408	14080100702	HUNDUNG KAZIPHUNG H/S	4
2460	UKHRUL-1408	14080100703	HUNDUNG VASINGTANG P/S	16
2461	UKHRUL-1408	14080202501	JESSAMI HR. SECONDARY SCHOOL	2

LIS	T OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMA	RY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2462	UKHRUL-1408	14080100419	K.K. LEISHIPHANIT JR. H/S	5
2463	UKHRUL-1408	14080103102	KACHAI PHUNGTHAR UPS	9
2464	UKHRUL-1408	14080102101	KACHAI H/S	1
2465	UKHRUL-1408	14080102104	KACHAI NGAMREI P/S	5
2466	UKHRUL-1408	14080102103	KACHAI SHIMPHUNGRIM P/S	2
2467	UKHRUL-1408	14080102102	KACHAI THIKHOR P/S	4
2468	UKHRUL-1408	14080203301	KALHANG KUIREI H/S	2
2469	UKHRUL-1408	14080204503	KALHANG P/S	10
2470	UKHRUL-1408	14080100451	KHAIVAREN P/S	1
2471	UKHRUL-1408	14080100420	KHAIYAISHAT UPS	5
2472	UKHRUL-1408	14080108507	KHAMASOM H/S	1
2473	UKHRUL-1408	14080201701	KHAMASOM PHUNGREI P/S	5
2474	UKHRUL-1408	14080108508	KHAMASOM PHUNGTHAR P/S	7
2475	UKHRUL-1408	14080108505	KHAMASOM WALLELY P/S	3
2476	UKHRUL-1408	14080102801	KHANGKHUI KL. P/S	5
2477	UKHRUL-1408	14080102901	KHANGKHUI KN. P/S	4
2478	UKHRUL-1408	14080202204	KHARASOM GOVT. HS	5
2479	UKHRUL-1408	14080202202	KHARASOM LAZO PS	6
2480	UKHRUL-1408	14080202701	KUINGAI PS	5
2481	UKHRUL-1408	14080203302	KUIREI PS	1
2482	UKHRUL-1408	14080101401	LAMBUI HIGH SCHOOL	3
2483	UKHRUL-1408	14080103403	LAMLANG GATE P/S	4
2484	UKHRUL-1408	14080109001	LAMLANG GATE UPS	1
2485	UKHRUL-1408	14080109003	LAMLANG HAPPYLAND PS	7
2486	UKHRUL-1408	14080103001	LANGDANG KL. P/S	7
2487	UKHRUL-1408	14080103701	LANGDANG P/S	5
2488	UKHRUL-1408	14080103101	LANGDANG PHUNGDHAR P/S	6
2489	UKHRUL-1408	14080104801	LEISAN H/S	2
2490	UKHRUL-1408	14080106701	LITAN SAREIKHONG P/S	3
2491	UKHRUL-1408	14080201902	LONGPI KAJUI PS	5
2492	UKHRUL-1408	14080204201	LUIREISHIMPHUNG P/S	7
2493	UKHRUL-1408	14080100421	LUIYAINAOTANG UPS	1
2494	UKHRUL-1408	14080108603	LUNGHAR P/S	7
2495	UKHRUL-1408	14080101902	LUNGREIPHUNG P/S	7
2496	UKHRUL-1408	14080107901	MAICHON P/S	6
2497	UKHRUL-1408	14080203701	MARANGPHUNG PS	5
2498	UKHRUL-1408	14080203201	MAREM UPS	5
2499	UKHRUL-1408	14080202502	MEWUCHUKHE PS	7

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMA)	RY): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2500	UKHRUL-1408	14080100418	MODEL H/S	8
2501	UKHRUL-1408	14080106301	MOLLEN KAMSEI P/S	4
2502	UKHRUL-1408	14080109401	MOLNOM P/S	6
2503	UKHRUL-1408	14080105601	MONGKOT CHEPU HS	1
2504	UKHRUL-1408	14080201001	NAMREI P/S	9
2505	UKHRUL-1408	14080108203	NEW CANAAN PS	12
2506	UKHRUL-1408	14080203901	NEW WAHONG PS	5
2507	UKHRUL-1408	14080100422	NGACHONMI FUND P/S	15
2508	UKHRUL-1408	14080203501	NGAHUI PS	5
2509	UKHRUL-1408	14080104402	NGAIMU HS	1
2510	UKHRUL-1408	14080104401	NGAIMU SAILEM P/S	8
2511	UKHRUL-1408	14080201901	NUNGBI KL PS	6
2512	UKHRUL-1408	14080101201	NUNGOU AZE P/S	6
2513	UKHRUL-1408	14080101101	NUNGOU P/S	6
2514	UKHRUL-1408	14080100801	NUNGSHANG C.K. P/S	4
2515	UKHRUL-1408	14080100601	NUNGSHONG KL. P/S	4
2516	UKHRUL-1408	14080100501	NUNGSHONG KN. P/S	4
2517	UKHRUL-1408	14080200601	OLD WAHONG P/S	3
2518	UKHRUL-1408	14080204101	PAOCHAM HS	3
2519	UKHRUL-1408	14080202401	PAOREI PS	6
2520	UKHRUL-1408	14080200703	PAOYI AZETANG PS	6
2521	UKHRUL-1408	14080200702	PAOYI HS	2
2522	UKHRUL-1408	14080200704	PAOYI L/P (SV)	1
2523	UKHRUL-1408	14080200701	PAOYI THANA PS	12
2524	UKHRUL-1408	14080100309	PHADANG CHRISTIAN UPS	3
2525	UKHRUL-1408	14080100306	PHADANG H/S	7
2526	UKHRUL-1408	14080100310	PHADANG NGARUMPHUNG P/S	5
2527	UKHRUL-1408	14080100307	PHADANG TANGREI P/S	3
2528	UKHRUL-1408	14080104101	PHARUNG SHIMDANG P/S	7
2529	UKHRUL-1408	14080201401	PHUNGCHAM PS	14
2530	UKHRUL-1408	14080203102	POI MAKEVA PS	8
2531	UKHRUL-1408	14080108401	PUSHING GOVT. H/S	2
2532	UKHRUL-1408	14080204601	RAZAI KL PS	1
2533	UKHRUL-1408	14080200801	RAZAI KL UPS	4
2534	UKHRUL-1408	14080200802	RAZAI KN PS	5
2535	UKHRUL-1408	14080103304	RINGUI AYOTANG P/S	5
2536	UKHRUL-1408	14080103201	RINGUI RAMHON P/S	6
2537	UKHRUL-1408	14080200903	RINO NEW TUSOM P/S	5

LI	ST OF SCHOOLS APPRO	VED FOR TEAC	HER RESOURCE PACKAGE (PRIMAR	Y): 2022-23
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS
2538	UKHRUL-1408	14080106801	RONSHAK P/S	5
2539	UKHRUL-1408	14080105501	SANAKEITHEL CHINGSHANG HS	1
2540	UKHRUL-1408	14080100454	SANGMAYANG UPS	1
2541	UKHRUL-1408	14080109002	SEIKHOR CHRISTIAN HS	3
2542	UKHRUL-1408	14080101301	SHANGCHING P/S	4
2543	UKHRUL-1408	14080106201	SHANGKAI P/S	4
2544	UKHRUL-1408	14080101801	SHANGSHAK H/S	3
2545	UKHRUL-1408	14080101701	SHIROI H/S	6
2546	UKHRUL-1408	14080102601	SHOKVAO P/S	5
2547	UKHRUL-1408	14080102602	SHOKVAO WORRINTANG P/S	6
2548	UKHRUL-1408	14080106401	SHONGPHEL PS	8
2549	UKHRUL-1408	14080108804	SIHAI KAHAOPHUNG P/S	3
2550	UKHRUL-1408	14080108806	SIHAI KL. P/S	8
2551	UKHRUL-1408	14080108805	SIHAI KN. P/S	4
2552	UKHRUL-1408	14080100103	SIRARAKHONG P/S	6
2553	UKHRUL-1408	14080108602	SOLOLUI P/S	7
2554	UKHRUL-1408	14080104204	SOMDAL KASOM UPS	2
2555	UKHRUL-1408	14080104203	SOMDAL N.K. HR. SEC. SCHOOL	3
2556	UKHRUL-1408	14080204001	SORAPHUNG P/S	11
2557	UKHRUL-1408	14080103904	TALUI HR. SEC. ACADEMY	3
2558	UKHRUL-1408	14080101001	TASHAR CHANHONG UPS	3
2559	UKHRUL-1408	14080100904	TASHAR HAKHONG P/S	4
2560	UKHRUL-1408	14080100905	TASHAR SHIMMIN P/S	6
2561	UKHRUL-1408	14080105901	TM KASOM PS	5
2562	UKHRUL-1408	14080103905	TOLLOI HUBERT P/S	10
2563	UKHRUL-1408	14080103906	TOLLOI PHUNGTON P/S	4
2564	UKHRUL-1408	14080103306	TONGOU H/S	1
2565	UKHRUL-1408	14080105202	TORA AZE P/S	2
2566	UKHRUL-1408	14080105201	TORA CHAMPHUNG H/S	1
2567	UKHRUL-1408	14080105301	TORA P/S	2
2568	UKHRUL-1408	14080100203	TUINEM H/S	2
2569	UKHRUL-1408	14080100204	TUINEM RAMHON P/S	10
2570	UKHRUL-1408	14080100903	TUSHEN HIGH SCHOOL(TASHAR)	1
2571	UKHRUL-1408	14080200101	TUSOM CV P/S	9
2572	UKHRUL-1408	14080202601	TUSOM KL P/S	6
2573	UKHRUL-1408	14080100425	UKHRUL HR. SEC. SCHOOL	4
2574	UKHRUL-1408	14080105101	UPPER LEISAN P/S	2
2575	UKHRUL-1408	14080100424	VPH P/S	14

L	LIST OF SCHOOLS APPROVED FOR TEACHER RESOURCE PACKAGE (PRIMARY): 2022-23					
SL. NO.	DISTRICT NAME	UDISE CODE	SCHOOL NAME	NO. OF TABLETS FOR REGULAR PRIMARY TEACHERS		
2576	UKHRUL-1408	14080203401	WAHONG UPS	1		
2577	UKHRUL-1408	14080108202	WUNGHON UPS	3		
2578	UKHRUL-1408	14080105001	ZALENBUNG P/S	4		
		TOT	'AL	10876		

List of approval under KGBV

Details of newly upgraded KGBV under Type II with 150 seats (existing 100 seats + additional 50 seats. Additional 50 bedded hostel building, Furniture/ Equipment (including kitchen), TLM and equipment including library books and bedding also recommended for additional seats.

Sl. No.	District Name	Block Name	UDISE Code	SANC YEAR	Existing Capacity	Additional Seats Recommended
1	Churachandpur	Tuilaphai, Henglep	14030614602	2010-2011	100	50

1. List of newly upgraded KGBVs under Type III with existing targeted capacity.

Sl. No.	District Name	Block Name	UDISE Code	Existing Capacity
1	Bishnupur	Thamnapokpi, Moirang	14040201604	200
2	Imphal East	Loupaochum, Andro	14070205204	200
3	Imphal West	KonchakYangbi, Wangoi	14060311309	200
4	Kangpokpi	EkouMullam, Saikul	14100308902	200
5	Thoubal	Ukhongshang, Thoubal	14050114002	200
6	Ukhrul	Poi, Chingai	14080203104	200
		Total		1200

2. List of KGBVs under Type III (new upgradation) where Furniture/ Equipment (including kitchen) and TLM and equipment including library books is recommended for eligible 400 girls.

Sl. No.	District Name	Block Name	UDISE Code	Fur & TLM Recommended
1	Imphal East	Loupaochum, Andro	14070205204	100
2	Kangpokpi	EkouMullam, Saikul	14100308902	100
3	Thoubal	Ukhongshang, Thoubal	14050114002	100
4	Ukhrul	Poi, Chingai	14080203104	100
_		Total		400

3. List of KGBVs under Type III (new upgradation) where bedding is recommended for 200 girls (50 girls in each KGBV).

Sl. No.	District Name	Block Name	UDISE Code	Bedding Recommended
1	Imphal East	Loupaochum, Andro	14070205204	50
2	Kangpokpi	EkouMullam, Saikul	14100308902	50
3	Thoubal	Ukhongshang, Thoubal	14050114002	50
4	Ukhrul	Poi, Chingai	14080203104	50
		Total		200

4. List of KGBVs under Type III (previous) where additional construction work is recommended, which was upgraded in 2021-22.

Sl. No.	District Name	Block Name	UDISE Code
1	Machi	Langol, Machi	14110100704
2	Tengnoupal	AimolKhullen, Tengnoupal	14110200103
3	Chandel	Toupokpi, Chakpikarong	14090402602
4	Tamenglong	New Mandeu, Tousem	14020202302

5. List of KGBVs under Type III (new upgradation), where replacement of bedding is recommended for 100 girls (50 girls in each KGBV).

Sl. No.	District Name	Block Name	UDISE Code	Existing Type	Replacement of bedding recommended for girls
1	Bishnupur	Thamnapokpi, Moirang	14040201604	III	50
2	Imphal West	KonchakYangbi, Wangoi	14060311309	(new upgraded)	50
					100

6. List of KGBVs under Type III (previous), where replacement of bedding is recommended for 400 girls (100 girls in each KGBV).

Sl. No.	District Name	Block Name	UDISE Code	Existing Type	Replacement of bedding recommended for girls
3	Imphal East	Loupaochum, Andro	14070205204		100
4	Kangpokpi	EkouMullam, Saikul	14100308902	III (Evictina)	100
5	Thoubal	Ukhongshang, Thoubal	14050114002	III (Existing)	100
6	Ukhrul	Poi, Chingai	14080203104		100
					400

Annexure-XII (A) TARY PAD VENDING

LIST OF APPROVED ELEMENTARY SCHOOLS FOR SANITARY PAD VENDING INCINERATOR MACHINES FOR 2022-23

Sl. No.	District Name	School Name	UDISE School Code			
1	Bishnupur	BISHNUPUR KHA JUNIOR HIGH SCHOOL	14040100501			
2	Bishnupur	IRENGBAM AWANG UPPER PRIMARY SCHOOL	14040103901			
3	Bishnupur	JOYPUR KHUNOU UPPER PRIMARY SCHOOL	14040101001			
4	Bishnupur	LANGPOK KAKYAI UPPER PRIMARY SCHOOL	14040102401			
5	Bishnupur	NACHOU JUNIOR HIGH SCHOOL	14040101402			
6	Bishnupur	NGAIKHONG JUNIOR HIGH SCHOOL	14040103801			
7	Bishnupur	NINGTHOUKHONG MAMANG JUNIOR HIGH SCHOOL	14040107302			
8	Bishnupur	PHOIJING NO. 6 JUNIOR HIGH SCHOOL	14040104002			
9	Bishnupur	SUNUSIPHAI UPPER PRIMARY SCHOOL	14040101901			
10	Bishnupur	THINUNGEI UPPER PRIMARY SCHOOL	14040101703			
11	Bishnupur	TOUPOKPI GOVT. JUNIOR HIGH SCHOOL	14040101601			
12	Bishnupur	CHINGMEI UPPER PRIMARY SCHOOL	14040201204			
13	Bishnupur	KARANG UPPER PRIMARY SCHOOL	14040201301			
14	Bishnupur	KEIRENPHABI JR.HIGH SCHOOL	14040201103			
15	Bishnupur	MOIRANG JUNIOR HIGH SCHOOL	14040202702			
16	Bishnupur	NGANGKHALAWAI UPPER PRIMARY SCHOOL	14040201701			
17	Bishnupur	OKSHONGBUNG UPPER PRIMARY SCHOOL	14040203301			
18	Bishnupur	SHRIBON JUNIOR HIGH SCHOOL	14040202602			
19	Bishnupur	WANGOO SELLUNGKHONG UPPER PRIMARY 1404020 SCHOOL 1404020				
20	Chandel	MOLPHEI UPPER PRIMARY SCHOOL	14090421901			
21	Chandel	SAIBOL JOUPI UPPER PRIMARY SCHOOL	14090420201			
22	Chandel	SOKOM UPPER PRIMARY SCHOOL	14090401201			
23	Chandel	UKON THINGKANGPHAI UPPER PRIMARY SCHOOL	14090422701			
24	Chandel	BERU WANGKHERA UPPER PRIMARY SCHOOL	14090315601			
25	Chandel	JAPHOU UPPER PRIMARY SCHOOL	14090314704			
26	Chandel	NUNGKANGCHING UPPER PRIMARY SCHOOL	14090304601			
27	Churachandpur	BETHEL UPPER PRIMARY SCHOOL	14030109802			
28	Churachandpur	BIJANG LOUBUK GOVT. JR. H/S	14030102401			
29	Churachandpur	LEISANG GOVT. JR. H/S	14030107101			
30	Churachandpur	LINGSIPHAI GOVT. JR. H/S	14030119602			
31	Churachandpur	M.B. SAICHANG UPS	14030113901			
32	Churachandpur	MATALAMBULANE GOVT. JR. H/S	14030111401			
33	Churachandpur	MISAO LHAHVOM UPS	14030122001			
34	Churachandpur	MUOLBEM UPPER PRIMARY SCHOOL	14030121402			
35	Churachandpur	MUOLVAIPHEI GOVT. UPPER PRIMARY SCHOOL	14030103001			
36	Churachandpur	SAIDAN UPS	14030102801			
37	Churachandpur	SANGAIKOT JBS	14030115201			
38	Churachandpur	SONGPI GOVT. UPS	14030112001			
39	Churachandpur	SUMKHOHEN JR. H/S	14030105601			

Sl.	District	School Name	UDISE
No. 40	Name Churachandpur	C. MOLLOU UPPER PRIMARY SCHOOL	School Code 14030603002
41	Churachandpur	CHONGCHIN UPPER PRIMARY SCHOOL	14030605401
42	Churachandpur	L. BOLJOL UPPER PRIMARY SCHOOL	14030602502
43	Churachandpur	LUNGCHUONG UPPER PRIMARY SCHOOL	14030609201
44	Churachandpur	NAJANG JBS (ADC)	14030600201
45	Churachandpur	NALON UPS (ADC)	14030601601
46	Churachandpur	SAICHANG UPS (ADC)	14030606801
47	Churachandpur	THINGKEU JR. H/S (GOVT)	14030608701
48	Churachandpur	TINGMUN LPS (GOVT)	14030607102
49	Churachandpur	TOKPA KABUI JR. H/S (GOVT)	14030614201
50	Churachandpur	CHOTHE JR. H/S (GOVT)	14030211201
51	Churachandpur	G. SONGGEL UPPER PRIMARY SCHOOL	14030200101
52	Churachandpur	H.GELBUNG PRIMARY SCHOOL	14030203603
53	Churachandpur	KHA AIMOL JR. H/S (GOVT)	14030210601
54	Churachandpur	MOIRANG MANTAK UPS (ADC)	14030203302
55	Churachandpur	NIRPU JR. H/S (GOVT)	14030208401
56	Churachandpur	M.BUANGMUN PRIMARY SCHOOL	14030309202
57	Imphal East	BASHIKHONG JUNIOR HIGH SCHOOL	14070206405
58	Imphal East	BRAHMAPUR UPPER PRIMARY SCHOOL	14070200102
59	Imphal East	CHANAM SANDROK UPPER PRIMARY SCHOOL	14070203102
60	Imphal East	CHINGMEIRONG UPPER P/S	14070204503
61	Imphal East	K.B CHANDRA UPPER PRIMARY SCHOOL	14070203301
62	Imphal East	KEIRAO MAKTING JUNIOR HIGH SCHOOL	14070202606
63	Imphal East	KIYAMGEI UPPER PRIMARY SCHOOL	14070202503
64	Imphal East	LAIKON UPPER PRIMARY SCHOOL	14070203803
65	Imphal East	MADAN MOHON JUNIOR HIGH SCHOOL	14070200601
66	Imphal East	MAHABALI RONGMEI UPPER PRIMARY SCHOOL	14070200207
67	Imphal East	MODERN JUNIOR HIGH SCHOOL	14070200101
68	Imphal East	P.K. UPPER PRIMARY SCHOOL	14070203601
69	Imphal East	THAMBALKHONG JUNIOR HIGH SCHOOL	14070202011
70	Imphal East	THONGJU JUNIOR HIGH SCHOOL	14070204302
71	Imphal East	TOP MAKHA UPPER PRIMARY SCHOOL	14070200704
72	Imphal East	AISHAN GORKHA P/S	14070105601
73	Imphal East	ANGOM LAWAI UPPER P/S	14070100301
74	Imphal East	AWANG POTSANGBAM KHNU UPPER P/S	14070104006
75	Imphal East	CHINGANGBAM LEIKAI UPPER P/S	14070100801
76	Imphal East	HEINGANG K. M. M.UPPER P/S	14070105202
77	Imphal East	KAIRANG UPPER P/S	14070105101
78	Imphal East	KANGLA SIPHAI UPPER P/S	14070100201
79	Imphal East	KHUMIDOK ARAPTI KHABI UPPER P/S	14070101101
80	Imphal East	KHURAI HEIGRUMAKHONG H/S	14070101302
81	Imphal East	LAMBOIKHUL UPPER P/S	14070107001
82	Imphal East	NONGREN H.S	14070103402
83	Imphal East	UYUMPOK UPPER P/S	14070106901

Sl. No.	District Name	School Name	UDISE School Code
84	Imphal East	YUMNAM KHUNOU JR. H/S	14070107801
85	Imphal West	CHANGANGEI Jr H/S	14060205202
86	Imphal West	GHARI UPS	14060205501
87	Imphal West	KACHIKHUL JR. H/S	14060203101
88	Imphal West	KHUMBONG UPPER PRIMARY SCHOOL	14060205901
89	Imphal West	KHURKHUL LEIRIJAO UPS	14060207903
90	Imphal West	MAYANGLANGJING U.P.S.	14060200801
91	Imphal West	MOIDANGPOK KHUNOU JR. H.S.	14060205804
92	Imphal West	PATSOI TULIYAIMA UPS	14060205302
93	Imphal West	TAKYEL MAPAL UPS	14060200305
94	Imphal West	TENDONGYAN JR. H.S.	14060202501
95	Imphal West	THANGTEK JR. H.S.	14060204002
96	Imphal West	GURUKUL HIJAM DEWAN JUNIOR HIGH SCHOOL	14060100204
97	Imphal West	IROISHEMBA UPPER PRIMARY SCHOOL	14060100902
98	Imphal West	KAKHULONG JUNIOR HIGH SCHOOL	14060101302
99	Imphal West	KHOMDRAM SHELUNGBA UPPER PRIMARY SCHOOL	14060100302
100	Imphal West	KHUNTHOKNGANGBI UPPER PRIMARY SCHOOL	14060100102
101	Imphal West	LAIJINGNINGTHOU JUNIOR HIGH SCHOOL	14060100104
102	Imphal West	NAOREMTHONG UPPER PRIMARY SCHOOL.	14060100805
103	Imphal West	PETTIGREW JR. H.S.	14060101904
104	Imphal West	SAGOLBAND POPULAR UPPER PRIMARY SCHOOL	14060101104
105	Imphal West	SAGOLBAND RISHIKUL UPPER PRIMARY SCHOOL	14060102304
106	Imphal West	SINAM NODIA UPPER PRIMARY SCHOOL	14060100101
107	Imphal West	WAHENGBAM LEIKA JUNIOR HIGH SCHOOL	14060101102
108	Imphal West	CHAJING KANGJEIBUNG JUNIOR HIGH SCHOOL	14060308801
109	Imphal West	CHINGTHAM LEIKAI POPULAR JUNIOR HIGH SCHOOL	14060304508
110	Imphal West	HAOREIBI JUNIOR HIGH SCHOOL	14060309601
111	Imphal West	HEIRANGOITHONG JUNIOR HIGH SCHOOL	14060304402
112	Imphal West	KARAM JUNIOR HIGH SCHOOL	14060309101
113	Imphal West	KHAGEMBA JUNIOR HIGH SCHOOL	14060301601
114	Imphal West	LAIRENJAM JUNIOR HIGH SCHOOL	14060303701
115	Imphal West	LANGTHABAL KUNJA JUNIOR HIGH SCHOOL	14060309301
116	Imphal West	MEKOLA JUNIOR HIGH SCHOOL	14060303803
117	Imphal West	MOIRANG SUBEDAR UPPER PRIMARY SCHOOL	14060308601
118	Imphal West	PHOUBAKCHAO AWANG JUNIOR HIGH SCHOOL	14060300402
119	Imphal West	SAMUSANG SHANTIPUR UPPER PRIMARY SCHOOL	14060303504
120	Jiribam	BHUTANGKHAL UPPER PRIMARY SCHOOL	14130306901
121	Jiribam	CHINGDONG LEIKAI UPPER P/S	14130302502
122	Jiribam	DIBONG JR.H/S	14130302401
123	Jiribam	KASTURBA GIRLS' HIGH SCHOOL	14130306101
124	Jiribam	LEINGANGPOKPI UPPER P/S	14130303701
125	Kakching	HIYANGLAM GOVT. HIGH SCHOOL	14140203106

Sl. No.	District Name			
126	Kakching	KAKCHING MAKHA HIGH SCHOOL	School Code 14140201602	
127	Kakching	KAKCHING TUREL WANGMA JUNIOR HIGH SCHOOL	14140201001	
128	Kakching	KAKCHING WAIRI JUNIOR HIGH SCHOOL .	14140200602	
129	Kakching	LAMJAO UPPER PRIMARY SCHOOL	14140202803	
130	Kakching	PANGANTABI UPPER PRIMARY SCHOOL	14140203803	
131	Kakching	SEROU PRACTICAL HIGH SCHOOL	14140203603	
132	Kakching	YANGBI HIGH SCHOOL	14140201906	
133	Kakching	YUMBIMACHA HIGH SCHOOL	14140201301	
134	Kamjong	CHATRIC HS	14150401301	
135	Kamjong	GRIHANG SARDAR PATEL HIGH SCHOOL	14150404401	
136	Kamjong	KANGPAT HS	14150400201	
137	Kamjong	KHAYANG UPS	14150404101	
138	Kamjong	MAKU H/S	14150403901	
139	Kamjong	MAOKOT HS	14150401401	
140	Kamjong	NINGTHI JR. H/S	14150405301	
141	Kamjong	SAHAMPHUNG UPS	14150402501	
142	Kamjong	KASHUNG HS	14150500101	
143	Kamjong	KHOIRIPOK UPPER UPS	14150502803	
144	Kamjong	LAIRAM KL UPS	14150501501	
145	Kamjong	MAPITHEL AREA HS	14150500602	
146	Kamjong	MAWAI HS	14150502001	
147	Kamjong	LUNGPHU HS	14150301901	
148	Kamjong	SHINGKAP HS	14150301801	
149	Kamjong	SORBUNG HS	14150302601	
150	Kamjong	SORDE HS	14150302401	
151	Kamjong	TANGKHUL HUNDUNG HIGH SCHOOL	14150302201	
152	Kamjong	THAWAI HS	14150300301	
153	Kangpokpi	KHOLJANG JUNIOR HIGH SCHOOL	14100115001	
154	Kangpokpi	LAIKOT JUNIOR HIGH SCHOOL	14100120322	
155	Kangpokpi	SARASWATI UPPER PRIMARY SCHOOL	14100119601	
156	Kangpokpi	TUJANG PART-II UPPER PRIMARY SCHOOL	14100117001	
157	Kangpokpi	TUMNOUPOKPI JUNIOR HIGH SCHOOL	14100104101	
158	Kangpokpi	WACOTPHAI JUNIOR HIGH SCHOOL	14100107601	
159	Kangpokpi	WASHANGPHUNG UPPER PRIMARY SCHOOL	14100115801	
160	Kangpokpi	HAOKHONGCHING UPPER PRIMARY SCHOOL	14100318601	
161	Kangpokpi	IRONG NGOUBIKHONG UPPER PRIMARY SCHOOL	14100318002	
162	Kangpokpi	SANDANGSENBA MARING JUNIOR HIGH SCHOOL	14100319101	
163	Kangpokpi	T. GAMNOM JUNIOR HIGH SCHOOL	14100314001	
164	Kangpokpi	WAKAN UPPER PRIMARY SCHOOL	14100305801	
165	Kangpokpi	BOLKOT JUNIOR HIGH SCHOOL	14100203201	
166	Kangpokpi	CHALBUNG UPPER PRIMARY SCHOOL	14100203001	
167	Kangpokpi	G. SONGLUNG UPPER PRIMARY SCHOOL	14100219101	
168	Kangpokpi	KANGCHUP CHINGKHONG JUNIOR HIGH SCHOOL	14100207701	
169	Kangpokpi	KHOKHENG JUNIOR HIGH SCHOOL	14100214501	

Sl.	District	School Name	UDISE
No. 170	Name Kangpokpi	NEW KEITHELMANBI HIGH SCHOOL	School Code 14100211701
171	Kangpokpi	NUNGSAI CHIRU JUNIOR HIGH SCHOOL	14100211701
172	Kangpokpi	PANGMOUL UPPER PRIMARY SCHOOL	14100216401
173	Kangpokpi	RAMKAILONG UPPER PRIMARY SCHOOL	14100208201
174	Kangpokpi	SAI-OH UPPER PRIMARY SCHOOL	14100203201
175	Noney	CHAROI CHAGOTLONG HIGH SCHOOL	14160407602
176	Noney	DOLANG HIGH SCHOOL	14160407302
177	Noney	DUITHANJANG JR. HS	14160407202
178	Noney	MONGJARON KHUNNOU PS	14160400101
179	Noney	NONEY ASHRAM SCHOOL	14160407810
180	Noney	TAODAIJANG JR. HS	14160400501
181	Noney	TAOSANG KAIGONG UPS	14160404902
182	Noney	THANGAL HIGH SCHOOL	14160407501
183	Noney	THINGRA HIGH SCHOOL	14160409901
184	Pherzawl	PHAILIANBUNG PRIMARY SCHOOL	14120401302
185	Pherzawl	HMAWNGZUNGKAI JR. H/S (GOVT)	14120501901
186	Pherzawl	ROVAKOT JR. H/S (GOVT)	14120501801
187	Pherzawl	SARTUINEK JR. H/S (GOVT)	14120502101
188	Senapati	LIYAI X-TIAN UPPER PRIMARY SCHOOL	14010405302
189	Senapati	NGAMJU UPPER PRIMARY SCHOOL	14010601101
190	Senapati	PURUL AKUTPA UPPER PRIMARY SCHOOL	14010600301
191	Senapati	THINGBA KHUNOU JUNIOR HIGH SCHOOL	14010600901
192	Senapati	KANEM UPPER PRIMARY SCHOOL	14010501001
193	Senapati	KHAMSOM BAZAR UPPER PRIMARY SCHOOL	14010506702
194	Senapati	MAKHAN X-TIAN UPPER PRIMARY SCHOOL	14010510601
195	Senapati	MAKUILONGDI UPPER PRIMARY SCHOOL	14010500501
196	Senapati	MARYRAM UPPER PRIMARY SCHOOL	14010501201
197	Senapati	SOLITOKHO JUNIOR HIGH SCHOOL	14010511401
198	Senapati	TAPHOU NEPALI UPPER PRIMARY SCHOOL	14010505902
199	Senapati	TOBUMAI JUNIOR HIGH SCHOOL	14010509401
200	Tamenglong	JADUKI JR. HS	14020304901
201	Tamenglong	NEW TAKOU UPPER PS	14020304602
202	Tamenglong	TAMEI HQ. PS	14020300201
203	Tamenglong	THENJANG JR. HIGH SCHOOL	14020303701
204	Tamenglong	AWANGKHUL JR. HS	14020102602
205	Tamenglong	KHONGJARON JR. HIGH SCHOOL	14020103901
206	Tamenglong	LUKHAMBI JR. HS	14020102303
207	Tamenglong	OLD TAMENGLONG JR. HIGH SCHOOL	14020106004
208	Tamenglong	AZURAM JR. HIGH SCHOOL	14020200101
209	Tamenglong	LHANGNOM PS	14020204601
210	Tamenglong	NEW MANDU UPPER PS	14020202202
211	Tamenglong	PHOKLONG KHULLEN PS	14020202501
212	Tamenglong	THIULON HIGH SCHOOL	14020200401
213	Tengnoupal	KHOIBU JUNIOR HIGH SCHOOL	14110107101

Sl.	District	School Name	UDISE
No.	Name		School Code
214	Tengnoupal	KHUNBI TUINEM UPPER PRIMARY SCHOOL	14110101301
215	Tengnoupal	AYAPUREL JUNIOR HIGH SCHOOL	14110210601
216	Tengnoupal	H. MONGJANG UPPER PRIMARY SCHOOL	14110205301
217	Tengnoupal	K. MOULSANG UPPER PRIMARY SCHOOL	14110211301
218	Tengnoupal	LEIBI UPPER PRIMARY SCHOOL	14110209101
219	Tengnoupal	PHALBUNG UPPER PRIMARY SCHOOL	14110202401
220	Thoubal	CHAOBOK ARAPTI JUNIOR HIGH SCHOOL	14050110802
221	Thoubal	HAOREIBI AWANG LEIKAI TERAMAKHONG UPPER PRIMARY SCHOOL	14050110303
222	Thoubal	HAOREIBI KONJIL LEIKAI JUNIOR HIGH MADRASSA	14050111001
223	Thoubal	HAYELLABUK UPPER PRIMARY SCHOOL	14050102101
224	Thoubal	HEIROK KHUNOU UPPER PRIMARY SCHOOL	14050108608
225	Thoubal	HEIROK PT. III UPPER PRIMARY SCHOOL	14050106406
226	Thoubal	HEIROK PT.II MAYAI LEIKAI UPPER PRIMARY SCHOOL	14050108606
227	Thoubal	HEITUPPOKPI UPPER PRIMARY SCHOOL	14050106401
228	Thoubal	KANGASHENBI UPPER PRIMARY SCHOOL	14050103401
229	Thoubal	KEIBUNG UPPER PRIMARY SCHOOL	14050111809
230	Thoubal	KHANGABOK KHA-KHUNDON UPPER PRIMARY SCHOOL	14050114418
231	Thoubal	KHOIROM JUNIOR HIGH SCHOOL	14050101702
232	Thoubal	LAIPHRAKPAM JUNIOR HIGH SCHOOL	14050111701
233	Thoubal	LANGATHEL MANDAKINI UPPER PRIMARY SCHOOL	14050105801
234	Thoubal	LEINGOIJIL UPPER PRIMARY MADRASSA	14050103901
235	Thoubal	MOIJING UPPER PRIMARY SCHOOL	14050103906
236	Thoubal	TEKCHAM GIRLS UPPER PRIMARY SCHOOL	14050104802
237	Thoubal	UKHONGSHANG UPPER PRIMARY SCHOOL	14050116502
238	Thoubal	WAITHOU MAPAL JUNIOR HIGH SCHOOL	14050102601
239	Thoubal	WANGBAL JUNIOR HIGH SCHOOL	14050109603
240	Thoubal	WANGJING JUNIOR HIGH SCHOOL	14050104502
241	Thoubal	WANGKHEM JUNIOR HIGH SCHOOL	14050101902
242	Ukhrul	NEW CHINGJAROI UPS	14080203803
243	Ukhrul	WAHONG UPS	14080203401
244	Ukhrul	HUIMI JR. HS	14080103602
245	Ukhrul	HUINING (C) UPS	14080108106
246	Ukhrul	KACHAI PHUNGTHAR UPS	14080103102
247	Ukhrul	MOLLEN KAMSEI P/S 14080106301	
248	Ukhrul	SOMDAL KASOM UPS	14080104204
249	Ukhrul	TASHAR CHANHONG UPS	14080101001

Annexure-XII (B) LIST OF APPROVED SECONDARY SCHOOLS FOR SANITARY PAD VENDING INCINERATOR MACHINES FOR 2022-23

Sl. No.	District Name	School Name	UDISE School Code
1.	Bishnupur	BISHNUPUR HIGH SCHOOL	14040100701
2.	Bishnupur	GOKUL HIGH SCHOOL	14040101501
3.	Bishnupur	HAOKRAMBAND HIGH SCHOOL	14040104702
4.	Bishnupur	KEINOU HIGH SCHOOL	14040103106
5.	Bishnupur	LEIMARAM HIGH SCHOOL	14040103301
6.	Bishnupur	MADHUMATI HIGH SCHOOL	14040103903
7.	Bishnupur	NAMBOL COLLEGIATE HIGH SCHOOL	14040104602
8.	Bishnupur	NAMBOL LEIREN HIGH SCHOOL	14040104004
9.	Bishnupur	NAOREM HIGH SCHOOL	14040104901
10.	Bishnupur	NAREE KALYAN VIDYALAYA	14040104601
11.	Bishnupur	PHUBALA HIGH SCHOOL	14040102003
12.	Bishnupur	PUKHRAMBAM HIGH SCHOOL	14040102601
13.	Bishnupur	TOUBUL HIGH SCHOOL	14040103705
14.	Bishnupur	UTLOU GOVT. HIGH SCHOOL	14040102201
15.	Bishnupur	MOIRANG HIGH SCHOOL	14040202302
16.	Bishnupur	SAITON HIGH SCHOOL	14040200705
17.	Bishnupur	THANGA WANGMA HIGH SCHOOL	14040201206
18.	Chandel	PURUM TAMPAK HIGH SCHOOL	14090300101
19.	Churachandpur	LAMJANG GOVT. H/S	14030120501
20.	Churachandpur	SAIBOH GOVT. HIGH SCHOOL	14030117101
21.	Churachandpur	T. KAIZAKHUP GOVT. JR. H/S	14030120201
22.	Churachandpur	THANGKHAI GOVT. H/S	14030110701
23.	Churachandpur	TUAITENGPHAI GOVT H/S	14030104301
24.	Churachandpur	TUINING GOVT. JR. H/S	14030104401
25.	Churachandpur	KEIRAP AIMOL H/S (GOVT)	14030209401
26.	Churachandpur	NGARIAN JR. H/S (GOVT)	14030210301
27.	Churachandpur	TUIRINGPHAISEN JR. H/S	14030202601
28.	Churachandpur	SUANGDOH GOVT. JR. H/S	14030300101
29.	Imphal East	K.G.B.V.	14070205204
30.	Imphal East	KONGPAL IMPHAL MORNING HIGH SCHOOL	14070200402
31.	Imphal East	LAISHRAM DEVA HIGH SCHOOL	14070204201
32.	Imphal East	TAKHOK MAPAL HIGH SCHOOL	14070203901
33.	Imphal East	THAMCHET HIGH SCHOOL	14070204605
34.	Imphal East	THIYAM KONJIL HIGH SCHOOL	14070202201
35.	Imphal East	HEINGANG H/S	14070104903

36.	Imphal East	IBEMCHA H/S	14070104805
37.	Imphal East	KHUNDRAKPAM CHINGKHU H/S	14070107706
38.	Imphal East	LAIRENJAO H/S	14070104910
39.	Imphal East	LAIRIKYENGBAM LEIKAI H/S	14070105404
40.	Imphal East	LAMPHEL H/S	14070100101
41.	Imphal East	SAGOLMANG H/S	14070106702
42.	Imphal West	CH.TULASING HIGH SCHOOL	14060208102
43.	Imphal West	DEAF AND MUTE SCHOOL	14060200310
44.	Imphal West	HEIGRUJAM GOVT. HIGH SCHOOL.	14060204901
45.	Imphal West	KANGMONG PUBLIC H.S.	14060203703
46.	Imphal West	KHABI BAMDIAR H.S.	14060203903
47.	Imphal West	KHONGHAMPAT H.S.	14060201901
48.	Imphal West	KONTHOUJAM MAKHA KHABAM HIGH SCHOOL.	14060204504
49.	Imphal West	LAMDENG H.S.	14060201402
50.	Imphal West	LANGJING H.S.	14060205401
51.	Imphal West	MAKLANG H/S	14060203301
52.	Imphal West	O.GOKULCHAND HIGH SCHOOL	14060203603
53.	Imphal West	RECENT HR. SEC. SCHOOL	14060206006
54.	Imphal West	TAKYEL KHONGBAL HIGH SCHOOL	14060200301
55.	Imphal West	TAOBUNGKHOK HIGH SCHOOL	14060205101
56.	Imphal West	HAOBAM MARAK H.A. H/S	14060101707
57.	Imphal West	HEIRANGOITHONG H.S.	14060102003
58.	Imphal West	KWAKEITHEL GIRLS. H.S.	14060101706
59.	Imphal West	LALAMBUNG HIGH SCHOOL.	14060100303
60.	Imphal West	LILASHINGKHONGNANGKHO NG HIGH SCHOOL	14060100114
61.	Imphal West	SHYAMASHIKHI HIGH SCHOOL	14060101802
62.	Imphal West	SINGJAMEI CHINGAMAKHA H.S.	14060102004
63.	Imphal West	THANGMEIBAND KHOYATHONG TOMBISANA HIGH SCHOOL	14060100203
64.	Imphal West	CANCHIPUR HIGH SCHOOL	14060300903
65.	Imphal West	MEKOLA GULAP HIGHER SECONDARY SCHOOL	14060303808
66.	Imphal West	PAOBITEK HIGH SCHOOL	14060306601
67.	Imphal West	THIYAM LEISHANGKHONG HIGH SCHOOL	14060306401
68.	Jiribam	SOROK ATINGBI HIGH SCHOOL	14130303902
69.	Kangpokpi	CHALWA HIGH SCHOOL	14100106801
70.	Kangpokpi	KANGPOKPI HIGH SCHOOL	14100120302
71.	Kangpokpi	THONGLANG AKUTPA HIGH SCHOOL	14100111401

72.	Kangpokpi	AWANG LONGA KOIRENG HIGH SCHOOL	14100307301
73.	Kangpokpi	CHINGMANG HIGH SCHOOL	14100307001
74.	Kangpokpi	GALLAM HIGH SCHOOL	14100313401
75.	Kangpokpi	KHONGNANGPOKPI HIGH SCHOOL	14100307201
76.	Kangpokpi	LAIKOICHING HIGH SCHOOL	14100301501
77.	Kangpokpi	MAPAO KEITHELMANBI HIGH SCHOOL	14100309001
78.	Kangpokpi	MONGBUNG HIGH SCHOOL	14100306901
79.	Kangpokpi	SONGPHEL KHULLEN HIGH SCHOOL	14100313001
80.	Kangpokpi	SOPLENG HIGH SCHOOL	14100300601
81.	Kangpokpi	BUNGTE CHIRU HIGH SCHOOL	14100209701
82.	Kangpokpi	DOLANG KHUNOU HIGH SCHOOL	14100210301
83.	Kangpokpi	MOTBUNG HIGH SCHOOL	14100200901
84.	Kangpokpi	NONGCHUP HARAM HIGH SCHOOL	14100211201
85.	Kangpokpi	PONLEN HIGH SCHOOL	14100220501
86.	Kangpokpi	SAITU HIGH SCHOOL	14100216901
87.	Kangpokpi	TINGKAI KHULLEN HIGH SCHOOL	14100209001
88.	Pherzawl	BUNGPILON GOVT. H/S	14120406001
89.	Pherzawl	HANSHIP GOVT. H/S	14120405901
90.	Pherzawl	PHAIJANG GOVT. H/S	14120402401
91.	Pherzawl	SINZAWL GOVT. H/S	14120406601
92.	Pherzawl	SONGTAL GOVT. H/S	14120400201
93.	Pherzawl	THANLON GOVT. H/S	14120405401
94.	Pherzawl	D.R. THUOMA GOVERNMENT JR. H/S	14120502202
95.	Pherzawl	KANGRENG H/S (GOVT)	14120502901
96.	Pherzawl	LEISEN JR. H/S (GOVT)	14120500601
97.	Pherzawl	PARVACHAWM H/S (GOVT)	14120500501
98.	Pherzawl	PHERZAWL H/S (GOVT)	14120500701
99.	Pherzawl	SENVON H/S (GOVT.)	14120500101
100.	Pherzawl	SIBAPURIKHAL JR. H/S (GOVT)	14120503601
101.	Pherzawl	TUOLBUNG GOVT UPPER PRIMARY SCHOOL	14120501501
102.	Senapati	LAII HIGH SCHOOL	14010406501
103.	Senapati	KHONGDEI HIGH SCHOOL	14010602201
104.	Senapati	LAKHAMAI HIGH SCHOOL	14010601401
105.	Senapati	PHAIBUNG HIGH SCHOOL	14010601901
106.	Senapati	THIWA HIGH SCHOOL	14010602901
107.	Senapati	KHAMSOM HIGH SCHOOL	14010506701
108.	Senapati	MARAM KHULLEN HIGH SCHOOL	14010515501
109.	Tamenglong	CHATON HIGH SCHOOL	14020300601

110.TamenglongLAMLABA HIGH SCHOOL1402030220111.TamenglongLENGLONG HIGH SCHOOL1402030130	
	01
112. Tamenglong TAKOU HIGH SCHOOL 140203046	01
113. Tamenglong AKHUI HIGH SCHOOL 140201034	01
114. Tamenglong BHALOK HIGH SCHOOL 1402010176	02
115. Tamenglong KAIKAO HIGH SCHOOL 1402010310	01
116. Tamenglong L PABRAM HIGH SCHOOL 140201020	01
117. Tamenglong NAMTIRAM HIGH SCHOOL 1402020020	01
118. Tamenglong NUNGKAO HIGH SCHOOL 140202015	01
119. Tamenglong OINAMLONG HIGH SCHOOL 140202008	02
120. Tamenglong SIBILONG HIGH SCHOOL 140202009	01
121. Tengnoupal MACHI HIGH SCHOOL 141101043	01
122. Tengnoupal RESIDENTIAL SCHOOL 141101050	02
HEINOUKHONG	
123. Tengnoupal AIMOL CHINGNUNGHUT 141102012	01
HIGH SCHOOL 124. Tengnoupal KWATHA HIGH SCHOOL 141102052	01
125. Tengnoupal TENGNOUPAL HIGH SCHOOL 1411020110	
126. Ukhrul CHINGSHOU HIGH SCHOOL 1408010719	
126. Ukhrul CHINGSHOU HIGH SCHOOL 1408010719 127. Ukhrul KHAMUNOM H/S 1408010499	
128. Ukhrul LAMBUI HIGH SCHOOL 140801014	
129. Ukhrul LEISAN H/S 140801048	
130. Ukhrul NGAIMU HS 140801044	
131. Ukhrul PHADANG H/S 140801003	06
132. Ukhrul PUSHING GOVT. H/S 140801084	01
133. Ukhrul SEIKHOR CHRISTIAN HS 140801090	02
134. Ukhrul SHANGSHAK H/S 140801018	01
135. Ukhrul SHANGSHAK RESIDENTIAL 140801018	05
SCHOOL	
136. Ukhrul SHIROI H/S 1408010176	
137. Ukhrul 140801001	01

Annexure-XIII

Strengthening Components under Inclusive Education-Secondary

Strengthening Components under Inclusive Education-Secondary						
	Equipment for Resource Room					
S.No	udise_state_ code	district name	udise_distri ct_code	blook name	udica black anda	
	14	district_name BISHNUPUR	1404	block_name BISHNUPUR	udise_block_code 140401	
1						
2	14	BISHNUPUR	1404	MOIRANG	140402	
3	14	CHANDEL	1409	CHANDEL	140904	
4	14	CHANDEL CHURACHANDPU	1409	CHANDEL	140903	
5	14	R	1403	CHURACHANDPUR	140301	
	1.4	CHURACHANDPU	1402	HENCLED	140206	
6	14	R CHURACHANDPU	1403	HENGLEP	140306	
7	14	R	1403	SAMULAMLAN	140302	
0	1.4	CHURACHANDPU	1 402	GINGNIG ATT	140202	
8	14	R	1403	SINGNGAT	140303	
9	14	IMPHAL EAST	1407	IRILBUNG SAWOMBUNG IMPHAL	140702	
10	14	IMPHAL EAST	1407	EAST- I	140701	
11	14	IMPHAL WEST	1406	HAORANG	140602	
12	14	IMPHAL WEST	1406	IMC	140601	
13	14	IMPHAL WEST	1406	WANGOI	140603	
14	14	JIRIBAM	1413	JIRIBAM	141303	
15	14	KAKCHING	1414	KAKCHING	141402	
16	14	KAMJONG	1415	KAMJONG	141504	
17	14	KAMJONG	1415	KASOM KL.	141505	
18	14	KAMJONG	1415	PHUNGYAR	141503	
19	14	KANGPOKPI	1410	KANGPOKPI	141001	
20	14	KANGPOKPI	1410	SAIKUL	141003	
21	14	KANGPOKPI	1410	SAITU	141002	
22	14	NONEY	1416	NUNGBA	141604	
23	14	PHERZAWL	1412	THANLON	141204	
24	14	PHERZAWL	1412	TIPAIMUKH	141205	
25	14	SENAPATI	1401	PAOMATA	140104	
26	14	SENAPATI	1401	PURUL	140106	
27	14	SENAPATI	1401	TADUBI	140105	
28	14	TAMENGLONG	1402	TAMEI	140203	
29	14	TAMENGLONG	1402	TAMENGLONG	140201	
30	14	TAMENGLONG	1402	TOUSEM	140202	
31	14	TENGNOUPAL	1411	MACHI	141101	
32	14	TENGNOUPAL	1411	TENGNOUPAL	141102	
33	14	THOUBAL	1405	THOUBAL	140501	
34	14	UKHRUL	1408	CHINGAI	140802	
35	14	UKHRUL	1408	UKHRUL	140801	

Annexure-XIV

Teacher Education - Strengthening of Physical Infrastructure in TEIs

S. No.	DIET Name	Description	Amount (Rs. in Lakh)
1.	DIET Imphal West	Construction of 50 Bedded Girls Hostel with Furniture and Kitchen Appliances	223.50
2.	DIET Imphal West	Construction of 50 Bedded Boys Hostel with Furniture and Kitchen Appliances	223.50
3.	DIET Noney	Construction of 50 Bedded Girls Hostel with Furniture and Kitchen Appliances	223.50
4.	DIET Noney	Construction of 50 Bedded Boys Hostel with Furniture and Kitchen Appliances	223.50
		Grand Total	894.00

Annexure-XV

List of 20 schools approved in 2022-23- Vocational Education

S. No.	UDISE Code	District	School Name	Sector 1	Job Roles 1	Sector 2	Job Roles 2
1	14010401403	SENAPATI	PHUBA HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
2	14030109915	CHURACHANDPUR	RESIDENTIAL SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
3	14040102201	BISHNUPUR	UTLOU GOVT. HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
4	14040201604	BISHNUPUR	KASTURBA GANDHI BALIKA VIDYALAYA- THAMNAPOPKPI	IT-ITeS	Domestic Data Entry Operator	-	-
5	14050104301	THOUBAL	PHUNDREI HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
6	14060100114	IMPHAL WEST	LILASHINGKHONGNANGKHONG HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
7	14060308002	IMPHAL WEST	IROM MEIJRAO HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
8	14060310304	IMPHAL WEST	N. TOMCHOU HIGHER SECONDARY SCHOOL	IT-ITeS	Domestic Data Entry Operator	Beauty & Wellness	Assistant Beauty Therapist
9	14070106702	IMPHAL EAST	SAGOLMANG H/S	IT-ITeS	Domestic Data Entry	-	-

S. No.	UDISE Code	District	School Name	Sector 1	Job Roles 1	Sector 2	Job Roles 2
					Operator		
10	14070202704	IMPHAL EAST	URUP HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
11	14070206210	IMPHAL EAST	ANDRO (GOVT.) HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
12	14080101805	UKHRUL	SHANGSHAK RESIDENTIAL SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
13	14080104203	UKHRUL	SOMDAL N.K. HR. SEC. SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
14	14080203104	UKHRUL	POI KGBV SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
15	14100113703	KANGPOKPI	KEITHELMANBI HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
16	14100120401	KANGPOKPI	GOMA DEVI HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
17	14100308902	KANGPOKPI	ANDRO (GOVT.) HIGH SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-
18	14130301102	JIRIBAM	LATINGKHAL H/S	IT-ITeS	Domestic Data Entry Operator	-	-
19	14130306701	JIRIBAM	JIRIGHAT HIGH SCHOOL	IT-ITeS	Domestic Data Entry	-	-

S. No.	UDISE Code	District	School Name	Sector 1	Job Roles 1	Sector 2	Job Roles 2
					Operator		
20	14160400303	NONEY	MODEL RESIDENTIAL SCHOOL	IT-ITeS	Domestic Data Entry Operator	-	-

List of Hub and Spoke schools approved in 2022-23

Sl. No.	Spoke UDISE Code	Spoke School Name	Hub UDISE Code	Hub School Name
1	14030202601 TUIRINGPHAISEN JR. H/S (GOVT)		14030202801	SAGANG HR SEC SCHOOL
2	NINGTHOUKHONG 14040106901 SADAR PATEL HIGH SCHOOL		14040106601	NINGTHOUKHONG MODEL HIGHER SECONDARY SCHOOL
3	14050111808	KHEKMAN WANGMATABA H/S.AIDED	14050103705	NEW IDEAL HIGH SCHOOL
4	14060201101	HEIBONGPOKPI high school	14060201602	PRAJA H.S.
5	14070202010	POROMPAT SABAL LEIKAI HIGH SCHOOL	14070201601	IRILBUNG HIGH SCHOOL
6	14080107101	CHINGSHOU HIGH SCHOOL	14080107301	MAPUM H/S
7	14080202204	KHARASOM GOVT. HS	14080202501	JESSAMI HR. SECONDARY SCHOOL
8	14100111401	THONGLANG AKUTPA HIGH SCHOOL	14100110001	T. VAICHONG HIGH SCHOOL
9	14160407602	CHAROI CHAGOTLONG HIGH SCHOOL	14160407805	TENGKONJANG HR. SEC. SCHOOL

Annexure-XVI (A) LIST OF SCHOOLS APPROVED FOR ICT LAB, ELEMENTARY: 2022-23

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
1	BISHNUPUR	14040100501	BISHNUPUR KHA JUNIOR HIGH SCHOOL
2	BISHNUPUR	14040201103	KEIRENPHABI JR.HIGH SCHOOL
3	CHURACHANDPUR	14030603002	C. MOLLOU UPPER PRIMARY SCHOOL
4	CHURACHANDPUR	14030203302	MOIRANG MANTAK UPS (ADC)
5	CHURACHANDPUR	14030606801	SAICHANG UPS (ADC)
6	IMPHAL EAST	14070200102	BRAHMAPUR UPPER PRIMARY SCHOOL
7	IMPHAL EAST	14070202503	KIYAMGEI UPPER PRIMARY SCHOOL
8	IMPHAL EAST	14070203803	LAIKON UPPER PRIMARY SCHOOL
9	IMPHAL EAST	14070203601	P.K. UPPER PRIMARY SCHOOL
10	IMPHAL EAST	14070200704	TOP MAKHA UPPER PRIMARY SCHOOL
11	IMPHAL WEST	14060304507	HEINOUKHONGNEMBI UPPER PRIMARY SCHOOL
12	IMPHAL WEST	14060100902	IROISHEMBA UPPER PRIMARY SCHOOL
13	IMPHAL WEST	14060101302	KAKHULONG JUNIOR HIGH SCHOOL
14	IMPHAL WEST	14060207903	KHURKHUL LEIRIJAO UPS
15	IMPHAL WEST	14060303701	LAIRENJAM JUNIOR HIGH SCHOOL
16	IMPHAL WEST	14060309301	LANGTHABAL KUNJA JUNIOR HIGH SCHOOL
17	IMPHAL WEST	14060303803	MEKOLA JUNIOR HIGH SCHOOL
18	IMPHAL WEST	14060101904	PETTIGREW JR. H.S.
19	IMPHAL WEST	14060102304	SAGOLBAND RISHIKUL UPPER PRIMARY SCHOOL
20	KANGPOKPI	14100203201	BOLKOT JUNIOR HIGH SCHOOL
21	KANGPOKPI	14100120322	LAIKOT JUNIOR HIGH SCHOOL
22	KANGPOKPI	14100210401	NUNGSAI CHIRU JUNIOR HIGH SCHOOL
23	KANGPOKPI	14100119601	SARASWATI UPPER PRIMARY SCHOOL
24	TAMENGLONG	14020202202	NEW MANDU UPPER PS
25	THOUBAL	14050111001	HAOREIBI KONJIL LEIKAI JUNIOR HIGH MADRASSA
26	THOUBAL	14050106406	HEIROK PT. III UPPER PRIMARY SCHOOL
27	THOUBAL	14050106401	HEITUPPOKPI UPPER PRIMARY SCHOOL
28	UKHRUL	14080103602	HUIMI JR. HS

LIST OF SCHOOLS APPROVED FOR SMART CLASSROOMS, ELEMENTARY: 2022-23

SL.		UDISE	
NO.	DISTRICT	CODE	SCHOOL NAME
1	BISHNUPUR	14040201204	CHINGMEI UPPER PRIMARY SCHOOL
2	BISHNUPUR	14040202301	KONJENG JUNIOR HIGH SCHOOL
3	BISHNUPUR	14040204301	KUMBI SANDHONG UPPER PRIMARY SCHOOL
4	BISHNUPUR	14040201802	KWAKTA KHUMAN UPPER PRIMARY SCHOOL
			NINGTHOUKHONG MAMANG JUNIOR HIGH
5	BISHNUPUR	14040107302	SCHOOL
6	BISHNUPUR	14040203301	OKSHONGBUNG UPPER PRIMARY SCHOOL

LIST OF SCHOOLS APPROVED FOR SMART CLASSROOMS, ELEMENTARY: 2022-23

SL.	D.C. D. C. C.	UDISE	
NO.	DISTRICT	CODE	SCHOOL NAME
7	CHANDEL	14090402602	KASTURBA GANDHI BALIKA VIDYALAYA TOUPOKPI
8	CHANDEL	14090401201	SOKOM UPPER PRIMARY SCHOOL
9	CHURACHANDPUR	14030102401	BIJANG LOUBUK GOVT. JR. H/S
10	CHURACHANDPUR	14030208101	BUNGLON UPS (GOVT)
11	CHURACHANDPUR	14030200101	G. SONGGEL UPPER PRIMARY SCHOOL
12	CHURACHANDPUR	14030203603	H.GELBUNG PRIMARY SCHOOL
13	CHURACHANDPUR	14030210601	KHA AIMOL JR. H/S (GOVT)
14	CHURACHANDPUR	14030119602	LINGSIPHAI GOVT. JR. H/S
15	CHURACHANDPUR	14030113901	M.B. SAICHANG UPS
16	CHURACHANDPUR	14030121402	MUOLBEM UPPER PRIMARY SCHOOL
15	CANADA CANAA NEBAND	1.4020102001	MUOLVAIPHEI GOVT. UPPER PRIMARY
17	CHURACHANDPUR	14030103001	SCHOOL
18	CHURACHANDPUR	14030601601	NALON UPS (ADC)
19	IMPHAL EAST	14070104502	ACHANBIGEI GOVT. JUNIOR H/S
20	IMPHAL EAST	14070100801	CHINGANGBAM LEIKAI UPPER P/S
21	IMPHAL EAST	14070202606	KEIRAO MAKTING JUNIOR HIGH SCHOOL
22	IMPHAL EAST	14070101101	KHUMIDOK ARAPTI KHABI UPPER P/S
23	IMPHAL EAST	14070101302	KHURAI HEIGRUMAKHONG H/S
24	IMPHAL EAST	14070202011	THAMBALKHONG JUNIOR HIGH SCHOOL
25	IMPHAL EAST	14070205303	TUMUKHONG UPPER P/S
26	IMPHAL WEST	14060309601	HAOREIBI JUNIOR HIGH SCHOOL
27	IMPHAL WEST	14060304402	HEIRANGOITHONG JUNIOR HIGH SCHOOL
28	IMPHAL WEST	14060301601	KHAGEMBA JUNIOR HIGH SCHOOL
29	IMPHAL WEST	14060100104	LAIJINGNINGTHOU JUNIOR HIGH SCHOOL
30	IMPHAL WEST	14060304103	NINGOMBAM JUNIOR HIGH SCHOOL
31	IMPHAL WEST	14060101104	SAGOLBAND POPULAR UPPER PRIMARY SCHOOL
32	JIRIBAM	14130306901	BHUTANGKHAL UPPER PRIMARY SCHOOL
33	JIRIBAM	14130302502	CHINGDONG LEIKAI UPPER P/S
34	JIRIBAM	14130302401	DIBONG JR.H/S
35	JIRIBAM	14130302901	RASHIDPUR UPPER PRIMARY SCHOOL
36	KAKCHING	14140201001	KAKCHING TUREL WANGMA JUNIOR HIGH SCHOOL
37	KAKCHING	14140202202	PRACTISING JUNIOR HIGH SCHOOL. DIET KAKCHING
38	KAKCHING	14140204005	WANGOO LAIPHAM UPPER PRIMARY SCHOOL
39	KANGPOKPI	14100200201	BETHSAIDA JUNIOR HIGH SCHOOL
40	KANGPOKPI	14100318002	IRONG NGOUBIKHONG UPPER PRIMARY SCHOOL
41	KANGPOKPI	14100113704	KEITHELMANBI JUNIOR HIGH SCHOOL
42	KANGPOKPI	14100115001	KHOLJANG JUNIOR HIGH SCHOOL
43	KANGPOKPI	14100104701	TAPHOU KUKI JUNIOR HIGH SCHOOL

LIST OF SCHOOLS APPROVED FOR SMART CLASSROOMS, ELEMENTARY: 2022-23

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
44	KANGPOKPI	14100104101	TUMNOUPOKPI JUNIOR HIGH SCHOOL
45	KANGPOKPI	14100107601	WACOTPHAI JUNIOR HIGH SCHOOL
46	NONEY	14160403701	DUITHANJANG JR. HS
			CHINGMAI KHUNOU UPPER PRIMARY
47	SENAPATI	14010407501	SCHOOL
48	SENAPATI	14010405302	LIYAI X-TIAN UPPER PRIMARY SCHOOL
49	SENAPATI	14010602101	LOWER PHAIBUNG UPPER PRIMARY SCHOOL
50	SENAPATI	14010600301	PURUL AKUTPA UPPER PRIMARY SCHOOL
51	SENAPATI	14010504601	SENAPATI THONG UPPER PRIMARY SCHOOL
52	SENAPATI	14010600901	THINGBA KHUNOU JUNIOR HIGH SCHOOL
53	SENAPATI	14010509401	TOBUMAI JUNIOR HIGH SCHOOL
54	TAMENGLONG	14020104402	C M E S JR. HIGH SCHOOL
55	TAMENGLONG	14020204601	LHANGNOM PS
56	TAMENGLONG	14020303701	THENJANG JR. HIGH SCHOOL
	TENGNOVE	1.111.02001.02	KASTURBA GANDHI BALIKA VIDYALAYA
57	TENGNOUPAL	14110200103	AIMOL KHULLEN
58	TENGNOUPAL	14110202401	PHALBUNG UPPER PRIMARY SCHOOL
59	THOUBAL	14050103302	ATHOKPAM JUNIOR HIGH SCHOOL
60	THOUBAL	14050110802	CHAOBOK ARAPTI JUNIOR HIGH SCHOOL
61	THOUBAL	14050111809	KEIBUNG UPPER PRIMARY SCHOOL
62	THOUBAL	14050105801	LANGATHEL MANDAKINI UPPER PRIMARY SCHOOL
63	THOUBAL	14050103801	TEKCHAM GIRLS UPPER PRIMARY SCHOOL
64	THOUBAL	14050101902	WANGKHEM JUNIOR HIGH SCHOOL
65	UKHRUL	14080203803	NEW CHINGJAROI UPS
66	UKHRUL	14080203401	WAHONG UPS
67	UKHRUL	14080108202	WUNGHON UPS

LIST OF SCHOOLS APPROVED FOR ICT LAB, SECONDARY: 2022-23

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
	IMPHAL		
1	WEST	14060205101	TAOBUNGKHOK HIGH SCHOOL
2	KAKCHING	14140203308	ARONG HIGH SCHOOL
3	KAMJONG	14150301901	LUNGPHU HS
4	KAMJONG	14150502001	MAWAI HS
5	KANGPOKPI	14100301501	LAIKOICHING HIGH SCHOOL
6	TENGNOUPAL	14110106801	TOLLEN GOVT HIGH SCHOOL

LIST OF SCHOOLS APPROVED FOR ICT LAB, SECONDARY: 2022-23

SL.			
NO.	DISTRICT	UDISE CODE	SCHOOL NAME
1	BISHNUPUR	14040100701	BISHNUPUR HIGH SCHOOL
2	BISHNUPUR	14040101501	GOKUL HIGH SCHOOL
			KASTURBA GANDHI BALIKA
3	BISHNUPUR	14040201604	VIDYALAYA- THAMNAPOPKPI
			KUMBI CENTRAL HIGH
4	BISHNUPUR	14040204101	SCHOOL
5	BISHNUPUR	14040103301	LEIMARAM HIGH SCHOOL
	Digital Albaha	14040104603	NAMBOL COLLEGIATE HIGH
6	BISHNUPUR	14040104602	SCHOOL
7	BISHNUPUR	14040102601	PUKHRAMBAM HIGH SCHOOL
8	BISHNUPUR	14040201206	THANGA WANGMA HIGH SCHOOL
9	CHURACHANDPUR	14030209401	KEIRAP AIMOL H/S (GOVT)
10	CHURACHANDPUR	14030300401	LUNGCHIN GOVT. JR. H/S
11	CHURACHANDPUR	14030210301	NGARIAN JR. H/S (GOVT)
12	CHURACHANDPUR	14030300101	SUANGDOH GOVT. JR. H/S
13	CHURACHANDPUR	14030110701	THANGKHAI GOVT. H/S
14	CHURACHANDPUR	14030104401	TUINING GOVT. JR. H/S
15	CHURACHANDPUR	14030202601	TUIRINGPHAISEN JR. H/S (GOVT)
16	IMPHAL EAST	14070104910	LAIRENJAO H/S
10	IMPHAL EAST	140/0104910	LAISHRAM DEVA HIGH
17	IMPHAL EAST	14070204201	SCHOOL
18	IMPHAL EAST	14070203901	TAKHOK MAPAL HIGH SCHOOL
19	IMPHAL WEST	14060101707	HAOBAM MARAK H.A. H/S
17	IVII III LE WEST	14000101707	HEIGRUJAM GOVT. HIGH
20	IMPHAL WEST	14060204901	SCHOOL.
21	IMPHAL WEST	14060102003	HEIRANGOITHONG H.S.
			KONTHOUJAM MAKHA
22	IMPHAL WEST	14060204504	KHABAM HIGH SCHOOL.
23	IMPHAL WEST	14060300202	SEKMAIJIN HIGH SCHOOL

LIST OF SCHOOLS APPROVED FOR ICT LAB, SECONDARY: 2022-23

SL.			
NO.	DISTRICT	UDISE CODE	SCHOOL NAME
24 IMI	PHAL WEST	14060306401	THIYAM LEISHANGKHONG HIGH SCHOOL
25 IM	PHAL WEST	14060307001	WANGOI HIGH SCHOOL
26 JIR	IBAM	14130306701	JIRIGHAT HIGH SCHOOL
27 JIR	IBAM	14130303902	SOROK ATINGBI HIGH SCHOOL
28 KA	KCHING	14140204103	CHAIREL HIGH SCHOOL
29 KA	KCHING	14140201602	KAKCHING MAKHA HIGH SCHOOL
30 KA	KCHING	14140203002	WAIKHONG HIGH SCHOOL
31 KA	KCHING	14140204007	WANGOO TERA HIGH SCHOOL.
32 KA	MJONG	14150400201	KANGPAT HS
33 KA	MJONG	14150500101	KASHUNG HS
34 KA	MJONG	14150302201	TANGKHUL HUNDUNG HIGH SCHOOL
35 KA	NGPOKPI	14100307301	AWANG LONGA KOIRENG HIGH SCHOOL
36 KA	NGPOKPI	14100209701	BUNGTE CHIRU HIGH SCHOOL
37 KA	NGPOKPI	14100106801	CHALWA HIGH SCHOOL
38 KA	NGPOKPI	14100313401	GALLAM HIGH SCHOOL
39 KA	NGPOKPI	14100120001	HENGBUNG HIGH SCHOOL
40 KA	NGPOKPI	14100115301	KALAPAHAR HIGH SCHOOL
41 KA	NGPOKPI	14100318901	KAMUCHING HIGH SCHOOL
42 KA	NGPOKPI	14100309001	MAPAO KEITHELMANBI HIGH SCHOOL
43 KA	NGPOKPI	14100312502	MOLKON HIGH SCHOOL
44 KA	NGPOKPI	14100306901	MONGBUNG HIGH SCHOOL
45 KA	NGPOKPI	14100211201	NONGCHUP HARAM HIGH SCHOOL
46 KA	NGPOKPI	14100300601	SOPLENG HIGH SCHOOL
47 KA	NGPOKPI	14100110001	T. VAICHONG HIGH SCHOOL
48 KA	NGPOKPI	14100111401	THONGLANG AKUTPA HIGH SCHOOL
49 NO	NEY	14160400303	MODEL RESIDENTIAL SCHOOL
50 PH	ERZAWL	14120503601	SIBAPURIKHAL JR. H/S (GOVT)
51 PH	ERZAWL	14120406601	SINZAWL GOVT. H/S
52 PH	ERZAWL	14120405401	THANLON GOVT. H/S
53 SEI	NAPATI	14010506701	KHAMSOM HIGH SCHOOL
54 SEI	NAPATI	14010601401	LAKHAMAI HIGH SCHOOL
55 SEI	NAPATI	14010510801	MAKHAN HIGH SCHOOL
56 SEI	NAPATI	14010515501	MARAM KHULLEN HIGH SCHOOL
57 SEI	NAPATI	14010508201	PUDUNAMAI HIGH SCHOOL
58 SEI	NAPATI	14010602901	THIWA HIGH SCHOOL
r - 1	MENGLONG	14020102001	L PABRAM HIGH SCHOOL

LIST OF SCHOOLS APPROVED FOR ICT LAB, SECONDARY: 2022-23

SL. NO.	DISTRICT	UDISE CODE	SCHOOL NAME
60	TAMENGLONG	14020301301	LENGLONG HIGH SCHOOL
61	TAMENGLONG	14020200201	NAMTIRAM HIGH SCHOOL
62	TAMENGLONG	14020101803	SONPRAM HIGH SCHOOL
63	TENGNOUPAL	14110201201	AIMOL CHINGNUNGHUT HIGH SCHOOL
64	THOUBAL	14050108301	CHANDRAKHONG PHANJANGKHONG H/S
65	THOUBAL	14050111406	RESIDENTIAL SCHOOL
66	UKHRUL	14080107101	CHINGSHOU HIGH SCHOOL
67	UKHRUL	14080101601	CHOITHAR H/S
68	UKHRUL	14080104901	KHAMUNOM H/S
69	UKHRUL	14080203101	POI HIGH SCHOOL
70	UKHRUL	14080203104	POI KGBV SCHOOL
71	UKHRUL	14080108401	PUSHING GOVT. H/S
72	UKHRUL	14080109002	SEIKHOR CHRISTIAN HS
73	UKHRUL	14080101805	SHANGSHAK RESIDENTIAL SCHOOL

5-year Perspective Plan for SamagraShiksha including year-wise outcome target

Annexure XVII

OOMF Outcome Detail 2022-2023 2023-2024 2024-2025 2025-2026 Sl. No **Indicators Detail Current Status** Target* **Target** Target **Target** (2021-2022)Adjusted Net Enrolment Rate (NER) 112.5 110.2 108 105 103 1 at Elementary Level (%) Annual Drop-out Rate at Elementary 7.1 7.01 6.97 6.88 6.67 2 Level (%) Gross Enrolment Rate (GER) at 75.66 77.66 78.66 79.66 80.66 3 Secondary Level (%) Gross Enrolment Ratio (GER) at 61.18 66.18 69.18 75.18 72.18 4 Higher Secondary Level (%) Transition Rate from Primary to 91.98 96 98 90.4 94 5 Upper Primary Level (%) Transition Rate (Class VIII to IX) 88.76 96 90 92 94 6 (%) Transition Rate (Class X to XI) (%) 83.42 85.58 88 90 92 7 Annual Average Dropout Rate at 9.39 7.39 5.89 2.89 4.89 8 Secondary level (%) No. of Out of School children to be 3051 3706 4500 4000 3400 9 Mainstreamed at Elementary Level No. of Out of School students age 16-0 500 150 600 200 10 19 years to be Certified Increase in percentage points of Students (%) who answered 50% or 70 1 2 2 2 11 more questions correctly in Language (Class 3)

	OOMF Outcome Detail		2022-2023	2023-2024	2024-2025	2025-2026
Sl. No	Indicators Detail	Current Status (2021-2022)	Target*	Target	Target	Target
12	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Mathematics (Class 3)	68	1	2	2	2
13	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Language (Class 5)	59	1	2	2	2
14	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Mathematics (Class 5)	55	1	2	2	2
15	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Language (Class 8)	54	1	2	2	2
16	Increase in percentage points of Students (%) who answered 50% or more questions correctly in Mathematics (Class 8)	41	1	2	2	2
17	Number of Innovations Scaled up by States and UTs	18	18	19	19	19
18	Percentage of Teachers who cleared the Post Training test during the year	42	67	90	95	100

	OOMF Outcome Detail		2022-2023	2023-2024	2024-2025	2025-2026
Sl. No	Indicators Detail	Current Status (2021-2022)	Target*	Target	Target	Target
19	No. of Teachers whose Impact Evaluation of the In-Service training will complete	0	5692	3794	3794	5692
20	% teachers/school principals who will participate on at least 50 hours of CPD opportunities	42	65	75	95	100
21	Number of Students will complete Vocational Courses	1837	1874	1883	1892	1901
22	Number of Students will be enrolled in Vocational Courses in Classes 9-12	5034	5135	5160	5185	5210
23	No. of Upper Primary Students will provide exposure to Vocational Education	5268	5373	5399	5426	5452
24	Gender Parity Index (GPI) at Elementary level	1.04	1.03	1.02	1.01	1
25	GPI at Secondary level	1.03	1.02	1.01	1	1
26	GPI at Higher Secondary Level	0.98	0.99	1	1	1
27	Enrolment of CWSN as a percentage of total enrolment (%)	2.08	2.08	2.5	2.5	2.5
28	Transition rate of CWSN from upper primary to secondary	56.32	41.35	59.07	61.6	63.29

Annexure XVIII

Spill Over 2021-22

Samag	gra Shiks	ha									
Financ	Financial Year:2021-2022 Month:March Particulor		MANIPUR								(Rs.In Lacs)
			Budget Approved (Cummulative)			Cun Progress Incep			Over		
				Financial	Ph	Physical Financial			Physical		Financial
			Physical		Co mp lete	In- progr ess		In- progress	Not Started	Total	
Access	& Reten	tion									
Openin	ng of New	/ / Upgraded Schools									
1	1 Opening of New Schools - NR (Elementary)										
	1.1	Composite School for Elementary	325	3635.59	115	210	1542.82	210	0	210	2092.77
	1.2	Upgradation of PS to UPS (VI –VIII)	225	2291.09	151	73	1417.23	73	1	74	873.86
	1.3	Primary School (I –V)	8	533.44	0	8	183.76	8	0	8	349.68
	NR (Ele	or Opening of New Schools - ementary)		6460.12			3143.81				3316.31
3	NR (Sec										
	3.1	1 Section School (Class IX – X)	32	2055.98	0	32	1938.70	32	0	32	117.28
	3.2	2 Section School (Class IX – X)	22	3474.05	0	16	2939.69	16	6	22	534.36
		or Opening of New / led Schools - NR		5530.03			4878.39				651.64

Samag	gra Shiks	ha									
Financ	Financial Year:2021-2022 Month:March Particulor		MANIPUR								(Rs.In Lacs)
			Budget Approved (Cummulative)			Cum Progress Incept		Spill Over			
			Physical	Financial	Ph	ysical	Financial			Financial	
				Co mp lete	In- progr ess		In- progress	Not Started	Total		
	(Second										
6		g of New / Upgraded Schools – Secondary)									
	6.1	Higher Secondary School – Science Subject (XI – XII)	11	3361.41	0	11	2019.56	11	0	11	1341.85
	6.4	Higher Secondary School – Science & Arts Subject (XI – XII)	4	642.48	0	4	474.99	4	0	4	167.49
		or Opening of New / ed Schools – NR (Hr. ary)		4003.89			2494.55				1509.34
Total f	for Openi	ng of New / Upgraded Schools		15994.04			10516.75				5477.29
Netaji	Subhas C	handra Avasiya Vidhyalaya									
25.1	.1 Netaji Subhash Chandra Bose Avasiya Vidyalaya – Non Recurring (New) (Upgradation till X)										
	25.10.6	Construction of building (new)	2	999.68	0	2	250.00	2	0	2	749.68
	Bose Av	or Netaji Subhash Chandra vasiya Vidyalaya – Non ing (New) (Upgradation till		999.68			250.00				749.68
35		ubhash Chandra Bose Avasiya			1				<u> </u>		

Samag	ra Shiks	sha									
Financ	Financial Year:2021-2022 Month:March Particulor		MANIPUR								(Rs.In Lacs)
			Budget Approved (Cummulative)			Cun Progress Incep	*	Spill Over			
			Physical	Financial	Ph	ysical	Financial			Financial	
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
		nya (Hostels) – NR (New) ity 100) (Elementary)									
	35.1	Furniture/ Equipment (including kitchen)	5	33.55	0	0	0.00	0	5	5	33.55
	35.3	Bedding (new)	5	391.75	0	0	0.00	0	5	5	391.75
	Bose A	or Netaji Subhash Chandra vasiya Vidyalaya (Hostels) – ew) (Capacity 100) entary)		425.30			0.00				425.3
37	Vidyala	Subhash Chandra Bose Avasiya aya (Hostel) – NR (Existing) ity 100) (Elementary)									
	37.5	Construction of building (new)	2	775.12	0	2	282.71	2	0	2	492.41
	Bose A	or Netaji Subhash Chandra vasiya Vidyalaya (Hostel) – xisting) (Capacity 100) entary)		775.12			282.71				492.41
Vidhya	or Netaji alaya	i Subhas Chandra Avasiya		2200.10			532.71				1667.39
Strengt	thening o	of Existing Schools									
48	_	hening of Existing Schools (up lest Class VIII) - NR									

Samagı	ra Shiksl	ha									
Financi	Financial Year:2021-2022 Month:March Particulor		MANIPUR								(Rs.In Lacs)
			Budget Approved (Cummulative)			Cum Progress Incept		Spill Over			
			Physical	Financial		Physical Financial				Financial	
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	48.3	Additional Classrooms (Upto Class VIII)	856	7304.35	555	295	5104.91	295	6	301	2199.45
	48.4	Boys Toilets	149	530.95	4	145	212.70	145	0	145	318.25
	48.5	Girls Toilets (Upto Class VIII)	210	752.52	8	202	308.00	202	0	202	444.52
	48.6	Drinking Water (Upto Class VIII)	201	307.30	106	95	89.76	95	0	95	217.54
	48.10	CWSN Toilets (Upto Class VIII)	67	167.50	0	67	65.98	67	0	67	101.52
	48.11	Major Repair	51	228.58	33	18	158.03	18	0	18	70.55
	48.14	Ramps and Handrails	93	64.70	0	93	39.60	93	0	93	25.10
	48.15	Building Less Schools (Primary)	78	3741.64	0	77	2514.79	77	1	78	1226.85
	48.16	Dilapidated Building (Primary)	9	465.84	0	9	155.94	9	0	9	309.90
	48.18	Dilapidated Building (Upper Primary)	7	466.76	0	7	161.30	7	0	7	305.46
		or Strengthening of Existing (up to Highest Class VIII) -		14030.14			8811.01				5219.134
	Strength – X) - N	nening of Existing Schools (IX NR									
	49.2	Computer Room	35	647.24	0	35	199.47	35	0	35	447.77

Samag	ra Shiks	ha									
Financ	ial Year:	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cun Progress Incep	*		Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	49.3	Boys Toilet	97	461.48	0	97	89.20	97	0	97	372.28
Ī	49.4	Library Room	76	1785.06	0	76	652.89	76	0	76	1132.17
	49.5	Lab Equipment (Sci Lab)	11	18.48	0	11	10.00	11	0	11	8.48
Ī	49.6	Science Lab	27	596.57	0	27	301.26	27	0	27	295.31
Ī	49.7	Art/Craft Room	14	264.29	0	14	127.41	14	0	14	136.88
Ī	49.8	Toilets for CWSN	118	295.00	0	118	105.00	118	0	118	190.00
Ī	49.9	Drinking Water	33	138.18	0	33	99.50	33	0	33	38.68
Ī	49.10	Additional Classroom	60	1346.86	0	60	991.06	60	0	60	355.80
=	49.11	Removal of Architectural Barriers	12	8.56	0	12	0.00	12	0	12	8.56
	49.12	Girls Toilet	137	676.28	0	137	255.70	137	0	137	420.58
=	49.16	Equipment for Resource Room	0	24.50	0	0	0.00	0	0	0	24.50
-		or Strengthening of Existing (IX – X) - NR		6262.50			2831.49				3431.01
50	- XII) -										
Ī	50.2	Library Room	13	247.84	0	13	200.19	13	0	13	47.65
Ī	50.4	Science Lab	10	196.14	0	10	121.80	10	0	10	74.34
Ī	50.5	Drinking Water	9	27.36	0	9	13.04	9	0	9	14.32
Ī	50.6	Additional Classroom	83	1473.81	0	83	1140.81	83	0	83	333.00

Samag	gra Shiks	ha									
Finan	cial Year	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept	,		Spill C	Over	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	50.7	Physics Lab	32	730.97	0	32	527.35	32	0	32	203.62
	50.8	Chemistry Lab	19	434.53	0	19	383.50	19	0	19	51.03
	50.9	Biology Lab	18	409.09	0	18	355.17	18	0	18	53.92
	50.10	Art / Craft Room	1	16.92	0	1	10.00	1	0	1	6.92
	50.11	Boys Toilet	44	205.90	0	44	168.70	44	0	44	37.20
	50.12	Girls Toilet	31	148.96	0	31	98.59	31	0	31	50.37
	50.13	Removal of Architectural Barriers	2	0.96	0	2	0.96	2	0	2	0.00
	50.19	Computer Room	3	50.76	0	3	20.00	3	0	3	30.76
		or Strengthening of Existing (XI – XII) – NR		3943.24			3040.11				903.13
51	(Elemer	ication in Schools ntary) – NR									
	51.1	Solar Panel	103	309.00	0	31	93.00	31	72	103	216.00
		or Electrification in Schools ntary) – NR		309.00			93.00				216
52		ication in Schools (Secondary Secondary) – NR			_						
	52.1	Solar Panel For Hostels	1	9.00	1	0	9.00	0	0	0	0.00
	52.2	Solar Panel For School	69	325.50	69	0	175.50	0	0	0	150.00
		or Electrification in Schools dary and Sr. Secondary) –		334.50			184.50				150

Samag	gra Shiks	sha									
Financ	cial Year	::2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept	,		Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	NR										
54		r Quarter - NR (up to Highest or XII)									
	54.1	Residential Quarter	163	2820.72	0	163	1826.18	163	0	163	994.54
		or Teacher Quarter - NR Highest Class X or XII)		2820.72			1826.18				994.54
55		ng and Renovations (up to t Class X or XII) - NR							·		
	55.1	Major Repair	67	235.13	0	64	176.25	64	3	67	58.88
	Renova	or Repairing and ations (up to Highest Class X - NR		235.13			176.25				58.88
57		Non-Recurring) (Secondary &				<u> </u>					
	57.5	Tinkering Lab	5	50.00	5	0	50.00	0	0	0	0.00
	57.18	Rain Water Harvesting	5	40.05	5	0	40.05	0	0	0	0.00
		or Other (Non-Recurring) dary & Sr. Secondary)		90.05			90.05				0
Total f	for Streng	gthening of Existing Schools		28025.28			17052.59				10972.694
Total f	for Acces	ss & Retention		46219.42			28102.05	-		_	18117.374
Quality	y Interver	ntions									
Funds etc)	for Quali	ty (LEP, Innovation, Guidance									

Samag	gra Shiks	ha									
Financ	cial Year:	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept		Spill Over			
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
76		- Innovative Activities - (NR) Specific) (Secondary & Sr. ary)			•	,					
	76.9	Integrated Education Management System and Digital Learning Platform (NR)	2	1505.85	0	2	1204.68	2	0	2	301.17
	Activiti	or Project – Innovative es – (NR) – (State Specific) lary & Sr. Secondary)		1505.85			1204.68				301.17
		for Quality (LEP, Innovation,		1505.85			1204.68				301.17
		Initiatives									
127	Digital 1	Hardware & Software (up to Class VIII) – NR									
	127.1	Digital Hardware & Software (Type – I) (Elementary)	16	102.40	16	0	102.40	0	0	0	0.00
	127.2	Smart Classroom (Type – II) (Elementary)	22	52.80	22	0	52.80	0	0	0	0.00
	127.3	Digital Hardware	172	1034.30	172	0	1034.30	0	0	0	0.00
	127.4	Operating System / Softwares	136	26.80	136	0	26.80	0	0	0	0.00

Samag	ra Shiksl	na									
Financ	cial Year:	2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cun Progress Incept			Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	127.5	Furniture	136	26.80	136	0	26.80	0	0	0	0.00
	Total for Digital Hardware & Software (up to Highest Class VIII) - NR Digital Hardware & Software (upto			1243.10			1243.10				0
129											
	129.1	Digital Hardware & Software (Type – I) (Secondary & Sr. Secondary)	12	76.80	0	12	76.80	12	0	12	0.00
	129.2	Smart Classroom (Type – II) (Secondary & Sr. Secondary)	289	693.60	0	289	693.60	289	0	289	0.00
	129.3	Digital Hardware	171	2077.74	0	171	1844.40	171	0	171	233.34
	129.5	Operating System / Softwares	89	17.80	0	89	17.80	89	0	89	0.00
	129.6	Furniture	89	17.80	0	89	17.80	89	0	89	0.00
	129.14	SMART Classroom	0	28.00	0	0	28.00	0	0	0	0.00
	Softwar NR	r Digital Hardware & e (upto Highest Class XII) –		2911.74			2678.40				233.34
Total f	or ICT ar	nd Digital Initiatives		4154.84			3921.50		_		233.34

Samag	gra Shiks	ha									
Financ	cial Year:	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept	,		Spill O	Over	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
Early (Childhood	l Care and Education (ECCE)			•						
133	Pre- Pri	mary (Non- Recurring)									
	133.1	Child Friendly Furniture	165	99.00	165	0	99.00	0	0	0	0.00
	133.2	BALA Features	165	16.50	165	0	16.50	0	0	0	0.00
	133.3	Out Door Play Materials	165	49.50	165	0	49.50	0	0	0	0.00
	133.4	Support at Pre-Primary Level (New) (NR)	507	253.50	507	0	253.50	0	0	0	0.00
	Total fo	or Pre- Primary (Non- ing)		418.50			418.50				0
Total f		Childhood Care and Education		418.50			418.50				0
		ty Interventions		6079.19			5544.68				534.51
Teache	er Educati	on									
	ructure in	engthening of physical TEI (SCERTs/DIETs/BITEs)									
138	Establis	hment of Institutions – NR									
	138.2	Construction of DIET Building (New)	1	380.00	0	1	190.00	1	0	1	190.00
	Institut	or Establishment of ions – NR		380.00			190.00				190
139	Establis SCERT	hment of Special Cells in – NR									

Samag	ra Shiks	ha									
Financ	cial Year	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept			Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	139.1	Mathematics	1	10.00	0	0	0.00	0	1	1	10.00
	139.2	Language/English Education	1	10.00	0	0	0.00	0	1	1	10.00
	139.3	Education Technology/Computer	1	10.00	0	0	0.00	0	1	1	10.00
	139.4	Social Studies	1	10.00	0	0	0.00	0	1	1	10.00
	139.5	Science	1	10.00	0	0	0.00	0	1	1	10.00
		or Establishment of Special SCERT – NR		50.00			0.00				50
140	Infrastru	nening of Physical acture for New Construction bansion of existing TEIs – NR									
	140.4	Repair & Maintenance	7	257.49	0	7	128.77	7	0	7	128.72
	140.5	Civil works, hostel facilities, etc of the existing TEIs (SCERTs/DIETs/BITEs)	5	2097.13	0	5	1443.80	5	0	5	653.33
	Infrastı Constru	or Strengthening of Physical ructure for New uction and Expansion of g TEIs – NR		2354.62			1572.57				782.05
150	Equipm Instituti	ent's in Teacher Education ons – NR			•						
	150.2	DIETs	8	160.00	0	8	10.00	8	0	8	150.00
	150.3	SCERT	1	20.00	0	1	10.00	1	0	1	10.00

Samag	gra Shiksl	ha									
Financ	cial Year:	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cun Progress Incept	,		Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
		or Equipment's in Teacher ion Institutions – NR		180.00			20.00				160
physica	otal for Civil Work :Strengthening of sysical infrastructure in TEI CERTs/DIETs/BITEs)			2964.62			1782.57				1182.05
Techno	ology Sup	port to TEIs									
142											
	142.4	Hardware & Software Support	10	64.00	0	0	0.00	0	10	10	64.00
	Total fo	or Technology Support to		64.00			0.00				64
Total f	f or Techn	ology Support to TEIs		64.00			0.00				64
	for Teacher & Equity	er Education		3028.62			1782.57				1246.05
		i Balika Vidyalaya (KGBVs)									
163	KGBV -	- Type – I (NR) (New)									
	163.2	Boundary Wall	2	19.54	0	0	0.00	0	2	2	19.54
	163.9	Replacement of bedding (once in 3 years)	5	3.75	5	0	3.75	0	0	0	0.00
		or KGBV – Type – I (NR) Classes VI –VIII)		23.29			3.75				19.54

Samag	gra Shiksl	ha									
Financ	cial Year:	2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept			Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
165		- Type – I (NR) (Previous Classes VI –VIII)			•				·		
	165.1	Construction of Building (Previous)	1	318.89	0	1	91.47	1	0	1	227.42
		or KGBV – Type – I (NR) us Year) (Classes VI –VIII)		318.89			91.47				227.417
167											
	167.6	Bedding	300	2.25	300	0	2.25	0	0	0	0.00
	167.9	Replacement of bedding (once in 3 years)	600	4.50	600	0	4.50	0	0	0	0.00
	Total fo (New) (or KGBV – Type – II (NR) Classes VI –X)		6.75			6.75				0
169	KGBV -	- Type – II (NR) (Previous Classes VI –X)							·		
	169.1	Construction of building	2	928.88	0	2	371.55	2	0	2	557.33
	169.4	Furniture/ Equipment (including kitchen)	200	6.00	200	0	6.00	0	0	0	0.00
	169.5	TLM and equipment including library books	200	7.00	200	0	7.00	0	0	0	0.00
	169.6	Bedding	100	0.75	100	0	0.75	0	0	0	0.00
		or KGBV – Type – II (NR) us Year) (Classes VI –X)		942.63			385.30				557.328

Samag	gra Shiks	ha									
Financ	cial Year	:2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept	,		Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
171		– Type – III (NR) (New) s VI –XII)									
	171.4	Furniture/ Equipment (including kitchen)	400	12.00	400	0	12.00	0	0	0	0.00
	171.5	TLM and equipment including library books	400	14.00	400	0	14.00	0	0	0	0.00
	171.6	Bedding	400	3.00	400	0	3.00	0	0	0	0.00
		or KGBV – Type – III (NR) (Classes VI –XII)		29.00			29.00				0
175		– Type – IV (NR) (New) s IX – XII)									
	175.1	Construction of Building (New)	3	342.81	2	1	285.95	1	0	1	56.86
		or KGBV – Type – IV (NR) (Classes IX – XII)		342.81			285.95				56.86
(KGB)	Vs)	rba Gandhi Balika Vidyalaya		1663.37			802.23				861.145
Specia	1 Projects	for Equity									
185	Special (Second										
	185.1	Sanitary pad Vending & incinerator machines	204	65.28	0	150	65.28	150	54	204	0.00
	Total fo	or Special Projects for Equity		65.28			65.28				0

Samag	gra Shiksl	ha									
Financ	cial Year:	2021-2022 Month:March	MANIPUR								(Rs.In Lacs)
		Particulor		Approved nulative)		Cum Progress Incept	,		Spill O	ver	
			Physical	Financial	Ph	ysical	Financial		Physical		Financial
					Co mp lete	In- progr ess		In- progress	Not Started	Total	
	- (NR) ((Secondary)									
187	Special (Elemen	J /									
	187.1	Sanitary pad Vending & incinerator machines	43	13.76	43	0	13.76	0	0	0	0.00
		r Special Projects for Equity (Elementary)		13.76			13.76				0
Total f	for Specia	l Projects for Equity		79.04			79.04				0
		r & Equity		1742.41			881.27				861.145
Vocati	onal Educ	ation									
		Vocational Education at igher Secondary									
214	Introduc	tion of VE in schools - NR									
	214.1	Tools, Equipment & Furniture (New)	98	329.04	0	55	329.00	55	43	98	0.04
	214.6	Workshop / Laboratory (Prev.)	0	202.76	0	0	170.31	0	0	0	32.45
	Total fo	r Introduction of VE in - NR		531.80			499.31				32.49
		uction of Vocational condary and higher Secondary		531.80			499.31				32.49
Total f	for Vocati	onal Education		531.80		_	499.31				32.49
Grand	and Total			57601.44			36809.87				20791.569

Samagra Shiksha									
Financial Year:2021-2022 Month:March	MANIPUR	1							(Rs.In Lacs)
Particulor	Budget A		Cun Progress Incep	`	Spill Over				
	Physical	Financial	Physical I		Financial		Physical		Financial
		Complete		In- progr ess		In- progress	Not Started	Total	
Generated as on Wednesday, June 08, 2022									

	Budget Approved (Cummulative)	Cummulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Scheme Name			
Elementary Education	24995.60	14522.16	10473.4390
Secondary Education	29577.22	20505.14	9072.08
Teacher Education	3028.62	1782.57	1246.05
Total	57601.44	36809.87	20791.569
Major Component	Budget Approved (Cumulative)	Cumulative Progress (Since Inception)	Spill Over
	Financial	Financial	Financial
Access & Retention	46219.42	28102.05	18117.374
Quality Interventions	6079.19	5544.68	534.51
Teacher Education	3028.62	1782.57	1246.05
Gender & Equity	1742.41	881.27	861.145
Vocational Education	531.80	499.31	32.49
Total	57601.44	36809.87	20791.5690

Annexure XIX

Costing Sheet 2022-23

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
Access & Retenti	Opening of New / Upgraded	1. 0		Opening of New Schools - NR (Elementary)							
on	Schools		1.0. 1	Composite School for Elementary	14	86.5030	1211.0 42	6	84.6000	507.6	Recommended 6 schools as found eligible for opening of new primary school. Remaining 8 proposed location/ schools are not qualified as not found village / habitation name in uncovered villages as per GIS mapping through buffer analysis of unserved villages in the schoolgis portal.
			1.0. 2	Upgradation of PS to UPS (VI – VIII)	15	91.2540	1368.8	10	71.6000	716	Recommended 10 schools as found eligible for opening of new Upper primary school. Remaining 5 schools are not qualified as per distance norm (2), distance and 275or275e275tru norm (2), and school is having Upper Primary Section(1).
				Total of Opening of New Schools - NR (Elementary)			2579.8 5			1223. 6	
		2. 0		Opening of New Schools – Recurring (Elementary)							

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			2.0. 1	Recurring Cost – New Primary (Samagra)	14	5.00000	70	6	2.50000	15	In the current financial year 2022-23 recommended 6 new primary school. Considered recurring cost for 6 months Rs. 2.5 lakhs to meet out the expenses of manpower, etc.Expenditure of the recommended recurring cost is subject to functional of the school with sufficient 276or276e276tru.
			2.0. 2	Recurring Cost – New Upper Primary (Samagra)	15	10.0000	150	10	5.00000	50	In the current financial year 2022-23 recommended 10 new upper primary school. Considered recurring cost for 6 months Rs. 5 lakhs to meet out the expenses of manpower, etc.Expenditure of the recommended recurring cost is subject to functional of the school with sufficient 276or276e276tru.
				Total of Opening of New Schools – Recurring (Elementary)			220			65	
		3. 0		Opening of New / Upgraded Schools - NR (Secondary)							
			3.0. 2	2 Section School (Class IX – X)	8	257.940 00	2063.5	4	230.000	920	Recommended 4 schools as found eligible. Remaining 4 schools are not qualified as per Distance norm.
				Total of Opening			2063.5			920	

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				of New / Upgraded Schools - NR (Secondary)			2				
		6. 0		Opening of New / Upgraded Schools – NR (Hr. Secondary)							
			6.0. 4	Higher Secondary School – Science & Arts Subject (XI – XII)	9	470.570 00	4235.1	2	385.000 00	770	Recommended 2 schools (1 section with 2 stream), as found eligible. Remaining 7 schools do not qualify as per distance norm (3 schools) and proposal related with KGBV upgradation(4 schools), which was shifted to activity under KGBV head for recommendation as per Pre PAB discussion.
			6.0. 5	Higher Secondary School – Science & Commerce Subject (XI – XII)	2	470.570 00	941.14	2	385.000 00	770	Recommended 2 schools (1 section with 2 stream), as found eligible.
				Total of Opening of New / Upgraded Schools – NR (Hr. Secondary)			5176.2 7			1540	
				Opening of New / d Schools			10039. 64			3748. 6	
	Netaji Subhas Chandra	2 5.		Netaji Subhash Chandra Bose							

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Avasiya Vidhyalaya	2		Avasiya Vidyalaya – Non Recurring (Previous Year) (Upgradation till X)							
			25. 2.1	Furniture / Equipment (including kitchen equipment)	1600	0.03000	48	1600	0.03000	48	Recommended as proposed @ Rs. 3000/child for 1600 number of children in 9 schools. (After a gap of 11 years)
			25. 2. 2	TLM and equipment including library books (New)	1600	0.03500	56	1600	0.03000	48	Recommended as proposed @ Rs. 3000/child for 1600 number of children in 9 schools. (After a gap of 11 years)
			25. 2.4	Replacement of bedding (once in 3 years)	1600	0.01500	24	1600	0.01500	24	Recommended as per norms.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya – Non Recurring (Previous Year) (Upgradation till X)			128			120	
		2 6. 2		Netaji Subhash Chandra Bose Avasiya Vidyalaya – Recurring							

	Parti			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			(Previous Year) (Upgradation till X)							
		26. 2.1	Stipend per child per month	1800	0.01200	21.6	1800	0.01200	21.6	A total of 9 Residential Schools have been upgraded from elementary to secondary.(Secondary-VI-X)-Capacity 100. Including 02 upgraded into secondary level in 2021-22, last year. Recommended @ Rs. 1200/child for 1800 number of children in 9 secondary level residential schools of 200 capacity each(VI-X).
		26. 2. 2	Supplementary TLM, Stationery and other educational Materials	1800	0.01000	18	1800	0.01000	18	Recommended @ Rs. 1000/child for 1400 number of children in 9 secondary level residential schools of 200 capacity each (VI-X).
		26. 2. 3	1 Warden	9	3.00000	27	9	3.00000	27	Recommended @ Rs. 25000/head for 9 existing residential school of 200 capacity at secondary level (VI-X). (As per state provision for salary of contractual staff)
		26. 2.4	4 Full-time Teachers	72	1.80000	129.6	72	1.80000	129.6	Recommended @ Rs. 15000/head for 9 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)

	Part		Proposal					Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		26. 2.5	1 Head Teacher in case the 280or280e280tru exceeds 100	9	3.00000	27	9	3.00000	27	Recommended @ Rs. 25000/head for 9 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)
		26. 2.7	3 Part Time Teachers	27	1.47600	39.852	27	1.47600	39.85	Recommended @ Rs. 12300/head for 9 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)
		26. 2.8	1 Full Time Accountant	9	1.20000	10.8	9	1.20000	10.8	Recommended @ Rs. 10000/head for 9 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)
		26. 2. 9	2 Support staff – (Accountant/Assi stant, Peon, Chowkidar)	18	0.85200	15.336	18	0.85200	15.33	Recommended @ Rs. 7100/head for 7 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)
		26. 2.1 0	1 Head Cook	9	0.70080	6.3072	9	0.70080	6.307	Recommended @ Rs. 5840/head for 9 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)

	Parti	culars	Proposal Final Approved Outlay				Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
nent		26. 2.1 1	2 Assistant Cook	18	0.69000	12.42	18	0.69000	12.42	Recommended @ Rs. 5750/head for 9 existing residential school of 200 capacity at secondary level(VI-X). (As per state provision for salary of contractual staff)
		26. 2.1 2	Specific Skill training	1800	0.01000	18	1800	0.01000	18	Recommended @ Rs. 10000/school.
		26. 2.1 3	Electricity / water charges	9	1.00000	9	1800	0.01000	18	Recommended @ Rs. 1000/child for 1800 number of children in 9 secondary level residential schools of 200 capacity each(VI-X).
		26. 2.1 4	Medical care/contingencie s	1800	0.01000	18	1800	0.01000	18	Recommended as proposed ans as approved in 2021-22 @ Rs. 1000/child for 1800 number of children in 9 secondary level residential schools of 200 capacity each(VI-X).
		26. 2. 1 5	Maintenance	9	0.50000	4.5	9	0.50000	4.5	Recommended as proposed @ Rs. 50000/hostel in existing 9 secondary level residential schools of 200 capacity each (VI-X)
		26. 2.1 6	Miscellaneous	9	1.50000	13.5	1800	0.01000	18	Recommended @ Rs. 1000/child for 1800 number of children in 9 secondary level residential schools of 200 capacity each(VI-X).
		26. 2.2 0	Capacity Building	9	0.10000	0.9	9	0.10000	0.9	Recommended @ Rs. 10000/school.

	Pai	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			26. 2. 2 1	Physical / Self Defence Training	9	0.10000	0.9	9	0.10000	0.9	Recommended as proposed @ Rs. 10000/school.
			26. 2. 2 2	Food/Lodging per child per month	1800	0.18000	324	1800	0.18000	324	Recommended @ Rs. 18000/child for 1800 number of children.
			26. 2. 2 3	Assistant Warden	9	1.47996	13.319 64	9	1.47996	13.31 964	Recommended.
			26. 2. 2 4	Examination Fee	450	0.02000	9	450	0.02000	9	Recommended as proposed for 450 number of children.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya – Recurring (Previous Year) (Upgradation till X)			719.03			732.5	
		3 5. 0		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels) – NR (New) (Capacity 100) (Elementary)							

	Par	ticular	s		Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			35. Furniture/ Color Equipment (including kitchen)	700	0.03000	21	200	0.03000	6	Recommended as per norms for 2 new hostel.
			35. TLM and equipment including library books	700	0.03500	24.5	200	0.03000	6	Recommended as per norms for 2 new hostel.
			35. Bedding (new) 0.3	700	0.01500	10.5	200	0.01500	3	Recommended as per norms for two new hostel.
			Construction of building (new)	7	613.810	4296.6	2	387.560	775.1	Recommended as approved by Civil Unit. Two new hostels are recommended in the newly formulated districts Kamjong and Pherzawl.
			Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostels) – NR (New) (Capacity 100) (Elementary)			4352.6			790.1	
		3 6. 0	Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) – (Rec) (New) (Capacity 100)							

Particulars				Proposal					Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			(Elementary)							
		36. 0.2	Food/Lodging per child per month	700	0.18000	126	200	0.18000	36	Only 02 Hostels (100-Capacity) are recommended out of 7 hostels proposed by the state. State has backlog of 2 hostels and 2 residential schools sanctioned last year, 2022-23 that are yet to start by the state. Other details like-Number of children identified (Name-wise), Feeder school details etc. are pending with other proposed hostels. Recommended @ Rs. 1500/child/month.
		36. 0. 3	Stipend per child per month	700	0.01200	8.4	200	0.00600	1.2	Recommended @ Rs. 600/child for 6 months only.
		36. 0.4	Supplementary TLM, Stationery and other educational material	700	0.01500	10.5	200	0.00500	1	Recommended @ Rs. 500/child for 6 months only.
		36. 0.5	1 Warden	7	1.47600	10.332	2	1.47600	2.952	Recommended as proposed as state provision of salaries. (Unit cost @ Rs. 12300/ head)
		36. 0. 8	2 Support staff – (Accountant/Assi stant, Peon, Chowkidar)	14	0.85200	11.928	4	0.85200	3.408	Recommended as proposed as state provision of salaries. (Unit cost @ Rs. 7100/ head)
		36. 0. 9	1 Head Cook	7	0.70080	4.906	2	0.70080	1.401 6	Recommended as proposed as state provision of salaries. (Unit cost @ Rs. 5840/ head)

	Partio			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		36. 0.1 0	2 Assistant Cook	14	0.69000	9.66	4	0.69000	2.76	Recommended as proposed as state provision of salaries. (Unit cost @ Rs. 5750/ head)
		36. 0.1 1	Specific Skill training	700	0.02000	14	200	0.00500	1	Recommended @ Rs. 500/child for 6 months only.
		36. 0.1 2	Electricity / water charges	700	0.01500	10.5	200	0.00500	1	Recommended for 6 months only.
		36. 0. 1 3	Medical care/contingencie s	700	0.01500	10.5	200	0.00750	1.5	Recommended @ Rs. 750/child for 6 months only.
		36. 0. 1 4	Maintenance	7	0.20000	1.4	2	0.10000	0.2	Recommended @ Rs. 10000/hostel for 6 months only.
		36. 0. 1 5	Miscellaneous	7	2.00000	14	2	0.05000	0.1	Recommended @ Rs. 5000/hostel for 6 months only.
		36. 0. 1 8	Provision of Rent	7	3.00000	21	2	1.50000	3	Recommended @ Rs. 25000/hostel for 6 months only.
		36. 0. 1 9	Capacity Building	7	0.10000	0.7	2	0.05000	0.1	Recommended @ Rs. 5000/hostel for six months only.
		36. 0.2 0	Physical / Self Defence Training	7	0.10000	0.7	2	0.05000	0.1	Recommended @ Rs. 5000/hostel for 6 months only.
			Total of Netaji Subhash Chandra Bose			254.53			55.72	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				Avasiya Vidyalaya (Hostel) – (Rec) (New) (Capacity 100) (Elementary)							
		3 7. 0		Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) – NR (Existing) (Capacity 100) (Elementary)							
			37. 0. 4	Replacement of bedding (once in 3 years)	600	0.01500	9	600	0.01500	9	Recommended as per norms (After gap of three years) for 600 number of children in the hostels.
				Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) – NR (Existing) (Capacity 100) (Elementary)			9			9	
		3 8. 0		Netaji Subhash Chandra Bose Avasiya Vidyalaya							

	Partic	culars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			(Hostel) –(Rec) (Existing) (Capacity 100) (Elementary)							
		38. 0.1	Food/Lodging per child per month	800	0.18000	144	800	0.18000	144	7 hostels of 100 capacity were sanctioned to the state in the year 2017-18 + one more hostel in 2019-20 in the Noney Dist, (Newly formulated district, SFD)-All 8 hostels are of 100 capacity each. Recommended @ Rs. 1500/child for 800 number of children. Unit cost as 287or287e287tr @ Rs. 1500/child.
		38. 0.2	Stipend per child per month	800	0.01200	9.6	800	0.01200	9.6	Recommended @ Rs. 1200/child for 800 number of children in 8 existing elementary level hostel of 100 capacity.
		38. 0.3	Supplementary TLM, Stationery and other educational material	800	0.01500	12	800	0.01000	8	Recommended @ Rs. 1000/child for 800 number of children in 8 existing elementary level residential hostel of 100 capacity for 6 months.
		38. 0.4	1 Warden	8	1.47600	11.808	8	1.47600	11.80	Recommended @ Rs. 12,300/head for 8 existing hostel of 100 capacity at elementary level. (As per state provision for salary of contractual staff)

	Partio			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		38. 0.7	2 Support staff – (Accountant/Assi stant, Peon, Chowkidar)	16	0.85200	13.632	16	0.85200	13.63	Recommended @ Rs. 7100/head for 8 existing hostel of 100 capacity at elementary level. (As per state provision for salary of contractual staff)
		38. 0.8	1 Head Cook	8	0.70080	5.606	8	0.70080	5.606	Recommended @ Rs. 5840/head for 8 existing hostel of 100 capacity at elementary level. (As per state provision for salary of contractual staff)
		38. 0. 9	2 Assistant Cook	16	0.69000	11.04	16	0.69000	11.04	Recommended @ Rs. 5750/head for 8 existing hostel of 100 capacity at elementary level. (As per state provision for salary of contractual staff)
		38. 0.1 0	Specific Skill training	800	0.02000	16	800	0.02000	16	Recommended as proposed.
		38. 0.1 1	Electricity / water charges	800	0.01500	12	800	0.01500	12	Recommended @ Rs. 1500/child for 800 number of children in 8 existing elementary level hostel of 100 capacity. As approved in previous year.
		38. 0.1 2	Medical care/contingencie s	800	0.01500	12	800	0.01500	12	Recommended @ Rs. 1500/child for 800 number of children in 8 elementary level hostel of 100 capacity. As approved in previous year.

	Par	ticulars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		38. 0.1 3	Maintenance	8	0.20000	1.6	8	0.20000	1.6	Recommended @ Rs. 20000/hostel per month for 8 existing hostel at elementary level (100 capacity).
		38. 0.1 4	Miscellaneous	8	2.00000	16	800	0.01200	9.6	Recommended @ Rs. 1200/child for 800 number of children in 8 elementary level hostel of 100 capacity for 6 months. As approved in previous year.
		38. 0.1 7	Provision of Rent	8	3.00000	24	8	3.00000	24	Recommended @ Rs. 25000/hostel for 8 number of existing elementary level hostel (Capacity-100)
		38. 0.1 8	Capacity Building	8	0.10000	0.8	8	0.10000	0.8	Recommended @ Rs. 10000/hostel
		38. 0.1 9	Physical / Self Defence Training	8	0.10000	0.8	8	0.10000	0.8	Recommended @ Rs. 10000/hostel as per norm.
			Total of Netaji Subhash Chandra Bose Avasiya Vidyalaya (Hostel) –(Rec) (Existing) (Capacity 100) (Elementary)			290.89			280.4	
		Total of I Chandra Vidhyala				5754.1 2			1987. 86	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Strengthening of Existing Schools	4 8. 0		Strengthening of Existing Schools (up to Highest Class VIII) - NR							
			48. 0. 3	Additional Classrooms (Upto Class VIII)	179	25.6570 0	4592.6 03	31	18.6800 0	579.0 8	Recommended 31 ACRs as per udise gap
			48. 0. 4	Boys Toilets	223	13.1580	2934.2 34	89	3.76000	334.6 4	Recommended 89 Boys Toilets as per udise gap
			48. 0. 5	Girls Toilets (Upto Class VIII)	212	13.1580	2789.4 96	127	3.76000	477.5	Recommended 127 Girls Toilet as per udise gap
			48. 0. 6	Drinking Water (Upto Class VIII)	27	3.22200	86.994	27	3.20000	86.4	Recommended 27 DW as per udise gap
			48. 0. 1 0	CWSN Toilets (Upto Class VIII)	53	3.96600	210.19	34	3.76000	127.8 4	Recommended 34 CWSN toilet as per udise gap
			48. 0. 1 1	Major Repair	164	7.66387	1256.8 75	54	5.50000	297	Recommended 54 class room for major repair as per udise gap
			48. 0. 1 4	Ramps and Handrails	199	0.53400	106.26	196	0.53000	103.8	Recommended 196 schools for ramp as per udise gap
			48. 0. 1 5	Building Less Schools (Primary)	36	91.2540	3285.1 44	14	84.6000	1184. 4	Recommended 14 schools as per udise gap

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			48. 0. 1 6	Dilapidated Building (Primary)	58	91.2540	5292.7 32	18	84.6000	1522. 8	Recommended 18 schools as per udise gap
			48. 0. 1 8	Dilapidated Building (Upper Primary)	26	86.5030	2249.0 78	16	71.6000	1145. 6	Recommended 16 class rooms as dilapidated as per udise gap
				Total of Strengthening of Existing Schools (up to Highest Class VIII) - NR			22803. 62			5859. 16	
		4 9. 0		Strengthening of Existing Schools (IX – X) - NR							
			49. 0. 2	Computer Room	41	28.1570 0	1154.4 37	11	19.2200 0	211.4	Recommended 11 schools as per udise gap
			49. 0. 3	Boys Toilet	41	13.1580 0	539.47 8	17	5.14000	87.38	Recommended 17 Boys Toilets as per udise gap
			49. 0. 4	Library Room	42	39.2070 0	1646.6 94	19	24.9500 0	474.0 5	Recommended 19 schools as per udise gap.
			49. 0. 5	Lab Equipment (Sci Lab)	31	1.00000	31	13	1.00000	13	Recommended 13 schools as per udise gap
			49. 0. 6	Science Lab	31	28.1570 0	872.86 7	13	19.2200 0	249.8 6	Recommended 13 schools as per udise gap
			49. 0. 7	Art/Craft Room	27	26.6570 0	719.73 9	12	19.2200 0	230.6	Recommended 12 schools as per udise gap
			49. 0. 8	Toilets for CWSN	72	3.96600	285.55 2	27	3.96000	106.9 2	Recommended 27 CWSN Toilets as per udise gap

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			49. 0. 9	Drinking Water	32	3.22200	103.10 4	14	3.20000	44.8	Recommended 14 schools for drinking water as per udise gap
			49. 0. 1 0	Additional Classroom	29	26.6570	773.05	17	19.2200	326.7 4	Recommended 17 ACRs as per udise gap
			49. 0. 1 1	Removal of Architectural Barriers	38	0.53400	20.292	23	0.53000	12.19	Recommended 23 schools for ramp as per udise gap
			49. 0. 1 2	Girls Toilet	52	14.1580	736.21 6	25	5.14000	128.5	Recommended 25 Girls Toilets as per udise gap
				Total of Strengthening of Existing Schools (IX – X) - NR			6882.4			1885. 5	
		5 0. 0		Strengthening of Existing Schools (XI – XII) – NR							
			50. 0. 2	Library Room	5	39.2070 0	196.03 5	2	24.9500 0	49.9	Recommended 2 schools as per udise gap.
			50. 0. 3	Lab Equipment (Sci Lab)	2	1.00000	2	1	1.00000	1	Recommended 1 schools as per udise gap
			50. 0. 4	Science Lab	2	28.1570 0	56.314	1	19.2200 0	19.22	Recommended 1 schools as per udise gap
			50. 0. 5	Drinking Water	24	3.22200	77.328	19	3.20000	60.8	Recommended 19 DWs as per udise gap
			50. 0. 6	Additional Classroom	40	26.6570 0	1066.2 8	14	19.2200 0	269.0 8	Recommended 14 ACRs as per udise gap
			50. 0. 8	Chemistry Lab	19	54.2980 0	1031.6 62	1	24.9500 0	24.95	Recommended 1 schools as per udise gap

	Par	ticula	rs			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			50. 0. 9	Biology Lab	19	54.2980 0	1031.6 62	3	24.9500 0	74.85	Recommended 3 schools as per udise gap
			50. 0. 1 0	Art / Craft Room	4	26.6570 0	106.62 8	2	19.2200	38.44	Recommended 2 schools as per udise gap
			50. 0. 1 1	Boys Toilet	7	13.1580	92.106	4	5.14000	20.56	Recommended 4 Boys Toilets as per udise gap
			50. 0. 1 2	Girls Toilet	7	14.1580	99.106	4	5.14000	20.56	Recommended 4 Girls Toilets as per udise gap
			50. 0. 1 3	Removal of Architectural Barriers	5	0.53400	2.67	2	0.53000	1.06	Recommended 2 schools for ramp as per udise gap
			50. 0. 2 6	Lab Equipment (Chemistry)	19	1.00000	19	1	1.00000	1	Recommended 1 schools as per udise gap
		1 1	50. 0. 2 8	Lab Equipment (Biology)	19	1.00000	19	3	1.00000	3	Recommended 3 schools as per udise gap
				Total of Strengthening of Existing Schools (XI – XII) – NR			3799.7 9			584.4	
		5 1. 0		Electrification in Schools (Elementary) – NR							

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			51. 0. 1	Solar Panel	171	6.00000	1026	166	3.00000	498	Recommended 166 schools as per udise (3KW @3 lakh/school).
				Total of Electrification in Schools (Elementary) – NR			1026			498	
		5 2. 0		Electrification in Schools (Secondary and Sr. Secondary) – NR							
			52. 0. 2	Solar Panel For School	19	6.00000	114	16	5.00000	80	Recommended 16 schools as per udise (5KW @5 lakh/school).
				Total of Electrification in Schools (Secondary and Sr. Secondary) – NR			114			80	
		5 4. 0		Teacher Quarter - NR (up to Highest Class X or XII)							
			54. 0. 1	Residential Quarter	54	37.1450 0	2005.8	28	26.6000 0	744.8	Recommended 28 Teacher quarter in 14 schools as per udise gap
				Total of Teacher Quarter - NR (up to Highest			2005.8			744.8	

Particulars Major Sub Activity Mast					Proposal Plant Pinns				Final Approved Outlay			
Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks		
			Class X or XII)									
	5 5. 0		Repairing and Renovations (up to Highest Class X or XII) - NR									
		55. 0. 1	Major Repair	40	4.00000	160	12	4.00000	48	Recommended 12 class room for major repair as per udise gap		
			Total of Repairing and Renovations (up to Highest Class X or XII) - NR			160			48			
						36791. 67			9699. 88			
Total for Acces	ss &	Reten	tion			52585. 43			1543 6.34			
Free	6		Free Text Books									
Textbooks	1. 0	61. 0. 1	Text Books (Class I – II)	65711	0.00250	164.27 8	65711	0.00250	164.2 775	Recommended for providing free textbooks to 65711 students as per UDISE+ 2020-21. State must ensure the textbooks reach in the beginning of the academic session in 2022-23.		
	Total for Acces	Total for Access & Free 6 Textbooks 1.	Component	Component Class X or XII) Repairing and Renovations (up to Highest Class X or XII) - NR S5. Major Repair O.1 Total of Repairing and Renovations (up to Highest Class X or XII) - NR Total of Strengthening of Existing Schools Total for Access & Retention Free Textbooks Free Text Books Text Books	Component Class X or XII) Repairing and Renovations (up to Highest Class X or XII) - NR S5. Major Repair 0.1 Total of Repairing and Renovations (up to Highest Class X or XII) - NR Total of Strengthening of Existing Schools Total for Access & Retention Free 6 Free Text Books Textbooks 1. 61. Text Books 65711	Component Class X or XII) Repairing and Renovations (up to Highest Class X or XII) - NR Solution Total of Repairing and Renovations (up to Highest Class X or XII) - NR Total of Repairing and Renovations (up to Highest Class X or XII) - NR Total of Strengthening of Existing Schools Total for Access & Retention Free Textbooks Total of Tree Text Books Text Books Text Books Total Ocoto Total of Total Ocoto Text Books Text Books Text Books Text Books Text Books Text Books	Class X or XII)	Component Cal Cost ial cal	Component	Component		

	Part	iculars			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
		61. 0.2	Braille Books (Class I II)	26	0.00250	0.065	26	0.00250	0.065	Recommended for providing Braille books to 26 students as per UDISE+ 2020-21. State must ensure the Braille books reach in the beginning of the academic session during 2022-23.	
		61. 0. 3	Large Print Books (Class I II)	93	0.00250	0.232	93	0.00250	0.232	Recommended for providing Braille books to 93 students as per UDISE+ 2020-21. State must ensure the Braille books reach in the beginning of the academic session during 2022-23.	
		61. 0.4	Text Books (Class III – V)	61148	0.00250	152.87	61148	0.00250	152.8 7	Recommended for providing free textbooks to 61148 students as per UDISE+ 2020-21. State must ensure the textbooks reach in the beginning of the academic session in 2022-23.	
		61. 0.5	Braille Books (Class III – V)	21	0.00250	0.052	21	0.00250	0.052	Recommended for providing Braille books to 21 students as per UDISE+ 2020-21. State must ensure the Braille books reach in the beginning of the academic session during 2022-23.	

	Pa	rticular	rs			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			61. 0. 6	Large Print Books (Class III – V)	189	0.00250	0.472	189	0.00250	0.472	Recommended for providing Braille books to 189 students as per UDISE+ 2020-21. State must ensure the Braille books reach in the beginning of the academic session during 2022-23.
			61. 0. 7	Text Books (Class VI – VIII)	38982	0.00400	155.92 8	38982	0.00400	155.9 28	Recommended for providing free textbooks to 38982 students as per UDISE+ 2020-21.State must ensure the textbooks reach in the beginning of the academic session in 2022-23.
			61. 0. 8	Braille Books (Class VI VIII)	18	0.00400	0.072	18	0.00400	0.072	Recommended for providing Braille books to 18 students as per UDISE+ 2020-21. State must ensure the Braille books reach in the beginning of the academic session during 2022-23.
			61. 0. 9	Large Print Books (Class VI – VIII)	115	0.00400	0.46	115	0.00400	0.46	Recommended for providing Braille books to 115 students as per UDISE+ 2020-21. State must ensure the Braille books reach in the beginning of the academic session during 2022-23.
				Total of Free Text Books			474.43			474.4	
		Total	l of F	Free Textbooks			474.43			474.4 3	
	Free	6	_	Uniform							

	Particulars Activity Mast					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Uniforms	2. 0	62. 0. 1	All Girls	73274	0.00600	439.64	73274	0.00600	439.6 44	Recommended for providing two sets of free uniforms to 73274 students as per UDISE+ 2020-21.
			62. 0. 2	ST Boys	40893	0.00600	245.35	40893	0.00600	245.3 58	Recommended for providing two sets of free uniforms to 40893 students as per UDISE+ 2020-21.
			62. 0. 3	SC Boys	2351	0.00600	14.106	2351	0.00600	14.10	Recommended for providing two sets of free uniforms to 2351 students as per UDISE+ 2020-21.
			62. 0.4	BPL Boys	26051	0.00600	156.30	26051	0.00600	156.3 06	Recommended for providing two sets of free uniforms to 26051 students as per UDISE+ 2020-21.
				Total of Uniform			855.41			855.4 1	
		Tot	al of l	Free Uniforms			855.41			855.4 1	
	Special Training of Out of School Children	6 3. 0		Special Training for OoSC – Non- Residential (Fresh)							
	(OoSC)		63. 0.4	12 Month (Non- Residential – Fresh)	1302	0.06000	78.12	1302	0.06000	78.12	Recommended as proposed
				Total of Special Training for			78.12			78.12	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				OoSC – Non- Residential (Fresh)							
		6 4. 0		Special Training for OoSC – Residential (Fresh)							
			64. 0. 4	12 Month (Residential – Fresh)	1166	0.20000	233.2	1166	0.20000	233.2	Recommended as proposed.
				Total of Special Training for OoSC – Residential (Fresh)			233.2			233.2	
		6 5. 0		Special Training for OoSC - Non- Residential (Previous year)							
			65. 0. 4	12 Month (Non- Residential – Prev Year)	1215	0.06000	72.9	801	0.06000	48.06	Recommended as per information uploaded by the State on PRABANDH Portal.
				Total of Special Training for OoSC - Non- Residential (Previous year)			72.9			48.06	
		6 6. 0		Special Training for OoSC - Residential (Previous year)							

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			66. 0.4	12 Month (Residential – Prev. Year)	1323	0.20000	264.6	695	0.20000	139	Recommended as per information uploaded by the State on PRABANDH Portal.
				Total of Special Training for OoSC - Residential (Previous year)			264.6			139	
		Ou		Special Training of chool Children			648.82			498.3 8	
	Support to SCPCR	7 0.		Support to SCPCR							
		0	70. 0. 1	Support to SCPCR (Upto Highest Class VIII)	3402	0.00050	1.701	3402	0.00050	1.701	Recommended for providing support to the SCPCR for grievance redressal and protecting the rights of the child under the RTE Act, considering total 3402 schools @ Rs.50 per school as proposed.
				Total of Support to SCPCR			1.7			1.7	
			al of S	Support to SCPCR			1.7			1.7	
	Community Mobilization	9 8. 0		Community Mobilization (Elementary)							

	Particulars Activity Magter					Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Ac	tivity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
			98. Trai 0.1 SDI	ining of SMC/ MC	2404	0.03000	72.12	2121	0.03000	63.63	State has proposed 2404 Elementary schools. As per UDISE+ 2020-21 (i) 2404 Elementary schools are existing (ii) 2403 elementary schools SMC/SMDC Constituted (iii) 2121 elementary Schools School development plan has prepared, hence 2121 elementary schools @ Rs.3000/- = Rs.63,63,000/- has recommended to take up the training of the SMC/SMDC activities and support to SMCs/SMDCs as per the norms duly having specific plan for getting key performance indicators.	
				nmunity bilization	2404	0.01500	36.06	2404	0.01500	36.06	As per UDISE+ 2020-21, 2404 Elementary schools are there. State proposed 2404 Elementary schools considered @ Rs.1500 per school= Rs.36,06,000/- to undertake community mobilization activities as per the norms duly having specific plan for getting key performance indicators.	
			Cor Mo	cal of mmunity bilization ementary)			108.18			99.69		
		9 9. 0	Cor Mo	mmunity bilization condary)								

	Particulars Sub Addition Mentage			Proposal			Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		99. 0.1	SMDC Training	427	0.03000	12.81	427	0.03000	12.81	As per UDISE+ 2020-21 (i) 427 Secondary and senior secondary schools are existing (ii) 427 secondary and Senior Secondary schools the SMC/SMDC Constituted (iii) 427 secondary and senior secondary schools, School development plan has prepared hence 427 secondary and senior secondary schools considered @ Rs.3000/- = Rs.12,81,000/- to take up the training of the SMC/SMDC activities and support to SMCs/SMDCs as per the norms duly having specific plan for getting key performance indicators.
		99. 0.4	Community Mobilization Total of	427	0.01500	6.405 19.22	427	0.01500	6.405 19.22	As per UDISE+ 2020-21 427 Secondary schools are there however state has proposed 427 Secondary schools, hence 427 Secondary schools considered @ Rs.1500 per school= Rs.6,40,500/- to undertake community mobilization activities as per the norms duly having specific plan for getting key performance indicators.
			Community Mobilization (Secondary)			19.22			19.22	
		Total of Mobiliza	Community			127.4			118.9	

	Par	ticul	ars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Total for RTE	Enti	tlemer	nts			2107.7 6			1948. 83	
Quality Interve ntions	Funds for Quality (LEP, Innovation,	7 1. 0		Innovation Projects – (NR) (Elementary)							
	Guidance etc)		71. 0. 1 2	ICT Facility to BRCs	35	6.40000	224	35	6.40000	224	Recommended as proposed @ Rs. 6.4 lakh per BRC for setting up ICT facilities in all the 35 functional BRCs. This is a one time grant provided under the Learning Recovery Package of 2022-23.
			71. 0. 1 3	Teacher Resource Package (Primary)	11409	0.10000	1140.9	10876	0.10000	1087. 6	Recommended for 10876 regular primary teachers. To continue with the hybrid mode of learning the usage of tablets will enable teachers to use the resources and contents available on various digital portals and show them to the students.
				Total of Innovation Projects – (NR) (Elementary)			1364.9			1311. 6	
		7 2. 0		Innovation Projects – (Elementary) (Recurring)							

	Particulars Major Sub Activity Mosto				Proposal	Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		72. 0.1	Fund for Safety and Security at School Level	2404	0.02000	48.08	2404	0.02000	48.08	Recommended an amount of Rs.48.08 lakh for 2404 schools @ Rs.2000 per school for conducting safety and security in the schools during COVID 19 pandemic. State may ensure that safety and hygiene protocols may be followed in the schools.
		72. 0.2	Holistic Report Card for Students (Elementary)	75628	0.00050	37.814	75628	0.00005	3.781	Recommended for 75628 students of class 1 to 3 in the first phase (including Govt. and Aided) and will be expanded to all classes later on. CBSE and NCERT is in the process of developing HPC and will be shared with State.
		72. 0.3	Orientation Programme for Teachers on Safety and Security	13727	0.00500	68.635	13727	0.00500	68.63 5	Recommended @ Rs. 500/ per teacher for 13727 teachers for conducting training in blended mode.
		72. 0.4	Shaala Siddhi	2910	0.00500	14.55	2404	0.00500	12.02	Recommended an amount of Rs. 12.02 lakh for 2404 elementary schools @ Rs. 500/ per school. Shaala Siddhi is a National Program on School Standards and Evaluation known as Shaala Siddhi for enabling Schools to evaluate their performance in a focused and strategic manner and facilitate them to make school improvement in an incremental manner.

	Particulars Activity Master					Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			72. 0.5	Teacher IdCards	13727	0.00050	6.864	13727	0.00050	6.863 5	Recommended for providing Teacher ID cards.
			72. 0. 6	Youth & Eco Club	511	0.15000	76.65	511	0.15000	76.65	Recommended for 511 schools as proposed by the State for conducting various activities under Youth Club. State is requested to make a calendar of activities and maintain detailed reports. Kitchen garden activities may be converged with PM Poshan.
			72. 0. 7	Youth & Eco Club(stand alone primary only schools)	1893	0.05000	94.65	1893	0.05000	94.65	Recommended for 1893 schools as proposed by the State for conducting various activities under Youth Club. State is requested to make a calendar of activities and maintain detailed reports. Kitchen garden activities may be converged with PM Poshan.
			72. 0. 9	ICT Lab to BRCs (Recurring)	35	2.40000	84	35	0.60000	21	Recommended @Rs .60 Lakh as recurring grant per BRC for 35 BRCs. Funds will be released after establishment of ICT Labs.
				Total of Innovation Projects – (Elementary) (Recurring)			431.24			331.6	
		7 4. 0		Innovation Projects – Recurring							

	Parti		Proposal				Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			(Secondary & Sr. Secondary)							
		74. 0. 2	Aptitude Test at School Level	16	1.10000	17.6	16	1.10000	17.6	Recommended for 34707 students of classes IX to XII. State may also use the Tamanna – an Aptitude Test for Senior School Students of NCERT for further assistance.
		74. 0. 3	Funds for Safety and Security	427	0.02000	8.54	427	0.02000	8.54	Recommended an amount of Rs.8.54 lakh for 427 schools @ Rs.2000 per school for conducting safety and security in the schools during COVID 19 pandemic. State may ensure that safety and hygiene protocols may be followed in the schools
		74. 0.4	Orientation Programme for Teachers on safety and Security	4462	0.00500	22.31	4462	0.00500	22.31	Recommended @ Rs500/ per teacher for 4462 teachers for conducting training in blended mode.
		74. 0.5	Shaala Siddhi	427	0.00500	2.135	427	0.00500	2.135	Recommended an amount of Rs. 2.14 lakh for 427 schools @ Rs. 500/ per school. Shaala Siddhi is a National Program on School Standards and Evaluation known as Shaala Siddhi for enabling Schools to evaluate their performance in a focused and strategic manner and facilitate them to make school improvement in an incremental manner.

	Partio			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		74. 0. 6	Talent Search at school level	16	1.06250	17	16	0.50000	8	Recommended for conducting talent search in 16 districts.
		74. 0.7	Teacher Exchange programme	16	3.40000	54.4	16	3.40000	54.4	Recommended for 16 Science and 16 Social Science trained teachers for each district for 16 districts will be given the opportunity for Teacher Exchange Programme. The selected trained teachers will be sent to another State of India (Guwahati ,Silchar, Kolkata) for 5 days.
		74. 0. 8	Teacher IdCards	3401	0.00005	0.17	3401	0.00005	0.170 05	Recommended for Teacher ID cards.
		74. 0. 9	Youth & Eco Club	427	0.25000	106.75	427	0.25000	106.7	Recommended for 427 schools in the State for conducting various activities under Youth Club. State is requested to make a calendar of activities and maintain detailed reports. Kitchen garden activities may be converged with PM Poshan.
		74. 0. 1 0	Exposure to Vocational Education (Class 6 – 8)	32454	0.00200	64.908	432	0.15000	64.8	Recommended for 432 schools for Visit of upper primary students to nearby industry/unit, Interactive sessions/lectures and workshops by local artisans, craftsmen on local skills/local crafts, teacher training
			Total of Innovation Projects –			293.81			284.7	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		7 7. 0		Recurring (Secondary & Sr. Secondary) Project – Innovative Activities – (Recurring) (State Specific)							
			77. 0.3 4	(Secondary & Sr. Secondary) Science Park / Center	16	5.00000	80	16	5.00000	80	Recommended for 16 schools in each covering all 16 districts for developing science parks.
			77. 0. 7 7	Twining of schools	80	0.50000	40	80	0.10000	8	Recommended for conducting twinning of schools @5 secondary schools per district covering all 16 districts.
			77. 0. 2 67	Maheishangdagi Mahei	427	0.50000	213.5	427	0.50000	213.5	Recommended for 427 schools which aims at adopting by schools in which subject contents to be illustrated on the walls of the school building.
			77. 0. 2 68	All India Radio Education Programme	16	5.41250	86.6	746	0.10000	74.6	Recommended for broadcasting of contents.
			77. 0. 3 73	Joyful Learning	427	0.70000	298.9	427	0.70000	298.9	Recommended for 427 schools for Pigeon holes to keep textbooks and copies of students covering all districts.

	Par	ticul	ars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			77. 0. 5 16	School Meet	17	3.47059	59	17	1.00000	17	Recommended for conducting literary cum sports week to give exposure to the students including 17 zones of the State.
				Total of Project - Innovative Activities - (Recurring) (State Specific) (Secondary & Sr. Secondary)			778			692	
		7 9. 0		Project Innovation – (Rec) – (State Specific) (Elementary)							
			79. 0. 6 8	Teacher Appraisal Format (PINDICS)	13727	0.00100	13.727	13727	0.00100	13.72 7	Recommended for 13727 teachers for to assess the performance and progress of teachers.
			79. 0. 8 5	Joyful Saturday	700	0.70000	490	500	0.70000	350	Recommended for 700 schools for Pigeon holes to keep textbooks and copies of students covering all districts.
			79. 0. 1 72	Display of LOGO	2415	0.00500	12.075	2399	0.00500	11.99 5	Recommended for this activity. The amount can be incurred from composite school grant or MMMER component.

	Part			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		79. 0. 1 73	Documentation of Best Practice on Shagun Portal	16	1.56250	25	1	25.0000	25	Recommended an amount of Rs.25 lakh for documenting the best practices in good quality HD (images and videos) and content based case studies on various components of Samagra Shiksha. State may ensure timely submission of best practices to MoE for uploading on shagun repository.
		79. 0. 3 07	Unique Selling Proposition(USP)	100	0.60000	60	100	0.60000	60	Recommended for 100 schools for conducting Clay Pottery, Clay Craft; Kauna Bag, Florist, Paper Craft, Bamboo and Cane Craft, Silkworm Rearing and Reeling, Tailoring-Dress, Doll Making, Weaving, Embroidery etc. keeping in view the covid pandemic. State is requested to upload the videos on Shagun repository.
		79. 0. 4 54	Nurturing of Gifted Child	14256 9	0.00500	712.84	14256 9	0.00500	712.8 45	Recommended for conducting this intervention which will focus on activities relating to gifted children. State is requested to maintain a database and provide a detail report on this to MoE.
		79. 0. 4	All India Radio Educational	530	0.55000	291.5	530	0.10000	53	Recommended for broadcasting of the contents.

	Particulars Activity Moster					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			57	Program							
			79. 0. 4 65	Talent Hunt	16	1.00000	16	16	1.00000	16	Recommended for conducting talent search covering all 16 districts.
			79. 0. 5 84	School Readiness Module	11409	0.01000	114.09	11409	0.01000	114.0	Recommended for conducing hands on training and implementing of vidya prayesh in the state.
				Total of Project Innovation – (Rec) – (State Specific) (Elementary)			1735.2 4			1356. 66	
		8 3. 0		Project Kala Utsav (Secondary)							
			83. 0. 2	Kala Utsav	16	1.00000	16	1	12.0000	12	Recommended for conducting kala utsav activities at district, state and national level. TA /DA is not recommended as online participation should be taken up at national level
				Total of Project Kala Utsav (Secondary)			16			12	
		8 8. 0		Experiential Learning (Elementary)							

	Particulars					Proposal	Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			88. 0. 1	Rangotsav	2404	0.00500	12.02	1	5.00000	5	Recommended for conducting various joyful activities.
				Total of Experiential Learning (Elementary)			12.02			5	
		9 3.		LEP (Class VI – VIII)							
		0	93. 0.1	Learning Enhancement/Enr ichment Programme (Remedial Teaching)	32454	0.00500	162.27	32454	0.00500	162.2 7	Recommended for 32454 students of classes VI to VIII as per UDISE+ 2020-21 for providing learning enhancement support under learning recovery plan of action.
				Total of LEP (Class VI – VIII)			162.27			162.2 7	
		9		LEP (Class IX – XII)							
		0	94. 0.1	Learning Enhancement/Enr ichment Programme (Remedial Teaching)	34707	0.00500	173.53	34707	0.00500	173.5 35	Recommended for 34707 students of classes IX to XII as per UDISE+ 2020-21 for providing learning enhancement support under learning recovery plan of action.
				Total of LEP (Class IX – XII)			173.54			173.5 4	
		1		Band						7	

	Pai	ars			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		(LI Gu			31	0.67742	21 4988.0 2	1	5.00000	5 4334. 45	An amount of Rs.5.00 lakh approved for undertaking State/UT level Band Competition activities for the year 2022-23 (i.State/UT level (Capital) band competition Rs.2.0 lakh, Rs.50,000/- for training for government schools only, Rs.50,000/- for Band Costumes for government schools only, Rs.2.0 lakh for Purchase pipe band instruments for government schools only, all these 3 activities is to be taken up as per the ISBC guidelines of 2019-20, MOE. The ministry initially providing funds for the State/UT Level(Capital) Band Competition only.
	NIPUN Bharat Mission	8 6. 0		Nipun Bharat Mission (FLN)							

	Par			Proposal	Final Approved Outlay					
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		80	\mathcal{E}	11011	0.00500	550.57 5	11011	0.00500	550.5 75	Recommended for providing TLMs for 110115 students as per UDISE+ 2020-21 of Grades 1 to 5 @ Rs. 300 per student for TLM/TLE, workbooks, worksheets, as well as suggested activity-based, toy-based and playbased pedagogical interventions etc.
		0.	2 Material/Activity Handbook	11409	0.00150	17.114	11409	0.00150	17.11 35	Recommended for 11409 Primary School teachers @ Rs. 150 per teachers to be used for Materials/ Activity Handbooks.
		8 0		6521	0.00500	32.605	6521	0.01000	65.21	Recommended @ Rs. 65.21 lakh for re-running the NISHTHA 3.0 programme for the remaining 6521 primary teachers which could not be covered in 2021-22. This programme will be conducted by the Samagra shiksha and SCERT.
		80	1 1	16	10.0000	160	1	20.0000	20	Recommended @ Rs. 20.00 lakh for conducting periodic baseline assessment including Post Foundational Learning Study interventions. Foundational Learning study will be conducted by MoE in March, 2022.
			Total of Nipun Bharat Mission (FLN)			760.29			652.9	
		8 7. 0	Formation of PMU (Elementary)							

	Par			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		8 0		1	50.0000	50	1	35.0000	35	Recommended for setting-up of State PMU @ Rs. 35.00 lakh, including for technical personnel such as Academic experts IT experts Data analysts Community & Outreach, etc State is requested to share detailed plan of the structure of PMU at State level. In addition State needs to prepare an Implementation Framework consisting of roadmaps and annual action plans for conducting activities covering all focus areas of the FLN Mission.
		8 0		16	10.0000	160	16	10.0000	160	Recommended @ Rs. 10 lakh per district for setting-up of District PMU in 16 districts, including for technical personnel such as Academic experts, Community & Outreach, Data Analysts, Programme Management, etc. State is requested to share detailed plan of the structure of PMU at the district level.
			Total of Formation of PMU			210			195	
		Total of Mission	(Elementary) of NIPUN Bharat n			970.29			847.9	
	Training for In-service	1 0	In-Service Training							

	Par	ticul	ars		Proposal					Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Teacher and Head Teachers	6. 0	106 .0.1 4	(Elementary) Training for Educational Administrators (Elementary) Total of In-	210	0.02500	5.25 5.25	210	0.01000	2.1	Recommended as appraised, NISHTHA training for educational administrators (Elementary) @ Rs. 1000/- per person as per the norms.
		1 0 7. 0	107 .0.2	Service Training (Elementary) In-Service Training (IX – XII) Teachers Class XI to XII (Government Schools)	1516	0.05000	75.8	1516	0.01000	15.16	Recommended as @ Rs.1000/- per teacher for NISHTHA Training at Senior Secondary level (Classes XI-XII) covering Govt School teachers.
			107 .0.4	Teachers Class XI to XII (Government Aided Schools)	81	0.05000	4.05	81	0.01000	0.81	Recommended as @ Rs.1000/- per teacher for NISHTHA Training at Senior Secondary level (Classes XI- XII) covering Govt Aided School teachers.
			107 .0.2 9	Training for Educational Administrators (Secondary)	210	0.02500	5.25	210	0.01000	2.1	Recommended as appraised, NISHTHA training for educational administrators (Secondary) @ Rs. 1000/- per person as per the norms.

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				Training for Educational Administrators (Sr. Secondary)	210	0.02500	5.25	210	0.01000	2.1	Recommended as appraised, NISHTHA training for educational administrators (Sr. Secondary) @ Rs. 1000/- per person as per the norms.
				Total of In- Service Training (IX – XII)			90.35			20.17	
		1 1 3. 0		Training of Resource Persons & Master Trainers (Secondary)							
			113 .0.1 5	KRPs Training Under NISHTHA State level (Class XI to XII)	80	0.05000	4	80	0.01000	0.8	Recommended as appraised, NISHTHA training for KRPs @ Rs. 1000/- per person as per the norms.
				Total of Training of Resource Persons & Master Trainers (Secondary)			4			0.8	
		ser	al of T vice T achers	Training for In- eacher and Head			99.6			23.07	
	Composite School Grant	1 1 8.		Annual Grant (up to Highest Class VIII)							

	Particulars A ctivity Magter					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		0	118 .0.1	School Grant – (Enrol > 30 and <=100)	998	0.25000	249.5	998	0.25000	249.5	Recommended for 998 schools as per UDISE+ 2020-21 excluding zero 318or318e318tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.
			118 .0.2	School Grant – (Enrol > 100 and <= 250)	116	0.50000	58	116	0.50000	58	Recommended for 116 schools as per UDISE+ 2020-21 excluding zero 318or318e318tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.
			118 .0.3	School Grant – (Enrol > 250 and <= 1000)	8	0.75000	6	8	0.75000	6	Recommended for 8 schools as per UDISE+ 2020-21 excluding zero 318or318e318tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.
			118 .0.5	School Grant (Enrol >= 1 and <= 30)	1282	0.10000	128.2	1282	0.10000	128.2	Recommended for 1282 schools as per UDISE+ 2020-21 excluding zero 318or318e318tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.
				Total of Annual Grant (up to Highest Class			441.7			441.7	

	Particulars Moion Sub Activity Mostor					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				VIII)							
		1 1 9.		Annual Grant (up to Highest Class X or XII)							
		0	.0.1	School Grant – (Enrol > 30 and <=100)	146	0.25000	36.5	146	0.25000	36.5	Recommended for 146 schools as per UDISE+ 2020-21 excluding zero 319or319e319tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.
			119 .0.2	School Grant – (Enrol > 100 and <= 250)	159	0.50000	79.5	159	0.50000	79.5	Recommended for 159 schools as per UDISE+ 2020-21 excluding zero 319or319e319tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.
			119 .0. 3	School Grant – (Enrol > 250 and <= 1000)	88	0.75000	66	88	0.75000	66	Recommended for 88 schools as per UDISE+ 2020-21 excluding zero 319or319e319tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.

	Pai	rticula	rs			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
			119 .0.4	School Grant – (Enrol > 1000)	5	1.00000	5	5	1.00000	5	Recommended for 5 schools as per UDISE+ 2020-21 excluding zero 320or320e320tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.	
			119 .0. 5	School Grant (Enrol >= 1 and <= 30)	29	0.10000	2.9	29	0.10000	2.9	Recommended for 29 schools as per UDISE+ 2020-21 excluding zero 320or320e320tru schools. Including 10% of the amount for Swachhta Programs. State may ensure proper utilisation and updation on PRABANDH portal.	
				Total of Annual Grant (up to Highest Class X or XII)			189.9			189.9		
		Tota Grai		Composite School			631.6			631.6		
	Library Grants	1 2 0.		Library Grant (upto Highest Class VIII)								

	Particulars Major Sub Activity Master					Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		0	120 .0.1	Upper Primary Schools	511	0.13000	66.43	511	0.13000	66.43	Recommended for 511 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued in 2021 by MoE. The schools must conduct the activities for promotion of reading mentioned in the guideline.
			120 .0.2	Primary Schools	1893	0.05000	94.65	1893	0.05000	94.65	Recommended for 1893 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued in 2021 by MoE. The schools must conduct the activities for promotion of reading mentioned in the guideline.
				Total of Library Grant (upto Highest Class VIII)			161.08			161.0 8	Ü
		1 2 1. 0		Library Grant (upto Highest Class XII)							

	Par	rticula	ars			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
			121 .0.1	Secondary Schools (Upto Class X)	425	0.15000	63.75	370	0.15000	55.5	Recommended for 370 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued in 2021 by MoE. The schools must conduct the activities for promotion of reading mentioned in the guideline.	
			121 .0. 2	Senior Secondary School (Upto Class XII)	57	0.20000	11.4	57	0.20000	11.4	Recommended for 57 schools. State may ensure timely procurement & supply of books to the respective schools as per the guideline issued in 2021 by MoE. The schools must conduct the activities for promotion of reading mentioned in the guideline.	
				Total of Library Grant (upto Highest Class XII)			75.15			66.9		
		Tot	al of I	Library Grants			236.23			227.9 8		
	Rastriya Aavishkar Abhiyan	1 2 4. 0		Rashtriya Aavishkar Abhiyaan (Elementary)								

	Partio	culars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		124 .0.1	Science Exhibition / Book Fair	16	1.00000	16	16	0.50000	8	Recommended for conducting science exhibition covering all 16 districts at different levels of Blocks, District and State level at elementary level.
		124 .0.2	Quiz Competition	16	1.80188	28.83	16	0.50000	8	Recommended for conducting quiz competition covering all 16 districts.
		124 .0. 3	Exposure visit outside State	2000	0.02000	40	1600	0.02000	32	Recommended for 800 exposure visit of students outside state (@100 students per district).
		124 .0.4	Science Kit	514	0.10000	51.4	514	0.09752	50.12 528	Recommended for 514 schools for providing science kits as per NCERT rates.
		124 .0.5	Excursion Trip for Students within State	32446	0.00200	64.892	32446	0.00200	64.89	Recommended for 32446 students covering all 16 districts.
		124 .0.6	Maths Kit	514	0.03000	15.42	514	0.01776	9.128 64	Recommended for 514 schools for providing math kits as per NCERT rates.

	Par	rticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			124 .0.7	School Mentoring by Higher Education Institutes	514	0.05000	25.7	514	0.05000	25.7	Recommended for resource support to be provided by higher institutes to Higher Secondary Schools, colleges, training institutes etc. Students/teachers from schools will visit the higher institutes and faculty from higher institutes will provide academic support to the schools.
			124 .0. 8	Participation in Science and Maths Olympiads	80	0.10000	8	16	0.50000	8	Recommended for Participation in Science and Maths Olympiads covering all 16 districts.
			124 .0. 9	Formation of Science / Maths Clubs	160	0.30000	48	160	0.10000	16	Recommended for formation of science/maths clubs in schools.
			124 .0. 1 9	Science Park	16	5.00000	80	16	5.00000	80	Recommended for setting up science park in 16 schools.
				Total of Rashtriya Aavishkar Abhiyaan (Elementary)			378.24			301.8	
		1 2 5. 0		Rashtriya Aaviskaar Abhiyan (Secondary)							

	Partio			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		125 .0.1	Science Exhibition / Book Fair	16	1.00000	16	16	0.50000	8	Recommended for conducting science exhibition covering all 16 districts at different levels of Blocks, District and State level at secondary level.
		125 .0.2	Quiz Competition	16	1.80188	28.83	16	0.30000	4.8	Recommended for conducting quiz competition covering all 16 districts.
		125 .0.3	Study Trip for Students to Higher Institutions (Within States)	34707	0.00200	69.414	8000	0.00200	16	Recommended for 8000 students covering all 16 districts.
		125 .0.4	Exposure visit outside State	2000	0.02000	40	800	0.02000	16	Recommended for 800 exposure visit of students outside state (@50 students per district).
		125 .0.5	Maths Kit	427	0.30000	128.1	427	0.02040	8.710 8	Recommended for 427 secondary schools for providing NCERT Maths kits.
		125 .0.6	Science Kit	427	0.15000	64.05	427	0.12042	51.41 934	Recommended for 427 secondary schools for providing NCERT science kits.
		125 .0.7	Tinkering Lab	282	10.6879	3013.9 88	146	10.0000	1460	Recommended for 146 schools more than 15 enrolment of students for setting up tinkering labs. State is requested follow the ATL guidelines.

	Par	rticulars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		123		160	0.30000	48	160	0.30000	48	Recommended for formation of Science / Maths Clubs.
		.0.9		16	3.83000	61.28	16	0.50000	8	Recommended for participation in childrens science congress.
		.0. 0		80	0.10000	8	80	0.10000	8	Recommended for participation in Science and Maths Olympiads
		125 .0.1	U	427	0.05000	21.35	427	0.05000	21.35	Recommended for resource support to be provided by higher institutes to Higher Secondary Schools, colleges, training institutes etc. Students/teachers from schools will visit the higher institutes and faculty from higher institutes will provide academic support to the schools.
		123 .0.2	1	34707	0.00200	69.414	34707	0.00200	69.41 4	Recommended for 34707 students.
			Total of Rashtriya Aaviskaar Abhiyan (Secondary)			3568.4			1719. 69	
			Rastriya xar Abhiyan			3946.6 7			2021. 54	
	ICT and Digital Initiatives	1 2 7. 0	Digital Hardware & Software (up to Highest Class			-				

	Par	ticula	ars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			127 .0. 1	VIII) – NR Digital Hardware & Software (Type – I) (Elementary)	87	6.40000	556.8	28	6.40000	179.2	Recommended ICT Lab in 28 Government schools @ a unit cost of Rs. 6.4 Lakh per school. Schools with very low enrolment, have ICT as per UDISE, without electricity etc. are not considered.
			127 .0. 2	Smart Classroom (Type – II) (Elementary)	341	2.40000	818.4	67	2.40000	160.8	Recommended smart classrooms in 67 Government schools @ a unit cost of Rs. 2.4 Lakh per school. Schools newly recommended under ICT, have very low enrolment and without electricity are not considered.
				Total of Digital Hardware & Software (up to Highest Class VIII) – NR			1375.2			340	
		1 2 8. 0		Recurring Components (Digital Hardware & Software upto Highest Class VIII)							
			128 .0. 1	Recurring Cost (ICT & Digital Initiatives) (Option – I) (New)	87	2.40000	208.8	28	1.20000	33.6	Recommended recurring cost of 6 months for the 28 newly recommended schools.

	Particulars Activity Master					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			128 .0. 2	Recurring Cost (ICT & Digital Initiatives) (Option – I) (Existing)	188	2.40000	451.2	188	2.40000	451.2	Recommended recurring cost for 188 functional schools @ a unit cost of Rs. 2.4 Lakh per school.
			128 .0. 3	Smart Classroom – (Recuring) (Type – II) (Elementary) (New)	341	0.38000	129.58	67	0.19000	12.73	Recommended recurring cost of 6 months for the 67 newly recommended schools
			128 .0.4	Smart Classroom – (Recuring) (Type – II) (Elementary) (Existing)	22	0.38000	8.36	22	0.38000	8.36	Recommended recurring cost for smart classrooms in 22 functional schools.
				Total of Recurring Components (Digital Hardware & Software upto Highest Class VIII)			797.94			505.8	
		1 2 9. 0		Digital Hardware & Software (upto Highest Class XII) – NR							
			129 .0.1	Digital Hardware & Software (Type – I) (Secondary & Sr. Secondary)	99	6.40000	633.6	6	6.40000	38.4	Recommended ICT lab in 6 Government schools. Schools with very low enrolment, without electricity etc. are not considered.

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
itent			129 .0.2	Smart Classroom (Type – II) (Secondary & Sr. Secondary)	126	2.40000	302.4	73	2.40000	175.2	Recommended Smart classrooms in 73 schools. Schools newly recommended under ICT Lab, already approved under Smart classrooms, without electricity, with very low enrolment etc. are not considered.
				Total of Digital Hardware & Software (upto Highest Class XII) – NR			936			213.6	
		1 3 0. 0		Recurring Components (Digital Hardware & Software upto Highest Class XII)							
			130 .0.1	Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr. Secondary) (Option – I) (New)	99	2.40000	237.6	6	1.20000	7.2	Recommended recurring cost of 6 months for the 6 newly recommended schools.
			130 .0.2	Recurring Cost (ICT & Digital Initiatives) (Secondary & Sr.	183	2.40000	439.2	183	2.40000	439.2	Recommended for 183 functional schools.

	Par	ticulars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			Secondary) (Option – I) (Existing)							
		13		289	0.38000	109.82	289	0.38000	109.8	Recommended recurring cost for 289 functional schools.
		13		126	0.38000	47.88	73	0.19000	13.87	Recommended recurring cost of 6 months for the 73 newly recommended schools.
			Total of Recurring Components (Digital Hardware & Software upto Highest Class XII)			834.5			570.0 9	
		Total o Initiati	f ICT and Digital			3943.6 4			1629. 58	
	Early Childhood Care and	1 3 3. 3.	Pre- Primary (Non- Recurring)			4			30	

	Particulars					Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Education (ECCE)	0	133 .0.1	Child Friendly Furniture	468	0.60000	280.8	170	0.60000	102	Out of proposed 468 schools, 39 schools are not eligible as 331or331e331t exist in UDISE, 259 schools already approved in previous years, hence recommended for remaining 170 schools for Child Friendly Furniture in existing 331or331e331truct sections in these schools.
			133 .0.2	BALA Features	468	0.10000	46.8	170	0.10000	17	Out of proposed 468 schools, 39 schools are not eligible as 331or331e331t exist in UDISE, 259 schools already approved in previous years, hence recommended for remaining 170 schools for BALA feature in existing 331or331e331truct sections in these schools.
			133 .0.3	Out Door Play Materials	468	0.30000	140.4	170	0.30000	51	Out of proposed 468 schools, 39 schools are not eligible as 331or331e331t exist in UDISE, 259 schools already approved in previous years, hence recommended for remaining 170 schools for Outdoor play materials in existing 331or331e331truct sections in these schools.
				Total of Pre- Primary (Non- Recurring)			468			170	
		1 3		Pre-Primary (Recurring)							

	Par	ars			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		4. 0	134 .0.4	TLM for Children	9392	0.00500	46.96	8376	0.00500	41.88	Recommended TLM for pre primary children as per the 332or332e332tru shown in UDISE 2020-21
			134 . 0 .9	Support at Pre- Primary Level (New)	468	2.00000	936	468	1.90000	889.2	Recommended for learning corners, activity based learning resources, training of Master trainers on ECCE, School readiness and support for ECCE curriculum in pre-primary sections of proposed 468 schools.
			134 .0. 1 6	Support to Pre- Primary (Existing)	672	2.00000	1344	672	1.90000	1276. 8	Recommended for learning corners, activity based learning resources, indoor play materials, School readiness and support for ECCE curriculum in existing pre-primary sections of proposed 672 schools.
				Total of Pre- Primary (Recurring)			2326.9			2207. 88	
		Ca		Early Childhood Education			2794.9 6			2377. 88	
	Academic	1		Provision for							
	support	3		BRCs/URCs							
	through BRC/URC/C RC	5. 0	.0.1	Financial Support for 1 Accountant- cum-support staff	65	2.60000	169	65	2.60000	169	Recommended for in-position
			135 .0.2	Financial Support for 1 Data Entry Operator in position	35	2.45000	85.75	23	2.45000	56.35	Recommended for in-position

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			135 .0.3	Financial Support for 1 MIS Coordinator in position	35	4.53600	158.76	28	4.53600	127.0 08	Recommended for in-position
			135 .0.4	for 2 Resource Persons for CWSN	70	4.39000	307.3	66	4.39000	289.7 4	Recommended for in-position
			135 .0. 5	for 6 Resource Persons at BRC	210	4.39000	921.9	173	4.39000	759.4 7	Recommended for in-position
				Total of Provision for BRCs/URCs			1642.7 1			1401. 57	
				Academic support BRC/URC/CRC			1642.7 1			1401. 57	
	Total for Qual						19253. 72			1349 5.56	
Sports & Physic al Educat	Sports & Physical Education	1 2 2. 0		Sports & Physical Education (upto Highest Class XII)							
ion			122 .0.1	Sports & Physical Education (Secondary)	425	0.25000	106.25	370	0.25000	92.5	Recommended for 370 schools for providing sports equipments. State may ensure timely release of funds for procurement of sports equipments in the school.

	Particulars Major Sub Activity Most					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			122 .0.2	Sports & Physical Education (Sr. Secondary)	57	0.25000	14.25	57	0.25000	14.25	Recommended for 57 schools for providing sports equipments. State may ensure timely release of funds for procurement of sports equipments in the school.
				Total of Sports & Physical Education (upto Highest Class XII)			120.5			106.7	
		1 2 3. 0		Sports & Physical Education (upto Highest Class VIII)							
			123 .0.1	Sports & Physical Education (Primary Schools	1893	0.05000	94.65	1893	0.05000	94.65	Recommended for 1893 schools for providing sports equipments. State may ensure timely release of funds for procurement of sports equipments in the school.
			123 .0.2	Sports & Physical Education (Upper Primary Schools)	511	0.10000	51.1	511	0.10000	51.1	Recommended for 511 schools for providing sports equipments. State may ensure timely release of funds for procurement of sports equipments in the school.
				Total of Sports & Physical Education (upto Highest			145.75			145.7 5	

	Par	ticul	ars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			tal of S	Class VIII) Sports & Physical n			266.25			252.5	
	Total for Sport						266.25			252.5 0	
Teache r Educat ion	Civil Work :Strengthenin g of physical 335or335e335 tructure in TEI (SCERTs/DIE Ts/BITEs)	1 4 0. 0		Strengthening of Physical Infrastructure for New Construction and Expansion of existing TEIs – NR							
			140 .0. 2	DIETs	14	312.857 14	4380	4	223.500	894	Recommended, Construction of Boys Hostel & Girls hostel in DIET Imphal West and DIET Noney.
				Total of Strengthening of Physical Infrastructure for New Construction and Expansion of existing TEIs - NR			4380			894	West and Biblinose;
		:St	rength rastru	Civil Work nening of physical cture in TEI s/DIETs/BITEs)			4380			894	
	Technology Support to	1 4		Technology Support to TEIs							

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
NO.	TEIs	3. 0	143 .0.1 143 .0.2	(Recurring) SCERT (Technology Support) DIETs (Technology Support) Total of Technology Support to TEIs (Recurring)	9	2.40000	2.4	9	2.40000	2.4 21.6 24	Recommended Recommended
		Sup		Technology to TEIs			24			24	
	Program & Activities including Faculty Development of Teacher Educators	1 4 4. 0		Program & Activities including Faculty Development of Teacher Educators							
			144 .0. 1	Program & Activities (DIET)	18	20.0000	360	9	30.0000	270	Recommended @ Rs 30.00 lakh per DIET for 9 DIETs. This fund will also be utilized for development of the State Curriculum Frameworks (SCFs)-for conducting activities such as consultations with stakeholders at the district level, etc.
			144 .0. 2	Specific projects for Research activities (DIET)	9	10.0000	90	9	10.0000	90	Recommended @ Rs.10.00 lakh per DIET for 9 functional DIETs. This fund will be utilized for conducting specific research activities such as

	Par	S		Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
										action researches, small scale studies, etc.
			Program & Activities (SCERT)	43	0.69767	30	1	30.0000	30	Recommended @ Rs 30.00 lakh for the SCERT. This fund will be utilized for conducting activities such as capacity building, professional development programmes, exchange programmes, material development, etc.
			J.4 Specific programme for Research activities (SCERT)	1	10.0000	10	1	10.0000	10	Recommended @ Rs. 10.00 lakh for SCERT. This fund will be utilized for conducting specific research activities such as action researches, small scale studies, etc.
			Total of Program & Activities including Faculty Development of Teacher Educators			490			400	
		Activ	of Program & ities including Facult opment of Teacher	y		490			400	
	Assessment	1	Assessment Cell							

	Particulars A ativity Mayta					Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
	Cell (SCERT)	4 5. 0	145 .0.1	SCERT	1	50.0000	50	1	35.0000	35	Recommended as appraised, for Assessment cell at the SCERT. This assessment cell would be involved in the conduct of various achievement surveys, developing test materials & item banks, training of various stakeholders, test administration, data collection & analysis, report generation, etc. NOTE: This amount is not to be utilized for hiring of staff and salary support.
				Total of Assessment Cell			50			35	
			al of A	Assessment Cell			50			35	
	Financial Support for Teacher Educators (TEIs)	1 4 7. 0		Financial Support for Salary in TEIs (Academic Posts)							
			147 .0. 1	DIETs	12	76.2341	914.81	103	5.01130	516.1 639	Recommended for post created and filled after 2012. Central support for salary of Teacher Educators restricted to 60% of the total filled up posts and provided for 91 Academic posts (Principal-2 and Lecturer-89) in 9 functional DIETs. And as desired by PAB 3 months notional Financial Support for 12 Academic Posts for to be functional 3

	Par	ticula	nrs		Proposal	1	Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
										DIETs (Kangpokpi, Heirok and Pherzawl) is recommended.
			Total of Financial Support for Salary in TEIs (Academic Posts)			914.81			516.1 6	
		1 4 8. 0	Para Academic Posts (Financial Support)							

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			148 .0.2	DIETs	12	12.7566 7	153.08	37	2.93515	108.6 0055	Recommended for post created and filled after 2012. Central support for salary of Teacher Educators restricted to 60% of the total filled up posts and provided for 25 eligible Para Academic posts. And as desired by PAB 3 months notional Financial Support for 12 Para Academic Posts for to be functional 3 DIETs (Kangpokpi, Heirok and Pherzawl) is recommended.
				Total of Para Academic Posts (Financial Support)			153.08			108.6	
			Teach	Financial Support ner Educators			1067.8 9			624.7	
	Training of Teacher Educators	1 4 9.		Training for Teacher Educators							
		0	149 .0. 1	SCERT	200	0.05000	10	10	0.04000	0.4	Recommended as appraised, 10 days Blended Training program Teacher Educators (SCERT) as Resource Persons, at least 5 days of which will be in online mode @ 4000/- per person
			149 .0. 2	DIETs	81	0.19756	16.002	81	0.04000	3.24	Recommended as appraised, 10 days Blended Training program Teacher Educators (DIETs) as Resource

	Par	ticul	ars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
											Persons, at least 5 days of which will be in online mode @ 4000/- per person
				Total of Training for Teacher Educators			26			3.64	
				Training of Educators			26			3.64	
	DIKSHA (National Teacher	1 5 1.		DIKSHA (National Teacher Portal)							
	Portal)	0	151 .0.1	and Training for Teachers, Educators and State officials for 341or341e of DIKSHA	210	0.04143	8.7	210	0.04143	8.7	Recommended Rs. 8.70 Lakh for the Capacity Building and Training for Teachers, Educators and State officials for the usage of DIKSHA that includes workshops, technical sessions, campaigns and any activity of relevance.
			151 .0. 2	Development of Digital Content	4	43.9700	175.88	4	10.3250	41.3	Recommended Rs. 41.30 Lakh for the Development of Digital Contents that covers review/updating of existing Digital Learning Contents, Upgradation of Software/Hardware equipment necessity on DIKSHA, Translation/Dubbing of Mathematics and Science NCERT e-contents in regional language (classes I-V), Development of Digital learning contents for all subjects uptil class 5; uploading on DIKSHA for wider benefit and State Level School

	Par	ticul	ars			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
											Curriculum based E- Content Competition cum Exhibition, etc. as required.	
				Total of DIKSHA (National Teacher Portal)			184.58			50		
				OIKSHA (National Portal)			184.58			50		
	Annual Grant for TEIs	1 5		Annual Grant for TEIs								
		2. 0	152 .0.2	DIETs	12	20.0000	240	9	20.0000	180	Recommended as proposed for 9 functional DIETs. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment, stationary, office expenses, etc.	
			152 .0.3	SCERT	1	35.0000	35	1	35.0000	35	Recommended as appraised Rs. 35.00 lakh for the SCERT as per the norms. This fund will be utilized for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books/periodicals, development and maintenance of website, small office/library equipment, stationary, office expenses, etc.	

	Par	ticula	ars	Proposal			Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			Total of Annual Grant for TEIs			275			215	
		Tota TEI	al of Annual Grant for Is			275			215	
	Total for Teach	tal for Teacher Education				6497.4 7			2246. 40	
Financi al Suppor t for Teache rs	Financial Support for Teachers (HMs/Teache rs)	1 5 4. 0	Financial Support for Salary (Elementary)							

	Pai			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		154 .0.1 0	* *	3235	1.97400	6385.8 9 6385.8	1	5728.61 400	5728. 614 5728. 61	With reference to the PAB-2021-22 Minutes of Manipur Rs. 6030.12 lakh was approved; financial eligibility (after 5% reduction) in the financial year 2022-23 is Rs. 5728.614 lakh, and the same amount (Rs. 5728.614 lakh) has recommended for the current financial year 2022-23. Note In the financial year 2022-23 it is 95% of the approved outlay of 2021-22. This is further subject to the state maintaining the required level of filled up posts. This principle is based as per the direction of PAB-2021-22 minutes. If certain percentage vacancy of teachers increase in 2022-23 from 2021-22 then that percentage amount could be reduced from 95% eligible amount
			Support for Salary (Elementary)							
		1 5 7.	Financial Support for Teachers							

	Particulars					Proposal		Final Approved Outlay			
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		0		(Secondary)							
			157 .0.8	Financial Support for Teacher Salary (Secondary)	1256	2.82183	3544.2	1	2679.62 700	2679. 627	With reference to the PAB-2021-22 Minutes of Manipur Rs. 2820.66 lakh was approved; financial eligibility (after 5% reduction) in the financial year 2022-23 is Rs. 2679.627 lakh, and the same amount (Rs. 2679.627 lakh) has recommended for the current financial year 2022-23. Note In the financial year 2022-23 it is 95% of the approved outlay of 2021-22. This is further subject to the state maintaining the required level of filled up posts. This principle is based as per the direction of PAB-2021-22 minutes. If certain percentage vacancy of teachers increase in 2022-23 from 2021-22 then that percentage amount could be reduced from 95% eligible amount.
				Total of Financial Support for Teachers (Secondary)			3544.2			2679. 63	

	Par	ticulars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		for Teac	Financial Support chers eachers)			9930.1 1			8408. 24	
	Appointment of Language Teachers	1 5 9. 0	Language Teachers in NER (Hindi) (Secondary & Sr. Secondary)							

	Parti	culars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		159	Hindi Teacher (Previous)	152	3.60000	547.2	152	1.80000	273.6	Under the elementary head total 602 (454 teachers approved in 2020-21+ 148 teachers in 2021-22) teachers/instructors approved. But as per the proposal the state has bifurcated (1) 450 teachers/instructors under elementary head; and (2) 152 teachers/instructors under secondary head. Till date the state has not recruited teachers/instructors. Therefore, financial support as an allowance for 602 (450 teachers/instructors under elementary head and 152 teachers/instructors under secondary head) considered for 6 months @ Rs. 30000/month in the current financial year 2022-23. The expenditure of the recommended amount is subject to in- position teachers. Note As it observed from PAB-2021-22 minutes, " state was assured that recruitment in process and the PAB was directed to complete the recruitment of teachers on timely basis" (PAB-2021-22 minutes).
			Total of Language			547.2			273.6	

	Par	ticulars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			Teachers in NER (Hindi) (Secondary & Sr. Secondary)							
		1 6 1. 0	Language Teachers in NER (Hindi) (Elementary)							

	Part			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		161 .0.2	Hindi Teacher (Previous)	450	3.60000	1620	450	1.80000	810	Under the elementary head total 602 (454 teachers approved in 2020-21+ 148 teachers in 2021-22) teachers/instructors approved. But as per the proposal the state has bifurcated (1) 450 teachers/instructors under elementary head; and (2) 152 teachers/instructors under secondary head. Till date the state has not recruited teachers/instructors. Therefore, financial support as an allowance for 602 (450 teachers/instructors under elementary head and 152 teachers/instructors under secondary head) considered for 6 months @ Rs. 30000/month in the current financial year 2022-23. The expenditure of the recommended amount is subject to in- position teachers. Note As it observed from PAB-2021-22 minutes, " state was assured that recruitment in process and the PAB was directed to complete the recruitment of teachers on timely basis" (PAB-2021-22 minutes).

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				Total of Language Teachers in NER (Hindi) (Elementary)			1620			810	
				Appointment of e Teachers			2167.2			1083. 6	
	Total for Fina		0 0	ort for Teachers			12097. 31			9491. 84	
Gender & Equity	Kasturba Gandhi Balika	1 6 7.		KGBV – Type – II (NR) (New) (Classes VI –X)							
	Vidyalaya (KGBVs)	0	167 .0. 1	Construction of building (new)	1	314.481 00	314.48	1	223.500 00	223.5	Civil Work Unit of TSG-SS has recommended a unit cost of Rs. 223.50 lakh for 50 bedded hostel (including Furniture)
			167 .0.4	Furniture/ Equipment (including kitchen)	150	0.03000	4.5	50	0.03000	1.5	Furniture/ Equipment (including kitchen) of Rs.3000/- per girl is recommended for additional 50 girls in 01 upgraded KGBV (Tuilaphai, Henglep of Churachandpur district).
			167 .0. 5	TLM and equipment including library books	150	0.03500	5.25	50	0.03500	1.75	TLM and equipment including library books of Rs.3500/- per girl is recommended for additional 50 girls in 01 upgraded KGBV (Tuilaphai, Henglep of Churachandpur district).

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			167 .0. 6	Bedding	50	0.01500	0.75	50	0.01500	0.75	Bedding of Rs.1500/- per girl is recommended for additional 50 girls in 01 upgraded KGBV (Tuilaphai, Henglep of Churachandpur district).
				Total of KGBV – Type – II (NR) (New) (Classes VI –X)			324.98			227.5	
		1 6 8. 0		KGBV – Type – II (Recurring) (New) (Classes VI –X)							
			168 .0. 2	Food/Lodging per child per month	150	0.18000	27	150	0.18000	27	Recommended @Rs.1500/- per girl per month for proposed 150 girls for 01 KGBVs. (Existing 100 + additional 50 girls)
			168 .0. 3	Stipend per child per month	150	0.01200	1.8	150	0.01200	1.8	Recommended @Rs.100/- per girl per month for proposed 150 girls for 01 KGBVs. (Existing 100 + additional 50 girls)
			168 .0.4	Supplementary TLM, Stationery and other educational material	150	0.01000	1.5	150	0.01000	1.5	Recommended @Rs.1000/- per girl per annum for proposed 150 girls for 01 KGBVs. (Existing 100 + additional 50 girls)
			168 .0. 5	1 Warden	1	2.95992	2.96	1	2.95992	2.959 92	Recommended @Rs.24666/- per month for existing posted 01 warden in 01 KGBV.

	Partic		Proposal ster Physi Unit Financ					Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		168 .0. 6	4 – 5 Fulltime teachers	7	1.80000	12.6	7	1.80000	12.6	Recommended @Rs.15000/- per month per teacher for proposed 7 full time teachers for 01 KGBV.
		168 .0.8	3 Part time teachers	3	1.47600	4.428	3	1.47600	4.428	Recommended @Rs.12300/- per month per teacher for existing posted 03 part time teachers in 01 KGBV.
		168 .0.9	1 Full time Accountant	1	0.91200	0.912	1	0.91200	0.912	Recommended @Rs.7600/- per month for existing posted 01 accountant in 01 KGBV.
		168 .0. 1 0	2 Support staff – (Accountant/Assi stant, Peon, Chowkidar)	2	0.85200	1.704	2	0.85200	1.704	Recommended @Rs.7100/- per month per support staff for existing posted 02 support staff in 01 KGBV.
		168 .0. 1 1	1 Head Cook	1	0.70080	0.701	1	0.70080	0.700	Recommended @Rs.5840/- per month for existing posted 01 head cook in 01 KGBV.
		168 .0.1 2	2 Assistant Cook	2	0.69000	1.38	2	0.69000	1.38	Recommended @Rs.5750/- per month per assistant cook for existing posted 02 assistant cooks in 01 KGBV.
		168 .0. 1 3	1 Head Teacher	1	1.98000	1.98	1	1.98000	1.98	Recommended @Rs.16500/- per month for proposed 01 head teacher for 01 KGBV.
		168 .0.1 4	Specific Skill training	150	0.02500	3.75	150	0.02500	3.75	Recommended @Rs.2500/- per girl per annum for proposed 150 girls for 01 KGBVs. (Existing 100 + additional 50 girls)

	Partic			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		168 .0. 1 5	Electricity / Water Charges	150	0.01500	2.25	1	2.00000	2	Recommended @Rs.2.00 lakh per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)
		168 .0. 1 6	Medical care / Contingencies	150	0.01500	2.25	150	0.01500	2.25	Recommended @Rs.1000/- per girl per annum for proposed 150 girls for 01 KGBVs. (Existing 100 + additional 50 girls)
		168 .0. 1 7	Maintenance	150	0.01500	2.25	1	2.00000	2	Recommended @Rs.2.00 lakh per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)
		168 .0. 1 8	Miscellaneous	150	0.03500	5.25	1	2.00000	2	Recommended @Rs.2.00 lakh per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)
		168 .0. 1 9	Preparatory Camps	1	0.08000	0.08	1	0.07000	0.07	Recommended @Rs.7000/- per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)
		168 .0.2 0	P.T.A.	150	0.00100	0.15	1	0.10000	0.1	Recommended @Rs.10000/- per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)
		168 .0.2 2	Capacity Building	1	0.10000	0.1	1	0.10000	0.1	Recommended @Rs.10000/- per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)

	Pai	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			168 .0. 2 3	Physical / Self Defence	1	0.10000	0.1	1	0.10000	0.1	Recommended @Rs.10000/- per KGBV per annum for 01 KGBV. (Targeted capacity 150 girls – Existing 100 + additional 50 girls)
				Total of KGBV – Type – II (Recurring) (New) (Classes VI –X)			73.14			69.33	
		1 6 9. 0		KGBV – Type – II (NR) (Previous Year) (Classes VI –X)							
			169 .0. 7	Replacement of bedding (once in 3 years)	100	0.01500	1.5	100	0.01500	1.5	Replacement of bedding of Rs.1500/- per girl is recommended for existing 100 girls in 02 KGBVs (50 girls in each KGBV).
											1. KGBV, Thamnapokpi of Bishnupur district
											2. KGBV, Mayang Imphal of Imphal West district
				Total of KGBV – Type – II (NR) (Previous Year) (Classes VI –X)			1.5			1.5	
		1 7 1. 0		KGBV – Type – III (NR) (New) (Classes VI – XII)							

	Particulars Major Sub Activity Most				Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		171 .0.4	Furniture/ Equipment (including kitchen)	600	0.03000	18	400	0.03000	12	Furniture/ Equipment (including kitchen) of Rs.3000/- per girl is recommended for eligible 400 girls 04 KGBVs. (100 girls in each KGBV) (Additional 600 seats were approved in 06 KGBVs in 2019-20 & 2018-19. Out of 600, Furniture/ Equipment (including kitchen) already approved for 200 girls in 2019-20)
		171 .0. 5	TLM and equipment including library books	600	0.03500	21	400	0.03500	14	TLM and equipment including library books of Rs.3500/- per girl is recommended for eligible 400 girls 04 KGBVs. (100 girls in each KGBV) (Additional 600 seats were approved in 06 KGBVs in 2019-20 & 2018-19. Out of 600, Furniture/ Equipment (including kitchen) already approved for 200 girls in 2019-20)
		171 .0. 6	Bedding	200	0.01500	3	200	0.01500	3	Bedding of Rs.1500/- per girl is recommended for eligible 200 girls 04 KGBVs. (50 girls in each KGBV)
			Total of KGBV – Type – III (NR) (New) (Classes			42			29	

	Particulars Sub-					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		1 7 2. 0		VI –XII) KGBV – Type – III (Recurring) (New) (Classes VI –XII)							
			172 .0.2	Food/Lodging per child per month	1200	0.18000	216	1200	0.18000	216	Recommended @Rs.1500/- per girl per month for enrolled 1200 girls for existing & functional 06 KGBV. (200 girls in each KGBV)
			172 .0. 3	Stipend per girl per month	1200	0.01200	14.4	1200	0.01200	14.4	Recommended @Rs.100/- per girl per month for enrolled 1200 girls for existing & functional 06 KGBV. (200 girls in each KGBV)
			.0.4	Supplementary TLM, Stationery and other educational material	1200	0.01000	12	1200	0.01000	12	Recommended @Rs.1000/- per girl per annum for enrolled 1200 girls for existing & functional 06 KGBV. (200 girls in each KGBV)
			172 .0. 5	1 Warden	6	2.95992	17.76	6	2.95992	17.75 952	Recommended @Rs.24666/- per month per warden for existing posted 06 warden in 06 KGBVs. (01 warden in each KGBV)
			172 .0.7	3 Part time teachers	18	1.47600	26.568	18	1.47600	26.56 8	Recommended @Rs.12300/- per month per teacher for existing posted 18 part time teachers in 06 KGBVs. (03 part time teachers in each KGBV)

	Particulars				Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		172 .0.8	1 Full time Accountant	6	0.91200	5.472	6	0.91200	5.472	Recommended @Rs.7600/- per month per accountant for existing posted 06 accountants in 06 KGBVs. (01 accountant in each KGBV)
		172 .0. 9	2 Support Staff – (Accountant / Assistant, Peon, Chowkidar)	12	0.85200	10.224	12	0.85200	10.22	Recommended @Rs.7100/- per month per support staff for 12 support staff in 06 KGBVs. (02 support staff in each KGBV)
		172 .0.1 0	1 Head Cook	6	0.70080	4.205	6	0.70050	4.203	Recommended @Rs.5840/- per month per head cook for existing posted 06 head cooks in 06 KGBVs. (01 head cook in each KGBV)
		172 .0.1 1	1 Head Teacher/Principal	6	1.98000	11.88	6	1.98000	11.88	Recommended @Rs.16500/- per month per head teacher/ principal for proposed 06 head teacher/ principal in 06 KGBVs. (01 head teacher/ principal in each KGBV)
		172 .0.1 2	4 Full Time Teachers/Lecturer	48	1.80000	86.4	48	1.80000	86.4	Recommended @Rs.15000/- per month per teacher for proposed 48 full time teachers in 06 KGBVs. (08 full time teachers in each KGBV)
		.0.1 3	2 Assistant Cook	12	0.69000	8.28	12	0.69000	8.28	Recommended @Rs.5750/- per month per assistant cook for existing posted 12 assistant cooks in 06 KGBVs. (02 assistant cooks in each KGBV)

	Particulars Major Sub Activity				Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		172 .0.1 4	Specific skill training per girl	1200	0.02500	30	1200	0.02500	30	Recommended @Rs.2500/- per girl per annum for enrolled 1200 girls for existing & functional 06 KGBV. (200 girls in each KGBV)
		172 .0.1 5	Electricity / Water Charges	1200	0.01500	18	6	2.50000	15	Recommended @Rs.2.50 lakh per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)
		172 .0. 1 6	Medical care / Contingencies	1200	0.01500	18	1200	0.01500	18	Recommended @Rs.1500/- per girl per annum for enrolled 1200 girls for existing & functional 06 KGBV. (200 girls in each KGBV)
		172 .0.1 7	Maintenance	1200	0.02000	24	6	2.50000	15	Recommended @Rs.2.50 lakh per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)
		172 .0.1 8	Miscellaneous	1200	0.03500	42	6	2.50000	15	Recommended @Rs.2.50 lakh per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)
		172 .0. 1 9	Preparatory Camps	6	0.08000	0.48	6	0.07000	0.42	Recommended @Rs.7000/- per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)

	Par	ticulars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		172 .0.2 0	P.T.A.	1200	0.00100	1.2	6	0.10000	0.6	Recommended @Rs.10000/- per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)
		172 .0.2 2	Capacity Building	6	0.10000	0.6	6	0.10000	0.6	Recommended @Rs.10000/- per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)
		172 .0.2 3	Physical / Self Defence	6	0.10000	0.6	6	0.10000	0.6	Recommended @Rs.10000/- per KGBV per annum for existing & functional 06 KGBV. (Targeted capacity 1200 girls – 200 girls in each KGBV)
		.0.2 4	Examination Fee	300	0.02000	6	300	0.02000	6	Recommended @Rs.2000/- per girl for proposed 300 girls for existing & functional 06 KGBV. (50 girls in each KGBV)
		172 .0. 2 7	Assistant Warden	6	1.47996	8.88	6	1.47996	8.879 76	Recommended @Rs.12333/- per month per assistant warden for 06 assistant warden in 06 KGBVs. (01 assistant warden in each KGBV)
		1	Total of KGBV – Type – III (Recurring) (New) (Classes VI –XII) KGBV – Type –			562.95			523.2	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		7 3. 0		III (NR) (Previous Year) (Classes VI – XII)							
			173 .0.1	Construction of building (new) / Upgradation	4	470.570 00	1882.2 8	4	385.000 00	1540	Civil work Unit of TSG-SS has recommended a Unit cost of Rs.385.00 lakh for each upgraded KGBV.(The cost of Science + Arts stream is included in the unit cost)
			173 .0.7	Replacement of bedding (once in 3 years)	400	0.01500	6	400	0.01500	6	Replacement of bedding of Rs.1500/- per girl is recommended for 400 girls in existing 04 KGBVs. (100 girls in each KGBV)
				Total of KGBV – Type – III (NR) (Previous Year) (Classes VI – XII)			1888.2			1546	
		1 7 4. 0		KGBV – Type III (Recurring) (Previous Year) (Classes VI – XII)							
			174 .0.1	Food/Lodging per child per month	800	0.18000	144	800	0.18000	144	Recommended @Rs.1500/- per girl per month as proposed for enrolled 800 girls for existing & functional 04 KGBV. (200 girls in each KGBV)

	Particulars Major Sub Activity Mag				Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		174 .0.2	Stipend per girl per month	800	0.01200	9.6	800	0.01200	9.6	Recommended @Rs.100/- per girl per month as proposed for enrolled 800 girls for existing & functional 04 KGBV. (200 girls in each KGBV)
		174 .0. 3	Supplementary TLM, Stationery and other educational material	800	0.01000	8	800	0.01000	8	Recommended @Rs.1000/- per girl per annum as proposed for enrolled 800 girls for existing & functional 04 KGBV. (200 girls in each KGBV)
		174 .0.4	1 Warden	4	2.95992	11.84	4	2.95992	11.83 968	Recommended @Rs.24666/- per month per warden for existing posted 04 warden in 04 KGBVs. (01 warden in each KGBV)
		174 .0. 6	3 Part time teachers	12	1.47600	17.712	12	1.47600	17.71	Recommended @Rs.12300/- per month per teacher for existing posted 12 part time teachers in 04 KGBVs. (03 part time teachers in each KGBV)
		174 .0.7	1 Full time Accountant	4	0.91200	3.648	4	0.91200	3.648	Recommended @Rs.7600/- per month per accountant for existing posted 04 accountants in 04 KGBVs. (01 accountant in each KGBV)
		174 .0.8	2 Support Staff – (Accountant / Assistant, Peon, Chowkidar)	8	0.85200	6.816	8	0.85200	6.816	Recommended @Rs.7100/- per month per support staff for proposed 08 support staff in 04 KGBVs. (02 support staff in each KGBV)

	Partic	culars		Proposal					Final	Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
		174 .0.9	1 Head Cook	8	0.70080	5.606	8	0.70075	5.606	Recommended @Rs.5840/- per month per head cook for existing posted 08 head cooks in 04 KGBVs. (02 head cooks in each KGBV)	
		174 .0. 1 0	2 Assistant Cook	16	0.69000	11.04	16	0.69000	11.04	Recommended @Rs.5750/- per month per assistant cook for existing posted 16 assistant cooks in 04 KGBVs. (04 assistant cooks in each KGBV)	
		174 .0.1	1 Head Teacher/Principal	4	1.98000	7.92	4	1.98000	7.92	Recommended @Rs.16500/- per month per head teacher/ principal for proposed 04 head teacher/ principal in 04 KGBVs. (01 head teacher/ principal in each KGBV)	
		174 .0. 1 2	4 Full Time Teachers/Lecturer	32	1.80000	57.6	32	1.80000	57.6	Recommended @Rs.15000/- per month per teacher for proposed 32 full time teachers in 04 KGBVs. (08 full time teachers in each KGBV)	
		174 .0.1 3	Specific skill training per girl	800	0.02500	20	800	0.02500	20	Recommended @Rs.2500/- per girl per annum as proposed for enrolled 800 girls for existing & functional 04 KGBV. (200 girls in each KGBV)	
		174 .0.1 4	Electricity / Water Charges	800	0.01500	12	4	2.00000	8	Recommended @Rs.2.00 lakh per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)	

	Parti	culars			Proposal				Final	l Approved Outlay	
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
		174 .0.1 5	Medical care / Contingencies	800	0.01500	12	800	0.01500	12	Recommended @Rs.1500/- per girl per annum as proposed for enrolled 800 girls for existing & functional 04 KGBV. (200 girls in each KGBV)	
		174 .0. 1 6	Maintenance	800	0.02000	16	4	2.50000	10	Recommended @Rs.2.50 lakh per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)	
		174 .0. 1 7	Miscellaneous	800	0.03500	28	4	2.50000	10	Recommended @Rs.2.50 lakh per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)	
		174 .0. 1 8	Preparatory Camps	4	0.08000	0.32	4	0.07000	0.28	Recommended @Rs.7000/- per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)	
		174 .0. 1 9	P.T.A.	800	0.00100	0.8	4	0.10000	0.4	Recommended @Rs.10000/- per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)	
		174 .0.2	Capacity Building	4	0.10000	0.4	4	0.10000	0.4	Recommended @Rs.10000/- per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)	

	Par	ticula	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			174 .0.2 2	Physical / Self Defence	4	0.10000	0.4	4	0.10000	0.4	Recommended @Rs.10000/- per KGBV per annum for existing & functional 04 KGBV as proposed. (Targeted capacity 800 girls – 200 girls in each KGBV)
			174 .0. 2 3	Examination Fee	200	0.02000	4	200	0.02000	4	Recommended @Rs.2000/- per girl as proposed for 200 girls for existing & functional 04 KGBV. (50 girls in each KGBV)
			174 .0. 2 9	Assistant Warden	4	1.47996	5.92	4	1.47996	5.919 84	Recommended @Rs.12333/- per month per assistant warden for existing posted 04 assistant warden in 04 KGBVs. (01 assistant warden in each KGBV)
			174 .0. 3 5	Chowkidar	4	0.68892	2.756	4	0.10000	0.4	Recommended @Rs.5741/- per month per chowkidar for existing posted 04 chowkidar in 04 KGBVs. (01 chowkidar in each KGBV)
				Total of KGBV – Type III (Recurring) (Previous Year) (Classes VI – XII)			386.38			355.5 8	
		1 7 8. 0		KGBV – Type – IV (Recurring) (Previous Year) (Classes IX – XII)							

	Partio	culars			Proposal		Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		178 .0.1	Food/Lodging per child per month	100	0.24000	24	100	0.24000	24	Recommended @Rs.2000/- per girl per month for 100 girls in existing & functional 01 KGBV as proposed.
		178 .0.2	Stipend per girl per month	100	0.01200	1.2	100	0.01200	1.2	Recommended @Rs.100/- per girl per month as proposed for 100 girls in existing & functional 01 KGBV.
		178 .0.3	Supplementary TLM, Stationery and other educational material	100	0.00050	0.05	100	0.00050	0.05	Recommended @Rs.50/- per girl as proposed for 100 girls in existing & functional 01 KGBV.
		178 .0.5	1 Warden	1	1.62800	1.628	1	1.62800	1.628	Recommended @Rs.6325/- per month for 01 warden in 01 KGBV as proposed. (Targeted capacity 100 girls)
		178 .0.7	1 Chowkidar	1	0.75900	0.759	1	0.75900	0.759	Recommended @Rs.6325/- per month for 01 chowkidar in 01 KGBV as proposed. (Targeted capacity 100 girls)
		178 .0.8	1 Head Cook	1	0.77200	0.772	1	0.77200	0.772	Recommended @Rs.6430/- per month for 01 head cook in 01 KGBV as proposed. (Targeted capacity 100 girls)
		178 .0.9	2 Assistant Cook	2	0.75900	1.518	2	0.75900	1.518	Recommended @Rs.6325/- per month per assistant cook for 02 assistant cooks in 01 KGBV as proposed. (Targeted capacity 100 girls)

	Partio	culars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		178 .0.1	Specific skill training per girl	100	0.00500	0.5	100	0.00500	0.5	Recommended @Rs.50/- per girl as proposed for 100 girls in existing & functional 01 KGBV.
		178 .0.1 2	Electricity / Water Charges	1	1.00000	1	1	1.00000	1	Recommended @Rs.1.00 lakh per KGBV for existing & functional 01 KGBV as proposed. (Targeted capacity 100 girls)
		178 .0.1	Medical care / Contingencies	100	0.01250	1.25	100	0.01250	1.25	Recommended @Rs.1250/- per girl for 100 girls in existing & functional 01 KGBV as proposed.
		178 .0.1 4	Maintenance	1	0.10000	0.1	1	0.10000	0.1	Recommended @Rs.10000/- per KGBV for existing & functional 01 KGBV as proposed. (Targeted capacity 100 girls)
		178 .0.1 5	Miscellaneous	1	0.20000	0.2	1	0.20000	0.2	Recommended @Rs.20000/- per KGBV for existing & functional 01 KGBV as proposed. (Targeted capacity 100 girls)
		178 .0.1	P.T.A.	1	0.20000	0.2	1	0.10000	0.1	Recommended @Rs.10000/- per KGBV for existing & functional 01 KGBV. (Targeted capacity 100 girls)
			Total of KGBV – Type – IV (Recurring) (Previous Year) (Classes IX – XII)			33.18			33.08	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				Kasturba Gandhi idyalaya (KGBVs)			3312.4 1			2785. 28	
	Rani Laxmibai Atma Raksha Prashikshan	1 8 3. 0		Rani Laxmibai Atma Raksha Prashikshan (upto Highest Class X or XII)							
			183 .0.1	Rani Laxmibai Atma Raksha Prashikshan (Upto Class X or XII)	427	0.15000	64.05	414	0.15000	62.1	Recommended Rs 62.10 lakh in 414 schools as per UDISE and as per norms.
				Total of Rani Laxmibai Atma Raksha Prashikshan (upto Highest Class X or XII)			64.05			62.1	
		1 8 4. 0		Rani Laxmibai Atma Raksha Prashikshan (up to Highest Class VIII)							
			184 .0. 1	Rani Laxmibai Atma Raksha Prashikshan (Upto Class VIII)	514	0.15000	77.1	395	0.15000	59.25	recommended Rs 59.25 lakh in 395 schools as per UDISE and as per norms
				Total of Rani Laxmibai Atma Raksha Prashikshan (up to Highest Class			77.1			59.25	

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				VIII)							
				Rani Laxmibai ksha Prashikshan			141.15			121.3 5	
	Special Projects for Equity	1 8 5. 0		Special Projects for Equity – (NR) (Secondary)							
			185 .0.1	Sanitary pad Vending & incinerator machines	373	0.32000	119.36	137	0.32000	43.84	Recommended Rs24.60 lakh as per UDISE analysis in 137 schools.state has a spill over of Rs65.28 and state is advised to install all machines in schools. State is advised to converge with Swachach bharat Mission (G0 phase II which has been contributing to the agenda MHM.
				Total of Special Projects for Equity – (NR) (Secondary)			119.36			43.84	
		1 8 6. 0		Special Projects for Equity – Recurring (Secondary)							
			186 .0. 2 2	Remedial Coaching Classes	18931	0.01000	189.31	3672	0.00500	18.36	Recommended Rs 18.36 Lakh for remedial coacing classes of SC?ST students of subjects other then Maths and Science

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
2021			186 .0.8 6	Special Coaching Classes	16	3.46219	55.395	8375	0.00660	55.27 5	Recommended Rs 55.27 lakh for 8375 schools in all 16 districts. For special coaching classes for imparting life skills along with academic skills.
				Total of Special Projects for Equity – Recurring (Secondary)			244.7			73.64	
		1 8 7. 0		Special Projects for Equity – (NR) (Elementary)							
			187 .0. 1	Sanitary pad Vending & incinerator machines	476	0.32000	152.32	249	0.32000	79.68	Recommended Rs 79.68 lakh as per UDISE analysisin 249 schools. State is advised to converge with Swachach bharat Mission (G0 phase II which has been contributing to the agenda MHM.
				Total of Special Projects for Equity – (NR) (Elementary)			152.32			79.68	
		1 8 8. 0		Special Projects for Equity – Recurring (Elementary)							
			188 .0. 3 1	Adolescent Programme for Girls	5865	0.05000	293.25	5865	0.03000	175.9 5	Recommended Rs 175.95 for conducting adolescent activities.

	Particulars Mojor Sub Activity Mosto					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			188 .0.7 4	Maa- Beti Sammelan	16	2.00000	32	16	1.00000	16	Recommended Rs 16 lakhs for motivating mothers and daughters for retention in schools and pursue higher education for girls.
				Total of Special Projects for Equity – Recurring (Elementary)			325.25			191.9 5	
		1 9 0.		Project- Girls Empowerment (Secondary)							
		0	190 .0. 1	Adolescent Programme for Girls Students	18238	0.05000	911.9	855	0.10000	85.5	Recommended Rs85.50. lakh for 855 schools for 18528 girls. For adolescence programme
			190 .0. 2	Career Guidance Programme for Girls	18238	0.00300	54.714	855	0.06000	51.3	Recommended Rs51.30 lakh for 855 schools for 18528 girls. For career guidance programme
			190 .0.8	Kishori Utkarsh Manch	16	1.20000	19.2	16	1.00000	16	Recommended Rs 16 lakh for activities for Kishori Utkarsh Manch.
			190 .0.4 1	Dalit Siksha Utkarsha Abhiyan	5660	0.01500	84.9	855	0.05000	42.75	Recommended Rs 42.75 lakh for 855 schools and 5660 students 370or: Enhancement of learning standards of Science &Maths for SC/ST/Minority students.

	Par	ticul	ars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			190 .0.4 2	Maa Beti Mela	16	2.00000	32	16	1.00000	16	Recommended Rs 16 lakh for activities for Maa Beti Mela for retention of girls and motivating girls for higher studies.
				Total of Project- Girls Empowerment (Secondary)			1102.7 1			211.5	
			al of S Equit	Special Projects v			1944.3 5			600.6	
	Total for Gend						5397.9 1			3507. 28	
Inclusi ve Educat ion	Provision for Children with Special Needs (CWSN)	1 9 8. 0		Student Oriented Components (Upto Highest Class – VIII) (District Level) (Recurring)							
			198 .0.1	Purchase/Develop ment of instructional & Training materials	16	0.40000	6.4	16	0.35000	5.6	Recommended for purchase of TLM kits.
			198 .0.2	Sports & Exposure Visit	160	0.02000	3.2	16	0.10000	1.6	Recommended for 16 districts for sports events for CwSN.
			198 .0.4	Orientation of Principals, Educational administrators, parents /	659	0.00500	3.295	450	0.00500	2.25	Recommended for one day orientation program with a unit cost of Rs.500/day/participant.

	Particulars Nation Astrict Market					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				guardians etc.							
				Total of Student Oriented Components (Upto Highest Class – VIII) (District Level) (Recurring)			12.9			9.45	
		1 9 9. 0		Student Oriented Components (Upto Highest Class – VIII) (Block Level) (Recurring)							
			199 .0. 3	Gap Identification for OoSCwSN	35	0.20000	7	35	0.20000	7	Recommended for household survey for identification of out of school children.
			199 .0.4	Assistive Devices,Equipme nts and TLM	35	0.40000	14	35	0.12000	4.2	Recommended for TLM kits only for block resource centres with a unit cost of Rs.12,000/block.
			199 .0.5	Environment Building programme	35	0.20000	7	35	0.10000	3.5	Recommended for observing International Day of Persons with Disabilties with a unit cost of Rs.10,000/block.
				Total of Student Oriented			28			14.7	

	Par	ticul	ars			Proposal	Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				Components (Upto Highest Class – VIII) (Block Level) (Recurring)							
		2 0 0. 0		Student Oriented Components (Upto Highest Class – VIII) (Student Specific) (Recurring)							
			200 .0. 3	Escort Allowance	1758	0.02000	35.16	1403	0.02000	28.06	Recommended for 1403 escorts.
			200 .0.4	Transport Allowance	1208	0.02000	24.16	1208	0.02000	24.16	Recommended for 1208 CwSN.
			200 .0. 5	Home Based Education	232	0.02000	4.64	232	0.02000	4.64	Recommended as proposed for 232 CwSN in home based education program.

	Par		Proposal				Final Approved Outlay			
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		.0		614	0.03000	18.42	614	0.03000	18.42	Recommended for 614 CwSN with a unit cost of Rs 3000/- (an average unit cost) per CwSN. This activity is to be undertaken after conducting identification & assessment camps. State may seek further support through line Departments/organizations. State to ensure COVID-19 protocols during distribution. In case schools are closed, State may make appropriate arrangements to provide the aids & appliances to all eligible CwSN.
		.0		65	0.02000	1.3	60	0.02000	1.2	Recommended for 60 readers as per UDISE+.
			Total of Student Oriented Components (Upto Highest Class – VIII) (Student Specific) (Recurring)			83.68			76.48	
		2 0 1.	Stipend for Girls (Upto Highest Class – VIII)							

	Particulars					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		0		(Recurring)							
			201 .0. 1	Stipend for Girls	1582	0.02000	31.64	1275	0.02000	25.5	Recommended for 1275 girls with special needs (as per UDISE+) with a unit cost of Rs.200/month for 10 months. The stipend is to be disbursed through DBT.
				Total of Stipend for Girls (Upto Highest Class – VIII) (Recurring)			31.64			25.5	
		2 0 2.		Student Oriented Components							
		0		(Upto Highest Class – XII) (District Level) (Recurring)							
			202 .0.4	Orientation of Principals, Educational administrators, parents / guardians etc.	1022	0.00500	5.11	900	0.00500	4.5	Recommended for one day orientation program for 750 Principals with a unit cost of Rs.500/day/particiapant.
				Total of Student Oriented Components (Upto Highest Class – XII) (District Level) (Recurring)			5.11			4.5	

	Par	ars			Proposal				Final	Approved Outlay	
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		2 0 3. 0		Oriented Components (Upto Highest Class – XII) (Block Level) (Recurring)							
			203 .0. 6	Helper/Ayas/Atte ndant	6	0.72000	4.32	6	0.72000	4.32	Recommended for honorarium of 6 child care attendants (in position, placed at schools) at a unit cost of Rs 6000/- per month for 12 months.
				Total of Student Oriented Components (Upto Highest Class – XII) (Block Level) (Recurring)			4.32			4.32	
		2 0 4. 0		Student Oriented Components (Upto Highest Class – XII) (Student Specific) (Recurring)							
			204 .0. 3	Escort Allowance	47	0.02500	1.175	47	0.02000	0.94	Recommended for 47 escorts with a unit cost of Rs.200/month for 10 months.

	Particulars Activity Master					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			204 .0. 4	Transport Allowance	135	0.02000	2.7	112	0.02000	2.24	Recommended for 112 CwSN with a unit cost of Rs.200/month for 10 months.
			204 .0. 8	Reader Allowance- For only VI and Low vision	18	0.00500	0.09	18	0.00500	0.09	Recommended as proposed for 18 readers.
				Total of Student Oriented Components (Upto Highest Class – XII) (Student Specific) (Recurring)			3.96			3.27	
		2 0 5. 0		Stipend for Girls (Upto Highest Class – XII) (Recurring)							
			205 .0. 1	Stipend for Girls	180	0.02000	3.6	180	0.02000	3.6	Recommended as proposed for 180 girls with special needs, with a unit cost of Rs.200/month for 10 months.
				Total of Stipend for Girls (Upto Highest Class – XII) (Recurring)			3.6			3.6	
		2 0 6.		Identification & Assessment (up to Highest Class							

	Par			Proposal		Final Approved Outlay					
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
		0		VIII)							
			206 .0.1	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class VIII)	35	0.10000	3.5	35	0.10000	3.5	Recommended Rs. 10,000/- per BRC (as per norms), for annual identification camps for CwSN in pre- primary sections upto class XII. Camps to be held in convergence with Departments of Health & Social welfare. State to initiate a mapping exercise for out of school CwSN before undertaking the assessment camps. State to ensure COVID-19 protocols while conducting the camps.
				Total of Identification & Assessment (up to Highest Class VIII)			3.5			3.5	
		2 0 7. 0		Assessment (Upto Highest Class – XII)							

	Par			Proposal		Final Approved Outlay					
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			207	Identification and Assessment (Medical Assessment Camps) (Upto Highest Class XII)	35	0.10000	3.5	35	0.10000	3.5	Recommended Rs. 10,000/- per BRC (as per norms), for annual identification camps for CwSN upto class XII. Camps to be held in convergence with Departments of Health & Social welfare. State to initiate a mapping exercise for out of school CwSN before undertaking the assessment camps. State to ensure COVID-19 protocols while conducting the camps.
				Total of Identification & Assessment (Upto Highest Class – XII)			3.5			3.5	
		2 0 8. 0		Capacity Building of Special Educators (up to Highest Class VIII)							
			208 .0.1	In-service Training of Special Educators (Upto Highest Class VIII)	89	0.00500	0.445	89	0.00500	0.445	Recommmended as proposed for one day orientation program for 89 special educators with a unit cost of Rs.500/participant.
				Total of			0.44			0.44	

	Particulars Sala Addition Management					Proposal				Final	Approved Outlay
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
				Capacity Building of Special Educators (up to Highest Class VIII)							
		2 0 9. 0		Capacity Building of Special Educators (up to Highest Class XII)							
			209 .0. 1	In-service Training of Special Educators (Upto Highest Class XII)	51	0.02500	1.275	51	0.02500	1.275	Recommended as proposed for 5 days capacity building program for 51 special educators with a unit cost of Rs.500/day/participant.
				Total of Capacity Building of Special Educators (up to Highest Class XII)			1.28			1.28	
		2 1 0. 0		Resource Support towards Salary (Upto Highest Class VIII) (Recurring)							

	Par	ticulars			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
		210	* *	26	2.40000	62.4	26	2.40000	62.4	Financial support for 26 in-position special educators has been approved by the PAB since F.Y 2018-19. For the year 2021-22, due to technical error (by the State) the 26 in-position special educators were proposed under the new special educators budget head. May be considered for 26 in-position special educators with a unit cost of Rs.20,000/month for 12 months, subject to submission of details by the State.	
		2 1	Total of Resource Support towards Salary (Upto Highest Class VIII) (Recurring) Strengthening Components			62.4			62.4		
		2. 0	under Inclusive Education (Upto Highest Class – XII) (NR)								

	Particulars							Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
			212 .0.1	Equipments for Resource Rooms	35	2.00000	70	35	2.00000	70	Recommended as proposed for 35 (one per block) resource centres, with a unit cost of Rs. 2.0 lack/BRC for CwSN upto class XII. This support is for equipments in resource rooms and is a one time grant (once in 5 years).	
				Total of Strengthening Components under Inclusive Education (Upto Highest Class – XII) (NR)			70			70		
		2 1 3. 0		Resource Support towards Salary (Upto Highest Class XII) (Recurring)								
			213 .0.1	Financial Support (Previous Spl. Educators)	51	3.00000	153	51	3.00000	153	Recommended at a unit cost Rs. 25,000/- per month (as per norms) for 12 months for 51 Special Educators (in-position).	
				Total of Resource Support towards Salary (Upto Highest Class XII) (Recurring)			153			153		
				Provision for with Special			467.33			435.9 4		

Particulars						Proposal			Final Approved Outlay					
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks			
		Nec	eds (C	WSN)										
	Total for Inclu	sive	Educa	tion			467.33			435.9 4				
Vocati onal Educat	Introduction of Vocational Education at	2 1 4.		Introduction of VE in schools - NR										
ion	Secondary and higher Secondary	0	214 .0. 1	Tools, Equipment & Furniture (New)	51	5.00000	255	20	3.13000	62.6	Recommended for 20 govt. schools. 19 schools with single sector. 1 schools with double sector			
			214 .0. 2	Classroom Cum Workshop for VE	11	33.9150 0	373.06 5	9	24.9500 0	224.5	Recommended for 09 Hub schools			
				Total of Introduction of VE in schools - NR			628.06			287.1				
		2 1 5.		Recurring Support VE – New										
		0	215 .0.1	Financial Support for Vocational Teacher/ Trainer (New)	51	2.50000	127.5	21	1.20000	25.2	Recommended for notional support for 21 trainers to be recruited			
			215 .0. 2	Financial Support for Resource Persons (New)	51	0.62500	31.875	20	0.31300	6.26	Recommended as per norms for 20 schools.			
			215 .0. 3	Raw material Grant for new school per course (New)	49	1.12500	55.125	20	0.56300	11.26	Recommended as per norms for 20 schools.			

	Particulars							Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
			215 .0.4	Cost of providing Hands on Skill Training to Students (New)	49	0.60000	29.4	20	0.30000	6	Recommended as per norms for 20 schools.	
			215 .0. 6	Office Expenses / Contingencies for New School (New)	49	0.50000	24.5	20	0.25000	5	Recommended as per norms for 20 schools.	
			215 .0.7	Induction training of Teachers VE – Teachers (10 Days)	51	0.05000	2.55	21	0.05000	1.05	Recommended for 10 days induction training to 21 trainers to be recruited	
			215 .0.8	Recurring Support to Hub and Spoke Model	13	5.00000	65	9	1.25000	11.25	Considered for 9 Hub schools where students of 9 spoke schools (1 with each Hub) will be provided VE practical training.	
			215 .0. 9	Transportation allowance for Children from Spoke to Hub School	209	0.03000	6.27	105	0.03000	3.15	Recommended for 105 students of 9 spoke schools @ Rs.3000 per student for travelling to Hub school.	
				Total of Recurring Support VE – New			342.22			69.17		
		2 1 7.		Recurring Support VE – Existing								
		0	217 .0. 1	Financial Support for Vocational	140	3.89290	545.00 6	197	2.40000	472.8	Recommended for support to 197 in position trainers	

	Pai	ticulars			Proposal				Final	Approved Outlay
Major Compo nent	Sub Component		Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks
			Teacher/ Trainer (Existing)							
		.0.2	Financial Support for Resource Persons (Existing)	140	0.97320	136.24 8	140	0.97320	136.2 48	Recommended as proposed for 140 schools.
		.0.3	Raw material grant for new school per course (Existing)	140	1.75180	245.25	140	1.75180	245.2 52	Recommended as proposed for 140 schools.
		.0.4	Cost of providing Hands Training Students (Existing)	140	0.94130	131.78	140	0.94130	131.7 82	Recommended as proposed for 140 schools.
		217 .0. 5	Assessment and Certification Cost (Existing)	800	0.00600	4.8	800	0.00600	4.8	Recommended for students of class 10 th and 12 th
		217 .0. 6	Office Expenses /	140	0.77860	109.00	140	0.77860	109.0 04	Recommended as proposed for 140 schools.
		217 .0.8	In-service Training of VE – Teachers (5 – Days) - (Existing)	140	0.03890	5.446	197	0.02500	4.925	Recommended for 5 days training of 197 in position trainers
			Total of Recurring Support VE – Existing			1177.5 4			1104. 81	
			Introduction of al Education at			2147.8 2			1461. 13	

	Particulars							Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
			ondar ondar	y and higher y								
	Total for Voca	tional Education					2147.8 2			1461. 13		
Monito ring of	Monitoring Information	2		Monitoring of the Scheme								
the Schem	System (MIS)	9. 0	219 .0.2	Child Tracking System	21569 4	0.00003	6.471	21569 4	0.00003	6.470 82	Recommended as proposed.	
e				Management Information System (Udise +)	21569	0.00002	4.314	21569	0.00002	4.313 88	Recommended as proposed.	
				Total of Monitoring of the Scheme			10.78			10.78		
		2 1 9. 1		Vidhya Samiksha Kendra (Non- Recurring) (EE/SE/TE)								
			219 .1.1 3	Vidya Samiksha Kendra (Non- Recurring)	1	0.00001	0.0000	1	250.000 00	250	Recommended for Call Management Solution, IT Infrastructure, State MIS Dashboard Application, Mobile App and development APIs for integration of all other application & maintenance etc.	
				Total of Vidhya Samiksha Kendra (Non- Recurring) (EE/SE/TE)			0			250		
		2		Vidhya								

	Par	ticul	ars			Proposal		Final Approved Outlay				
Major Compo nent	Sub Component			Activity Master	Physi cal	Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
		1 9. 2		Samiksha Kendra (Recurring) (EE/SE/TE)								
			219 .2. 1 4	Vidya Samiksha Kendra (Recurring)	1	0.00001	0.0000	1	50.0000	50	Recommended for Operational Expenses of VSK,etc.	
				Total of Vidhya Samiksha Kendra (Recurring) (EE/SE/TE)			0			50		
				Monitoring ion System (MIS)			10.79			310.7 8		
	Total for Moni						10.79			310.7 8		
Progra m Manag ement	Program Management	2 2 1. 0		Program Management (MMER – E.E / S.E. / T.E.)								
			221 .0. 1	Program Management (MMMER – E.E / S.E. / T.E.)	1	2351.11 000	2351.1	1	2429.03 100	2429. 031	May be considered at 5% of the total fresh outlay.	
				Total of Program Management (MMER – E.E / S.E. / T.E.)			2351.1			2429. 03		
			al of I nagen	Program			2351.1 1			2429. 03		

	Par	ticulars		Proposal			Final Approved Outlay				
Major Compo nent	Sub Activity Master Component				Unit Cost	Financ ial	Physi cal	Unit Cost	Fina ncial	Remarks	
	Total for Prog			2351.1 1			2429. 03				
Total						103182 .9			5101 5.65		
			mended Ui Innovation		3976.64	(Rs.in lal	kh)	Percentage:7.79 %			
(5%):	Be Recommended (5%): Generated as on Thursday, June 09, 2022				Innovatio	n					

	Final Approval									
Scheme	NON Recuring	Recuring	Total							
Name	_									
Elementary	12335.16	20622.45	32957.61							
Education										
Secondary	6537.31	9274.33	15811.64							
Education										
Teacher	894	1352.4	2246.4							
Education										
Total	19766.47	31249.18	51015.65							

Teacher Education		P	roposal	Fir	nal Approva	1
Major Components	Non recuring	Recuring	Total	Non recuring	Recuring	Total
BITEs	0.00	0.00	0.00	0	0	0
CTEs		0.00	0.00	0	0	0
DIETs	4380.00	1795.49	6175.49	894	1189.6	2083.6
IASEs		0.00	0.00	0	0	0
SCERT	400.00	321.98	721.98	0	162.8	162.8
Total	4780.00	2117.47	3011.47	894	1352.4	2246.4

Final Approval	
Major Component	Total
Access & Retention	15436.34
RTE Entitlements	1948.83
Quality Interventions	13495.56
Teacher Education	2246.4
Financial Support for Teachers	9491.84
Gender & Equity	3507.28
Inclusive Education	435.94
Vocational Education	1461.13
Sports & Physical Education	252.5
Monitoring of the Scheme	310.78
Program Management	2429.03
Total	51015.65